H % INDEX

%3 TYPE ft5 PART NO ik PAGE
DA ANIZ SO B - B 1E 1
METRIC MALE O-RING

90 ° Al HMESOR P - B &t 1E9 2
90 ° METRIC MALE O-RING

90 ° /IR S O T BB T 55 4 2E9 2
90 ° METRIC MALE O-RING

N AME SO B - T 35 5 3k 4E 3
METRIC MALE O-RING PLUG

N PIRSCT T R 9E 4
METRIC FEMALE FLAT FACE PLUG

A TIANIZ A OF B - v 8 ot A Sk 6E 4
METRIC MALE O-RING BULKHEAD

90 ° AfhIAMRL O el - i A Sk 6E9 5
90 ° METRIC MALE O-RING BULKHEAD

A IANZE O Bl - T % F A 5 1EH 5
METRIC MALE O-RING

45 ° /I ANRS OB B T A B W b S R 4 1EH4-0G 6
45 ° METRIC MALE O-RING/ADJUSTABLE STUD

90 ° A AMERSLORI B - 2 dst I ) A AR 4 1EH9-0G 6
90 ° METRIC MALE O-RING/ADJUSTABLE STUD

AN TIAMESORL T B Et 60 PSS i i 4 A Hu B 1EM 7
METRIC MALE 0-RING/60 ° SEAT BONDED SEAL

NTIAMESORI P AR MRS 1EN 7
METRIC MALE O-RING/NPT MALE

N THIAMES OB/ SeHEAT SMERSL 1ET 8
METRIC MALE O-RING/BSPT MALE

AT ANRS ORI B - T 2 1 /A 1EW 9
METRIC MALE O-RING/BUTT-WELD TUBE

90 ° A HIAMEBEZ O B -1 25 1t /18 A 1EW9 9
90 ° METRIC MALE O-RING/BUTT-WELD TUBE

O3 Tl /MBS OF B V- i) 235 5 S MR 2 A Bt 1EZ 10
METRIC MALE O-RING/BSP MALE DIN 3852-2 TYREA

JREEE AN IREOBI P T % 2WE 11
BUTT-WELD TUBE/METRIC FEMALE O-RING

I3l MRS O T ] S 1h) 2 5 DU 2k XE 12
METRIC MALE O-RING CROSS

I3l AR S O T [ 1h) 25 B =l ik AE 12
METRIC MALE O-RING TEE

N TIANRECORIE /73 ] PRS- T % 3 =i 3k BE 13
METRIC MALE O-RING/METRIC FEMALE TEE

INTHIANBEL ORI /N ] N IR T 4 =i Bk CE 13

METRIC MALE O-RING/METRIC FEMALE TEE



H % INDEX

k5] TYPE K5 PART NO
IS I AMBECOZ ] ST i 25 5t/ R R i A i B AR ) S = AEEH-0G
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-SERIES RUN TEE
OISR SO R B - 2/ R i e o B AR 47 S = AEHE-OG
METRIC MALE O-RING/METIRC MALE ADJUSTABLE STUD S-SERIES BRANCH TEE

0 ° 7Tl SN S O 2 B - 1w 2 3 W 3k AEEGE
90 ° METRIC MALE O-RING BULKHEAD RUN TEE

A AMZ SO R B - T 2 5 A sy 3 =3 AE6EE
METRIC MALE O-RING BULKHEAD BRANCH TEE

AIAMEG24 © BRIAERE 1C
METRIC MALE 24 ° L.T.REDUCERS

ANTHIAMES24 ° %R 1C
METRIC MALE 24 ° L.T.
ANHIANES24 © RS 1D
METRIC MALE 24 ° H.T.

INHIAMEL24 ° T RFARRE ID
METRIC MALE 24 ° H.T. REDUCERS
90 ° AHIIMEL24 R RF 1C9
90 ° METRIC MALE 24 ° L.T.
90 ° AlAMEL24 ° ERF 1D9
90 ° METRIC MALE 24 ° H.T.

NI NIRE24 A THIAMES24 © R 2C
METRIC FEMALE 24 ° /METRIC MALE 24 ° L.T.

I HINIRE24 1 HIAMBS24 © B AR5 2D
METRIC FEMALE 24 ° /METRIC MALE 24 ° H.T.
90 ° AHINIRE24 ° 1 AHISMES24 © # 55 2C9
90 ° METRIC FEMALE 24 ° /METRIC MALE 24 ° L.T.
90 ° Al NIRLE24 © [ AISMEL24 © ERY 2D9
90 ° METRIC FEMALE 24 ° /METRIC MALE 24 ° H.T.

ANHIIRG24 ° RS 3C
METRIC FEMALE 24 ° L.T.

NTINIZRE24 © BRI 3D
METRIC FEMALE 24 ° H.T.

ATIIRE24 ° BRI 4C
METRIC MALE 24 ° L.T. PULG

NS 24 © Ak 4D
METRIC MALE 24 ° H.T. PLUG
I HISMEBE24 ° B2 R Bk 6C
METRIC MALE 24 ° L.T. BULKHEAD
INHISMEBE24 ° TRk 6D
METRIC MALE 24 ° H.T. BULKHEAD
90 ° AfilAMNERL24 BRIk 6C9

90 ° METRIC MALE 24 ° L.T. BULKHEAD

Tk PAGE

14

15

15

16

17

17

18

19

19

20

21

22

22

23

23

24

24

25

25

26



H % INDEX

K5 TYPE &2 PART NO
90 ° AfHlAMEL24 ° FRYE L 6D9
90 ° METRIC MALE 24 ° H.T. BULKHEAD

N RSO R 8C
METRIC LOCK NUT

INEIIES24 ° 1% 25 B3k 9C
METRIC FEMALE 24 ° L.T. PLUG

INHINIRS24 © EARYEL 9D
METRIC FEMALE 24 ° H.T. PLUG

NHISMEBL24 ° % R Y A4 SMEL60 ° 1CN
METRIC MALE 24 ° L.T./NPT MALE 60 °

A HIAMBLE24 © E RS A SMELS60 ° 1DN
METRIC MALE 24 ° H.T./NPT MALE 60 °

90 ° AfilSMEL24 ° BRI HEE SMRL60 ° 1CN9
90 ° METRIC MALE 24 ° L.T./NPT MALE 60 °

90 * AHISMELS24 © R R AMEEE0 1DN9
90 ° METRIC MALE 24 ° H.7./NPT MALE 60 °

NSNS 24 ° 1% 25 Sk SMBS60 ° 1CT
METRIC MALE 24 ° L.T./BSPT MALE 60 °

AN HISMEL 24 © TR B SMES60 ° 1DT
METRIC MALE 24 ° H.T./BSPT MALE 60 °

90 * AHISMELS24 © iR PHEAT SMBL60 1CT9
90 ° METRIC MALE 24 ° L.T./BSPT MALE 60 °

90 * AHIAMEL24 | B SMEL0 © TR 1DT9
90 ° METRIC MALE 24 ° /BSPT MALE 60 ° H.T.

DN HISMEL24 ° % 25 SAFIREIE60 ° HETH 2 A B 1CB
METRIC MALE 24 ° SEAL L.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL

NI MZS24 © TR PAGIREER60 ° M A B 1DB
METRIC MALE 24 ° SEALH.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL

90 * AHISMELS24 ° IR F G FATIBE60 ° HETE R 1CB9
90 ° METRIC MALE 24 ° L.T./BSP MALE 60 ° CONE

90 ° AHIAMEL24 ° &R HAFIEE60 ° HETE B 1DB9
90 ° METRIC MALE 24 ° H.T./BSP MALE BSP MALE 60 ° CONE

INTHIAMEL24 ° 52 R 5] BAEWRL60 ° PN HE T o e S 1CB-WD
METRIC MALE 24 ° L.T./BSP THREAD WITH CAPTIVE SEAL

NHIAMBLR4 © TR SAGIRL60 ° P IR 1DB-WD
METRIC MALE 24 ° H.T./BSP THREAD WITH CAPTIVE SEAL

INHIAMELR4 1R R B SMES O 1CG
METRIC MALE 24 ° L.T./BSP MALE O-RING

NHIAMELR4 BRI B MBSO 1DG
METRIC MALE 24 ° H.T./BSP MALE O-RING

45 ° YEHEL24 ° 1% 25 ] A i 1CG4-0G

45°BSP THREAD 24 ° L.T.ADJUSTABLE STUD.

7k PAGE
26
27
28
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44

45



H % INDEX

5 TYPE

45 ° SLEIRL24 ° FARS AL )
45°BSP THREAD 24 *H.T.ADJUSTABLE STUD

90 ° SEIRL24 R AR W R i
90 °BSP THREAD 24 ° L.TADJUSTABLE STUD

90 ° BAFIRL24 ARSI A iy
90 °BSP THREAD 24 °H.TADJUSTABLE STUD

WHIANRS24 AR 75 i OZ el B
METRIC MALE 24 ° L.T./METRIC MALE WITH O-RING

ATISNES24  © EARG SMRLON i OB %
METRIC MALE 24 ° H.T./METRIC MALE WITH O-RING

45 ° A THISMRL24 ° B F G AT
45 ° METRIC MALE 24 ° L.T.ADJUSTABLE STUD

45 ° A HISMRL24 © T ARG AT A
45 ° METRIC MALE 24 ° H.T.ADJUSTABLE STUD

90 ° ATHIAMEL24 ° R F G AT
90 * METRIC MALE 24 ° L.T.ADJUSTABLE STUD

90 * Al SMELI24 © T A T A b
90 * METRIC MALE 24 ° H.T.ADJUSTABLE STUD

A HISNREA  FFRIIFHIICTA b
METRIC MALE 24 ° L.T./JIC 74 ° CONE SEAL

A PISRER4 © TRBISIICTA * HeiE
METRIC MALE 24 ° H.T./JIC 74 ° CONE SEAL

S HISHELE24 T ERII60  INHEIRALA T
METRIC MALE 24 ° L.T./60 ° CONE BONDED SEAL
AHISMRERS " I 60 * TSN
METRIC MALE 24 ° L.T./60 ° CONE CAPTIVE SEAL
AHISHEL4 * TRII60 * AL AR
METRIC MALE 24 ° H.T./60 ° CONE BONDED SEAL
AISNRE24 * TRI60 * P A b
METRIC MALE 24 ° H.T./60 ° CONE CAPTIVE SEAL
AHSRERA BRI FHINBAOMME
METRIC MALE 24 ° L.T./SAE MALE O-RING

OIAMRL24 TR S HMRS OB R 2
METRIC MALE 24 ° H.T./SAE MALE 0-RING

90 * il AMRS24 B RS/ S HNESCAT I ) A b
90 ° METRIC 24 ° L.T./SAE MALE ADJUSTABLE STUD
90 * Al SMRE24 © H AR/ S SMRSCT I A
90 ° METRIC 24 ° H.T./SAE MALE ADJUSTABLE STUD

NHISNRE24 © BRI KRk
METRIC MALE 24 ° L.T./WELD FITTINGS

NISNELS24 © RSN SRSk
METRIC MALE 24 ° H.T./WELD FITTINGS

ft PART NO

1DG4-0G
1CG9-0G
1DG9-0G
1CH

1DH
1CH4-0G
1DH4-0G
1CH9-0G
1DH9-0G
1CJ

1DJ

1CM
1CM-WD
1DM
1DM-WD
1CO

1DO
1C09-0G
1D09-0G
1CW

1DW

7k PAGE
45
46
46
47
48
49
49
50
50
51
52
53
54
55
55
56
57
58
58
59

59



H % INDEX

K5 TYPE &2 PART NO

ATHIIRER24 T BRI SAEIRL60  HEm AL G HVE R

METRIC FEMALE 24 ° L.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL
KHIRS24 ° A JAFIREL60 ° HEMAL A HVE R

METRIC FEMALE 24 ° H.T./BSP MALEDOUBLE 60 ° SEAT BONDED SEAL
SEHIIC 74 ° HEEES A HINIRS24 © HEOT B ik e R

JIC 74 ° CONE SEALING/METRIC FEMALE 24 ° CONE O-RING SEALING L.T.
FAMIIC 74 ° HEF R A HINIRE24 ° HEOTU R H B T RS

JIC 74 ° CONE SEALING/METRIC FEMALE 24 ° CONE O-RING SEALING H.T.
ATlRE24 © R R Y HEORIE]/ JEIREL  ORUE i

METRIC FEMALE 24 ° L.T.CONE O-RING/BSP MALEO-RING

A iliRE24 © EARYIHEORIE JEREL ORI %

METRIC FEMALE 24 ° H.T.CONE O-RING/BSP MALEO-RING
AHIRBURAE R AHINIRS24  ° HEmE ORI B B RS

METRIC THREAD /METRIC FEMALE24 ° CONE O-RING SEAL L.T.
AHIRBURAE R AHINIRS24 e ORI B R 5

METRIC THREAD /METRIC FEMALE24 ° CONE 0-RING SEAL H.T.

KNHIRE24 ° BRI TR
METRIC MALE 24 ° L.T./BSP FEMALE

KHIRS24 ° HAS TR
METRIC MALE 24 ° H.T./BSP FEMALE

KHRS24 BRI AR
METRIC MALE 24 ° L.T./METRIC FEMALE
KlRE24 ° RS AR
METRIC MALE 24 ° H.T./METRIC FEMALE

KNAMRLR4 © R ARSIl
METRIC MALE 24 ° L.T. TEE

ATISMES24 © ERH)=5E

METRIC MALE 24 ° H.T. TEE

K NERE24 © 1A TIANRLR4 RS =
METRIC FEMALE 24 ° /METRIC MALE 24 ° L.T. TEE
KNl AIRE24 © /AT IMRS24 A =0E
METRIC FEMALE 24 ° /METRIC MALE 24 ° H.T. TEE
KRHIIMEL24 ° 1 ATHINIRER24 © RS =
METRIC MALE 24 ° /METRIC FEMALE 24 ° L.T. TEE
KHIFNEL24 ° 1A THINIRER4 © AR =
METRIC MALE 24 ° /METRIC FEMALE 24 ° H.T. TEE

KNIFNEL24 RS
METRIC MALE 24 ° L.T. CROSS

ISR S24 ° RS DIE
METRIC MALE 24 ° H.T. CROSS

WAMRET24 " AR T ) RS ) S0
METRIC MALE 24 ° L.T.ADJUSTABLE STUD BRADCH TEE

2BC-WD

2BD-WD

2JC

2JD

2GC

2GD

2MC-WD

2MD-WD

5CB

5DB

5CM

5DM

AC

AD

BC

BD

CC

CcD

XC

XD

ACHC-OG

7k PAGE
60
60
61
62
63
63
64
64
65
66
67
67
68
68
69
69
70
70
71
71

72



Hox |

5 TYPE

K SMRS24 ARSI AT i R g S =
METRIC MALE 24 ° H.T.ADJUSTABLE STUD BRADCH TEE

KISMRE24 " RS Al ik S S
METRIC MALE 24 ° L.T.ADJUSTABLE STUD RUN TEE
AHISMRS24 ° T ARE AL iR 5 =
METRIC MALE 24 ° H.T.ADJUSTABLE STUD RUN TEE
WNIANREI24 ° 12 R A S AT I S =0E
METRIC MALE 24 ° L.T./BSP MALE ADJUSTABLE STUD
KNHISMRS24 T ARSI S AT ) R 5 —0E
METRIC MALE 24 ° H.T./BSP MALE ADJUSTABLE STUD
NIEI S e e F IV - E [ R ab i
METRIC MALE 24 ° L.T./BSP MALE ADJUSTABLE STUD
INIANRE24 TR S TR k) 5 =3E
METRIC MALE 24 ° H.T./BSP MALE ADJUSTABLE STUD
2xifil24 g AR BN S A g S =

METRIC MALE 24 ° L.T./SAE MALE ADJUSTABLE STUD
24 ° FARSN SEH AT AL S

METRIC MALE 24 ° H.T./SAE MALE ADJUSTABLE STUD
wifil24 * ARSI A ) 30

METRIC MALE 24 ° L.T./SAE MALE ADJUSTABLE STUD
ifil24 * FARIN ST A b 2 3 =0

METRIC MALE 24 ° H.T./SAE MALE ADJUSTABLE STUD
KHIRE24 " BRI FAFIRBUBAE L

METRIC MALE 24 ° L.T./BSP BANJO
KNHIRET24 ° H AR ST IREUE K

METRIC MALE 24 ° H.T./BSP BANJO
AHIRS24 ° BRAS A HIREUREEL

METRIC MALE 24 ° L.T./METRIC BANJO
KNHIRS24 RS A HIRSCEEE

METRIC MALE 24 ° H.T./METRIC BANJO

Sl g IR
BSP BOLT

NS S
METRIC BOLT

RERR R
RETAINING NUTS L.T.

REBRHERY
RETAINING NUTS H.T.

RERERSI
CUTTING RING L.T.

REERS
CUTTING RING H.T.

NDEX

RUN TEE
RUN TEE
BRANCH TEE
BRANCH TEE
RUN TEE
RUN TEE
BRANCH TEE

BRANCH TEE

ft & PART NO

ADHD-0G
ACCH-OG
ADDH-0G
ACCG-0G
ADDG-0OG
ACGC-0G
ADGD-0G
ACCO-0G
ADDO-0G
ACOC-0G
ADOD-0G
1CL-B
1DL-B
1CL

IDL
720B
700M

NL

NS

RL

RS

ik PAGE
72
73
73
74
74
75
75
76
76
77
77
78
78
79
79
80
80
81
81
82

82



H % INDEX

K5 TYPE &2 PART NO
NHIAMEBETA © HME 1Q
METRIC MALE 74 ° CONE

INHISMELTA ° hMES K 4Q
METRIC MALE 74 ° CONE PLUG

NHISMBLTA A Bk 6Q
METRIC MALE 74 ° CONE BULKHEAD

90 ° AHISMELSTA AR Rk 6Q9

90 ° METRIC MALE 74 ° CONE BULKHEAD

DN IMBETA © AN A S AL 1QN
METRIC MALE 74 ° CONE/NPT MALE

45 ° N HIAMBESTA AN TR HEAS SNRSL 1QN4

45 ° METRIC MALE 74 ° CONE/NPT MALE

90 ° ATRIAMEBLITA ° AN AR MBS 1QN9

90 ° METRIC MALE 74 ° CONE/NPT MALE

NHISMBLETA ° HMNHE SRS AMBEL 1QT
METRIC MALE 74 ° CONE/BSPT MALE

90 ° AHISMELITA ° AN SEHERT SN LT 1QT9

90 ° METRIC MALE 74 ° CONE/BSPT MALE

ISTHIIMBETA ° SN AT HNZELE60 ° PSS i T 2 A e 1QB
METRIC MALE 74 ° CONE/BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL
INHITA © AN S HMIE L ORI 10G
METRIC 74 ° CONE/BSP MALE O-RING

90 ° /AHIT4 ° HNE/ ST HMBELO R FE I i) s 1QG9-0G
90 ° METRIC 74 ° CONE/BSP MALE O-RING ADJUSTABLE STUD

INENT4 © BN s i e 1QH
METRIC 74 ° CONE/METRIC MALE

90 ° ATHIT4 © HMHE! A I ANE S AT R A b 1QH9-0G
90 ° METRIC 74 ° CONE/METRIC MALE ADJUSTABLE STUD

INHISMBLTA © HNHEL A I SMEL60 © PIHE S i 2H & s Bt 1QM
METRIC MALE 74 ° CONE/METRIC MALE DOUBLE FOR 60 ° SEAT BONDED SEAL
INHISMBLETA © AN SAESNMELLOR 1Q0
METRIC MALE74 ° CONE/SAE MALE O-RING

90 ° A MHIAMELTA ° hME SAESMELOTIRE 1Q09-0G
90 ° METRIC MALE74 ° CONE/SAE MALE O-RING ADJUSTABLE STUD

90 * ATHISIMESTA ° SNHEN A HINIRLTA Y 2Q9

90 ° METRIC MALE 74 ° CONE/METRIC FEMALE 74 ° SEAT

NEISMEBETA © b= AQ
METRIC MALE 74 ° CONE TEE

INHIAMBETA AN ATV R A S = AQHQ-0G
METRIC MALE74 ° CONE/ADJUSTABLE STUD BRANCH TEE

INEIIMIZECTA AN T R S = AQQH-0G
METRIC MALE74 ° CONE/ADJUSTABLE STUD RUN TEE

7k PAGE
83
84
85
86
87
88
89
90
91
92
93
93
94
94
95
9
96
97
97
98

98



H % INDEX

z'éj”ﬂj TYPE 5 PART NO Tk PAGE
H AR I SMNZL60 ° M 1K 99
JIS METRIC MALEGO ° CONE

90 ° HAAHIMEL60 ° sMfE 2K9 99
90 ° JIS METRIC MALEGO ° CONE

HAR A HIAMZL60 ° ALk 4K 100
JIS METRIC MALE6O ° CONE PLUG

H AR il I IR L 460 ° 9K 100
JIS METRIC FEMALE 60 ° SEAT PLUG

HA LN I SMEL60 ° AMNEE TRHERS SME L 1KN 101
JIS METRIC MALE 60 ° CONE/NPT MALE

H AR HISMREI60 © AN/ A I SMZEE60 ° 5 fuli 4l A5 1KM 101
JIS METRIC MALE6O ° CONE/METRIC MALE 60 ° CONE BONDED SEAL

H AN I AMEBLL60 ° / SAkaS s E L KT 102
JIS METRIC MALE60 ° CONE/BSPT MALE

HAHISMEL60 © AMfES 25 HI SN L T 251 1KH 102
JIS METRIC MALE6O ° CONE/METRIC MALE S-SERIES

90 ° HAAHISNBRLS60 ° HNHES 4> ] SRS ] fi ek it 1KH9-0G 103
90 ° JIS METRIC MALE 60 ° CONE/METRIC ALE ADJUSTABLE STUD

HA N FIAMRE60 ° HMfE 3EAMRET ORI 1KG 104
JIS METRIC MALE 60 ° CONE/BSP MALE 0-RING

90 ° HAAFISMELB0 ° | Hiss HME L ORI e v] I ) A vt 1KG9-0G 104
90 ° JIS MERIC MALE/BSP MALE O-RING ADJUSTABLE STUD

H AR HIAMZL60 ° A= AK 105
JIS METRIC MALEGO ° CONE TEE

H A I ANZE60 ° A H AR il PYIRE60 P HE4 S =3 BK 105
JIS METRIC MALE6O ° CONE/JIS METRIC FEMALE 60 ° SEAT BRANCH TEE

H 223 il AN S B4 SN £ O B mI 3 1) A i 32 7 =il AKKG-0G 106
JIS METRIC MALE/BSP MALE O-RING RUN TEE ADJUSTABLE STUD

H AR I ANEZL60 ° AN il SMZESCAT I A i 32 57 =38 AKKH-0G 107
JIS METRIC MALE 60 ° CONE/ADJUSTABLE STUD RUN TEE

H A SR S 545 HMR S O A B w] I [ A i 0 S =38 AKGK-0G 107
JIS METRIC MALE/BSP MALE O-RING ADJUSTABLE STUD BRANCH TEE

H A T AMZS60 ° AMHES 2 il SMZ ST [a) A 4 % =3l AKHK-OG 108
JIS METRIC MALE 60 ° CONE/ADJUSTABLE STUD BRANCHTEE

INTIANZEST4  PEER (\ 109
METRIC MALE 74 ° CONE SEAT

INHIANBEETA © P HE T DA SMERLL VT 109
METRIC MALE 74 ° CONE SEAT/BSPT MALE

H AR SAE SMZLL60 ° HMfE 18 110
JIS GAS MALE 60 ° CONE

H 7345 AN Lr60 ° AMEESE Sk 43 110

JIS GAS MALE 60 ° CONE PLUG



H % INDEX

25 TYPE K2 PART NO
H A4S N IZZE60 ° P4k 98
JIS GAS FEMALE 60 ° SEAT PLUG

H AR BAS SMZZ60 ° AT Ak 6S
JIS GAS MALE 60 ° CONE BULKHEAD

HZARHAT IMELSI60 ° HMHE! Tk SMRLL 18T
JIS GAS MALE 60 ° CONE/BSPT MALE

45 ° HARBLAEFIMBL60 ° M/ FEHEE SMEBEL 18T4
45° JIS GAS MALE 60 ° CONE/BSPT MALE

90 ° HAZLAEIMRL60 ° AN BEHER SRS 18T9
90 ° JIS GAS MALE 60 ° CONE/BSPT MALE

HASA SMRL60 ° HME/ AR FMRSL 1SN
JIS GAS MALE 60 ° CONE/NPT MALE

45 ° HARBAFIMES60 © FME/ AT ML 1SN4
45°JIS GAS MALE 60 ° CONE/NPT MALE

90 ° H AT SMEBLL60 ° HMFE/ A HERE SMRSL 1SN9
90 ° JIS GAS MALE 60 ° CONE/NPT MALE

HA A IMEL60 ° SMEE S0 SMESIOR 185G
JIS GAS MALE 60 ° CONE/BSP MALE O-RING

90 ° HARTELAFHMERL60 ° A/ LA HMELS60 ° OZ Fl n i [ H: vy 18G9-0G
90 ° JIS GAS MALE 60 ° CONE/BSP MALE O-RING ADJUSTABLE STUD
HASAESMEL60 ° A= AS
JIS GAS FEMALE 60 ° SEAT TEE

H AR SAE FMZL60 ° A/ H AR 5EE N IZE60 SN 32—l BS
JIS GAS MALE 60 ° CONE/JIS GAS FEMALE 60 ° SEAT BRANCH TEE

H ARG AMZL060 ° A/ B ARHEAS IRE60 ° S =3l CS
JIS GAS MALE 60 “ CONE/JIS GAS FEMALE 60 ° SEAT RUN TEE

H R4 P IRE60 ° Pk =i DS
JIS GAS FEMALE 60 ° SEAT TEE

HARBEAE HMZL60 ° SN HA5 SMRECOZY B n] 18 ) H: i 43 3 =3 ASGS-0G
JIS GAS MALE 60 ° CONE/BSP MALEO-RING ADJUSTABLE STUD BRANCH TEE
HAHEATSMIZE60 ° AME/ 3545 SMRELO T R T b i 3 S =3 ASSG-0G
JIS GAS MALE 60 ° CONE/BSP MALEO-RING ADJUSTABLE STUD END RUN TEE

YT HMZL60 Py HED S A i 4 B 1B
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL

45 ° JUEHMZL60 ° P4 1B4
45°BSP MALE 60 ° SEAT

90 ° JAFHIMELB0 ° NHE 1B9
90 ° BSP MALE 60 ° SEAT

YT HMZS60 ° PYHES N £ T 2L A I B S N IRLI60  © AN 2B
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL /BSP FEMALE 60 ° CONE

45 ° JAEHMEL60 ° A B VIRE60 A 2B4

45° BSP MALE 60 ® SEAT/BSP FEMALE 60 ° CONE

Tk PAGE
111
111
112
113
114
115
116
117
118
118
119
119
120
120
121
121
122
123
124
125

126



H % INDEX

z'éj”ﬂj TYPE 5 PART NO TRk PAGE
90 ° JAFAMERL60 ° NHE BTG NIRE60 ° M 2B9 127
90 ° BSP MALE 60 ° SEAT/BSP FEMALE 60 ° CONE

BB N IRL60 ° Ah4E 3B 128
BSP FEMALE 60 ° CONE

45 ° B NIZLE60 ° A 3B4 129
45 ° BSP FEMALE 60 ° CONE

90 ° JAFIRL60 ° A 3B9 129
90 ° BSP FEMALE 60 ° CONE

JLEFHMBLO0 ° PNHED S A T 4 A s Bk 4B 130
BSP MALE DOUBLE FOR 60 ° SEAT OR BONDED SEAL PLUG

YL NIRA60 ° HMIERE K 9B 130
BSP FEMALE 60 ° CONE PLUG

HEHMRALD60 ° PR 6B 131
BSP MALE 60 ° SEAT BULKHEAD

90 ° HAFHMALG0  ° PNHER ARk 6B9 131
90 ° BSP MALE 60 ° SEAT BULKHEAD

B IRE RS 8B 132
BSP LOCK NUT

BEEAMREL60 ° PIHES 7S A i 2H S 3 S S SR AL 1BT 133
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/BSPT MALE

45 ° B HMEL60 ° P HE DEHER MRS 1BT4 134
45°BSP MALE 60 ° SEAT /BSPT MALE

90 ° JEEIMRL60 ° PHE TLEE SR 1BT9 135
90 ° BSP MALE 60 ° SEAT /BSPT MALE

JEEIMRLE60 ° PHESS A ok T 2 A B A AR AL 1BN 136
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/NPT MALE

45 ° B HMBR60 ° P T AN S 1BN4 137
45°BSP MALE 60 ° SEAT /NPT MALE

90 ° HAEHMEL60 ° PN HE/ FHERE SMEBLL 1BN9 138
90 ° BSP MALE 60 ° SEAT /NPT MALE

JLEIMZRLS60 ° PHEDR 7S i 2 A s Bl S MR L0 1BG 139
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/BSPT MALE 0-RING

45 ° JAFINEE60 ° PNHE/ S SNIZEr O T R T IR [ A 1BG4-0G 140
45 ° BSP MALE 60 ° SEAT/BSP MALE O-RING ADJUSTABLE STUD END

90 ° JAFHMEBL60 ° P/ S SMBLOR B T R a4 b 1BG9-0G 141
90 ° BSP MALE 60 ° SEAT/BSP MALE 0-RING ADJUSTABLE STUD END

B IMZES60 ° DR 7S i A A B Bl A T AMR SR R 1BH 142
BSP MALE DOUBLE FOR 60 ° SEAT BONDED SEAL/METRIC MALE L-SERIES

45 ° BAFHMERE60 ° PIAE o T ANMESUR R A 1BH4-0G 143
45 ° BSP MALE 60 ° SEAT/METRIC MALE 0-RING

90 * JEEIMRL60 ° PIHE Al MRS R 1BH9-0G 144

90 ° BSP MALE 60 ° SEAT/METRIC MALE O-RING



H % INDEX

K5 TYPE £E PART NO

B HMREL60 © PAHEDCN AT AL A G B SR I C SNRAT4A © AhafE
BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/JIC MALE 74 ° CONE
SR HMRLI60 * PYAES A i T AL £ BV SE IV IC SMRET4 © S
BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/JIC MALE 74 ° CONE
45 ° A SMERL60 © NHE/ SEIJICHMRETA © SR

45 ° BSP MALE 60 ° SEAT/JIC MALE 74 ° CONE

90 ° SEAFSMRLI60 P HE/SEHIJICHMRETA © SME

90 ° BSP MALE 60 ° SEAT/JIC MALE 74 ° CONE

S HMEL60 ° PN A 2 S A SMREe0
PHIEBC S i T 2L HV

BSP MALE 60 ° SEAT DOUBLE 60 ° SEAT BONDED SEAL

IMETRIC MALE DOUBLE 60 ° SEAT BONDED SEAL

SATSMRLIB0 * PSS FIRTTAL A HSAE
SMBLFOM A R

BSP MALE 60 ° SEAT BONDED SEAL/SAE O-RING BOSS L-SERIES
SPIMBALB0 * PYHES S IRITAL S A

BSP MALE 60 ° SEAT BONDED SEAL/BUTT-WELD TUBE

RIS IR0 © AN

BUTT-WELD TUBE/BSP FEMALE 60 ° CONE

SEAFIMBELO0 " PSS ORI AL (B S IR
BSP MALE 60 ° SEAT BONDED SEAL/BSP MALE CAPTIVE SEAL
SATIMRLI0 * PUHES S FRTIALA 3 B R ICIRETA * i
BSP MALE DOUBLE FOR 60 ° SEATBONDED SEAL/JIC FEMALE 74 ° SEAT
S SMRECR AR B I CRIRETA * P

BSP MALE CAPTIVE SEAL/JIC FEMALE 74 ° SEAT

G DT O

BSPT MALE/BSP FEMALE 60 ° CONE

45 * SEHETESMREL SEATPIBRELE0 © SN

45°BSPT MALE/BSP FEMALE 60 " CONE

90 * JEHE SR/ JERFIIRECB0 © Shif

90 " BSPT MALE/BSP FEMALE 60 ° CONE

AT SMRAL SR RGO ° S

NPT MALE/BSP FEMALE 60 ° CONE

45 * 4R SR SEAFAIBEL60 © Shif

45° NPT MALE/BSP FEMALE 60 ° CONE

90 * {7 HE I SR JERFPIIREB0 * Shif

90 NPT MALE/BSP FEMALE 60 ° CONE

S SRR P17

BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG

S IR

BSP MALE CAPTIVE SEAL PLUG

S HNEL60 © PAHESC S A I 4L B B S A IRAL
BSP MALE DOUBLE FOR 60 * SEATBONDED SEAL/BSP FEMALE

1BJ

1BJ

1BJ4

1BJ9

1BM

1BO

1BW

2WB

1B-WD

2BJ

2BJ-WD

2TB

2TB4

2TB9

2NB

2NB4

2NB9

4BN-WD

4B-WD

5B

Tk PAGE
145
146
147
148

149

150

151
151
152
153
154
155
156
156
157
158
159
160
160

161



H % INDEX
%5l TYPE

90 * HEHMRL60 * NHE T NIREL
90 ° BSP MALE 60 ° SEAT/BSP FEMALE

BATHNEL60 ° PAHEEN Al i T A £ S A P REL
BSP MALE DOUBLE FOR 60 " EATBONEDE SEAL/NPT FEMALE

SEHMREL60 ° IS i I AL SRS SRR Y IRAT
BSP MALE DOUBLE FOR 60 * EATBONEDE SEAL/BSPT FEMALE

S HNREU I B S NIREL
BSP MALE CAPTIVE SEAL/BSP FEMALE

FATHMRELOR B/ S IREL
BSP MALE 0-RING/BSP FEMALE

DEHEE NIREL T NIRE60 ° M
BSPT FEMALE/BSP FEMALE 60 * CONE

SR IREL
BSP FEMALE

90 ° S NIRLL
90 * BSP FEMALE

B NIRECE
BSP FEMALE TEE

B HMRLS60 ° PYHE=E

BSP MALE 60 * SEAT TEE

SAEHNEL60 © A HE SR IREUMEE Sy S =

BSP MALE 60 ° SEAT/BSP FEMALE 60 ' CONE BRANCH TEE

SEANEL60 © A HE SR IRSUMEE T S =
BSP MALE 60 " SEAT/BSP FEMALE 60 *CONE RUN TEE

T IR ME =18
BSP FEMALE 60 * CONE TEE

B AIRL60 ° HME S SNRLS60 © AHES Sl
BSP FEMALE 60 ° CONE/BSP MALE 60 ° BRANCH TEE

S NIRE60 7 SMIE/ SESMRL60 T PHES Sl
BSP FEMALE 60 ° CONE/BSP MALE 60 °BRANCH TEE

S HMRL60 " PHEN S HMRELORY R s 52 =08

5 PART NO

5B9
5BN
5BT
5B-WD
5GB
7B
7B
7B9
GB
AB
BB
CB
DB
EB
FB

ABBG-0G

BSP MALE 60 ° SEAT/BSP MALEO-RING ADJUSTABLE STUD END RUN TEE

SEHMRLL60 7 NAEN ST SMRELORY B R S g 3L =0l

ABGB-0G

BSP MALE 60 ° SEAT/BSP MALEO-RINGADJUSTABLE STUD END BRANCH TEE

DEHER MRS
BSPT MALE

45 ° JLHEEAMERLL
45 ° BSPT MALE

90 ° BEHER AMBRLL
90 ° BSPT MALE

SCHEE IMREUE
BSPT MALE PLUG

1T

174

179

4T

Tk PAGE
162
163
163
164
165
165
166
167
167
168
168
169
169
170
170
171
171
172
173
173

174



H % INDEX

X 5] TYPE 2 PART NO
BEHEAE SNBSS fatE Sk 4TN
BSPT MALE HOLLOW HEX PLUG

YR SNBSS IR 5T
BSPT MALE/BSPT FEMALE

90 ° FEHEE SME LY T N IREL 5T9
90 ° BSPT MALE/BSPT FEMALE

R NIRSL T
BSPT FEMALE

90 ° HEAEAE PYBRLYL 7T9
90 ° BSPT FEMALE

P NI S =W GT
BSPT FEMALE TEE

FEHEAT YIRS E ZT
BSPT FEMALE CROSS

PG HMBETORI B SRR IR 5GT
BSP MALE O-RING/BSPT FEMALE

Tl HEAE SMIREL N
NPT MALE

45 ° FEMfilfaHER FMERLL 1N4
45 ° NPT MALE

90 ° IR FMELL 1N9
90 ° NPT MALE

ST SNBEBON S Sk 4NN
NPT MALE HOLLOW HEX PLUG

SE AT HER SNBSSk 4N
NPT MALE PLUG

T AN A T VIR 5N
NPT MALE/NPT FEMALE

45 ° LI SMBLE 1 HER T IBLL 5N4
45° NPT MALE/NPT FEMALE

90 ° EHITRHEAS YMBLL/ TS N IBLL 5N9
90 ° NPT MALE/NPT FEMALE

Tl HEAS N IREL 7N
NPT FEMALE

90 ° AT HER PIREL 7N9
90 ° NPT FEMALE

ST HEE NIREUE K 9N-CAP
NPT FEMALE PLUG

FHISAESMRLHT OB/ 3 i 1 s SME L 1NO
NPT MALE/SAE O-RING BOSS

TiHEE IMZL SEHINPSMPYIRE60 ° HhE 2NU

NPT MALE/NPSM FEMALE 60 ° CONE

Tk PAGE
174
175
176
177
178
178
179
179
180
181
181
182
182
183
184
184
185
186
186
187

188



H % INDEX

5 TYPE

45 ° AL SMREU K HINPSMIZA60 © S
45° NPT MALE/NPSM FEMALE 60 ° CONE

90 ° FHEE SMELL EHINPSM N IZLI60 ° A1k
90 ° NPT MALE/NPSM FEMALE 60 ° CONE

EHISMRSORIE/ Sl NIRS
BSP MALE O-RING/NPT FEMALE

I HINESUR R 5 S A REL
METRIC MALE L-SERIES/NPT FEMALE

oy AN S G 58T HEAT PR
METRIC MALE WITH BONDED SEAL/NPT FEMALE

ST A SR I SAE A BREL
NPT MALE/SAE FEMALE

KHISAESMRELORE 2 R4/ SEIATHERE AIREL
SAE 0-RING BOSS L-SERIES/NPT FEMALE

DR SMREY SEHIATHER A IREL
BSPT MALE/NPT FEMALE

S A HEE PRSI
NPT FEMALE CROSS

THERS W IRSU SEHINPSMIAIRE60 * A4
NPT FEMALE/NPSM FEMALE 60 ° CONE

S A SRS =

NPT MALE TEE

TIHEA NIREC =18
NPT FEMALE TEE

S A HER N IREY AR SNBSS Sl
NPT FEMALE/NPT MALE BRANCH TEE

SEHIATHERT P IREY A HERT SMIRE T3 =l
NPT FEMALE/NPT MALE RUN TEE

SKAIJICHNRETA * Sh4fE
JIC MALE 74 ° CONE

45 ° EHIJICHNZRLTS ° Hife
45 ° JIC MALE 74 ° CONE

90 ° EHJICHMBLTA ° HlE
90 ° JIC MALE 74 ° CONE

90 ° FEHIJICHMBELTA ° Hh4E
90 ° JIC MALE 74 ° CONE

EHIJICHMREZTA ° SMNHE/JICPIIRST4 ° PIEE
JIC MALE 74 ° CONE/JIC FEMALE 74 ° SEAT

45 ° LHIJICHMRLTA © SMfE/JICIRELTA * P
45 ° JIC MALE 74 ° CONE/JIC FEMALE 74 ° SEAT

90 ° SEMIJICHMRELTA * ShfE/JICHIRELTA ° Pyt
90 ° JIC MALE 74 ° CONE/JIC FEMALE 74 ° SEAT

ft & PART NO

2NU4
2NU9
5GN
5HN
5MN
5NO
50N
5TN
ZN
7NU
AN
GN
N
HN

1J
1J4
1J9
1J9
2J
2J4

2J9

Tk PAGE
189
190
191
192
192
193
194
195
195
196
197
197
198
198
199
200
200
200
201
202

203



H % INDEX

5 TYPE

ERIIICHIZL T4 ° Pyife
JIC FEMALE 74 ° SEAT

45 ° EHIJICIRLIT4 © P4
45 ° JIC FEMALE 74 ° SEAT

90 ° HIJICHIBLITA ° N4
90 ° JIC FEMALE 74 ° SEAT

FHIIICHMRL T4 ° HisfikEk
JIC MALE 74 ° CONE PLUG

S ICHMREL Sl ICHIREL
JIC MALE/JIC FEMALE

FKAIIICHMRLETA * ST Ak
JIC MALE 74 ° CONE BULKHEAD

45 ° Ll JICHMRLTA ° SR Sk
45 ° JIC MALE 74 ° CONE BULKHEAD

90 * EHIJICHMRIITA * St A Sk
90 ° JIC MALE 74 * CONE BULKHEAD

EHIICHIEE
JIC LOCK NUT

FKHIJICPHIRETA * PHERE Sk
JIC FEMALE 74 ° SEAT PLUG

JIC74 ° NIRZIE Sk
JIC 74 ° FEMALE PLUG

JICHMERETA ° HNEI FifEas SN S
JIC MALE 74 ° CONE/BSPT MALE

45 ° JICHMBELT4 ° HMIEI TEHEE FMELL
45 ° JIC MALE 74 ° CONE/BSPT MALE

90 ° JICHMZRLT4 ° ML FEEE MRS
90 ° JIC MALE 74 ° CONE/BSPT MALE

JICHMBETA ° HNE/ A HEAE SN S
JIC MALE 74 ° CONE/NPT MALE

45 ° JICHMBETA ° HMNEI kRS SMB ST
45 ° JIC MALE 74 ° CONE/NPT MALE

90 ° JICHMERLTA ° HME/ M HEAS SMBRLL
90 * JIC MALE 74 ° CONE/NPT MALE

90 " JICHMRLLTA * HIHE/ KA HEA SMERELC
90 * JIC MALE 74 ° CONE/LONG NPT MALE

90 ° JICHMZRLLTA ° AN/ FF R AT HEAT SN L
90 ° JIC MALE 74 ° CONE/LONGGER NPT MALE

SRIJICHMERLTA ° HMHEN SR N IRL60 ° M
JIC MALE 74 ° CONE/BSP FEMALE 60 ° CONE

SKAJICHMRLTA * HMEI S SMREL0Z ]
JIC MALE 74 ° CONE/BSP MALE 0-RING

ft& PART NO

3J
3J4
3J9

4J

5J

6

6J4
6J9

8J

9J
9J-CAP
1JT
1JT4
1JT9
1IN
1JN4
1JN9
1JNG-L
1JNO-LL
2JB

1JG

Tk PAGE
204
204
205
205
206
207
207
208
208
209
209
210
211
212
213
214
215
216
217
218

219



H % INDEX

%5 TYPE ft2 PART NO Tk PAGE
45 ° W JICHMBLLTA ° HPAEI B4 HMB L 07 Pl 1JG4-0G 220
45 ° JIC MALE 74 ° CONE/BSP MALE O-RING

90 ° EHIJICHMNRLTA ° HINGE FLAE SR L0 g 1JG9-0G 221
90 ° JIC MALE 74 ° CONE/BSP MALE 0-RING

EHIJICHMBLLTA ° A/ ORFSHMEZ LY 1JF 222
JIC MALE 74 ° CONE/ORFS MALE

JICHMEZEETA ° AN il /MRS 0T B 2 1JH 223
JIC MALE 74 ° CONE/ METRIC MALE END O-RING

45 ° FEHIJICHMERETA ° HNHES 2 T AR n] I 1) A i 1JH4-0G 224
45 ° JIC MALE 74 ° CONE/METRIC MALEADJUSTABLE STUD END

90 ° FEMlJICHNRLTA ° HMIES il MRS ] I ] A g 1JH9-0G 225
90 ° JIC MALE 74 ° CONE/METRIC MALEADJUSTABLE STUD END

JICHMEBRETA ° AMNEE A TIAMRLS60 ° PYHESL /S A i 2H A 3 & 1M 226
JIC MALE 74 ° CONE/METRIC MALE DOUBLEUSE FOR 60 ° SEAT OR BONDED SEAL

JICHMBLT4 ° HNHES N I AMB L e T ) 1JM-WD 227
JIC MALE 74 ° CONE/METRIC MALE CAPTIVE SEAL

EHIJICHMBLITA ° A/ SAESME ST 0% | 1JO 228
JIC MALE 74 ° CONE/SAE O-RING BOSS

EHIJICHMBLLTA ° A/ SAESME ST 0% 1JO 229
JIC MALE 74 ° CONE/SAE 0-RING BOSS

TN HIIICHMBLSLTA ° HME/ SAESMEZHT 07 [ 1JO-L 229
LONG JIC MALE 74 ° CONE/SAE O-RING BOSS

45 ° JICHMBET4 © HMiEI SAESME L 0% 1J04-0G 230
45 ° JIC MALE 74 ° CONE/SAE O-RING BOSS

90 ° JICHMELITA ° 4N/ SAEAMEB S50 e 1J09-0G 231
90 ° JIC MALE 74 ° CONE/SAE 0-RING BOSS

90 ° SEHIJICHMRLTS ° HMHE/ I SAESMEZESAHF 074 P 1J09-0G/ L 232
90 ° JIC MALE 74 ° CONE/LONG SAE 0O-RING BOSS

WA MBI BB B I CHMBLLTE ° ik 1BJ-WD 233
BSP MALE CAPTIVE SEAL/JIC MALE 74 ° CONE

YA SN S JICP IR T4 ° 4 2TJ 234
BSPT MALE/JIC FEMALE 74 ° SEAT

TAHEAS MBS JICHIRST4 ° Py 2NJ 235
NPT MALE/JIC FEMALE 74 ° SEAT

BAG HNB SO B | JICH RS T4 ° HETH 2GJ 236
BSP MALE O-RING/JIC FEMALE 74 ° CONE

22 HISAESMEB ORI B/ JIC MBS 74 ° N4 20J 237
SAE 0-RING BOSS/JIC FEMALE 74 ° SEAT

TR LRI ICHIELT4 ° 4k 2WJ 237
BUTT-WELD TUBE/JIC FEMALE 74 ° SEAT

SEHJICHMBRE T4 ° FNHE/ FEAE YIRS 5JB 238

JIC MALE 74 ° CONE/BSP FEMALE



H % INDEX

5 TYPE

SEMIIICHMRELTA * HME/ SRR RS
JIC MALE 74 ° CONE/BSPT FEMALE

SEMIJICHMEBLTA * HME/ATHER P IREL
JIC MALE 74 ° CONE/NPT FEMALE

90 ° SEMIJICHMBELTA ° HME/ A HER N IREL
90 * JIC MALE 74 ° CONE/NPT FEMALE

S HINPT ML/ 5 ] J | CHMREL S Az 3k
NPT MALE/JIC MALE 74 ° CONE BULKHEAD

THERT IREU JICIRET4 ° Pk
NPT FEMALE/JIC FEMALE 74 ° SEAT

SEHIJICHMRLLTA * HMfE =3
JIC MALE 74 ° CONE TEE

FHIICHMRLTA * H1HE/ LRI ICHIRETA * NHESY SC =18

JIC MALE 74 ° CONE/JIC FEMALE BRANCH TEE

FMIICHMRDTA * SMHE/SEHIJICHIRELT4 * NHET: 32 =38

JIC MALE 74 ° CONE/JIC FEMALE 74 ° SEAT RUN TEE

KAIIICHIRET4 © PyAE—8
JIC FEMALE 74 ° SEAT TEE

M ICHIRETA * HE/SEHIVICAMRETA ° SMfESS 3 =1
JIC FEMALE 74 ° SEAT/JIC MALE 74 ° CONE BRANCH TEE

SEMIVICHIRELTA * NHE FEHIJICHMRLTA * SMES 32 =3
JIC FEMALE 74 ° SEAT/JIC MALE 74 ° CONE BRANCH TEE

SEHIJICHNRELTA * HMHES 11 HEAE MRS 5 =1
JIC MALE 74 ° CONE/NPT MALE BRANCH TEE

SEHIJICHMERLTA * HME/ A HEA SMREL T S =1
JIC MALE 74 ° CONE/NPT MALE RUN TEE

SKMJICHMREL T4 * HMfEIT Mk 323~
JIC MALE 74 ° CONE BULKHEAD RUN TEE

S ICHMERLTA * SN Mt ko) 3 =l
JIC MALE 74 ° CONE BULKHEAD BRANCH TEE

SEMIJICHNRETA * SMAE/ AT HER IREU) 3 =0
JIC MALE 74 ° CONE/NPT FEMALE BRANCH TEE

KANIICHNMRLETA * S/ A HER W IRSCE S =0
JIC MALE 74 ° CONE/NPT FEMALE RUN TEE

S JICHMELTA ° HMfEISAESMESF OB 4y X =38
JIC MALE 74 * CONE/SAE 0-RING BOSS BRANCH TEE

S JICHMERELTA ° M/ SAESMERLGHORLE 3= % =38
JIC MALE 74 ° CONE/SAE O-RING BOSS RUN TEE

JICHMRELTA * H1HE/ A SRS P 73 3 =3
JIC MALE 74 ° CONE/BSP MALE O-RING BRANCH TEE

JICHMRETA * HE/ B SMR SO 32 5 =i
JIC MALE 74 ° CONE/BSP MALE 0-RING RUN TEE

5 PART NO

5JT

5JN
5JN9
6NJ

7NJ

AJ

BJ

CJ

DJ

EJ

FJ

AJINJ
AJIN
AJJ6J
AJ6JJ
KJINJ
LJJN
AJOJ-0G
AJJO-0G
AJGJ-0G

AJJG-0G

Tk PAGE
239
240
241
242
242
243
243
244
244
245
245
246
247
248
248
249
250
251
252
253

253



H % INDEX

X5 TYPE

S ICHMERLETA * HMES 24 i SMREC AT e i 2 52 =8
JIC MALE 74 ° CONE/METRIC MALE ADJUSTABLE STUD END

JICAHIEF £
JIC METRIC SLEEVE

JICHEHIEH £
JIC INCH SLEEVE

SKANINICY™ A 12k IR B
JIC FLARE TUBE END NUT

S| ORFSHMREALOR A i 1
ORFS MALE 0-RING

45 ° 4| ORFSHMZRLLOFY B -1 4 £}
45 ° ORFS MALE 0-RING

90 * K| ORFSHMRL OB & V- Hi £
90 ° ORFS MALE 0-RING

K ORFSHMRELLOR & 1 1f 1/ ORFSIREL
ORFS MALE 0-RING/ORFS FEMALE

45 ° ST ORFSHMRALTOZ [E-F- [ £/ ORFSAIRLL
45 ° ORFS MALE 0-RING/ORFS FEMALE

90 * SeHH|ORFSAMRALIOZ [~ [ % £/ ORFSNIRLL
90 ° ORFS MALE O-RING/ORFS FEMALE

£1HORFSPyIZAL
ORFS FEMALE

51| ORFSHMRLLOR - i 5 3%k
ORFS MALE O-RING PLUG

5| ORFSAMREL O e - [f 1o A Sk
ORFS MALE 0-RING BULKHEAD

45 * il ORFSHMREL O Y- i B e Sk
45 ° ORFS MALE 0-RING BULKHEAD

90 * JH|ORFSHMRL O &l - 1f i 1 M Sk
90 ° ORFS MALE O-RING BULKHEAD

FHORFSHIHEE
ORFS LOCK NUT

% ORFS LUk
ORFS FEMALE PLUG

A ORFSHMRELOZY [ i 25 4/ A7 SMR AL
ORFS MALE O-RING/NPT MALE

45 ° St ORFSHMELLORY [ 11 5 &}/ 7tk SMERLL

45 ° ORFS MALE O-RING/NPT MALE

90 * 1| ORFSAMER L OHY & 1~ hi 5 £/ 11 HEAT SMREL

90 ° ORFS MALE O-RING/NPT MALE

F | ORFSHMREL O [ F i 48 1/ /4 il SMRAL
ORFS MALE O-RING/METRIC MALE 0-RING

5 PART NO

AJJH-0OG

NB500

NB300

00TSUM-NB

1F

1F4

1F9

2F

2F4

2F9

3F

4F

6F

6F4

6F9

8F

9F

1FN

1FN4

1FN9

1FH

Tk PAGE
254
255
256
256
257
258
258
259
260
260
261
261
262
262
263
264
264
265
266
267

268



H % INDEX

k5] TYPE f£ 5 PART NO T PAGE
45 ° 1| ORFS MRS OR8] - 1f 25 45/ 7 il FNZ AT ] ] A i 1FH4-0G 269
45 ° ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

90 ° FH|ORFSHMERLLOZY B - 5 EH 23l SMZRLCaT I ) i 1FH9-0G 269
90 ° ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END

% HIORFSHME L O f V-1 Bt/ 25l MBS OT T 22 5 1FO 270
ORFS MALE O-RING/SAE O-RING BOSS S-SERIES

45 ° 31| ORFSHMERZL OB B - i % Hf/ il SMRLH OB [ & 241 1F04-0G 271
45 ° ORFS MALE O-RING/SAE 0-RING BOSS S-SERIES

90 ° £ H|ORFSHMZLL O [ - 2 5/ 5 il SMEZE S O %I T R 51 1F09-0G 272
90 ° ORFS MALE 0-RING/SAE 0-RING BOSS S-SERIES

F 1 ORFSHMEZR L OR - i % £/ HeAE SR L O R 1FG 273
ORFS MALE O-RING/BSP MALE O-RING

45 ° i ORFSHMERLL OFY B - hi % £/ Je A HMEL OF 1FG4-0G 274
45 ° ORFS MALE O-RING/BSP MALE O-RING

90 ° il ORFSHMELLOR [ ~F-Thi 2 &t T FMRLLOZL 1FG9-0G 275
90 ° ORFS MALE O-RING/BSP MALE 0-RING

FEHISAESMELORY B T £ 51|/ ORFS  PIRLL 20F 276
SAE 0-RING BOSS S-SERIES/ORFS FEMALE

FHORFSHME L ORI P V-1 2 i A 3k £ 7 =38 AFF6F 277
ORFS MALE O-RING BULKHEAD RUN TEE

= 1| ORFSHMEBLL O B 1 1t 2% ik M de ko3 32 =3 AF6FF 277
ORFS MALE O-RING BULKHEAD BRANCH TEE

F1H|ORFSHMERLLOZY [ - 5 & I MRS ORI + 7 =i AFFG-0G 278
ORFS MALE O-RING/BSP MALE O-RING RUN TEE

1 ORFSHMR L O Pl V- 5 5/ T AR B OH [l 43 37 =3 AFGF-0G 278
ORFS MALE O-RING/BSP MALE O-RING RUN TEE

F 1 ORF SHMEZR L OZ [ ~F- i % £/ 5 | SAE MRS OB [l 4y 52 =3 AFOF-0G 279
ORFS MALE O-RING/SAE O-RING BOSS BRANCH TEE

1| ORFSHMELL O Bl T % 4}/ 35 HI SAESMEBE Ly OHU P 4 7 — 3 AFFO-0G 280
ORFS MALE O-RING/SAE 0-RING BOSS RUN TEE

FEHORFSHMELORY V-1t H B 4 il SMREL I e A i 3= 5 =38 AFFH-0G 281
ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END RUN TEE

FEHORFSHMELORY V-1t H B > il SNRET I A i 2 S =38 AFHF-0G 281
ORFS MALE O-RING/ METRIC MALE ADJUSTABLE STUD END BRANCH TEE

P SMELOZY 1G 282
BSP MALE 0-RING

A MBS O Pl B 3k 4G 282
BSP MALE O-RING PLUG

YT IMBESLORI [/ Sl IMERSL 1GT 283
BSP MALE O-RING/BSPT MALE

I HIAMBEER R B NSk 4HN 283

METRIC MALE L-SERIES HOLLOW HEX PLUG



H % INDEX

X 5] TYPE 2 PART NO
NN ey H
METRIC MALE L-SERIES

NI AMZEUEE Rk 4H
METRIC MALE L-SERIES PLUG

NI ANBEI60 ° Py S i 20 A s & ™
METRIC MALE DOUBLE FOR 60 ° CONE SEAT BONDED SEAL

NIAMES60 © AR S i 2 SRR RS 4M
METRIC MALE DOUBLE FOR 60 ° CONE SEAT BONDED SEAL PLUG

O Tl ANE A AR dF P S Sk 4MN-WD
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG

FHI SAESMBLF O 10
SAE 0-RING BOSS

FEHSAESMRSAF OB B/ Hofk s SMELL 10T
SAE O-RING BOSS/BSPT MALE

SAESMELCHF ORI B/ FHINPSMAIZL60 ° A 20U
SAE O-RING BOSS /NPSM FEMALE 60 ° CONE

F | SAEIMEL T OB Bl 13k 40
SAE 0-RING BOSS PLUG

F I SAESMERLCH OHURE P 7S A 3%k 40N
SAE 0-RING BOSS HOLLOW HEX PLUG

FEHISAESMERLZ90 ° HhE 1P
SAE MALE 90 ° CONE

FEHISAEIMERLZ0 ° Hhsfiifsk 4P
SAE MALE 90 ° CONE PLUG

BRI A% FL
L-SERIES SPLIT FLANGE CLAMPS

ERIIN = FS
S-SERIES SPLIT FLANGE CLAMPS

BRI E =T FL-W
L-SERIES WHOLE FLANGE CLAMPS

R Ak 2= e FS-W
S-SERIES WHOLE FLANGE CLAMPS

N HIBECRER R R 1CFL
METRIC MALE BITE TYPE/L-SERIES FLANGE

N HBECRER R R 1DFL
METRIC MALE BITE TYPE/L-SERIES FLANGE

90 ° AHNRAL-RENX/RARINE= 1CFL9
90 ° METRIC MALE BITE TYPE/L-SERIES FLANGE

90 ° ARSI RER/ BRI 1DFL9
90 ° METRIC MALE BITE TYPE/L-SERIES FLANGE

AR oR B ERYEE 1DFS

METRIC MALE BITE TYPE/S-SERIES FLANGE

Tk PAGE
284
284
285
286
286
287
287
288
289
289
290
290
291
201
202
292
293
293
294
294

295



H % INDEX

X5 TYPE

90 ° AHNRAS-RE ERINE=E
90 ° METRIC MALE BITE TYPE/S-SERIES FLANGE

K| ORFSHMRELOZY [ F-1i i £/ fe R Ik =
ORFS MALE 0-RING/L-SERIES FLANGE

90 ° | ORFSHMRL O [ -1 % £} 2 251k =
90 ° ORFS MALE O-RING/L-SERIES FLANGE

S| ORFSHMRELORY Y- 1 % £ / T AR5 1% 24
ORFS MALE O-RING/S-SERIES FLANGE

90° & ORFSHMBRLLORY V- 1 % 1 / T 511 >4
90° ORFS MALE O-RING/S-SERIES FLANGE

KM ICHMRLTA * ShfE/ R AR
JIC MALE 74 ° CONE/L-SERIES FLANGE

45 ° SEHIJICHMRLTA * SR RSN
45 ° JIC MALE 74 ° CONE/L-SERIES FLANGE

90 ° SEMHIJICHMRLTA ° S/ e R A 25
90 ° JIC MALE 74 ° CONE/L-SERIES FLANGE

SKMJICHMBLTA * HhfE/ ARk
JIC MALE 74 ° CONE/S-ERIES FLANGE

45 ° KAIJICHMRLTA * ShfE/ TR IIL =
45 ° JIC MALE 74 ° CONE/S-ERIES FLANGE

90 ° SEHIJICHMRETA * ShHE/ TR I =
90 * JIC MALE 74 ° CONE/S-ERIES FLANGE
BRI RS

L-SERIES FLANGE/BUTT-WELD TUBE

B ARYINE S R

S-SERIES FLANGE/BUTT-WELD TUBE

BARITE=I
L-SERIES FLANGE PLUG

FERIE =K
S-SERIES FLANGE PLUG

e AR BT E = 45k
L-SERIES FLANGE PLUG

ARSI L =45k
S-SERIES FLANGE PLUG

5 PART NO

1DFS9
1FFL
1FFLY
1FFS
1FFS9
1JFL
1JFL4
1JFL9
1JFS
1JFS4
1JFS9
1FLW
1FSW
4FL
4FS
4FL-M

4FS-M

Tk PAGE
295
296
296
296
297
297
298
299
300
301
302
303
304
305
305
306

306



[

N

e
st/

NN

N Tl S MR O 2 ] - T 7%

1E

METRIC MALE O-RING

e 1241 THREADE JU ) DIMENSIONS

PART NO. E A S1 L
1E-12 M12x1.5 11 14 28
1E-14 M14x1.5 11 17 28
1E-16 M16x1.5 11 17 28
1E-18 M18x1.5 11 19 28
1E-22 M22x1.5 12 24 32
1E-27 M27x1.5 13 30 35
1E-30 M30x1.5 14 32 38
1E-36 M36x2 16 36 43
1E-39 M39x2 18 41 48
1E-45 M45x2 20 46 53
1E-52 M52x2 22 55 59
1E-60 M60x2 24 65 65
1E-64 M64x2 28 70 73




&._
) = 1E9
% .
o i = 90 * /4 SHEAL ORI T T £
] 90 ° METRIC MALE O-RING
A st
a2 12 4. THREADE X <} DIMENSIONS
PART NO. E A S1
1E9-12 M12x1.5 25 11
1E9-14 M14x1.5 27 14
1E9-16 M16x1.5 29 17
1E9-18 M18x1.5 32 19
1E9-22 M22x1.5 37 22
1E9-27 M27x1.5 41 27
1E9-30 M30x1.5 49 33
1E9-36 M36x2 47 33
1E9-39 M39x2 57 44
1E9-45 M45x2 55 44
1E9-52 M52x2 59 55
‘L“] S2
) 2E9
T
" 90 * il URBL OZY [l 2k 1
. 90 ° METRIC MALE 0-RING
A— S1
e 124 THREADE J* =} DIMENSIONS
PART NO. E F A C S1 S2
2E9-14 M14x1.5 | M14x1.5 29 9 14 19
2E9-16 M16x1.5 | M16x1.5 30 9.5 17 22
2E9-18 M18x1.5 | M18x1.5 33 9.5 19 24
2E9-22 M22x1.5 | M22x1.5 37 10 22 27
2E9-27 M27x1.5 | M27x1.5 41 10.5 27 32
2E9-30 M30x1.5 | M30x1.5 49 115 33 36
2E9-36 M36x2 M36x2 47 13.5 33 41
2E9-39 M39x2 M39x2 57 13.5 44 46
2E9-45 M45x2 M45x2 55 15.5 44 55
2E9-52 M52x2 M52x2 59 17.5 55 60




O I HNRETO R P F- 1h 2 £ 3k

4E

% METRIC MALE O-RING PLUG
S1

= 124r THREADE JR =t DIMENSIONS

PART NO. E A S1 L
4E-12 M12x1.5 11 14 17
4E-14 M14x1.5 11 17 17
4E-16 M16x1.5 11 17 17
4E-18 M18x1.5 11 19 17
4E-22 M22x1.5 12 24 20
4E-27 M27x1.5 13 30 22
4E-30 M30x1.5 14 32 24
4E-36 M36x2 16 41 28
4E-39 M39x2 18 41 30
4E-45 M45x2 20 46 33
4E-52 M52x2 22 55 37
4E-60 M60x2 24 65 41
4E-64 M64x2 28 70 45




S1

/

Z

9E

23 il M IREOT T S
METRIC FEMALE FLAT FACE PLUG

C
e 124 THREADE J <} DIMENSIONS
PART NO. E C S1
9E-12 M12x1.5 8 14
9E-14 M14x1.5 8 17
9E-16 M16x1.5 8 19
9E-18 M18x1.5 8.5 22
9E-22 M22x1.5 10 27
9E-27 M27x1.5 10.5 32
9E-30 M30x1.5 11 36
9E-36 M36x2 13 41
9E-39 M39x2 13 46
9E-45 M45x2 15 55
9E-52 M52x2 17 60
L
g — 6E
1
“I ] I SR SO T - 5 o e
METRIC MALE O-RING BULKHEAD

= 124 THREADE J <} DIMENSIONS

PART NO. E A B S1 L
6E-12 M12x1.5 11 31.5 14 48.5
6E-14 M14x1.5 11 32.5 17 49.5
6E-16 M16x1.5 11 32.5 17 495
6E-18 M18x1.5 11 33 19 50
6E-22 M22x1.5 12 35.5 24 55
6E-27 M27x1.5 13 37 30 59
6E-30 M30x1.5 14 38 32 62
6E-36 M36x2 16 42 41 70
6E-39 M39x2 18 44 41 74
6E-45 M45x2 20 46 46 79
6E-52 M52x2 22 49 55 86

W HF BT 5, AU AE R I LN 6E-30LN

In case if you are interested to order the adapter with lock nut,please insert suffix"LN" after our part
NO.,for example 6E-30LN.

-4 -




er |

6E9

90 ° Zu il FMEEL OZY Fe| - hi % i A e Sk

‘J\J 90 ° METRIC MALE O-RING BULKHEAD
A st

i i24 THREADE O (SMEXZAR) JX <} DIMENSIONS
PART NO. E Eifi A B St
6E9-12 M12x1.5 8x1.9 25 | 445 | 11
6E9-14 M14x1.5 10x1.9 27 | 465 | 14
6E9-16 M16x1.5 11x1.9 29 | 48 | 17
B6E9-18 M18x1.5 13x1.9 32 | 50 | 19
6E9-22 M22x1.5 16x2.4 37 | 54 | 22
6E9-27 M27x1.5 18x2.4 41 | 585 | 27
6E9-30 M30x1.5 24x2.4 49 | 615 | 33
6E9-36 M36x2 30x3.1 47 | 71 33
B6E9-39 M39x2 32x3.1 57 | 76 | 44
6E9-45 M45x2 38x3.1 55 | 81 44
6E9-52 M52x2 40x3.1 50 | 86 | 55

L
- B 1EH
" I
w w O il AR S O AL el - i 5
I MREE RS
‘, W ) 1 METRIC MALE O-RING
st/

e #24; THREADE R 5} DIMENSIONS
PART NO. E F A B S1 L
1EH-12-10 | M12x1.5 | M10x1 11 11 14 | 28
1EH-14-12 | M14x1.5 | M12x1.5 11 11 17 | 28
1EH-16-14 | M16x1.5 | M14x1.5 11 11 19 | 28
1EH-18-16 | M18x1.5 | M16x1.5 11 11 22 | 29
1EH-22-18 | M22x1.5 | M18x1.5 12 | 1 24 | 31
1EH-27-22 | M27x1.5 | M22x1.5 13 | 12 | 30 | 34
1EH-30-27 | M30x1.5 | M27x1.5 14 | 13 | 32 | 37




._l

/
52 \

1EH4-0G

45 ° il MRS O T [ - 18] 4

YA [ A i T AR 571045
METRIC MALE O-RING/

! |
Al \5_1 ADJUSTABLE STUD
= 124 THREADE J =t DIMENSIONS
PART NO. E F A B S1 S2
1EH4-12-100G | M12x1.5 | M10x1 20 25.5 11 14
1EH4-14-120G | M14x1.5 | M12x1.5 22 30 14 17
1EH4-16-140G | M16x1.5 | M14x1.5 22 [305 17 19
1EH4-18-160G | M18x1.5 | M16x1.5 24 34 19 22
1EH4-22-180G | M22x1.5 | M18x1.5 27 38 22 24
1EH4-27-220G | M27x1.5 | M22x1.5 33 | 405 27 27
1EH4-30-270G | M30x1.5 | M27x1.5 33 48 27 32
1EH4-36-330G M36x2 M33x2 37 | 495 33 41
1EH4-39-330G M39x2 M33x2 41 52 44 41
1EH4-45-420G M45x2 M42x2 41 54 44 50
1EH4-52-480G M52x2 M48x2 47 | 585 53 55
~ F -
2 1TEH9-0G
o
% ‘ 90 ° 2\l SRS O T Bl - 1H) 45 3t
w A [ A 3 B AR 4790 °
__5< METRIC MALE O-RING/
A \/ﬂ ADJUSTABLE STUD

Sz 124 THREADE JR =f DIMENSIONS
PART NO. E F A B S1 S2
1EH9-12-10 | M12x1.5 | M10x1 25 28.5 11 14
1EH9-14-12 | M14x1.5 | M12x1.5 29 33.2 14 17
1EH9-16-14 | M16x1.5 | M14x1.5 30 36 17 19
1EH9-18-16 | M18x1.5 | M16x1.5 33 39 19 22
1EH9-22-18 | M22x1.5 | M18x1.5 37 44 22 24
1EH9-27-22 | M27x1.5 | M22x1.5 41 48 27 32
1EH9-30-27 | M30x1.5 | M27x1.5 41 57 27 41
1EH9-36-33 M36x2 M33x2 49 60.5 33 41
1EH9-39-33 M39x2 M33x2 57 64 44 44
1EH9-45-42 M45x2 M42x2 57 67.5 44 50
1EH9-52-48 M52x2 M48x2 59 73.5 55 55




—— 1EM

O Tl SRS O i - T 5

-

w TR S \
3 60 ° PEESN A i 1 2H A
i %/ 2 METRIC MALE O-RING/60°
/{ SEAT BONDED SEAL
S1
RE i24r THREADE R s} DIMENSIONS
PART NO. E F A B S1 L
1EM-14-12 | M14x1.5 | M12x1.5 11 10 17 28
1EM-14 M14x1.5 | M14x1.5 11 11 19 28
1EM-22-16 | M22x1.5 | M16x1.5 11 12 22 30
1EM-22-18 | M22x1.5 | M18x1.5 11 12 24 31
1EM-22 M22x1.5 | M22x1.5 12 14 27 35
L
A B

1EN

E -]
—

| I EISMBLIOT T A AT SMBLL
722 METRIC MALE O-RING/NPT MALE

\E

$1

= 1240 THREADE JR =t DIMENSIONS

PART NO. E F A B S1 L
1EN-14-04 | M14x1.5 | Z1/4" 11 14 17 31
1EN-14-06 | M14x1.5 | Z3/8" 11 14 19 31
1EN-16-04 | M16x1.5 | Z1/4" 11 14 17 31
1EN-16-08 | M16x1.5 | Z1/2" 11 19 24 38
1EN-18-06 | M18x1.5 | Z3/8" 11 14 19 31
1EN-22-08 | M22x1.5 | Z1/2" 12 19 24 39
1EN-24-08 | M24x1.5| z1/2" 13 19 30 41
1EN-27-12 | M27x1.5 | Z3/4" 13 19.5 32 42.5
1EN-30-12 | M30x1.5 | Z3/4" 14 19.5 32 43.5
1EN-36-16 M36x2 z21" 16 24 41 52
1EN-39-16 M39x2 z1" 18 24 41 54
1EN-45-20 M45x2 | Z1.1/4" 20 25 46 58
1EN-52-20 Mb2x2 | Z1.1/4" 22 25 55 62
1EN-60-24 M60x2 | Z1.1/2"




(____J

lg
=

1ET

A HIAMRSORU B Sl SMRLL
METRIC MALE O-RING/BSPT MALE

e 124 THREADE JR =t DIMENSIONS

PART NO. E F A B S1 L
1ET-14-04 | M14x1.5 | ZG1/4" 11 14 17 31
1ET-14-06 M14x1.5 | ZG3/8" 11 14 19 31
1ET-16-04 | M16x1.5 | ZG1/4" 11 14 17 31
1ET-16-08 M16x1.5 | ZG1/2" 11 19 24 38
1ET-18-06 | M18x1.5 | ZG3/8" 11 14 19 31
1ET-22-08 M22x1.5 | ZG1/2" 12 19 24 39
1ET-27-08 | M24x1.5 | ZG1/2" 13 19 27 41
1ET-27-12 M27x1.5 | ZG3/4" 13 19.5 32 42.5
1ET-30-12 M30x1.5 [ ZG3/4" 14 19.5 32 43.5
1ET-36-16 M36x2 261" 16 24 41 52
1ET-39-16 M39x2 61" 18 24 41 54
1ET-45-20 M45x2 | 2G1.1/4" 20 25 46 58
1ET-52-20 M52x2 | ZG1.1/4" 22 25 55 62
1ET-60-24 M60x2 | 2G1.1/2" 24 25 70 66




T

= 1EW

] C il SMRS OB V- B IR B

- METRIC MALE O-RING/BUTT-WELD TUBE
St
) #24; THREADE R I DIMENSIONS
PART NO. E A B D 1 L
1EW-12-06 | M12x1.5 11 8 6 14 | 25
1EW-14-08 | M14x1.5 11 8 8 17 | 25
1EW-16-10 | M16x1.5 11 8 10 | 17 | 25
1EW-18-12 | M18x1.5 11 12 | 12 | 19 | 29
1EW-22-14 | M22x1.5 12 | 12 | 14 | 24 | 32
1EW-27-18 | M27x1.5 13 | 12 | 18 | 30 | 34
1EW-30-22 | M30x1.5 14 | 14 | 22 | 32 | 38
1EW-36-28 M36x2 16 | 16 | 28 | 41 | 44
1EW-39-30 M39x2 18 | 16 | 30 | 41 46
1EW-45-38 M45x2 20 | 18 | 38 | 46 | 51
1EW-52-42 M52x2 22 | 18 | 42 | 55 | 55
~_ D o
1EW9

90 * AHIAMRELORL P V-T2 B SRS

wl L
90 ° METRIC MALE O-RING/
A BUTT-WELD TUBE
A S1

) #4; THREADE R 1 DIMENSIONS

PART NO. E A B D S1
1EW9-12-06 | M12x1.5 25 | 165 | 6 11
1EW9-14-08 | M14x1.5 29 | 175 | 8 14
1EW9-16-10 | M16x1.5 30 | 195 | 10 | 17
1EW9-18-12 | M18x1.5 33 | 25 | 12 | 19
1EW9-22-14 | M22x1.5 37 | 27 | 14 | 22
1EW9-27-18 | M27x1.5 41 | 295 | 18 | 27
1EW9-30-22 | M30x1.5 41 | 335 | 22 | 27
1EW9-36-28 | M36x2 47 | 39 | 28 | 33
1EW9-39-30 | M39x2 57 | 43 | 30 | 44
1EW9-45-38 | Md45x2 57 | 475 | 38 | 44
1EW9-52-42 | M52x2 50 | 50 | 42 | 55




1EZ

-—

N - 2 I A MRS OZY P - TH 5%
P RS R EIMETRIC
% MALE 0-RING/
st/ BSP MALE
) i 4, THREADE R <t DIMENSIONS
PART NO. E F A B S1 L
1EZ-14-04 | M14x1.5 | G1/4"X19 11 12 19 29
1EZ-16-04 | M16x1.5 | G1/4"X19 11 12 19 29
1EZ-16-06 | M16x1.5 | G3/8"X19 11 12 22 30
1EZ-18-06 | M18x1.5 | G3/8"X19 11 12 22 30
1EZ-18-08 | M18x1.5 | G1/2"X14 11 14 27 34
1EZ-22-08 | M22x1.5 | G1/2"X14 12 14 27 35
1EZ-27-08 | M27x1.5 | G1/2"X14 13 14 27 36
1EZ-27-12 | M27x1.5 | G3/4"X14 13 16 32 | 39
1EZ-30-12 | M30x1.5 | G3/4"X14 14 16 32 | 40
1EZ-30-16 | M30x1.5 | G1"X11 14 18 41 44
1EZ-36-16 M36x2 | G1"X11 16 18 41 46

-10 -




S1

B 2WE
w a
U PR ] P RSO 2 B T 1 2%
Y % BUTT-WELD TUBE/METRIC FEMALE O-RING
c
) 40 THREADE | 4% 71142 R DIMENSIONS
PART NO. E TUBE 0.D. c D S1
2WE-06-12 | M12x1.5 6 8 6 14
2WE-08-14 | M14x1.5 8 8 8 17
2WE-10-16 | M16x1.5 10 8 10 19
2WE-12-18 | M18x1.5 12 8.5 | 12 22
2WE-14-22 | M22x1.5 14 10 | 14 27
2WE-18-27 | M27x1.5 18 105 | 18 32
2WE-22-30 | M30x1.5 22 11 22 36
2WE-28-36 | M36x2 28 13 | 28 41
2WE-30-39 | M39x2 30 13 | 30 46
2WE-38-52 | M52x2 38 17 | 38 60
2WE-42-52 | M52x2 42 17 | 42 60
2WE-50-60 | M60x2 50 20 | 50 70
2WE-52-64 | M64x2 52 23 | 52 75




7/
IJ'
/ ///AV
N iy XE
L
/131 9B O PR R T  EHi
7 METRIC MALE O-RING CROSS
A

e 124 THREADE R ~H DIMENS JONS
PARTNG: E A ST

XE-14 M44x4-5 225 14

XE-16 M16x1.5 24 17

XE-18 M18x1.5 26 19

XE-22 M22x1.5 29 22

XE-27 M27x1.5 325 27
XE-30 M30x1.5 35.5 30

KE=36 M36x2 42 33

XE-39 M3Ox?2 47 5 41

XE-45 M45x2 52.5 46

XE-52 M52x2 57 55

- E
“ %

A SNE S O B Y i 4 b Sk
METRIC MALE O-RING TEE

‘—%_1
e

) 14 THREADE ] =t DIMENSIONS
PART NO. E A S1
AE-12 M12x1.5 25 11
AE-14 M14x1.5 27 14
AE-16 M16x1.5 29 17
AE-18 M18x1.5 31 19
AE-22 M22x1.5 34 22
AE-27 M27x1.5 40 27
AE-30 M30x1.5 40 27
AE-36 M36x2 46 33
AE-39 M39x2 57 44

-12 -




o’ ? i S2
BE

ik {1 NI ANIZE O B/ 4 il Y

N | BRLICP- [ 5 = ek
A METRIC MALE O-RING

A \st /METRIC FEMALE TEE

feE 124 THREADE R =} DIMENSIONS
PART NO. E F A C S1 S2
BE-12 M12x1.5 M12x1.5 25 8 11 17
BE-14 M14x1.5 | M14x1.5 27 9 14 19
BE-16 M16x1.5 [ M16x1.5 29 9.5 17 22
BE-18 M18x1.5 | M18x1.5 31 9.5 19 24
BE-22 M22x1.5 | M22x1.5 34 10 22 27
BE-27 M27x1.5 | M27x1.5 40 10.5 27 32
BE-30 M30x1.5 M30x1.5 40 11.5 27 36
BE-36 M36x2 M36x2 46 13.5 33 41
BE-39 M39x2 M39x2 57 13.5 44 46

E _
—r
< CE
T VY 7@ \

u [P . IN L DL TN T
I Et BT b ek
\ 1 METRIC MALE O-RING

A \st 2 IMETRIC FEMALE TEE
= 124 THREADE J =} DIMENSIONS
PART NO. E F A C S1 S2
CE-12 M12x1.5 | M12x1.5 25 8 11 17
CE-14 M14x1.5 | M14x1.5 27 9 14 19
CE-16 M16x1.5 | M16x1.5 29 9.5 17 22
CE-18 M18x1.5 | M18x1.5 31 9.5 19 24
CE-22 M22x1.5 | M22x1.5 34 10 22 27
CE-27 M27x1.5 | M27x1.5 40 10.5 27 32
CE-30 M30x1.5 | M30x1.5 40 115 27 36
CE-36 M36x2 M36x2 46 13.5 33 41
CE-39 M39x2 M39x2 57 13.5 44 46

-13 -




Ay AEEH-0OG

§
A

O AR BT O - 1 4 1/
w LLJ O3 il SR AT ] [ A i B AR 91 5 =

N METRIC MALE O-RING/

A \s1 5 METIRC MALE ADJUSTABLE STUD

S-SERIES RUN TEE
e 41 THREADE JX 5+ DIMENSIONS
PART NO. E F A B | s1 | s2
AEEH-12-12-100G | M12x1.5 | M10x1 25 |285 | 11 | 14
AEEH-14-14-120G | M14x1.5 | M12x1.5 27 332 | 14 | 17
AEEH-16-16-140G | M16x1.5 | M14x1.5 29 | 36 | 17 | 19
AEEH-18-18-160G | M18x1.5 | M16x1.5 31 | 39 | 19 | 22
AEEH-22-22180G | M22x1.5 | M18x1.5 34 | 44 | 22 | 24
AEEH-27-27-220G | M27x1.5 | M22x1.5 40 | 48 | 27 | 21
AEEH-30-30-270G | M30x1.5 | M27x15 40 | 57 | 27 | 32
AEEH-36-36-330G | M36x2 | M33x2 46 | 605 | 33 | 41
AEEH-39-39-330G | M39x2 | M33x2 57 | 64 | 44 | 41
~—E

S2 AE H E'O G

B | ZZF A AN B OR B F- [ 5 1

W 2 1 2 Sl AN AT ] i) R i B AR 91 S —

m} | L METRIC MALE O-RING/

\ METIRC MALE ADJUSTABLE STUD
\s1 S-SERIES BRANCH TEE

A A

in=s 1240 THREADE R ~F DIMENSIONS
PART NO. E F A B S1 S2
AEHE-12-10-120G | M12x1.5 | M10x1 25 | 285 | 11 | 14
AEHE-14-12-140G | M14x1.5 | M12x1.5 27 | 332 | 14 | 17
AEHE-16-14-160G | M16x1.5 | M14x1.5 29 | 36 | 17 | 19
AEHE-18-16-180G | M18x1.5 | M16x1.5 31 | 39 | 19 | 22
AEHE-22-18-220G | M22x1.5 | M18x1.5 34 | 44 | 22 | 24
AEHE-27-22-270G | M27x1.5 | M22x1.5 40 | 48 | 27 | 27
AEHE-30-27-300G | M30x1.5 | M27x1.5 40 | 57 | 27 | 32
AEHE-36-33-360G | M36x2 | M33x2 46 | 605 | 33 | 41
AEHE-39-33-390G | M39x2 | M33x2 57 | 64 | 44 | 41

-14 -



AEEGE

<C
(W77 1
ol ] 90 * A HIMBLCOM T i b
90 ° METRIC MALE O-RING BULKHEAD RUN TEE
A
= 124r THREADE ] = DIMENSIONS
PART NO. E A B S1
AEE6E-12 M12x1.5 25 44.5 11
AEEGE-14 M14x1.5 27 46.5 14
AEEGE-16 M16x1.5 29 48 17
AEEGE-18 M18x1.5 31 50 19
AEEGE-22 M22x1.5 34 54 22
AEEGE-27 M27x1.5 40 58.5 27
AEEGE-30 M30x1.5 40 61.5 27
AEEGE-36 M36x2 46 7 33
AEEGE-39 M39x2 57 76 44
E
AEGEE
o) 7)7 S1
i S O B i B By =i
L“l | METRIC MALE O-RING BULKHEAD
BRANCH TEE
A A
= 124 THREADE R =} DIMENSIONS
PART NO. E A B S1
AEGEE-12 M12x1.5 25 445 11
AEGEE-14 M14x1.5 27 46.5 14
AEGEE-16 M16x1.5 29 48 17
AEGEE-18 M18x1.5 31 50 19
AEGEE-22 M22x1.5 34 54 22
AEGEE-27 M27x1.5 40 58.5 27
AEGEE-30 M30x1.5 40 61.5 27
AEGEE-36 M36x2 46 71 33
AEGEE-39 M39x2 57 76 44

-15 -




-—

1C

L N wi
i i ISHIMRL4 * R IR
METRIC MALE 24 ° L.T. REDUCERS
S1
e 124; THREADE E¥4Mz TUBE O.D. J <t DIMENSIONS

PART NO. E D1 D2 A B S1 L

1C-12-14 M12x1.5 | M14x1.5 6 8 10 10 14 26
1C-12-16 M12x1.5 | M16x1.5 6 10 10 11 17 27
1C-12-18 M12x1.5 | M18x1.5 6 12 10 11 19 27
1C-14-16 M14x1.5 | M16x1.5 8 10 11 11 17 28
1C-14-18 M14x1.5 | M18x1.5 8 12 11 11 19 28
1C-16-18 M16x1.5 | M18x1.5 10 12 11 11 19 28
1C-16-22 M16x1.5 | M22x1.5 10 15 11 12 24 30
1C-16-26 M16x1.5 | M26x1.5 10 18 11 12 27 33
1C-18-22 M18x1.5 | M22x1.5 12 15 11.5 12 24 31

1C-18-26 M18x1.5 | M26x1.5 12 18 11.5 12 27 32
1C-18-30 M18x1.5 | M30x2 12 22 11.5 14 32 35.5
1C-22-26 M22x1.5 | M26x1.5 15 18 12.5 12 27 33
1C-22-30 M22x1.5 | M30x2 15 22 12,5 14 32 36.5
1C-26-30 M26x1.5 [ M30x2 18 22 12 14 32 37
1C-26-36 M26x1.5 [ M36x2 18 28 12 14 36 37
1C-30-36 M30x2 M36x2 22 28 14 14 36 39
1C-30-45 M30x2 M45x2 22 35 14 16 46 43
1C-33-45 M33x2 M45x2 25 35 16 16 46 45

LN R E LR ER R0, WELEUS 5 RN, 40171C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1C-22-26RN.

-16 -




+

-
-

1C

! ! KN HISMEL24 ° RS
< '% /" F— METRIC MALE 24 ° L.T.

D1
D1

S1
g i2 40 THREADE H74ME TUBE 0.D. R~} DIMENSIONS

PART NO. E D1 A S1 L
1C-12 M12x1.5 6 10 12 26
1C-14 M14x1.5 8 11 14 28
1C-16 M16x1.5 10 11 17 28
1C-18 M18x1.5 12 11.5 19 29
1C-22 M22x1.5 15 12.5 24 33
1C-26 M26x1.5 18 12 27 34
1C-30 M30x2 22 14 32 39
1C-36 M36x2 28 16 36 43
1C-45 M45x2 35 16 46 45
1C-52 | M52x2 4p 16 55 49

L
- A = _F A -
I |
s n 1D

. ' INHIANES24 ° T 25
: METRIC MALE 24 °H.T.

S1
e 12 4r THREADE #T4Mz2 TUBE 0.D. U <] DIMENSIONS

PART NO. E D1 A S1 L
1D-14 M14x1.5 6 12 14 30
1D-16 M16x1.5 8 12 17 30
1D-18 M18x1.5 10 12 19 30
1D-20 M20x1.5 12 12 22 31
1D-22 M22x1.5 14 14 24 36
1D-24 M24x1.5 16 14 27 38
1D-30 M30x2 20 16 32 43
1D-36 M36x2 25 18 36 47
1D-42 M42x2 30 20 46 52
1D-52 M52x2 38 22 55 61

N R E R R BB R TT 08, WS TE S 5 N RN", 4 1D-22RN" ([H]_|)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D-22RN. (the same with
above)

-17 -




1D

w| o S w
L IS RL24 " ERIVER
Z METRIC MALE 24 ° H.T. REDUCERS
S1
Jres) 124 THREADE | % 74M% TUBE 0.D. R =F DIMENSIONS
PART NO. E D1 D2 A B S1 L
1D-14-16 M14x1.5 | M16x1.5 6 8 12 12 17 30
1D-14-18 M14x1.5 | M18x1.5 6 10 12 12 19 30
1D-14-20 M14x1.5 | M20x1.5 6 12 12 12 22 32
1D-16-18 M16x1.5 | M18x1.5 8 10 12 12 19 30
1D-16-20 M16x1.5 | M20x1.5 8 12 12 12 22 32
1D-18-20 M18x1.5 | M20x1.5 10 12 12 12 22 32
1D-18-22 M18x1.5 | M22x1.5 10 14 12 14 24 34
1D-18-30 M18x1.5 | M30x2 10 20 12 16 32 39
1D-20-22 M20x1.5 | M22x1.5 12 14 12 14 24 34
1D-20-24 M20x1.5 | M24x1.5 12 16 12 14 27 36
1D-20-30 M20x1.5 | M30x2 12 20 12 16 32 39
1D-22-24 M22x1.5 | M24x1.5 14 16 14 14 27 38
1D-24-30 M24x1.5 | M30x2 16 20 14 16 32 41
1D-24-36 M24x1.5 | M36x2 16 25 14 18 36 43
1D-30-36 M30x2 M36x2 20 25 16 18 36 45
1D-30-42 M30x2 M42x2 20 30 16 20 46 48
1D-36-42 M36x2 M42x2 25 30 18 20 46 50
1D-42-52 M42x2 M52x2 30 38 20 22 55 59

TR R E R R ER R TT 08, MRS 5 N RN", 41D -22-24RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D-22-24RN.

-18 -




E
~ D1

%

-

1C9

<C
. —%
) |
wia 90 ° Al SMEL24 © RS
\ 90 ° METRIC MALE 24 ° L.T.
A S1
) 124 THREADE %F4Ms TUBE 0O.D. ]~} DIMENS10NS
PART NO. E D1 A S1
1C9-12 M12x1.5 6 25 11
1C9-14 M14x1.5 8 29 14
1C9-16 M16x1.5 10 30 17
1C9-18 M18x1.5 12 33 19
1C9-22 M22x1.5 15 37 22
1C9-26 M26x1.5 18 41 27
1C9-30 M30x2 25 41 27
1C9-36 M36x2 28 46 33
1C9-45 M45x2 35 55 44
1C9-52 M52x2 42 59 55
— -

. D1 ‘

- 1D9
r_
w E‘ || N N o
>\ 90 ° Al FMEL24 © T RT
90 ° METRIC MALE 24 ° H.T.
A S1
=) 184 THREADE 4Mz TUBE O.D. & ) DIMENSIONS

PART NO. E D1 A S1
1D9-14 M14x1.5 6 29 14
1D9-16 M16x1.5 8 30 17
1D9-18 M18x1.5 10 33 19
1D9-20 M20x1.5 12 37 22
1D9-22 M22x1.5 14 37 22
1D9-24 M24x1.5 16 33 24
1D9-30 M30x2 20 41 27
1D9-42 M42x2 30 57 44
1D9-52 M52x2 38 59 50

FE TR E KRBT 6, WIETEACS N RN", 4™ 1D9-22RN" (17] 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D9-22RN. (the same with
above)

-19 -




S2

Tl 2C
w ol w
i W Yl ABINIRZR24 ° | AHISNEL24 © R
METRIC FEMALE 24 ° /METRIC MALE 24 ° L.T.
C
e 1240 THREADE % 5M# TUBE 0.D. JX =1 DIMENSIONS
PART NO. E F D1 C S1 S2
2C-12 M12x1.5 | M12x1.5 6 2 12 17
2C-12-14 M12x1.5 | M14x1.5 6 3.5 14 19
2C-12-16 M12x1.5 | M16x1.5 6 3.5 14 22
2C-14 M14x1.5 | M14x1.5 8 3.5 14 19
2C-14-16 M14x1.5 | M16x1.5 8 3.5 14 22
2C-14-18 M14x1.5 | M18x1.5 8 3.5 17 24
2C-16 M16x1.5 | M16x1.5 10 3.5 17 22
2C-16-18 M16x1.5 | M18x1.5 10 3.5 17 24
2C-16-22 M16x1.5 | M22x1.5 10 3 22 27
2C-18 M18x1.5 | M18x1.5 12 3.5 17 24
2C-18-22 M18x1.5 | M22x1.5 12 3 22 27
2C-12-26 M12x1.5 | M26x1.5 6 3.5 24 32
2C-22-26 M22x1.5 | M26x1.5 15 3.5 24 32
2C-26 M26x1.5 | M26x1.5 18 3.5 24 32
2C-26-30 M26x1.5 [ M30x2 18 4.5 30 36
2C-26-36 M26x1.5 [ M36x2 18 4.5 36 41
2C-30 M30x2 M30x2 22 4.5 30 36
2C-30-36 M30x2 M36x2 22 4.5 36 41
2C-30-45 M30x2 M45x2 22 5.5 46 55
2C-36-45 M36x2 M45x2 28 5.5 46 55
2C-45 M45x2 M45x2 35 5.5 46 55
2C-45-52 M45x2 M52x2 35 6.5 55 60
2C-52 M52x2 M52x2 42 6.5 55 60
FvE AR E LRI AR AT 6, M FEAC S 5 RN, 41"2C-22-26RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 2C-22-26RN.

-20 -



S2 S1

] 2D
w ol w
ain Yo | AHINIEER4 | ATSNEL24 * E RS
METRIC FEMALE 24 ° /METRIC MALE 24 " H.T.
C
in=s 4 THREADE - F4MzE TUBE 0.D. JL 51 DIMENSIONS

PART NO. E F D1 C S1 S2
2D-14-16 M14x1.5 | M16x1.5 6 3.5 14 22
2D-14-18 M14x1.5 | M18x1.5 6 3 17 24
2D-14-20 M14x1.5 | M20x1.5 6 3 19 27
2D-16-18 M16x1.5 | M18x1.5 8 3 17 24
2D-16-20 M16x1.5 | M20x1.5 8 3 19 27
2D-16-22 M16x1.5 | M22x1.5 8 2.5 22 27
2D-18-20 M18x1.5 | M20x1.5 10 3 19 27
2D-18-22 M18x1.5 | M22x1.5 10 25 22 27
2D-20-22 M20x1.5 | M22x1.5 12 25 22 27
2D-16-24 M16x1.5 | M24x1.5 8 3.5 22 30
2D-18-24 M18x1.5 | M24x1.5 10 3.5 22 30
2D-20-24 M20x1.5 | M24x1.5 12 3.5 22 30
2D-20-30 M20x1.5 | M30x2 12 4.5 30 36
2D-22-24 M22x1.5 | M24x1.5 14 3.5 22 30
2D-22-30 M22x1.5 [ M30x2 14 4.5 30 36
2D-24-30 M24x1.5 [ M30x2 16 4.5 27 36
2D-30-36 M30x2 M36x2 20 3.5 36 41
2D-30-42 M30x2 M42x2 20 5.5 41 50
2D-33-42 M33x2 M42x2 22 5.5 41 50
2D-33-52 M33x2 M52x2 22 7 50 60
2D-42-52 M42x2 M52x2 30 7 50 60

FE T R B R R E IR LR BT 57, W AE S J5 I RN™, 712D-22-30RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 2D-22-30RN.

-21 -



= 2C9

i 90 * A HHIPIBE24 "/
Jo AHSMES24 * BRI
e 90 ° METRIC FEMALE 24 ° /
METRIC MALE 24 ° L.T.

A S1
= 124 THREADE T4z TUBE O.D. &~} DIMENSIONS
PART NO. E F D1 A C S1 S2
2C9-12 M12x15 | M12x1.5 6 25 2 11 17
2C9-14 M14x1.5 | M14x1.5 8 29 | 35 14 19
2C9-16 M16x1.5 | M16x1.5 10 30 | 3.5 17 22
2C9-18 M18x1.5 | M18x1.5 12 33 | 35 19 24
2C9-22 M22x1.5 | M22x1.5 15 37 3 22 27
2C9-26 M26x1.5 | M26x1.5 18 41 3.5 27 32
2C9-30 M30x2 | M30x2 22 41 4.5 27 36
2C9-36 M36x2 | M36x2 28 46 | 45 33 41
2C9-45 M45x2 | M45x2 35 55 | 5.5 44 55
2C9-52 M52x2 | _M52x2 42 59 | 6.5 55 60
| I E
T O— 13 .52

’ 2D9

90 ° AT EL24 " |

"El ABIMEL24 * EFS

90 ° METRIC FEMALE 24 ° /
METRIC MALE 24 °H.T.

A s1
(b B4 THREADE | %4142 TUBE O.D. R F DIMENSIONS
PART NO. E F Dt Al c [ st [ s2
2D9-14 | M14x1.5 | M14x1.5 | 6 20 | 3 | 14 | 19
2D9-16 | M16x1.5 | M16x1.5 | 8 30 | 35| 17 | 22
2D9-18 | M18x1.5 | M18x1.5| 10 33 | 3 [ 19 | 24
2D9-20 | M20x1.5 | M20x1.5 | 12 37 | 3 | 22 | 27
2D9-22 | M22x15 | M22x15| 14 37 | 25 | 22 | 27
2D9-30 M30x2 | M30x2 | 20 41 | 45 | 27 | 36
2D9-36 M36x2 | M36x2 | 25 46 | 35| 33 | 41
2D9-42 M42x2 | M42x2 | 30 55 | 55| 44 | 50
2D9-52 M52x2 | M52x2 | 38 50 | 7 | 55 | 60

v TR R R R EIR R RETT 58, MRS 5 RN, 41"2D9-22RN" ([F] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 2D9-22RN. (the same with
above)

-22 .




| I 3C
w| & 18| w
: "| ' NNIRS24  ° B AR
s METRIC FEMALE 24 ° L.T.
c c.
e 124 THREADE #1-4Mz TUBE 0.D. JL ~7 DIMENSIONS C
PART NO. E D1 S1
3C-12 M12x1.5 6 2 17
3C-14 M14x1.5 8 3.5 19
3C-16 M16x1.5 10 3.5 22
3C-18 M18x1.5 12 3.5 24
3C-22 M22x1.5 15 3 27
3C-26 M26x1.5 18 3.5 32
3C-30 M30x2 22 4.5 36
3C-36 M36x2 28 4.5 41
3C-45 M45x2 35 5.5 55
3C-52 M52x2 42 6.5 60
S1 S1
— — 3D
wl B 5| a

, HFWH , AHPBERe TR
K \t’— METRIC FEMALE 24 ° H.T.

) 124 THREADE 1 4Mz TUBE O.D. JR =} DIMENSIONS
PART NO. E D1 C S1
3D-14 M14x1.5 6 3 19
3D-16 M16x1.5 8 3.5 22
3D-18 M18x1.5 10 3 24
3D-20 M20x1.5 12 3 27
3D-22 M22x1.5 14 2.5 27
3D-24 M24x1.5 16 3.5 30
3D-30 M30x2 20 4.5 36
3D-36 M36x2 25 3.5 41
3D-42 M42x2 30 5.5 50
3D-52 M52x2 38 7 60

-23 -




- L -
- _—A]
4C
O w
! INTMRL24 ° 7R3k
METRIC MALE 24 ° L.T. PULG
S1
re 124 THREADE 5% TUBE 0.D. R <t DIMENSIONS
PART NO. E D1 A S1 L
4C-12 M12x1.5 6 10 12 16
4C-14 M14x1.5 8 11 14 17
4C-16 M16x1.5 10 11 17 17
4C-18 M18x1.5 12 11.5 19 17.5
4C-22 M22x1.5 15 12.5 24 20
4C-26 M26x1.5 18 12 27 22
4C-30 M30x2 22 14 32 25
4C-36 M36x2 28 16 36 27
4C-45 M45x2 35 18 46 31
4C-52 M52x2 42 19 55 36
e
_A]
4D
O w
' NHIBS24 © Rk
METRIC MALE 24 ° H.T. PLUG
S1
foE 1247 THREADE #T4Mz2TUBE 0.D. U =} DIMENSIONS
PART NO. E D1 A S1 L
4D-14 M14x1.5 6 12 14 18
4D-16 M16x1.5 8 12 17 18
4D-18 M18x1.5 10 12 19 18
4D-20 M20x1.5 12 12 22 19
4D-22 M22x1.5 14 14 24 22
4D-30 M30x2 20 16 32 26
4D-36 M36x2 25 18 36 29
4D-42 M42x2 30 20 46 32
4D-52 M52x2 38 22 55 39

FE TR R E R R 57, WA S S5 RN", 41"4D-22RN" ([A] I)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 4D-22RN. (the same with

above)

- 24 -




)
i

—

6C

KNHIANRE24 © B R Ik
METRIC MALE 24 ° L.T. BULKHEAD

= 124 THREADE H¥4Mz TUBE O.D. ] =} DIMENSIONS

PART NO. E D1 A S1
6C-12 M12x1.5 6 10 12
6C-14 M14x1.5 8 11 14
6C-16 M16x1.5 10 11 17
6C-18 M18x1.5 12 11.5 19
6C-22 M22x1.5 15 12,5 24
6C-26 M26x1.5 18 12 27
6C-30 M30x2 22 14 32
6C-33 M33x2 25 16 36
6C-45 M45x2 35 18 46
6C-52 M52x2 42 19 55

A S1

A 6D
w3 1 18]
) D A BIMBE4 * TR
7}

METRIC MALE 24 ° H.T. BULKHEAD

e 124 THREADE #F4Mz TUBE O.D. JX =} DIMENSIONS
PART NO. E D1 A S1
6D-14 M14x1.5 6 12 14
6D-16 M16x1.5 8 12 17
6D-18 M18x1.5 10 12 19
6D-20 M20x1.5 12 12 22
6D-22 M22x1.5 14 14 24
6D-24 M24x1.5 16 14 27
6D-30 M30x2 20 16 32
6D-36 M36x2 25 18 36
6D-42 M42x2 30 20 46
6D-52 M52x2 38 22 55

HH AT RE A REREE AT 5, MEE S G RN, I"6D-22RN" | IndFAaiekiT 58, HERSE

AnLN™, 4n"6D-22LN" ([F]_I)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D-22LN"(the same

with above)

-25 .




)
-

6C9

90 ° A SMRS24 ARSI,
90 ° METRIC MALE 24 ° L.T. BULKHEAD

) 124 THREADE ] <} DIMENSIONS
PART NO. E # ez TUBE 0.D. A S1
6C9-12 | M12x1.5 6 25 11
6C9-14 | M14x1.5 8 29 14
6C9-16 | M16x1.5 10 30 17
6C9-18 | M18x1.5 12 33 19
6C9-22 | M22x1.5 15 37 22
6C9-26 | M26x15 18 41 27
6C9-30 M30x2 22 41 27
6C9-36 M36x2 28 46 33
6C9-45 Mdpx2 35 55 44
6C9-52 MEx2 42 59 55

6D9

90 ° Al sMEL24 ° H RS i ARk
A 1 90 ° METRIC MALE 24 ° H.T. BULKHEAD
. #47 THREADE %1-5M% TUBE 0.D. ]I DIMENSIONS

PART NO. E D1 A S1
6D9-14 | M14x1.5 6 29 14
6D9-16 | M16x1.5 8 30 17
6D9-18 | M18x1.5 10 33 19
6D9-20 | M20x1.5 12 37 22
6D9-22 | M22x1.5 14 37 22
6D9-30 M30x2 20 41 27
6D9-36 M36x2 25 41 27
6D9-42 M42x2 30 55 44
6D9-52 M52x2 38 59 55

i T AN AU R AT B, A A RN, J1"6D9-22RN" . WNTHFBILERT 8%, e A
Jm"LN", Zn"6D9-22LN" (Ja] )
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 6D9-22RN.order the
adapter with cutting ring and nut,insert suffix"LN"after part NO for example "6D9-22LN"(the same

with above)

-26 -




Ry

8C

23 il BRELRE
METRIC LOCK NUT

A
) # 4 THREADE U ~F DIMENSIONS
PART NO. E A 1
8C-10 M10x1 6 14
8C-12 M12x1.5 7.5 17
8C-14 M14x1.5 7.5 19
8C-16 M16x1.5 7.5 22
8C-18 M18x1.5 7.5 24
8C-20 M20x1.5 8 27
8C-22 M22x1.5 8 27
8C-24 M24x1.5 8 30
8C-26 M26x1.5 8 32
8C-27D | M27x1.5 10 32
8C-30 M30x2 10 36
8C-30D | M30x1.5 10 36
8C-36 M36x2 10 41
8C-38 M38x2 10 46
8C-42 M42x2 10 50
8C-45 M45x2 10 55
8C-52 M52x2 10 60

- 27 -




S1

9C
NI NIREL24 © 52 25353k
% ) METRIC FEMALE 24 ° L.T. PLUG
Cc
B #2450 THREADE H4Mz2 TUBE 0.D. R~} DIMENSIONS C
PART NO. E D1 S
9C-12 M12x1.5 6 2 14
9C-14 M14x1.5 8 2 17
9C-16 M16x1.5 10 2 19
9C-18 M18x1.5 12 2.5 22
9C-22 M22x1.5 15 3 27
9C-26 M26x1.5 18 3.5 32
9C-30 M30x2 22 3.5 36
9C-36 M36x2 28 4 41
9C-45 M45x2 35 55
9C-52 M52x2 42 60
S1
9D
wl e
NHINIRE24  ° EARIEL
7 % METRIC FEMALE 24 ° H.T. PLUG
c
e 124 THREADE HF4M% TUBE O.D. & <} DIMENSIONS
PART NO. E D1 C S1
9D-16 M16x1.5 8 2 19
9D-18 M18x1.5 10 2 22
9D-20 M20x1.5 12 3 24
9D-22 M22x1.5 14 2.5 27
9D-24 M24x1.5 16 3 30
9D-30 M30x2 20 3.5 36
9D-36 M36x2 25 3 41
9D-42 M42x2 30 5 50
9D-52 M52x2 38 6.5 60

-28 -




- 1CN
¥ | A ISNEL24 * R
G 72 T SMRL60 °
7 \L METRIC MALE 24 ° L.T.
S1 INPT MALE 60 °

=2 124 THREADE & F5Mz TUBE O.D. R =t DIMENSIONS

PART NO. E F D1 A B Sl L
1CN-12-02 | M12x1.5 | Z1/8"X27 6 10 | 10 | 12 26
1CN-12-04 | M12x1.5 | Z1/4"X18 6 10 | 14 | 14 31
1CN-14-04 | M14x1.5 | Z1/4"X18 8 11 14 | 14 31
1CN-16-04 | M16x1.5 | Z1/4"X18 10 11 14 | 17 325
1CN-16-06 | M16x1.5 | Z3/8"X18 10 11 14 | 17 325
1CN-18-04 | M18x1.5 | Z1/4"X18 12 115 | 14 | 19 315
1CN-18-06 | M18x1.5 | Zz3/8"X18 12 1.5 | 14 | 19 315
1CN-18-08 | M18x1.5 | Z1/2"X14 12 115 | 19 | 22 38
1CN-22-08 | M22x1.5 | Z1/2"X14 15 125 | 19 | 24 39
1CN-22-20 | M22x1.5 [71.1/4'X11.5| 15 125 | 25 | 46 50.5
1CN-26-08 | M26x1.5 | Z1/2"X14 18 12 | 19 | 27 40
1CN-26-12 | M26x1.5 | Z3/4"X14 18 12 | 195 | 27 40
1CN-30-08 | M30x2 | Zz1/2'X14 22 14 | 19 | 32 43
1CN-30-12 | M30x2 | Z3/4"X14 22 14 | 195 | 32 435
1CN-36-16 | M36x2 | Z1"X11.5 28 16 | 24 | 36 51
1CN-36-20 | M36x2 |Zz1.1/4'X115| 28 16 | 25 | 46 54
1CN-45-20 | M45x2 |Z71.1/4'X11.5| 35 18 | 25 | 46 56
1CN-52-20 | M52x2 |Z71.1/4'X115| 42 19 | 25 | 55 61
1CN-52-24 | M52x2 |Z71.1/2'X11.5| 42 19 | 25 | 55 61

VR TR R AT 08, WUIAE 10 S5 RN, 407 1CN-22- 08RN
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CN-22-08RN.

-29 -




- 2 1DN

“e | AIAMEL24 © TR
72 THEE SMRL60 °
7 \\_E_ METRIC MALE 24 ° H.T.
S1 INPT MALE 60 °
= 1240 THREADE %F45Ms TUBE 0O.D. U} DIMENSIONS

PART NO. E F D1 A B S1 L
1DN-14-04 | M14x1.5 | Z1/4"X18 6 12 14 14 32

1DN-16-04 | M16x1.5 | Z1/4"X18 8 12 14 17 32
1DN-18-04 [ M18x1.5 | Z1/4"X18 10 12 14 19 32
1DN-18-06 | M18x1.5 | Z3/8"X18 10 12 14 19 32
1DN-20-04 | M20x1.5 | Z1/4"X18 12 12 14 22 33
1DN-20-06 | M20x1.5 | Z3/8"X18 12 12 14 22 33
1DN-20-08 | M20x1.5 | Z1/2"X14 12 12 19 22 38
1DN-22-08 | M22x1.5 | Z1/2"X14 14 14 19 24 41
1DN-24-08 | M24x1.5 | Z1/2"X14 16 14 19 27 42
1DN-30-12 M30x2 Z3/4"X14 20 16 19.5 32 455
1DN-36-16 M36x2 Z1"X11.5 25 18 24 36 53
1DN-42-16 M42x2 Z1"X11.5 30 20 24 46 57
1DN-42-20 M42x2 [ Z1.174"X11.5 30 20 25 46 58
1DN-52-24 M52x2 [ z1.1/2"X11.5 38 22 25 55 64

R AT R B SRR IR AT 5, S AEAUS 5 RN, 41" 1DN-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DN-22-08RN.

-30 -




1CN9

N | 90 * A HISNRLL24 " AT
3 TR JMEAL60 °
k 90 ° METRIC MALE 24 ° L.T.
N S1 INPT MALE 60 °
e 124 THREADE #-4Mz TUBE O.D. R <+ DIMENSIONS

PART NO. E F D1 A B S1
1CN9-12-02 | M12x1.5 | Zz1/8"X27 6 25 25 11
1CN9-12-04 | M12x1.5 | Z1/4"X18 6 27 29 14
1CN9-14-04 | M14x1.5 | Z1/4"X18 8 27 29 14
1CN9-16-06 | M16x1.5 | Z3/8"X18 10 29 30 17
1CN9-18-04 | M18x1.5 | Z1/4"X18 12 33 33 19
1CN9-18-06 | M18x1.5 | Z3/8"X18 12 33 33 19
1CN9-18-08 | M18x1.5 | Z1/2"X14 12 37 37 22
1CN9-22-06 | M22x1.5 | Z3/8"X18 15 37 37 22
1CN9-22-08 | M22x1.5 | Z1/2"X14 12 37 37 22
1CN9-26-08 | M26x1.5 | Z1/2"X14 18 41 41 27
1CN9-26-12 | M26x1.5 | Z3/4"X14 18 41 41 27
1CN9-30-12 | M30x2 | Z3/4"X14 22 41 41 27
1CN9-30-16 | M30x2 | Z1"X11.5 22 49 49 33
1CN9-36-16 | M36x2 | Z1"X11.5 28 46 46 33
1CN9-45-20 | M45x2 |Zz1.1/4"X115| 35 55 55 44
1CN9-52-24 | M52x2 [Z1.1/2'X11.5| 42 57 60 55

FAE TN RE R R BRI 52, MIHLE (LS 5 "RN", 41" 1CN9-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CN9-22-08RN.

- 31




_ D1
| 1DN9
E
J -
A 90 ° AfilSMRS24 * 77
2 I T HER HMRE60 °
k 90 ° METRIC MALE 24 ° H.T.
. S1 INPT MALE 60 °
e #24 THREADE 4% TUBE O.D. R <} DIMENSIONS

PART NO. E F D1 A B S1
1DN9-14-04 | M14x1.5 | Z1/4"X18 6 27 29 14
1DN9-16-04 | M16x1.5 | Z1/4"X18 8 29 30 17
1DN9-18-06 | M18x1.5 | Z3/8"X18 10 33 33 19
1DN9-20-04 | M20x1.5 | Z1/4"X18 12 37 37 22
1DN9-20-06 | M20x1.5 | Z3/8"X18 12 37 37 22
1DN9-22-06 | M22x1.5 | Z3/8"X18 14 37 37 22
1DN9-22-08 | M22x1.5 | Z1/2"X14 14 37 37 22
1DN9-24-06 | M24x1.5 | Z3/8"X18 16 37 33 24
1DN9-24-08 | M24x1.5 | Z71/2"X14 16 33 37 24
1DN9-30-08 | M30x2 | Zz1/2"'X14 20 40 | 40 27
1DN9-30-12 | M30x2 | Z3/4"X14 20 40 | 40 27
1DN9-36-16 | M36x2 | Z1"X11.5 28 49 | 49 33
1DN9-42-16 | M42x2 | Z1"X11.5 30 57 57 | 44
1DN9-42-20 | M42x2 |z1.1/4"X11.5| 30 57 57 | 44
1DN9-52-20 | M52x2 [Z1.1/4"X115| 38 56 60 55
1DN9-52-24 | M52x2 [Z1.1/2'X115| 38 56 60 55

LN R E KRB IRE R B8, WHSAE (G5 5N "RN", 41" 1DN9-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DN9-22-08RN.

-32 -




1CT

e | AHISMEL24 ° 1% 75
; %// % YOHEATSMZ 60 °
7 \ & METRIC MALE 24 ° L.T./
s1/ BSPT MALE 60 °
a2 12 4. THREADE EF4ME TUBE O.D. R~} DIMENSIONS

PART NO. E F D1 A B S1 L
1CT-12-02 M12x1.5 7G1/8"X28 6 10 10 12 26
1CT-12-04 M12x1.5 ZG1/4"X19 6 10 14 14 31
1CT-14-04 M14x1.5 ZG1/4"X19 8 1 14 14 31
1CT-16-04 M16x1.5 ZG1/4"X19 10 11 14 17 325
1CT-16-06 M16x1.5 ZG3/8"X19 10 1 14 17 325
1CT-18-04 M18x1.5 ZG1/4"X19 12 11.5 14 19 315
1CT-18-06 M18x1.5 ZG3/8"X19 12 11.5 14 19 31.5
1CT-18-08 M18x1.5 ZG1/2"X14 12 11.5 19 22 38
1CT-22-08 M22x1.5 ZG1/2"X14 15 12.5 19 24 39
1CT-22-20 M22x1.5 | zG1.1/4"X11 15 12.5 25 46 50.5
1CT-26-08 M26x1.5 | zG1/2"X14 18 12 19 27 40
1CT-26-12 M26x1.5 | ZG3/4"X14 18 12 19.5 27 40
1CT-30-08 M30x2 ZG1/2"X14 22 14 19 32 43
1CT-30-12 M30x2 ZG3/4"X14 22 14 19.5 32 43.5
1CT-36-16 M36x2 ZG1"X11 28 16 24 36 51
1CT-36-20 M36x2 ZG1.1/4"X11 28 16 25 46 54
1CT-45-20 M45x2 7G1.1/4"X11 35 18 25 46 56
1CT-52-20 M52x2 7G1.1/4"X11 42 19 25 55 61
1CT-52-24 M52x2 7G1.1/2"X11 42 19 25 55 61

U MFTF W R B REBRRET] 6, W AES 5 "RN", 41" 1CT-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

-33 -




—

1DT

w8 | é&ﬁﬁﬁfﬂiﬁféﬁ% ’ i/ﬂ%ﬁﬂl
70 JETRIC WALE 26 4.7
s1/ 7 \i BSPT MALE 60 °
e 124 THREADE % F5Mz TUBE 0.D. )1 DIMENSIONS
PART NO. E F D1 A B Sl L
1DT-14-04 | M14x1.5 | ZG1/4"X19 6 12 | 14 | 14 32
1DT-16-04 | M16x1.5 | ZG1/4"X19 8 12 | 14 | 17 32
1DT-18-04 | M18x1.5 | ZG1/4"X19 10 12 | 14 | 19 32
1DT-18-06 | M18x1.5 | ZG3/8"X19 10 12 | 14 | 19 32
1DT-20-04 | M20x1.5 | ZG1/4"X19 12 12 | 14 | 22 33
1DT-20-06 | M20x1.5 | ZG3/8"X19 12 12 | 14 | 22 33
1DT-20-08 | M20x1.5 | ZG1/2'X14 12 12 | 19 | 22 38
1DT-22-08 | M22x1.5 | ZG1/2'X14 14 14 | 19 | 24 41
1DT-24-08 | M24x1.5 | ZG1/2'X14 16 14 | 19 | 27 42
1DT-30-12 | M30x2 | ZG3/4"X14 20 16 | 195 | 32 455
1DT-36-16 | M36x2 Z61"X11 25 18 | 24 | 36 53
1DT-42-16 | M42x2 Z61"X11 30 20 | 24 | 46 57
1DT-42-20 | M42x2 | ZG1.1/4'X11 | 30 20 | 25 | 46 58
1DT-52-24 | M52x2 | zG1.1/4'X11| 38 22 | 25 | 55 64

U MFTE W R E L REBRREET] 6, W AR5 5 "RN", 41" 1CT-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CT-22-08RN.

-34 -




1CT9

A 90 * A HHIAMELL24 * R/
2 SRR SMRZ60 T 90 7
k METRIC MALE 24 ° L.T./
N S1 BSPT MALE 60 *
re #24 THREADE % ¥5M& TUBE 0.D. ] 51 DIMENSIONS

PART NO. E F D1 A B S1
1CT9-12-02 | M12x1.5 | ZG1/8'X28 6 25 | 25 | 11
1CT9-12-04 | M12x1.5 | ZG1/4"X19 6 27 | 29 | 14
1CT9-14-04 | M14x1.5 | ZG1/4'X19 8 27 | 29 | 14
1CT9-16-06 | M16x1.5 | ZG3/8'X19 10 29 | 30 | 17
1CT9-18-04 | M18x1.5 | ZG1/4'X19 12 33 | 33 | 19
1CT9-18-06 | M18x1.5 | ZG3/8'X19 12 33 | 33 | 19
1CT9-18-08 | M18x1.5 | ZG1/2'X14 12 37 | 37 | 22
1CT9-22-06 | M22x1.5 | ZG3/8"X19 15 37 | 37 | 22
1CT9-22-08 | M22x1.5 | ZG1/2'X14 12 37 | 37 | 22
1CT9-26-08 | M26x1.5 | ZG1/2'X14 18 M | 41| 27
1CT9-26-12 | M26x1.5 | ZG3/4"X14 18 M| 41| 27
1CT9-30-12 | M30x2 | ZG3/4"X14 22 4“1 | 41| 27
1CT9-30-16 | M30x2 Z61"X11 22 49 | 49 | 33
1CT9-36-16 | M36x2 261"X11 28 46 | 46 | 33
1CT9-45-20 | M45x2 | zG1.1/4'X11| 35 55 | 55 | 44
1CT9-52-24 | M52x2 | ZG1.1/2'X11 | 42 57 | 60 | 55

T R E R R EIRBE R BT BT, WA AT S5 RN™, 1™ 1CT9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CT9-22-08RN.

-35 -




o |m
=

=

I 1DT9
@
90 * /M SMBLE24 "
2 WHERSMEL60 © H RS
k 90 ° METRIC MALE 24 °/
A S1 BSPT MALE 60 ° H.T.
B 124 THREADE 4% TUBE O.D. S ) DIMENSTONS
PART NO. E F D1 A B S1
1DT9-14-04 | M14x1.5 | ZG1/4"X19 6 27 29 14
1DT9-16-04 | M16x1.5 | ZG1/4"X19 8 29 30 17
1DT9-18-06 | M18x1.5 | ZG3/8"'X19 10 33 33 19
1DT9-20-04 | M20x1.5 | ZG1/4"X19 12 37 37 22
1DT9-20-06 | M20x1.5 | ZG3/8"X19 12 37 37 22
1DT9-22-06 | M22x1.5 | ZG3/8"X19 14 37 37 22
1DT9-22-08 | M22x1.5 | ZG1/2"X14 14 37 37 22
1DT9-24-06 | M24x1.5 | ZG3/8"X19 16 37 33 24
1DT9-24-08 | M24x1.5 | ZG1/2"X14 16 33 37 24
1DT9-30-08 | M30x2 | ZG1/2'X14 20 40 40 27
1DT9-30-12 | M30x2 | ZG3/4"'X14 20 40 40 27
1DT9-36-16 | M36x2 Z61"X11 25 49 49 33
1DT9-42-16 | M42x2 Z61"X11 30 57 57 44
1DT9-42-20 | M42x2 | ZG1.1/4"X11 30 57 57 44
1DT9-52-20 | M52x2 | ZG1.1/4"X11 38 56 60 55
1DT9-52-24 | M52x2 | zG1.1/2"X11 38 56 60 55

TR R E R R BRI TT 08, WSS 5 N RN", 411" 1DT9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DT9-22-08RN.

-36 -




- 1CB

w o | Z\%'J%‘?aﬁ%éj‘(24‘° BRI BEEBRL
73 60 ° %@Eﬁﬂé@%fﬁ
¢ % METRIC MALE 24 ° SEAL L.T./BSP MALE
g DOUBLE 60 ° SEAT BONDED SEAL
fog # 4 THREADE % 15M% TUBE 0O.D. K~} DIMENSIONS

PART NO. E F D1 A B S1 L
1CB-12-02 M12x1.5 [ G1/8"X28 6 10 10 14 26
1CB-12-04 M12x1.5 | G1/4"X19 6 10 12 19 28
1CB-14-02 M14x1.5 | G1/8"X28 8 11 10 14 27
1CB-14-04 M14x1.5 [ G1/4"X19 8 11 12 19 29
1CB-14-06 M14x1.5 [ G3/8"X19 8 11 13.5 22 32
1CB-16-04 M16x1.5 [ G1/4"X19 10 11 12 19 29
1CB-16-06 M16x1.5 [ G3/8"X19 10 11 13.5 22 32.5
1CB-16-08 M16x1.5 [ G1/2'X14 10 11 16 27 37
1CB-18-04 M18x1.5 | G1/4"X19 12 11.5 12 19 29.5
1CB-18-06 M18x1.5 | G3/8"X19 12 115 | 13.5 22 32
1CB-18-08 M18x1.5 | G1/2"X14 12 11.5 16 27 36
1CB-18-12 M18x1.5 | G3/4"X14 12 115 | 185 32 40
1CB-22-06 M22x1.5 | G3/8"X19 15 125 | 13.5 22 33
1CB-22-08 M22x1.5 | G1/2"X14 15 12.5 16 27 37
1CB-26-08 M26x1.5 | G1/2"X14 18 12 16 27 37
1CB-26-12 M26x1.5 | G3/4"X14 18 12 18.5 32 41.5
1CB-30-12 M30x2 G3/4"X14 22 14 18.5 32 42.5
1CB-36-16 M36x2 G1"X11 28 16 20.5 41 48.5
1CB-45-20 M45x2 G1.1/4"X11 35 18 20.5 50 55.5
1CB-52-24 M52x2 G1.1/2"X11 42 19 23 55 59

F TN RE R REIBEFEETT R, MEAAS S5 "RN", 411" 1CB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN.

-37 -




I 1DB

w & | AiSMRE24 © AL SEIRAL
ol 5,60 ° %&@Eﬁéﬁé@%‘ﬁ
¢ % METRIC MALE 24 ° SEALH.T./BSP MALE
ﬂ DOUBLE 60 ° SEAT BONDED SEAL
e 14 THREADE #%1-5M% TUBE 0.D. R I DIMENSIONS
PART NO. E F D1 A B S1 L
1DB-14-04 | M14x1.5 | G1/4"X19 6 12 | 12 | 19 30
1DB-16-04 | M16x1.5 | G1/4"X19 8 12 | 12 | 19 30
1DB-16-06 | M16x1.5 | G3/8"X19 8 12 | 135 | 22 33
1DB-18-04 | M18x1.5 | G1/4'X19 10 12 | 12 | 19 30
1DB-18-06 | M18x1.5 | G3/8"X19 10 12 | 135 | 22 33
1DB-18-08 | M18x1.5 | G1/2'X14 10 12 | 16 | 27 37
1DB-20-04 | M20x1.5 | G1/4"X19 12 12 | 12 | 22 31
1DB-20-06 | M20x1.5 | G3/8"X19 12 12 [ 135 | 22 33
1DB-20-08 | M20x1.5 | G1/2'X14 12 12 | 16 | 27 37
1DB-22-08 | M22x1.5 | G1/2'X14 14 14 | 16 | 27 39
1DB-24-06 | M24x1.5 | G3/8'X19 16 14 135 | 27 36
1DB-24-08 | M24x1.5 | G1/2'X14 16 14 | 16 | 27 39
1DB-24-12 | M24x1.5 | G3/4'X14 16 14 | 185 | 32 425
1DB-30-12 | M30x2 | G3/4"X14 20 16 | 185 | 32 445
1DB-36-16 | M36x2 61"X11 25 18 | 205 | 41 50.5
1DB-42-20 | M42x2 | G1.1/4"X11 | 30 20 | 205 | 50 57.5
1DB-52-24 | M52x2 | G1.1/2'X11 | 38 22 | 23 | 55 62

i T AT AU AT B, DA A5 RN, 1™ 1DB-22- 0BRN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

-38 -




‘ 1CB9
<C
[T 00 * /A HIAL24 * BRI
LLJ PeAEIRE60 ° HEM A 90
X& METRIC MALE 24 ° L.T.
B 1 /BSP MALE 60 ° CONE

= 124 THREADE H¥H4MzE TUBE O.D. R <t DIMENSIONS

PART NO. E F D1 A B S1
1CB9-12-04 | M12x1.5 G1/4"X19 6 29 27 14
1CB9-14-04 | M14x1.5 G1/4"X19 8 29 27 14
1CB9-14-06 | M14x1.5 G3/8"X19 8 30 29 17
1CB9-16-04 | M16x1.5 G1/4"X19 10 30 29 17
1CB9-16-06 | M16x1.5 G3/8"X19 10 30 29 17
1CB9-16-08 | M16x1.5 G1/2"X14 10 37 37 22
1CB9-18-04 | M18x1.5 G1/4"X19 12 33 33 19
1CB9-18-06 | M18x1.5 G3/8"X19 12 33 33 19
1CB9-18-08 | M18x1.5 G1/2"X14 12 37 37 22
1CB9-22-06 | M22x1.5 G3/8"X19 15 37 37 22
1CB9-22-08 | M22x1.5 G1/2"X14 15 37 37 22
1CB9-26-08 | M26x1.5 G1/2"X14 18 41 41 27
1CB9-30-12 M30x2 G3/4"X14 22 40 40 27
1CB9-36-16 M36x2 G1"X11 28 46 46 33
1CB9-45-20 M45x2 G1.1/4"X11 35 55 55 44
1CB9-52-24 M52x2 G1.1/2"X11 42 61 57 55

e MFTF W R B REBRRET] 6, W AE S 5 "RN", 41" 1CB9-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB9-22-08RN.

-39 -




‘ 1DB9
<C
0 T 90 * AfISMEL24 * TR/ B
n EIRL60 ° HEM% 90
X& METRIC MALE 24 ° H.T./BSP
B S1 MALE BSP MALE 60 ° CONE
= 124 THREADE #T4M# TUBE 0.D. R <+ DIMENSIONS

PART NO. E F D1 A B S1
1DB9-14-04 | M14x1.5 | G1/4"X19 6 29 27 14
1DB9-16-04 | M16x1.5 | G1/4"X19 8 30 29 17
1DB9-16-06 | M16x1.5 | G3/8"'X19 8 30 29 17
1DB9-18-04 | M18x1.5 | G1/4"X19 10 33 33 19
1DB9-18-06 | M18x1.5 | G3/8"X19 10 33 33 19
1DB9-18-08 | M18x1.5 | G1/2'X14 10 37 37 22
1DB9-20-04 | M20x1.5 | G1/4"X19 12 37 37 22
1DB9-20-06 | M20x1.5 | G3/8"X19 12 37 37 22
1DB9-20-08 | M20x1.5 | G1/2"X14 12 37 37 22
1DB9-22-08 | M22x1.5 | G1/2'X14 14 37 37 22
1DB9-24-06 | M24x1.5 | G3/8'X19 16 37 33 24
1DB9-24-08 | M24x1.5 | G1/2'X14 16 37 33 24
1DB9-24-12 | M24x1.5 | G3/4"X14 16 41 41 27
1DB9-30-12 | M30x2 | G3/4'X14 20 41 41 27
1DB9-36-08 | M36x2 | G1/2'X14 25 49 49 33
1DB9-36-12 | M36x2 | G3/4"X14 25 49 49 33
1DB9-36-16 M36x2 G1"X11 25 49 49 33
1DB9-42-20 | M42x2 | G1.1/4"X11 30 55 55 44
1DB9-52-24 | M52x2 | G1.1/2"X11 38 61 57 55

FE TR KRB IR R T BT, WAE (G5 5 "RN", 41" 1DB9-22-08RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DB9-22-08RN.

-40 -




1CB-WD

w5 NHIHMRLS24 ° BRI AR
60 * Ay T B I 2
¢ METRIC MALE 24 ° L.T./BSP THREAD
St WITH CAPTIVE SEAL
B #24r THREADE &¥5MzE TUBE O.D. R s} DIMENSIONS
PART NO. E F D1 A B S1
1CB-12-02WD | M12x1.5 | G1/8"X28 6 10 10 12
1CB-12-04WD | M12x1.5 | G1/4"X19 6 10 12 19
1CB-12-06WD | M12x1.5 | G3/8"X19 6 10 | 135 | 22
1CB-14-02WD | M14x1.5 | G1/8"X28 8 11 10 14
1CB-14-04WD | M14x1.5 | G1/4"X19 8 11 12 19
1CB-14-06WD | M14x1.5 | G3/8'X19 8 11 | 135 | 22
1CB-16-04WD | M16x1.5 | G1/4"X19 10 11 12 19
1CB-16-06WD | M16x1.5 | G3/8"X19 10 11 | 135 | 22
1CB-16-08WD | M16x1.5 | G1/2'X14 10 11 16 27
1CB-18-04WD | M18x1.5 | G1/4"X19 12 115 | 12 19
1CB-18-06WD | M18x1.5 | G3/8"X19 12 11.5 | 135 | 22
1CB-18-08WD | M18x1.5 | G1/2'X14 12 115 | 16 27
1CB-22-04WD | M22x1.5 | G1/4"X19 15 125 | 12 22
1CB-22-06WD | M22x1.5 | G3/8"X19 15 125 | 135 | 22
1CB-22-08WD | M22x1.5 | G1/2'X14 15 125 | 16 27
1CB-22-12WD | M22x1.5 | G3/4"X14 15 125 | 185 | 32
1CB-26-08WD | M26x1.5 | G1/2"X14 18 12 16 27
1CB-26-12WD | M26x1.5 | G3/4"X14 18 12 | 185 | 32
1CB-30-12WD | M30x2 | G3/4"X14 22 14 | 185 | 32
1CB-36-16WD | M36x2 G1"X11 28 16 | 205 | #1
1CB-45-20WD | M45x2 | G1.1/4"X11 35 18 | 205 | 50
1CB-52-24WD | M52x2 | G1.1/2"X11 42 19 23 55

R MFTF W R E L RERERET] 6, W AR5 5 N "RN", 41" 1CB-22-08WD/RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08WD/RN.

-41 -




B

—

1DB-WD

wl 5 4{ = ANHISMEE24 © TR BRI
> 60 ° P I £
< METRIC MALE 24 ° H.T./BSP THREAD

%/M WITH CAPTIVE SEAL

e #2 4 THREADE & 4M% TUBE O.D. R <} DIMENSIONS
PART NO. E F D1 A B S1
1DB-14-04WD | M14x1.5 | G1/4"X19 6 12 12 19
1DB-16-04WD | M16x1.5 | G1/4"X19 8 12 12 19
1DB-16-06WD | M16x1.5 | G3/8"X19 8 12 | 135 | 22
1DB-18-04WD | M18x1.5 | G1/4"X19 10 12 12 19
1DB-18-06WD | M18x1.5 | G3/8"X19 10 12 | 135 | 22
1DB-18-08WD | M18x1.5 | G1/2"X14 10 12 16 27
1DB-20-04WD | M20x1.5 | G1/4"X19 12 12 12 22
1DB-20-06WD | M20x1.5 | G3/8"X19 12 12 | 135 | 22
1DB-20-08WD | M20x1.5 | G1/2'X14 12 12 16 27
1DB-22-08WD | M22x1.5 | G1/2'X14 14 14 16 27
1DB-24-06WD | M24x1.5 | G3/8"X19 16 14 | 135 | 27
1DB-24-08WD | M24x1.5 | G1/2"X14 16 14 16 27
1DB-24-12WD | M24x1.5 | G3/4"X14 16 14 | 185 | 32
1DB-30-12WD | M30x2 | G3/4"X14 20 16 | 185 | 32
1DB-42-20WD | M42x2 | G1.1/4"X11 30 20 | 205 | 50
1DB-52-24WD | M52x2 | G1.1/2"X11 38 22 23 | 55

U MFTF W R E L REBRRET] 6, W AR5 5N "RN", 41" 1DB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DB-22-08RN.

-42 -




-—

1CG

w e - A HANRELS24 © 7R/

i AR SO B | %

< % - METRIC MALE 24 ° L.T./

S1 BSP MALE O-RING
o i2 40 THREADE %T4M% TUBE 0.D. R~} DIMENSIONS

PART NO. E F D1 A B S1 L
1CG-12-02 | M12x1.5 | G1/8"X28 6 10 9 14 25
1CG-12-04 | M12x1.5 | G1/4"X19 6 10 12 14 28
1CG-14-04 | M14x1.5 | G1/4"X19 8 11 12 14 29
1CG-14-06 | M14x1.5 | G3/8"X19 8 11 | 135 | 22 32
1CG-14-08 | M14x1.5 | G1/2'X14 8 11 16 27 36
1CG-16-04 | M16x1.5 | G1/4"X19 10 11 12 19 29
1CG-16-06 | M16x1.5 | G3/8"X19 10 11 | 135 | 22 32
1CG-16-08 | M16x1.5 | G1/2'X14 10 11 16 27 36
1CG-18-06 | M18x1.5 | G3/8"X19 12 1.5 | 135 | 22 32
1CG-18-08 | M18x1.5 | G1/2'X14 12 1.5 | 16 27 36
1CG-22-06 | M22x1.5 | G3/8"X19 15 125 | 135 | 22 33
1CG-22-08 | M22x1.5 | G1/2'X14 15 125 | 16 27 37
1CG-22-12 | M22x1.5 | G3/4"X14 15 125 | 185 | 32 41
1CG-26-08 | M26x1.5 | G1/2'X14 18 12 16 27 37
1CG-26-12 | M26x1.5 | G3/4"X14 18 12 | 185 | 32 40.5
1CG-30-12 M30x2 | G3/4"X14 22 14 | 185 | 32 425
1CG-30-16 M30x2 G1"X11 22 14 | 205 | 41 46.5
1CG-36-16 M36x2 G1"X11 28 16 | 205 | 41 48.5
1CG-45-20 M45x2 | G1.1/4"X11 35 18 | 205 | 50 55
1CG-52-20 M52x2 | G1.1/4"X11 42 19 | 205 | 55 56.5
1CG-52-24 M52x2 | G1.1/2"X11 42 19 23 55 59
1CG-52-32 M52x2 G2" 42 19 | 255 | 70 62.5

e NF R E R R EIR BT 5T, WELE A5 /S RN™, #11"1CG-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CG-22-08RN.

-43 -




-—

1DG

w e - NI AMEL24 © R/
g AN SO R B % £
< '% - METRIC MALE 24 ° H.T./
S1 BSP MALE O-RING
5 124; THREADE #¥4Mz TUBE 0.D. .~ DIMENSIONS
PART NO. E F D1 A B S1 L
1DG-14-04 | M14x1.5 | G1/4"X19 6 12 12 19 30
1DG-16-04 | M16x1.5 | G1/4"X19 8 12 12 19 30
1DG-18-04 | M18x1.5 | G1/4"X19 10 12 12 19 30
1DG-18-06 | M18x1.5 | G3/8"X19 10 12 | 135 | 22 33
1DG-20-06 | M20x1.5 | G3/8"X19 12 12 | 135 | 22 33
1DG-20-08 | M20x1.5 | G1/2"X14 12 12 16 27 37
1DG-22-06 | M22x1.5 | G3/8"X19 14 14 | 135 | 24 35
1DG-22-08 | M22x1.5 | G1/2"'X14 14 14 16 27 39
1DG-24-08 | M24x1.5 | G1/2"'X14 16 14 16 27 39
1DG-30-12 M30x2 | G3/4"X14 20 16 | 185 | 32 445
1DG-36-16 M36x2 G1"X11 25 18 | 205 | 41 51.5
1DG-42-16 M42x2 G1"X11 30 20 | 205 | 46 53.5
1DG-42-20 M42x2 | G1.1/4"X11 30 20 | 205 | 50 57.5
1DG-52-24 M52x2 | G1.1/2"X11 38 22 23 55 62

U MFTF W R E L REBRREET] 6, W AR5 5N "RN", 41" 1DG-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DG-22-08RN.

-44 -




N

1CG4-0G

45 ° Y IRL24 ° IR A5 ] R A b

45°BSP THREAD 24 ° L.T.ADJUSTABLE STUD.

|-
A \st

re 124 THREADE B 74MzE TUBE O.D. R <} DIMENSIONS
PART NO. E F D1 A B S1 S2
1C64-12-020G | M12x15 | G1/8'X28 6 20 |24 [ 11 ] 14
1CG4-14-040G | M14x15 | G1/4X19 8 22 | 27 | 14 | 19
1CG4-16-040G | M16x15 | G1/4X19 10 22 | 27 | 17 | 19
1CG4-16-060G | M16x15 | G3/8'X19 10 2 |30 | 17 | 22
1CG4-18-060G | M18x15 | G3/8'X19 12 24 |31 | 19 | 22
1C64-22-080G | M22x15 | G1/2'X14 15 27 | 36 | 22 | 27
10G4-26-080G | M26x15 | G1/2'X14 18 33 |375 | 27 | 27
1CG4-26-120G | M26x1.5 | G3/4'X14 18 33 | 42 | 27 | 32
10G4-30-1206 | M30x2 | G3/4'X{4 22 33 |425 | 27 | 32
10G4-36-160G | M36x2 | G61"Xi1 28 37 |445 | 33 | 41
1064452006 | M45x2 | G11/4'x1%| 35 41 [505 | 44 | 50

)

AY

JFIE

1DG4-0G

45 ° JLAIRE24 * H A W] 1) AL v

45°BSP THREAD 24 ° H.T.ADJUSTABLE STUD.

—
A \s1
e 124 THREADE HF4M% TUBE O.D. J& <} DIMENSIONS

PART NO. E F D1 A B S1 Y)
1DG4-14-040G | M14x1.5 | G1/4"X19 6 22 27 14 19
1DG4-16-040G | M16x1.5 | G1/4"X19 8 22 27 17 19
1DG4-18-060G | M18x1.5 | G3/8"X19 10 24 31 19 22
1DG4-20-060G | M20x1.5 | G3/8"X19 12 27 31 22 22
1DG4-22-080G | M22x1.5 | G1/2"'X14 14 27 36 22 27
1DG4-30-120G | M30x2 | G3/4"X14 20 33 | 425 | 27 32
1DG4-36-160G | M36x2 G1"X11 25 37 | 445 | 33 41
1DG4-42-200G | M42x2 | G1.1/4"X11 30 41 475 | 44 50

TR R E R R BB AT, WS 5 "RN", 41" 1DG4-22-080G/RN"( [A] )

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DG4-22-080G/RN. (the
same with above)

-45 -




S2 —
L] - 1CG9-0G
T
w ET 90 ° JEAFIRLL24 ° R AR A W] 1) A g
:ﬁ& 90 °BSP THREAD 24 ° L.T.ADJUSTABLE STUD

A S1
P 12 4r THREADE % T4M%2 TUBE O.D. JX =1 DIMENSIONS
PART NO. E F D1 A B S1 S2
1CG9-12-020G | M12x1.5 | G1/8"X28 6 25 | 262 | 11 14
1CG9-14-040G | M14x1.5 | G1/4"X19 8 29 | 313 | 14 19
1CG9-16-040G | M16x1.5 | G1/4"X19 10 30 | 325 | 17 19
1CG9-16-060G | M16x1.5 | G3/8"X19 10 30 | 358 | 17 22
1CG9-18-060G | M18x1.5 | G3/8"X19 12 33 | 368 | 19 22
1CG9-22-080G | M22x1.5 | G1/2'X14 15 37 | 432 | 22 27
1CG9-26-080G | M26x1.5 | G1/2'X14 18 41 46 27 27
1CG9-30-120G M30x2 | G3/4"X14 22 40 52 27 32
1CG9-36-160G M36x2 G1"X11 28 46 56 33 41
1CG9-45-200G M45x2 | G1.1/4"X11 35 55 63 44 50
1CG9-52-240G MWZ:@ A72"X11 42 59 | 685 | 55 55

F i

=

,

7@ : 1DG9-0G

90 * JLAFIRL24 ° FA S W] 1) K

_ﬁ& 90 * BSP THREAD 24 ° H.T.ADJUSTABLE STUD
A st

e 124 THREADE #¥45Mz TUBE O.D. J <} DIMENSIONS
PART NO. E F D1 A B S1 S2
1DG9-14-040G | M14x1.5 | G1/4"X19 6 29 31.3 14 19
1DG9-16-040G | M16x1.5 | G1/4"X19 8 30 32.5 17 19
1DG9-18-060G | M18x1.5 | G3/8"X19 10 33 | 36.8 19 22
1DG9-20-060G | M20x1.5 | G3/8"X19 12 37 36.8 22 22
1DG9-22-080G | M22x1.5 [ G1/2"X14 14 37 43.2 22 27
1DG9-30-120G M30x2 G3/4"X14 20 40 52 27 32
1DG9-36-160G M36x2 G1"X11 25 46 56 33 41
1DG9-42-200G M42x2 | G1.1/4"X11 30 55 58 44 50

FyE N R B R R IR R AT 8%, MIHAE A5 J5 I "RN™, 401" 1DG9-22-080G/RN" (] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DG9-22-080G/RN. (the
same with above)

-46 -




1CH

w o NI IMEL24 © R N

0 £ 3 16T O | 5 B METRI C

¢ W MALE 24 ° L.T./METRIC

st/ MALE WITH O-RING
i 4 THREADE | 4§ 14}% TUBE O.D. J ~F DIMENSIONS

PART NO. E F D1 A B | si L
1CH-12-10 | M12x1.5 | M10x1 6 10 | 85 | 12 24.5
1CH-14 | M14x1.5 | M14x15 | 8 11 | 11 | 19 28
1CH-14-12 | M14x15 | M12x1.5 | 8 11 | 11 | 7 28
1CH-16-14 | M16x1.5 | M14x1.5 | 10 11 | 11 | 19 28
1CH-18-14 | M18x1.5 | M14x1.5 | 12 115 | 11 | 19 28.5
1CH-14-18 | M14x1.5 | M18x1.5 | 8 11 | 11 | 24 30
1CH-16 | M16x1.5 | M16x1.5 | 10 11 | 11 | 22 29
1CH-16-18 | M16x1.5 | M18x1.5 | 10 11 | 11 | 24 30
1CH-18-16 | M18x1.5 | M16x1.5 | 12 115 | 11 | 22 30
1CH-22-16 | M22x1.5 | M16x1.5 | 12 125 | 11 | 24 31
1CH-22-18 | M22x1.5 | M18x1.5 | 15 125 | 11 | 24 31
1CH-16-22 | M16x1.5 | M22x1.5 | 10 11 | 12 | 27 32
1CH-22-20 | M22x1.5 | M20x1.5 | 15 125 | 12 | 27 33
1CH-22 | M22x1.5 | M22x15 | 12 125 | 12 | 27 33
1CH-26-22 | M26x1.5 | M22x1.5 | 18 12 | 12 | 27 33
1CH-26 | M26x1.5 | M26x1.5 | 18 12 | 13 | 32 35
1CH-26-27 | M26x1.5 | M27x2 | 18 12 | 13 | 32 35
1CH-30-22 | M30x2 |M22x1.5| 22 14 | 12 | 32 36
1CH-30-27 | M30x2 | M27x2 | 22 14 | 13 | 32 37
1CH-30 M30x2 | M30x2 | 22 14 | 14 | 36 39
1CH-36-27 | M36x2 | M27x2 | 28 16 | 13 | 36 40

FAE TN RE R R BB ETT 52, ML S /5 RN", 41" 1CH-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CH-22-08RN.

-47 -




o 1DH

w & w KNSMRS24 © HAS/
MRS i S 1] O T | 4

- W 1 METRIC MALE 24 ° H.T./
METRIC MALE WITH 0-RING

1

in=2 #24 THREADE %¥5ME TUBE 0.D. ] ) DIMENSIONS

PART NO. E F D1 A B Sl L
1DH-14 M14x1.5 | M14x1.5 6 12 | 11 19 29
1DH-14-12 | M14x1.5 | M12x1.5 6 12 | 11 17 29
1DH-16-14 | M16x1.5 | M14x1.5 8 12 | 11 19 29
1DH-18-16 | M18x1.5 | M16x1.5 | 10 12 | 1 22 30
1DH-20-14 | M20x1.5 | M14x1.5 | 12 12 | 1 22 30
1DH-20-16 | M20x1.5 | M16x1.5 | 12 12 | 11 22 30
1DH-20-18 | M20x1.5 | M18x1.5 | 12 12 | 1 24 31
1DH-20-22 | M20x1.5 | M22x1.5 | 12 12 | 12 | 27 33
1DH-24-22 | M24x1.5 | M22x1.5 | 16 14 | 12 | 27 35
1DH-30 M30x2 | M30x2 20 16 | 14 | 36 41
1DH-30-27 | M30x2 | M27x2 20 16 | 13 | 32 39
1DH-36-27 | M36x2 | M27x2 25 18 | 13 | 36 42

oV RS R RIS AT 6%, IUIFE £ S5 RN, 1™ 1DH- 22- 08RN”
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DH-22-08RN.

-48 -




Jd

1CH4-0G

45 ° NMRE24 iR R B A] A A b
45 ° METRIC MALE 24 ° L.T.ADJUSTABLE STUD

A \s1
o2 12 4. THREADE EF4Mz2 TUBE O.D. R <+ DIMENSIONS
PART NO. E F D1 A B S1 s2
1CH4-12-100G | M12x1.5 | M10x1 6 20 25.5 11 14
1CH4-14-120G | M14x1.5 | M12x1.5 8 22 30 14 17
1CH4-16-140G | M16x1.5 | M14x1.5 10 22 30.5 17 19
1CH4-18-160G | M18x1.5 | M16x1.5 12 24 34 19 22
1CH4-22-180G | M22x1.5 | M18x1.5 15 27 38 22 24
1CH4-26-220G | M26x1.5 | M22x1.5 18 33 40.5 27 27
1CH4-30-270G M30x2 M27x2 ! 25 33 48 27 32
1CH4-36-330G M36x2 M33x;z/ 28 37 49.5 33 41
1CH4-45-420G M45x2 M4¥42 35 41 55 44 50
\ A
/ 4
el - : - .
45 ° N AMERES24 ° F FR S AT ) A
@ 45 ° METRIC MALE 24 ° H.T.ADJUSTABLE STUD
A

foE 12 4 THREADE #¥4Mz TUBE O.D. JR =} DIMENSIONS

PART NO. E F D1 A B S1 S2
1DH4-14-120G | M14x1.5 | M12x1.5 6 22 30 14 17
1DH4-16-140G | M16x1.5 | M14x1.5 8 22 30.5 17 19
1DH4-18-160G | M18x1.5 | M16x1.5 10 24 34 19 22
1DH4-20-180G | M20x1.5 | M18x1.5 12 27 37 22 24
1DH4-24-220G | M24x1.5 | M22x1.5 16 33 40 27 27
1DH4-30-270G M30x2 M27x2 20 33 48 27 32
1DH4-36-330G M36x2 M33x2 25 37 49.5 33 41
1DH4-42-420G M42x2 M42x2 30 41 54 44 50

A AT R R R IR R T 58, WA AE A5 5 RN™, 41 1DH4 - 24 - 2206 /RN" (1] _|)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DH4-24-220G/RN. (the
same with above)

-49 -




S2 e
- 1CH9-0G
T
el ’ 90 * A HIAMEL24 * ERIITTIR IRk
,—ﬁ& 90 ° METRIC MALE 24 ° L.T. ADJUSTABLE STUD
A St
fog 24 THREADE % ¥4Mz TUBE 0.D. R~} DIMENSIONS
PART NO. E F D1 A B S1 S2
1CH9-12-100G M12x1.5 | M10x1 6 25 26.5 11 14
1CH9-14-120G M14x1.5 | M12x1.5 8 29 32 14 17
1CH9-16-140G M16x1.5 | M14x1.5 10 30 34 17 19
1CH9-18-160G M18x1.5 | M16x1.5 12 33 36 19 22
1CH9-22-180G M22x1.5 | M18x1.5 15 37 39.5 22 24
1CH9-26-220G M26x1.5 | M22x1.5 18 41 43.5 27 27
1CH9-30-270G M30x2 M27x2 25 40 50 27 32
1CH9-36-330G MP;GXZ_AM%XIZ 28 46 54 33 41
T
=
/
S2
- 1DH9-0G
i
o3| 00 * A HIAMBL4 * T RSN
){k 90 ° METRIC MALE 24 ° H.T. ADJUSTABLE STUD
A St
RE 1240 THREADE ‘& T4M& TUBE O.D. R <} DIMENSIONS
PART NO. E F D1 A B S1 S2
1DH9-14-120G | M14x1.5 | M12x1.5 6 29 32 14 17
1DH9-16-140G | M16x1.5 | M14x1.5 8 30 34 17 19
1DH9-18-160G | M18x1.5 | M16x1.5 10 33 36 19 22
1DH9-20-180G | M20x1.5 | M18x1.5 12 37 37 22 24
1DH9-22-200G | M22x1.5 | M20x1.5 14 37 40 22 27
1DH9-24-220G | M24x1.5 | M22x1.5 16 37 37.5 24 27
1DH9-30-270G | M30x2 M27x2 20 41 50 27 32
1DH9-36-330G | M36x2 M33x2 25 46 54 33 41
1DH9-420G M42x2 M42x2 30 55 57.2 44 50
v AT R R R IR R TT 58, WA A5 5 RN", 411 1CB-22-08RN" (I |)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CB-22-08RN. (the same
with above)

-50 -



D 1CJ

NHIAMELR24 © R

= 12641074 ° HEmsE}
%/‘ 73 METRIC MALE 24 ° L.T./
2 JIC 74 ° CONE SEAL
S1
e 124 THREADE & 14Mz TUBE O.D. R~} DIMENSIONS
PART NO. E F D1 A B S1 L
1CJ-12-04 M12x1.5 U7/16"X20 6 10 14 14 30
1CJ-14-04 M14x1.5 U7/16"X20 8 1 14 14 31
1CJ-14-06 M14x1.5 U9/16"X18 8 1 14 17 31
1CJ-16-06 M16x1.5 U9/16"X18 10 11 14 17 31
1CJ-18-06 M18x1.5 U9/16"X18 12 11.5 14 19 31.5
1CJ-18-08 M18x1.5 U3/4"X16 12 11.5 16.7 22 35
1CJ-22-08 M22x1.5 U3/4"X16 15 12.5 16.7 24 37
1CJ-22-10 M22x1.5 u7/8"xX14 15 12.5 19.5 24 40
1CJ-26-10 M26x1.5 u7/8"xX14 18 12 19.5 27 40
1CJ-26-12 M26x1.5 U1.1/16"X12 18 12 19.5 30 41.5
1CJ-30-12 M30x2 U1.1/16"X12 22 14 22 32 46
1CJ-36-16 M36x2 U1.5/16"X12 28 16 23 36 50
1CJ-45-20 M45x2 U1.5/8"X12 35 18 24.5 46 55.5
1CJ-52-20 M52x2 U1.5/8"X12 42 19 24.5 55 60.5
1CJ-52-24 M52x2 U1.7/8"X12 42 19 27.5 55 63.5

oV I S MRS T 08, DU R 5 RN, 011 CJ-22-08RN”
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CJ-22-08RN.




N SMRE24 © H RS

1DJ

e Sl [HINCT4 ° HEE
75 METRIC MALE 24 ° H.T./
%‘ JIC 74 ° CONE SEAL
S1

= 124 THREADE E¥4Mz2 TUBE O.D. ] =} DIMENSIONS
PART NO. E F D1 A B S1 L
1DJ-14-04 M14x1.5 | U7/16"X20 6 12 14 14 32
1DJ-16-04 M16x1.5 | U7/16"X20 8 12 14 17 32
1DJ-16-06 M16x1.5 | U9/16"X18 8 12 14 17 32
1DJ-18-04 M18x1.5 | U7/16"X20 10 12 14 19 32
1DJ-18-06 M18x1.5 | U9/16"X18 10 12 14 19 32
1DJ-20-06 M20x1.5 | U9/16"X18 12 12 14 22 33
1DJ-20-08 M20x1.5 U3/4"X16 12 12 16.7 22 36
1DJ-22-08 M22x1.5 U3/4"X16 14 14 16.7 24 38
1DJ-24-08 M24x1.5 U3/4"X16 16 14 16.7 27 39
1DJ-24-10 M24x1.5 u7/8"X14 16 14 19.5 30 42.5
1DJ-30-12 M30x2 | U1.1/16"X12 20 16 22 32 48
1DJ-36-16 M36x2 | U1.5/16"X12 25 18 23 32 52
1DJ-42-20 M42x2 U1.5/8"X12 30 20 24.5 46 57.5
1DJ-52-24 M52x2 U1.7/8"X12 38 22 27.5 55 66.5

LT R E KRB IR IR,

nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DJ-22-08RN.

NSRS IS RN, 41" 1DJ - 22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and

-52 -




-—

1CM

KNAMELR24 RS

“° N /60 ° P4 A B

: %/ Z 4 METRIC MALE 24 ° L.T.

7 /60 ° CONE BONDED SEAL

S1

= 124 THREADE & 14Mz TUBE O.D. R~} DIMENSIONS
PART NO. E F D1 A B S1 L
1CM-14-12 M14x1.5 | M12x1.5 8 11 10 17 29
1CM-14-18 M14x1.5 | M18x1.5 8 11 12 24 33
1CM-16-14 M16x1.5 | M14x1.5 10 11 1 19 30
1CM-16-16 M16x1.5 | M16x1.5 10 1 12 22 32
1CM-16-18 M16x1.5 | M18x1.5 10 11 12 24 33
1CM-16-22 M16x1.5 | M22x1.5 10 11 14 27 36
1CM-18-14 M18x1.5 | M14x1.5 12 1.5 11 19 30.5
1CM-18-16 M18x1.5 | M16x1.5 12 1.5 12 22 33
1CM-18-18 M18x1.5 | M18x1.5 12 1.5 12 24 33
1CM-18-22 M18x1.5 | M22x1.5 12 1.5 14 27 36
1CM-22-16 M22x1.5 | M16x1.5 15 125 12 22 34
1CM-22-18 M22x1.5 | M18x1.5 15 125 12 24 34
1CM-22 M22x1.5 | M22x1.5 15 12.5 14 27 37
1CM-26-18 M26x1.5 | M18x1.5 18 12 12 24 34
1CM-26-22 M26x1.5 | M22x1.5 18 12 14 27 37
1CM-30-22 M30x2 M22x1.5 22 14 14 30 39
1CM-36-33 M36x2 M33x2 28 16 18 41 49

U MFTE W R E L REBRRET] 6, W AR5 5N "RN", 41" 1CM-18-16RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16RN.

-53 -




: = 1CM-WD

wl o INHIANES 24 ° R
160 * P ThT i 4
< METRIC MALE 24 ° L.T./
St 60 ° CONE CAPTIVE SEAL
= 124 THREADE %¥4M% TUBE 0.D. R~} DIMENSIONS
PART NO. E F D1 A B S1
1CM-14-12WD | M14x1.5 | M12x1.5 8 11 10 17
1CM-16-12WD | M16x1.5 | M12x1.5 | 10 11 10 17
1CM-16-14WD | M16x1.5 | M14x1.5 | 10 11 11 19
1CM-16-18WD | M16x1.5 | M18x1.5 | 10 11 12 24
1CM-18-16WD | M18x1.5 | M16x1.5 | 12 115 | 12 22
1CM-18WD | M18x1.5 | M18x1.5 | 12 115 | 12 24
1CM-18-22WD | M18x1.5 | M22x1.5 | 12 115 | 14 27
1CM-22-18WD | M22x1.5 | M18x1.5 | 15 125 | 12 24
1CM-22WD | M22x1.5 | M22x1.5 | 15 125 | 14 27
1CM-26-22WD | M26x1.5 | M22x1.5 | 18 12 14 27

FyE R R B R R IR R TT 8%, MSAE S J5 I "RN™, 401 1CM- 18- 16WD/RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1CM-18-16WD/RN.

-54 -




1DM

NSMRE24 ° ERY

e /60 ° Py AL £ 2

- METRIC MALE 24 ° H.T./

60 ° CONE BONDED SEAL

S1
e 24 THREADE %¥4M% TUBE 0.D. . < DIMENSIONS

PART NO. E F D1 A B S1 L
1DM-14-12 M14x1.5 | M12x1.5 6 12 10 17 30
1DM-16-14 M16x1.5 | M14x1.5 8 12 11 19 31
1DM-18-16 M18x1.5 | M16x1.5 10 12 12 22 33
1DM-20-18 M20x1.5 | M18x1.5 12 12 12 24 34
1DM-20-22 M20x1.5 | M22x1.5 12 12 14 27 37
1DM-24-18 M24x1.5 | M18x1.5 16 14 12 27 37
1DM-24-22 M24x1.5 | M22x1.5 16 14 14 27 39

M R E L REIREREETT 0, WA 5 "RN™, 41" 1DM-20-22RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-22RN.

B

-

-—

1DM-WD

KN IIMEL24 ° EH RS

w| 5 w

.y /60 ° P T e B &

Z METRIC MALE 24 ° H.T./

60 ° CONE CAPTIVE SEAL

S1

e i24r THREADE 5% TUBE 0.D. S <} DIMENSIONS
PART NO. E F D1 A B S1
1DM-14-12WD | M14x1.5 | M12x1.5 6 12 10 17
1DM-16-14WD | M16x1.5 | M14x1.5 8 12 1 19
1DM-18-16WD | M18x1.5 | M16x1.5 10 12 12 22
1DM-20-18WD | M20x1.5 | M18x1.5 12 12 12 24
1DM-24-22WD | M24x1.5 | M22x1.5 14 14 14 27

RN R KRB IR R T BT, W AEACS 5 "RN™, 41" 1DM-20-18WD/RN"

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DM-20-18WD/RN.

-55 -




-—

1CO

w8 - AfIIMELR24 " BFF
| [ Sl MRS OB [ %% £F
> ’% METRIC MALE 24 ° L.T./
S1 SAE MALE O-RING
= 124 THREADE %T4M% TUBE 0.D. R~} DIMENSIONS
PART NO. E F D1 A B S1 L
1CO-14-04 | M14x1.5 | U7/16"X20 8 11 10 14 27
1CO-16-04 | M16x1.5 | U7/16"X20 10 11 10 17 27
1CO-18-06 | M18x1.5 | U9/16"X18 12 115 | 12 19 29.5
1CO-18-08 | M18x1.5 | U3/4"X16 12 115 | 12 24 31
1CO-18-10 | M18x1.5 | U7/8"X14 12 115 | 135 | 27 34
1C0-22-08 | M22x1.5 | U3/4"X16 15 125 | 12 24 32
1C0-22-10 | M22x1.5 | U7/8"X14 15 125 | 135 | 27 35
1C0-22-12 | M22x1.5 | U1.1/16"X12 15 125 | 16 32 38.5
1C0O-26-08 | M26x1.5 | U3/4"X16 18 12 12 27 33
1C0-26-10 | M26x1.5 | U7/8"X14 18 12 | 135 | 27 34
1C0O-30-08 | M30x2 U3/4"X16 22 14 12 32 36
1C0O-30-10 | M30x2 U7/8"X14 22 14 | 135 | 32 375
1C0O-30-12 | M30x2 | U1.1/16"X12 22 14 16 32 40
1C0-30-16 | M30x2 | U1.5/16"X12 22 14 17 41 43
1C0O-36-16 | M36x2 | U1.5/16"X12 28 16 17 41 45
1C0O-45-16 | M45x2 | U1.5/16"X12 35 18 17 46 48
1C0O-45-20 | M45x2 | U1.5/8"X12 35 18 18 50 53
1C0O-52-20 | M45x2 | U1.5/8"X12 42 19 18 55 54

BN R E LR BRI 5, WS LEUS S5 RN™, 4™1C0-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1C0-22-08RN.

-56 -




-—

1DO

B - NN CeYURE: 3|
| | &l SMZ L OR P 5
< % METRIC MALE 24 ° H.T./
St SAE MALE O-RING
=2 124 THREADE E¥4Mz TUBE O.D. JRU =} DIMENSIONS
PART NO. E F D1 A B S1 L
1D0O-16-04 M16x1.5 | U7/16"X20 8 12 10 17 28
1D0O-18-06 M18x1.5 | U9/16"X18 10 12 12 19 30
1D0O-20-06 M20x1.5 | U9/16"X18 12 12 12 22 31
1D0O-20-08 M20x1.5 U3/4"X16 12 12 12 24 32
1D0O-24-08 M24x1.5 U3/4"X16 16 14 12 24 34
1D0-24-10 M24x1.5 U7/8"X14 16 14 13.5 27 36
1D0O-30-08 M30x2 U3/4"X16 20 16 12 32 38
1D0O-30-10 M30x2 U7/8"X14 20 16 13.5 32 39.5
1D0O-30-12 M30x2 U1.1/16"X12 20 16 16 32 42
1D0O-36-16 M36x2 U1.5/16"X12 25 18 17 41 47
1D0-42-16 M42x2 U1.5/16"X12 30 20 17 46 50
1D0-42-20 M42x2 U1.5/8"X12 30 20 18 50 55
1D0O-52-20 M52x2 U1.5/8"X12 38 22 18 55 57

FAE TN RE R BB ETT 52, MIHLE S /5 RN", 41" 1D0- 24 -08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D0-24-08RN.

-57 -




1C0O9-0G

\e

7 90 * ilANRLI24 © 2R
mﬁ(ﬁ/ ) ’ ! J 35 ) MBS R
= | 90 ° METRIC 24 ° L.T.
5 M /SAE MALE ADJUSTABLE STUD
e 1240 THREADE H4ME TUBE O.D. J =7 DIMENSIONS
PART NO. E F D1 A B S1 S2
1C09-12-040G M12x1.5 | U7/16"X20 6 25 27.2 11 17
1C09-14-060G M14x1.5 | U9/16"X18 8 29 31.8 14 19
1C09-16-060G M16x1.5 | U9/16"X18 10 30 33.3 17 19
1C09-18-080G | M18x1.5 | U3/4"X16 12 33 37.5 19 24
1C09-22-080G M22x1.5 | U3/4"X16 15 37 44 22 27
1C09-22-100G M22x1.5 | U7/8"'X14 15 37 39.5 22 24
1C09-26-120G M26x1.5 [U1.1/16"X12 18 41 51 27 32
1C09-30-120G M30x2 |U1.1/16"X12 22 41 53.5 27 32
1C09-36-160G M36x2 |U1.5/16"X12 28 49 57.5 33 41
1C09-45-200G M45x2 | U1.5/8"X12 35 55 63 44 50
1C09-52-240G M52x2 | U1.7/8"X12 42 59 70.5 55 55

- F -

S2 % 1D09'OG

| 90 * A HIAMNEL24 © TFSI
A ) S AN TR

90 ° METRIC 24 ° H.T.
A st /SAE MALE ADJUSTABLE STUD

E
D1
—

LB 124 THREADE ¥ 4Mz TUBE O.D. J <} DIMENSIONS

PART NO. E F D1 A B S1 S2
1D09-14-040G | M14x1.5 [ U7/16"X20 6 29 30 14 17
1D09-16-060G | M16x1.5 | U9/16"X18 8 30 | 333 17 19
1D09-18-060G | M18x1.5 | U9/16"X18 10 33 | 33.5 19 19
1D09-20-080G | M20x1.5 | U3/4"X16 12 37 | 37.5 22 24
1D09-24-100G | M24x1.5 | U7/8"X14 16 37 | 46.5 24 27
1D09-30-120G M30x2 | U1.1/16"X12 20 41 53.5 27 32
1D09-36-160G M36x2 | U1.5/16"X12 25 49 | 575 33 41
1D09-42-200G M42x2 | U1.5/8"X12 30 57 59.5 44 50

YT R KRBT, WS TE S 5" RN", 411 1D09-20-08RN" ([7] 1-)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1D09-20-08RN. (the same
with above)

-58 -




1CW

NIAMRL24 * B AR KRS

< Z ' METRIC MALE 24 ° L.T./WELD FITTINGS
St
in=) 24 THREADE T4Mz TUBE 0.D. R 1 DIMENSIONS
PART NO. E D1 D2 A B D S1 L
1CW-12-06 M12x1.5 6 6 10 7 10 12 | 23
1CW-14-08 M12x1.5 8 8 11 8 12 | 14 | 25
1CW-16-10 M16x1.5 10 10 11 8 14 | 17 | 25
1CW-18-12 M18x1.5 12 12 115 | 8 16 | 19 | 255
1CW-22-15 M22x1.5 15 15 125 | 10 | 19 | 22 | 30
1CW-26-22 M26x1.5 18 22 12 10 | 27 | 27 | 32
1CW-30-22 M30x2 22 22 14 | 12 | 27 | 32 | 37
1CW-30-25 M30x2 22 25 14 | 12 | 31 32 | 37
1CW-36-28 M36x2 28 28 16 | 12 | 32 | 36 | 39
1CW-45-35 M45x2 35 35 18 | 14 | 40 | 46 | 45
1CW-52-42 | _Mi52x2 42 42 19 | 16 | 46 | 55 | 52
L
L - B -
i
1DW
L
% NHAMES24 ° EARS K
% METRIC MALE 24 ° H.T./WELD FITTINGS
s1/
= #24 THREADE %¥4M& TUBE 0.D. R s} DIMENSIONS
PART NO. E D1 D2 A B D S1 L
1DW-14-06 | M14x1.5 6 6 12 7 11 14 | 25
1DW-16-08 | M16x1.5 8 8 12 8 13 | 17 | 26
1DW-18-10 | M18x1.5 10 10 12 8 15 | 19 | 26
1DW-20-12 | M20x1.5 12 12 12 | 10 | 17 | 22 | 29
1DW-24-16 | M24x1.5 16 16 14 | 10 | 21 27 | 33
1DW-30-20 | M30x2 20 20 16 | 12 | 26 | 32 | 38
1DW-36-25 | M36x2 25 25 18 | 12 | 31 41 | 42
1DW-42-30 | M42x2 30 30 20 | 14 | 36 | 46 | 47
1DW-52-38 | M52x2 38 38 22 | 16 | 44 | 55 | 55

I MFE W R E L R ER R, WHEAEA S 5 RN, 41" 1DW-20-12RN" (] I)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DW-20-12RN. (the same
with above)

-59 -




- F
| |

S2

= N
c st/

2BC-WD

ATIRL24 " BRI SAFBL
60 ° i 41 5 BV B
METRIC FEMALE 24 ° L.T./BSP MALE
DOUBLE 60 * SEAT BONDED SEAL

= 124 THREADE & ¥5Mz TUBE 0.D. JL =} DIMENSIONS
PART NO. E F D1 A C S1 S2
2BC-02-12WD | G1/8'X28 | M12x1.5 6 10 2 14 17
2BC-04-14WD | G1/4"X19 | M14x1.5 8 12 | 3.5 | 19 19
2BC-04-16WD | G1/4'X19 | M16x1.5 10 12 | 35 | 19 22
2BC-06-18WD | G3/8'X19 | M18x1.5 12 135 | 3.5 | 22 24
2BC-08-22WD | G1/2'X14 | M22x1.5 15 16 3 27 27
2BC-08-26WD | G1/2'X14 | M26x1.5 18 16 | 3.5 | 27 32
2BC-12-30WD | G3/4'X14 | M30x2 22 185 | 4.5 | 32 36
2BC-16-38WD | G1"X11 M36x2 28 205 | 4.5 | 41 41
2BC-20-45WD | G1.1/4"X11 | M45x2 35 205 | 5.5 | 50 55
2BC-24-52WD | G1.1/2"X11 | M52x2 42 23 | 6.5 | 55 60

S2 A
r — 2BD-WD
- T " NHIRE24 ° BEARY| PAFIREL
/27N 60 * il £y £
] 78 METRIC FEMALE 24 ° H.T./BSP MALE
C J DOUBLE 60 ° SEAT BONDED SEAL

e #2 4. THREADE B ¥5M% TUBE 0.D. JL =) DIMENSIONS
PART NO. E F D1 A C S1 S2
2BD-04-14WD | G1/4"X19 | M14x1.5 6 12 3 19 19
2BD-04-16WD | G1/4"X19 | M16x1.5 8 12 | 3.5 | 19 22
2BD-06-18WD | G3/8'X19 | M18x1.5 10 135 | 3 22 24
2BD-06-20WD | G3/8"X19 | M20x1.5 12 135 | 3 22 27
2BD-08-22WD | G1/2'X14 | M22x1.5 14 16 | 2.5 | 27 27
2BD-08-24WD | G1/2'X14 | M24x1.5 16 16 | 3.5 | 27 30
2BD-12-30WD | G3/4'X14 | M30x2 20 185 | 4.5 | 32 36
2BD-16-36WD |  G1"X11 M36x2 25 205 | 3.5 | 41 41
2BD-20-42WD | G1.1/4"X11 | M42x2 30 205 | 5.5 | 50 50
2BD-24-52WD | G1.1/2"X11 | M52x2 38 23 7 55 60

-60 -




—f— 2JC
i
w E 1 < LH o e
. S FKHIIIC 74 7 HEEN A AR
/ 7 4024 ° HEOT! [ 55 44 72
Z JIC 74 ° CONE SEALING/METRIC
c ﬂ FEMALE 24 ° CONE O-RING SEALING L.T.
fr i24 THREADE 5% TUBE O.D. S 5 DIMENSIONS

PART NO. E F D1 A C S1 s2
2JC-04-12 | U7/16"X20 | M12x1.5 6 14 2 14 17
2JC-04-14 | U7/16"X20 | M14x1.5 8 14 | 3.5 |14 19
2JC-05-14 | U1/2'X20 | M14x1.5 8 14 | 35 |14 19
2JC-05-16 | U1/2'X20 | M16x1.5| 10 14 | 35 |17 22
2JC-06-14 | U9/16"X18 | M14x1.5 8 14 | 3.5 |17 19
2JC-06-16 | U9/16"X18 | M16x1.5 | 10 14 | 3.5 |17 22
2JC-06-18 | U9/16'X18 | M18x1.5 | 12 14 | 35 | 17 24
2JC-08-18 | U3/4"'X16 | M18x1.5 | 12 167 | 3.5 | 22 | 24
2JC-08-22 | U3/4"X16 | M22x1.5| 15 16.7 3 22 | 27
2JC-10-22 | U7/8'X14 | M22x1.5| 15 19.5 3 24 | 27
2JC-10-26 | U7/8'X14 | M26x1.5| 18 195 | 3.5 | 27 | 32
2JC-12-26 | U1.1/16'X12 | M26x1.5 | 18 22 |35 | 27 | 32
2JC-12-30 | U1.1/16"X12| M30x2 22 22 | 45 | 30 | 36
2JC-16-36 | U1.5/16"X12| M36x2 28 23 | 45 | 36 | 41
2JC-16-45 |U1.5/16"X12| M45x2 35 23 | 55 | 46 | 55
2JC-20-45 | U1.5/8"X12 | M45x2 35 245 | 55 | 46 | 55
2JC-20-52 | U1.5/8"X12 | M52x2 42 245 | 6.5 | 50 | 60
2JC-24-52 | U1.7/8"'X12 | M52x2 42 275 | 6.5 | 50 | 60




—— 2JD
T, - SN 74 ° HrEH AR
/ 7 £24 * HEOZ! B B 1 T 751
Z - JIC 74 ° CONE SEALING/METRIC
¢ sif

FEMALE 24 ° CONE O-RING SEALING H.T.

fr 14 THREADE %14M% TUBE 0.D. R =t DIMENSIONS

PART NO. E F D1 A C S1 S2
2JD-04-14 | U7/16"X20 | M14x1.5 6 14 3 14 19
2JD-04-16 | U7/16"X20 | M16x1.5 8 14 | 3.5 | 17 22
2JD-04-18 | U7/16"X20 | M18x1.5 10 14 3 17 24
2JD-05-18 U1/2"X20 | M18x1.5 10 14 3 17 24
2JD-06-16 | U9/16"X18 | M16x1.5 8 14 | 3.5 | 17 22
2JD-06-18 | U9/16"X18 | M18x1.5 10 14 3 17 24
2JD-06-20 | U9/16"X18 | M20x1.5 12 14 3 19 27
2JD-06-22 | U9/16"X18 | M22x1.5 14 14 25 | 22 27
2JD-08-22 U3/4"X16 | M22x1.5 14 16.7 | 2.5 | 22 27
2JD-08-24 U3/4"X16 | M24x1.5 16 16.7 | 3.5 | 24 30
2JD-10-30 u7/8"'X14 | M30x2 20 195 | 4.5 | 30 36
2JD-10-36 u7/8"'xX14 | M36x2 25 195 | 3.5 | 36 41
2JD-12-30 | U1.1/16"X12| M30x2 20 22 | 45 | 30 36
2JD-12-36 | U1.1/16"X12| M36x2 25 22 | 35 | 36 41
2JD-16-42 | U1.5/16"X12| M42x2 30 23 | 55 | 41 50
2JD-20-42 | U1.5/8'X12 | M42x2 30 245 | 55 | 46 50
2JD-20-52 | U1.5/8"'X12 | M52x2 38 245 | 7 50 60
2JD-24-52 | U1.7/8"'X12 | M52x2 38 275 | 7 50 60

-62 -




S

2GC

AHIRE24 ° ARSI HEOR &/
SR O T B}
METRIC FEMALE 24 ° L.T.CONE 0-RING/
BSP MALEO-RING

P 124 THREADE #1-5M% TUBE 0.D. R <} DIMENSIONS
PART NO. E F D1 A C S1 S2
2GC-02-12 G1/8'X28 | M12x1.5 6 9 2 14 17
2GC-04-14 G1/4"X19 | M14x1.5 8 12 3.5 | 19 19
2GC-04-16 G1/4"X19 | M16x1.5 10 12 | 3.5 | 19 22
2GC-06-18 G3/8'X19 | M18x1.5 12 135 | 3.5 | 22 24
2GC-08-22 G1/2'X14 | M22x1.5 15 16 3 27 27
2GC-08-26 G1/2'X14 | M26x1.5 18 16 | 3.5 | 27 32
2GC-12-30 G3/4'X14 | M30x2 22 185 | 4.5 | 32 36
2GC-16-36 G1"X11 M36x2 28 205 | 4.5 41 41
2GC-20-45 | G1.1/4"X11 | M45x2 35 205 | 55 | 50 55
2GC-24-52 | G1.1/2"X11 | M52x2 42 23 | 6.5 | 55 60
S2 S1
N 2GD
1
[T E w

O

A THRE24 © H AL HEOR 8/
YRR E ORI B
METRIC FEMALE 24 ° H.T.CONE O-RING/
BSP MALEO-RING

= i24; THREADE ‘&¥4Mz TUBE O.D. ] 51 DIMENSIONS

PART NO. E F D1 A C Sl s2
2GD-04-14 | G1/4'X19 | M14x1.5 6 12 3 19 | 19
2GD-04-16 | G1/4'X19 | M16x1.5 8 12 | 35 | 19 | 22
2GD-06-18 | G3/8'X19 | M18x1.5| 10 135 | 3 22 | 24
2GD-06-20 | G3/8'X19 | M20x1.5| 12 135 | 3 22 | 27
2GD-08-22 | G1/2'X14 | M22x1.5| 14 16 | 2.5 | 27 | 27
2GD-08-24 | G1/2'X14 | M24x1.5| 16 16 | 3.5 | 27 | 30
2GD-12-30 | G3/4'X14 | M30x2 20 185 | 45 | 32 | 36
2GD-16-36 G1"X11 M36x2 25 205 | 3.5 | 41 | 41
2GD-20-42 | G1.1/4"X11 | M42x2 30 205 | 55 | 50 | 50
2GD-24-52 | G1.1/2'X11 | M52x2 38 23 7 55 | 60

-B3 -




>|

S2

L=

2MC-WD

KRS BE R N IRE24
HETm O A& B R R 51
METRIC THREAD /METRIC FEMALE
24 ° CONE 0-RING SEAL L.T.

=2 12 4r THREADE EF4ME TUBE O.D. R =} DIMENSIONS
PART NO. E F D1 A C S1 S2
2MC-12-14WD M12x1.5 M14x1.5 8 10 3.5 17 19
2MC-14-16WD M14x1.5 | M16x1.5 10 11 3.5 19 22
2MC-16-18WD M16x1.5 | M18x1.5 12 12 3.5 22 24
2MC-18-22WD M18x1.5 | M22x1.5 15 12 3 24 27
2MC-22-26WD M22x1.5 | M26x1.5 18 14 3.5 27 32
S2 A
T P 2 M D -VV D
. 1.
| DN HIEE R B A R4
| Fazy B oma
J METRIC THREAD /METRIC FEMALE
C S1 24 ° CONE O-RING SEAL H.T.

= i % THREADE % 75MZ TUBE 0.D. Rt DIMENSIONS
PART NO. E F D1 A C S1 S2
2MD-12-14WD | M12x1.5 | M14x1.5 6 10 3 17 19
2MD-14-16WD | M14x1.5 | M16x1.5 8 1 3.5 19 22
2MD-16-18WD | M16x1.5 | M18x1.5 10 12 3 22 24
2MD-18-20WD | M18x1.5 | M20x1.5 12 12 3 24 27
2MD-22-24WD | M22x1.5 | M22x1.5 16 14 3.5 27 30

-64 -




-~

5CB

wl 5 w

% NHIRE24 ° BRY P NIRL

ﬁ/// METRIC MALE 24 ° L.T./BSP FEMALE

o #2 4 THREADE %¥4M% TUBE 0.D. R =t DIMENSIONS

PART NO. E F D1 A S1
5CB-12-02 | M12x1.5 | G1/8"X28 6 10 14
5CB-12-04 | M12x1.5 | G1/4"X19 6 10 19
5CB-14-04 | M14x1.5 | G1/4"'X19 8 11 19
5CB-14-06 | M14x1.5 | G3/8"'X19 8 11 24
5CB-14-08 | M14x1.5 | G1/2'X14 8 11 27
5CB-16-04 | M16x1.5 | G1/4"X19 10 11 19
5CB-16-06 | M16x1.5 | G3/8'X19 10 11 24
5CB-16-08 | M16x1.5 | G1/2'X14 10 11 27
5CB-18-04 | M18x1.5 | G1/4"X19 12 11.5 19
5CB-18-06 | M18x1.5 | G3/8"'X19 12 11.5 24
5CB-18-08 | M18x1.5 | G1/2'X14 12 11.5 27
5CB-22-06 | M22x1.5 | G3/8"'X19 15 12.5 24
5CB-22-08 | M22x1.5 | G1/2'X14 15 12.5 27
5CB-26-08 | M26x1.5 | G1/2'X14 18 12 27
5CB-30-12 M30x2 | G3/4"X14 22 14 36
5CB-36-16 M36x2 G1"X11 28 16 41
5CB-45-20 M45x2 | G1.1/4"X11 35 18 55
5CB-52-24 M52x2 | G1.1/2"X11 42 19 60

LN R E KRB IR R 6%, WHSAEACS S5 RN™, 41"'5CB-22-08RN"
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 5CB-22-08RN.

-65 -




5DB

wh A | [’
ATHMRZ24 ° TR BEAE IRL
7% METRIC MALE 24 ° H.T./BSP FEMALE
s1/
re 124 THREADE - 14Mz TUBE 0.D. &~} DIMENSIONS
PART NO. E F D1 A S1
5DB-14-04 | M14x1.5 | G1/4"X19 6 12 19
5DB-16-04 | M16x1.5 | G1/4"X19 8 12 19
5DB-18-06 | M18x1.5 | G3/8"X19 10 12 24
5DB-20-06 | M20x1.5 | G3/8"X19 12 12 24
5DB-20-08 | M20x1.5 | G1/2'X14 12 12 24
5DB-22-08 | M22x1.5 | G1/2'X14 14 14 30
5DB-24-08 | M24x1.5 | G1/2"X14 16 14 30
5DB-30-12 M30x2 | G3/4"X14 20 16 36
5DB-36-16 M36x2 G1"X11 25 18 41
5DB-42-20 M42x2 | G1.1/4"X11 30 20 55
5DB-52-24 M52x2 | G1.1/2"X11 38 22 60

T R E R R EIR BT 5%, WSS /5 RN™, #11"5DB-22-08RN™
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 5DB-22-08RN.

-66 -




f—

5CM

w| 5 |
KNHIRE24 ° BRI A HHINIREL
_Sj/// METRIC MALE 24 ° L.T./METRIC FEMALE

e i 4 THREADE %14z TUBE 0.D. R ~F DIMENSIONS

PART NO. E F D1 A S1
5CM-12-10 M12x1.5 | M10x1 6 10 14
5CM-14-12 M14x1.5 | M12x1.5 8 11 17
5CM-16-14 M16x1.5 | M14x1.5 10 11 19
5CM-18-16 M18x1.5 | M16x1.5 12 115 22
5CM-22-18 | M22x1.5 | M18x1.5 15 12.5 24
5CM-26-22 | M26x1.5 | M22x1.5 18 12 30
5CM-30-26 M30x2 | M26x1.5 22 14 32
5CM-36-33 M36x2 | M33x2 28 16 41
5CM-45-42 M45x2 | M42x2 35 18 55
5CM-52-48 M52x2 | M48x2 42 19 60

SDM
wl g |
% AHRE24 ° TR AHINIRE
2% METRIC MALE 24 ° H.T./METRIC FEMALE
S

iz 840 THREADE | 4 14}z TUBE O.D. ]~} DIMENSIONS
PART NO. E F D1 A S1
5DM-14-12 | M14x1.5 | M12x1.5 6 12 17
5DM-16-14 | M16x1.5 | M14x1.5 8 12 19
5DM-18-16 | M18x1.5 | M16x1.5 | 10 12 22
5DM-20-18 | M20x1.5 | M18x1.5 | 12 12 24
5DM-22-20 | M22x1.5 | M20x1.5 | 14 14 27
5DM-24-22 | M24x1.5 | M22x1.5 | 16 14 30
5DM-30-27 | M30x2 | M27x1.5| 20 16 36
5DM-36-33 | M36x2 | M33x2 25 18 41

5DM-42 M42x2 | M42x2 30 20 55
5DM-52-48 | M52x2 | M48x2 38 22 60

BT RE LR EIRERET

with above)

MEFEAS JE RN, 41" 5DM-20-18RN" ([A] I)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 5DM-20-18RN. (the same

-67 -




In AC

KNHIIMES24 * RS =

E

D1 .

—§

=
_D2 ]

E |

\ METRIC MALE 24 ° L.T. TEE
A \sty
o #240 THREADE | %42 TUBE O.D. R SF DIMENSIONS
PART NO. E D1,02,D3 A S1
AC-12 M12x1.5 6 23 11
AC-14 M14x1.5 8 27 14
AC-16 M16x1.5 10 29 17
AC-18 M18x1.5 12 32 19
AC-22 M22x1.5 15 33 22
AC-26 M26x1.5 18 40 27
AC-30 M30x2 22 40 27
AC-36 M36x2 28 46 33
-
D3

I AD

= 7z
“QT/ ”ﬂ“ AHIINBER4 " RS

\ METRIC MALE 24 ° H.T. TEE

= i2 40 THREADE #74M# TUBE 0.D. R~} DIMENSIONS

PART NO. E D1,D2,D3 A S1

AD-14 M14x1.5 6 27 14

AD-16 M16x1.5 8 29 17

AD-18 M18x1.5 10 32 19

AD-20 M20x1.5 12 33 22

AD-22 M22x1.5 14 33 22

AD-24 M24x1.5 16 33 24

AD-30 M30x2 20 40 27

AD-33 M33x2 22 46 33

AD-42 M42x2 30 57 44

R MFTF W R B RERRET] 6, IR S 5 RN, 41"AD-22RN" ([7] |)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example AD-22RN. (the same with
above)

-68 -




BC

NHIIRS24 1 oM

) z |
" 5\ | il ] 24 * BE =i
: METRIC FEMAI_OE 24 ° IMETRIC
R \&A MALE 24 ° L.T. TEE
e #24r THREADE E74ME TUBE 0.D. R <} DIMENSIONS
PART NO. E F D1 D2 A c S1 S2
BC-12 M12x1.5 | M12x1.5 6 6 23 2 11 17
BC-14 M14x1.5 | M14x1.5 8 8 27 | 3.5 | 14 19
BC-16 M16x1.5 | M16x1.5 10 10 29 | 3.5 | 17 22
BC-18 M18x1.5 | M18x1.5 12 12 32 3.5 19 24
BC-22 M22x1.5 | M22x1.5 15 15 33 3 22 27
BC-26 M26x1.5 | M26x1.5 18 18 40 | 3.5 27 32
BC-30 M30x2 | M30x2 22 22 40 | 45 | 27 36
BC-36 M36x2 | M36x2 28 28 46 | 45 | 33 41
F
Y/
BD
- e IIPIRE24 * | TSN
mE Lo 5r24 * TR =B
3 METRIC FEMALED 24 ° IMETRIC
R \S—1A MALE 24 ° H.T. TEE
(197 240 THREADE & 4M% TUBE O.D. S <} DIMENSIONS
PART NO. E F D1 D2 A C S1 S2
BD-14 M14x1.5 | M14x1.5 6 6 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 | 35 | 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 | 25 | 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 | 3.5 | 24 30
BD-30 M30x2 | M30x2 20 20 4 | 45 | 27 36
BD-36 M36x2 | M36x2 25 25 46 | 35 | 33 41
BD-42 M42x2 | M42x2 30 30 57 | 5.5 | 44 50

b TR R E R R R T 5], W AE S 5 "RN™, 41"BD-22RN" (18] |)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example BD-22RN. (the same with
above)

-69 -




C

VA %

\

CC

. ANHISMEL24 ° 1 4 P i
w a‘ W 5124 ° 2 F 5 = EMETRIC
| MALE 24 ° /METRIC
A \&‘E“EJ—E\ FEMALE 24 ° L.T. TEE
= 124 THREADE E¥4Mz TUBE O.D. X =} DIMENSIONS
PART NO. E F D1 D2 A C S1 S2
CC-12 M12x1.5 | M12x1.5 6 6 23 2 11 17
CC-14 M14x1.5 | M14x1.5 8 8 27 3.5 14 19
CC-16 M16x1.5 | M16x1.5 10 10 29 3.5 17 22
CC-18 M18x1.5 | M18x1.5 12 12 32 3.5 19 24
CC-22 M22x1.5 | M22x1.5 15 15 33 3 22 27
CC-26 M26x1.5 | M26x1.5 18 18 40 3.5 27 32
CC-30 M30x2 M30x2 22 22 40 4.5 27 36
CC-36 M36x2 M36x2 28 28 46 4.5 33 41
E
D2
. CD
1 7 “ AN Y ° N
- ,%ﬂ INHIAMEBL24 | N A
w 5| ~ " 2024 ° R ZEMETRIC
: | MALE 24 ° /METRIC

A \&% FEMALE 24 ° H.T. TEE
5 12 4; THREADE #¥4ME TUBE O.D. J& <} DIMENSIONS
PART NO. E F D1 D2 A C S1 S2
BD-14 M14x1.5 | M14x1.5 6 6 27 3 14 19
BD-16 M16x1.5 | M16x1.5 8 8 29 3.5 17 22
BD-18 M18x1.5 | M18x1.5 10 10 32 3 19 24
BD-20 M20x1.5 | M20x1.5 12 12 33 3 22 27
BD-22 M22x1.5 | M22x1.5 14 14 33 2.5 22 27
BD-24 M24x1.5 | M24x1.5 16 16 33 3.5 24 30
BD-30 M30x2 M30x2 20 20 40 4.5 27 36
BD-36 M36x2 M36x2 25 25 46 3.5 33 41
BD-42 M42x2 M42x2 30 30 57 5.5 44 50

T R E L REREREETT 0, WHEAE S 5 RN, 41"BD-22RN" ([ I)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and

nut,it is necessary to insert suffix"RN" arter our part NO.,for example BD-22RN.

above)

(the same with

-70 -




i

XC

AHIINRLE24 ° 250U

81 METRIC MALE 24 ° L.T. CROSS
A
P #247 THREADE #&¥4Mz TUBE O.D. ] =} DIMENSIONS
PART NO. E D A S1
XC-12 M12x1.5 6 23 11
XC-14 M14x1.5 8 27 14
XC-16 M16x1.5 10 29 17
XC-18 M18x1.5 12 32 19
XC-22 M22x1.5 15 33 22
XC-26 M26x1.5 18 40 27
XC-30 M30x2 22 40 27
XC-33 M33x2 25 46 33
XD
wi o
ATSMERZ24 ° TR VY
s METRIC MALE 24 ° H.T. CROSS
A
o 1240 THREADE & T4M& TUBE O.D. R F DIMENSIONS
PART NO. E D A S1
XD-14 M14x1.5 6 27 14
XD-16 M16x1.5 8 29 17
XD-18 M18x1.5 10 32 19
XD-20 M20x1.5 12 32 19
XD-22 M22x1.5 14 33 22
XD-24 M24x1.5 16 33 24
XD-30 M30x2 20 40 27
XD-33 M33x2 22 46 33
XD-42 M42x2 30 57 44

ge=

LT R E KRB IR 1R,

MELE AL S 5 RN™, 41" XD-22RN" ([7]_I)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example XD-22RN. (the same with

above)




rLE ACHC-0G

i A
J S el ATHISNBEL24 * TR R 5 =
| . METRIC MALE 24 ° L.T.ADJUSTABLE
A lﬂA STUD BRADCH TEE
o #24. THREADE H1H4METUBE 0.D.| O J =} DIMENSITONS
PART NO. E = D1 0-RING A B S1 S2
ACHC-12-10-120G | M12x1.5 M10x1 6 8.1x1.6 23 26.5 11 14
ACHC-14-12-140G | M14x1.5 | M12x1.5 8 9.3x2.4 27 32 14 17
ACHC-16-14-160G | M16x1.5 | M14x1.5 10 11.3x2.4 29 34 17 19
ACHC-18-16-180G | M18x1.5 | M16x1.5 12 13.3x2.4 32 36 19 22
ACHC-22-18-220G | M22x1.5 | M18x1.5 15 15.3x2.4 33 39.5 22 24
ACHC-26-22-260G | M26x1.5 | M22x1.5 18 19.3x2.4 40 43.5 37 27
ACHC-30-27-300G M30x2 M27x2 22 23.5x3 40 50 27 32
ACHC-36-33-360G M36x2 M33x2 28 29.5x3 46 54 33 41
-~ F
%
- 8 ADHD-0G
7 -
o 31 =W ABISMBE24 " TR IR =i
X METRIC MALE 24 ° H.T.ADJUSTABLE

A \st A STUD BRADCH TEE
= B4 THREADE B FSME TUBE O.D.| OZdp ) DIMENSIONS
PART NO. E F D1 0-RING A B 51 S0
ADHD-14-12-140G | M14x1.5 | M12x1.5 6 9.3x2.4 27 32 14 17
ADHD-16-14-160G | M16x1.5 | M14x1.5 8 11.3x2.4 29 34 17 19
ADHD-18-16-180G | M18x1.5 | M16x1.5 10 13.3x2.4 32 36 19 22
ADHD-20-18-200G | M20x1.5 | M18x1.5 12 15.3x2.4 33 37 22 24
ADHD-24-22-240G | M24x1.5 | M22x1.5 16 19.3x2.4 33 37.5 24 27
ADHD-30-27-300G M30x2 M27x2 20 23.5x3 40 50 27 32
ADHD-36-33-360G M36x2 M33x2 25 29.5x3 46 54 33 41
ADHD-42-42-420G M42x2 M42x2 30 38.5x3 57 57.2 44 50

A AT R R R IR R TT 5%, WAL AU J5 1 RN™, 41 ADHD-20-180G/RN™  ([F] L)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADHD-20-180G/RN. (the
same with above)

-72 -




D1
, ACCH-0G
< /
1 N °
{ﬁ? I HIAMES24 © BRI
wa J:H”Dj VA o 52 = JEMETRIC
\ MALE 24 ° L.T.

A \st g ADJUSTABLE STUD RUN TEE
= 1240 THREADE E 52 TUBE 0.D.| Ot JX =} DIMENSIONS
PART NO. E F D1 0-RING A B S1 S2
ACCH-12-12-100G | M12x1.5 M10x1 6 8.1x1.6 23 26.5 11 14
ACCH-14-14-120G | M14x1.5 | M12x1.5 8 9.3x2.4 27 32 14 17
ACCH-16-16-140G | M16x1.5 | M14x1.5 10 11.3x2.4 29 34 17 19
ACCH-18-18-160G | M18x1.5 | M16x1.5 12 13.3x2.4 32 36 19 22
ACCH-22-22-180G | M22x1.5 | M18x1.5 15 15.3x2.4 33 39.5 22 24
ACCH-26-26-220G | M26x1.5 M22x1.5 18 19.3x2.4 40 43.5 27 27
ACCH-30-30-270G M30x2 M27x2 22 23.5x3 40 50 27 32
ACCH-36-36-330G M36x2 M33x2 28 29.5x3 46 54 33 41

E

D1

S2 ADDH'OG

{ﬁ? ! AN HISNBL24 © RS
S PRIV R S = EMETRIC

\ lHﬂD— MALE 24 ° H.T.

—

in]

l——

A \st B ADJUSTABLE STUD RUN TEE

e 12 4r THREADE & F5M:TUBE O.D. | Ol U =} DIMENSIONS
PART NO. E F D1 0-RING A B S1 2
ADDH-14-14-120G | M14x1.5 | M12x1.5 6 9.3x2.4 | 27 32 14 17
ADDH-16-16-140G | M16x1.5 | M14x1.5 8 11.3x24 | 29 | 34 17 19
ADDH-18-18-160G | M18x1.5 | M16x1.5 10 13.3x2.4 | 32 36 19 22
ADDH-20-20-180G | M20x1.5 | M18x1.5 12 15.3x2.4 | 33 37 22 24
ADDH-24-24-220G | M24x1.5 | M22x1.5 16 19.3x24 | 33 | 375 | 24 27
ADDH-30-30-270G | M30x2 | M27x2 20 23.5x3 | 40 50 27 32
ADDH-36-36-330G | M36x2 | M33x2 25 29.5x3 | 46 54 33 41
ADDH-42-42-420G | M42x2 | M42x2 30 38.5x3 57 | 572 | 44 50

I MFE R E L RERREETT 07, WAL 5 RN, 41""ADDH-20-20-180G/RN" ([ 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADDH-20-20-180G/RN. (the
same with above)

-73 -




) ACCG-0G

iz ‘ A HAMEL24 R
il S GLE e

X lg:‘ﬂ]]j_ METRIC MALE 24 ° L.T.

- '

A \s1 B /BSP MALE ADJUSTABLE STUD RUN TEE
o2 240 THREADE % ¥5Mz TUBE 0.D. R~} DIMENSIONS
PART NO. E F D1 A B S1 S2
ACCG-12-12-020G | M12x1.5 | G1/8'X28 6 23 | 262 | 11 14
ACCG-14-14-040G | M14x1.5 | G1/4"X19 8 27 | 313 | 14 17
ACCG-16-16-040G | M16x1.5 | G1/4"X19 10 29 | 325 | 17 19
ACCG-18-18-060G | M18x1.5 | G3/8"'X19 12 32 | 368 | 19 22
ACCG-22-22-080G | M22x1.5 | G1/2"'X14 15 33 | 432 | 22 24
ACCG-26-26-080G | M26x1.5 | G1/2"'X14 18 33 | 465 | 27 27
ACCG-30-30-120G | M30x2 | G3/4"X14 22 40 52 27 32
ACCG-36-36-160G | M36x2 G1"X11 28 46 56 33 41
E
D1
ADDG-0G
S2
<~
‘_Tﬁl& I /Aﬁ%ﬂﬁl\ﬁ%ﬁcﬂf ° E?ﬁ'i
W& &M[lﬂ A T TR B 3 =5
\ 1 METRIC MALE 24 ° H.T.
A \st B /BSP MALE ADJUSTABLE STUD RUN TEE
=) 1240 THREADE %5z TUBE O.D. &~} DIMENSIONS
PART NO. E F D1 A B S1 S2
ADDG-14-14-040G | M14x1.5 | G1/4"X19 6 27 | 313 | 14 19
ADDG-16-16-040G | M16x1.5 | G1/4"X19 8 29 | 325 | 17 19
ADDG-18-18-060G | M18x1.5 | G3/8"X19 10 32 | 368 | 19 22
ADDG-20-20-060G | M20x1.5 | G3/8"X19 12 33 | 368 | 22 22
ADDG-22-22-080G | M22x1.5 | G1/2"X14 14 33 | 432 | 22 27
ADDG-24-24-080G | M24x1.5 | G1/2"X14 16 33 44 24 27
ADDG-30-30-120G | M30x2 | G3/4"X14 20 40 52 27 | 32
ADDG-36-36-160G | M36x2 G1"X11 25 46 56 33 | 41
ADDG-42-42-200G | M42x2 | G1.1/4"X11 30 57 58 44 | 50

T AT BT BB R AT 9, DIIFAE £ 55 VRN, 401 ADDG- 20-20-0606/RN" ([ E)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADDG-20-20-060G/RN. (the
same with above)

-74 -




. ACGC-0G

2 /. % KfIANRE24 © RS
[

1
w5 INEW IS T VR B 5 3 =
x METRIC MALE 24 ° L.T.
A \s1 A /BSP MALE ADJUSTABLE STUD BRANCH TEE
= 124 THREADE %4Mz TUBE 0.D. JU ~F DIMENSIONS
PART NO. E F D1 A B S1 S2
ACGC-12-02-120G | M12x1.5 | G1/8"'X28 6 23 | 262 | 11 14
ACGC-14-04-140G | M14x1.5 | G1/4"X19 8 27 | 313 | 14 19
ACGC-16-04-160G | M16x1.5 | G1/4"X19 10 29 | 325 | 17 19
ACGC-18-06-180G | M18x1.5 | G3/8"X19 12 32 [368 | 19 22
ACGC-22-08-220G | M22x1.5 | G1/2"'X14 15 33 | 432 | 22 27
ACGC-26-08-260G | M26x1.5 | G1/2"X14 18 33 | 465 | 27 27
ACGC-30-12-300G | M30x2 | G3/4"X14 22 40 52 27 32
ACGC-36-16-360G 36x2 G1"X11 28 46 56 33 41
i
/ ADGD-0G
2~
iy
I 414/ % — NI AMES24 ° T RS
w| 8] ! L 5] I A AR 16 R 4 32 =
v METRIC MALE 24 ° H.T.
A \s1 A /BSP MALE ADJUSTABLE STUD BRANCH TEE
o2 1240 THREADE &T4Mz2 TUBE O.D. S <} DIMENSIONS
PART NO. E F D1 A B S1 S2
ADGD-14-04-140G | M14x1.5 | G1/4"X19 6 27 | 313 | 14 19
ADGD-16-04-160G | M16x1.5 | G1/4"X19 8 29 | 325 | 17 19
ADGD-18-06-180G | M18x1.5 | G3/8"X19 10 32 | 368 | 19 | 22
ADGD-20-06-200G | M20x1.5 | G3/8'X19 12 33 [ 368 | 22 | 22
ADGD-22-08-220G | M22x1.5 | G1/2'X14 14 33 | 432 | 22 | 27
ADGD-24-08-240G | M24x1.5 | G1/2"X14 16 33 44 24 | 27
ADGD-30-12-300G | M30x2 | G3/4"X14 20 40 52 27 | 32
ADGD-36-16-360G | M36x2 G1"X11 25 46 56 33 | 41
ADGD-42-20-420G | M42x2 | G1.1/4"X11 30 57 58 44 | 50

TR B RR BRI, WA U5 5 RN , 411ADGD-20-06-2006/RN™ (] 1)

Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADGD-20-06-200G/RN.(the
same with above)

-75 -




5|
2 ACCO-0G
ﬁ/l; ; % o | Al24 * BES

)
o &l J( * I AT g S =
i g METRIC MALE 24 ° L.T.
A \st B /SAE MALE ADJUSTABLE STUD RUN TEE
re i24r THREADE EF4Mz TUBE O.D. JL ) DIMENSIONS
PART NO. E F D1 A B S1 S2
ACCO-12-12-040G | M12x1.5 | U7/16"X20 6 23 | 272 | 11 17
ACCO-14-14-060G | M14x1.5 | U9/16"X18 8 27 | 318 | 14 19
ACCO-16-16-060G | M16x1.5 | U9/ 16"X18 10 29 | 333 | 17 19
ACCO-18-18-080G | M18x1.5 | U3/4"X16 12 32 | 375 | 19 24
ACCO-22-22-100G | M22x1.5 | U7/8"X14 15 33 44 22 27
ACCO-26-26-120G | M26x1.5 |U1.1/16"X12| 18 40 51 27 32
ACC0O-30-30-120G | M30x2 [U1.1/16"X12| 22 40 | 535 | 27 32
ACC0-36-36-160G | M36x2 [U1.5/16"X12| 28 46 | 575 | 33 41
- E -
D1

2 ADDO-0OG
ﬁ’f{ / %/’%F o Ai24 " TR

w ‘_T N oy 3 —
e %H :@ . 1 S AT R e A i 2 52 =8
N, METRIC MALE 24 ° H.T.
A \& B ISAE MALE ADJUSTABLE STUD RUN TEE
LB 1240 THREADE ¥4Mz TUBE O.D. J =} DIMENSIONS
PART NO. E F D1 A B S1 S2
ADDO-14-14-040G | M14x1.5 | U7/16"X20 6 27 30 14 17
ADDO-16-16-060G | M16x1.5 | U9/16"X18 8 29 33.3 17 19
ADDO-18-18-060G | M18x1.5 | U9/16"X18 10 32 33.5 19 19
ADDO-20-20-080G | M20x1.5 | U3/4"X16 12 33 37.5 22 24
ADDO-22-22-100G | M22x1.5 | U7/8"X14 14 33 44 22 27
ADDO-24-24-100G | M24x1.5 | U7/8"X14 16 33 46.5 24 27
ADDO-30-30-120G | M30x2 | U1.1/16"X12 20 40 53.5 27 32
ADDO-36-36-160G | M36x2 | U1.5/16"X12 25 46 57.5 33 41
ADDO-42-42-200G | M42x2 | U1.5/8"X12 30 57 59.5 44 50
RN R E LR IR R T 6, WIAEAUS 5 RN™, 201ADDO-20-20-080G/RN" ([ E)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADDO-20-20-080G/RN. (the
same with above)

-76 -



nv ACOC-0G

241il24 ° RS
I S AT kR g 7 S =0
METRIC MALE 24 ° L.T.

E .
D1.,
D1

E

\
A \& A ISAE MALE ADJUSTABLE STUD BRANCH TEE
e 124 THREADE BHME TUBE O.D. JL ~7 DIMENSIONS
PART NO. E F D1 A B S1 S2
ACOC-12-04-120G | M12x1.5 | U7/16"X20 6 23 | 272 | 11 17
ACOC-14-06-140G | M14x1.5 | U9/16"X18 8 27 | 31.8 | 14 19
ACOC-16-06-160G | M16x1.5 | U9/16"X18 10 29 | 333 | 17 19
ACOC-18-08-180G | M18x1.5 | U3/4"X16 12 32 | 375 | 19 24
ACOC-22-10-220G | M22x1.5 | U7/8"X14 15 33 44 22 27
ACOC-26-12-260G | M26x1.5 |U1.1/16"X12| 18 40 51 27 32
ACOC-30-12-300G | M30x2 |U1.1/16"X12| 22 40 | 535 | 27 32
ACOC-36-16-360G | M36x2 |U1.5/16"X12| 28 46 | 575 | 33 41
F
 —
2 ADOD-0G
o
M ¢
_4{& W Niil24 ° EERF
FEjal 1N EX o et
N METRIC MALE 24 ° H.T.
A \& A /SAE MALE ADJUSTABLE STUD BRANCH TEE
B 124 THREADE & F4M&E TUBE O.D. J& < DIMENSIONS
PART NO. E F D1 A B S1 Y)
ADOD-14-04-140G | M14x1.5 | U7/16"X20 6 27 30 14 17
ADOD-16-06-160G | M16x1.5 | U9/16"X18 8 29 | 333 | 17 19
ADOD-18-06-180G | M18x1.5 | U9/16"X18 10 32 | 335 | 19 19
ADOD-20-08-200G | M20x1.5 | U3/4"X16 12 33 | 375 | 22 24
ADOD-22-10-220G | M22x1.5 | U7/8"X14 14 33 44 22 27
ADOD-24-10-240G | M24x1.5 | U7/8"X14 16 33 | 465 | 24 27
ADOD-30-12-300G | M30x2 |U1.1/16"X12| 20 40 | 535 | 27 32
ADOD-36-16-360G | M36x2 |U1.5/16"X12| 25 46 | 575 | 33 | 41
ADOD-42-20-420G | M42x2 | U1.5/8"X12 30 57 | 595 | 44 50

F ik NF R KRBT 6, WIETE AU J5 I RN™, 41 "ADOD-20-08-200G/RN"  ([7] 1)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example ADOD-20-08-200G/RN. (the

same with above)

-77 -




1CL-B

= a‘m
— NHIRD24 * BRI SR ROUB L
§ METRIC MALE 24 ° L.T./BSP BANJO
s 84 THREADE | #F4Mz TUBE O.D. | izt JX_ < DIMENSIONS
PART NO. E D1 BOLT A d D H
1CL-12-B02 | M12x1.5 6 720B-02 | 10 | 9.9 | 22 | 16
1CL-14-B04 | M14x1.5 8 720B-04 | 11 [ 133 | 24 | 15
1CL-16-B04 | M16x1.5 10 720B-04 | 11 [ 133 | 24 | 15
1CL-18-B06 | M18x1.5 12 720B-06 | 11.5 | 167 | 29 | 20
1CL-22-B08 | M22x1.5 15 720B-08 | 125 | 21 | 38 | 25
1CL-26-B08 | M26x1.5 18 720B-08 | 12 | 21 | 38 | 25
1CL-30-B12 M30x2 22 720B-12 | 14 | 265 | 46 | 31
<
1DL-B
. L.
27720 ORG24 ° RS SAFIREUR Rk
§ METRIC MALE 24 ° H.T./BSP BANJO
= #24 THREADE EFHMETUBE O.D. | g pj e U~} DIMENSIONS
PART NO. E D1 BOLT A d D H
1DL-14-B04 | M14x1.5 6 720B-04 | 12 | 133 | 24 | 15
1DL-16-B04 | M16x1.5 8 720B-04 | 12 | 133 | 24 | 15
1DL-18-B06 | M18x1.5 10 720B-06 | 12 | 167 | 29 | 20
1DL-20-B06 | M20x1.5 12 720B-06 | 12 | 167 | 29 | 20
1DL-22-B08 | M22x1.5 14 720B-08 | 14 | 21 | 38 | 25
1DL-24-B08 | M24x1.5 16 720B-08 | 14 | 21 | 38 | 25
1DL-30-B12 | M30x2 20 720B-12 | 16 | 265 | 46 | 31

YT R KRBT R, WHELE S 5 "RN", 411" 1DL-20-B06/RN" ([F] L)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DL-20-B06/RN. (the same

with above)

-78 -




L D1
E

1CL

AHIRE24 * BRG] A HIREER L
METRIC MALE 24 ° L.T./METRIC BANJO

d
fri i240 THREADE ETHMETUBE O.D. | figjiie JL ) DIMENSIONS
PART NO. E D1 BOLT A d D H
1CL-12-10 M12x1.5 6 700M-10 | 10 10 22 13
1CL-14-12 M14x1.5 8 700M-12 | 11 12 22 12
1CL-16-14 M16x1.5 10 700M-14 | 11 14 24 14
1CL-18-16 M18x1.5 12 700M-16 | 11.5 | 16 28 18
1CL-22-18 M22x1.5 15 700M-18 | 125 | 18 36 22
1CL-26-22 M26x1.5 18 700M-22 | 12 22 46 30

L
| 1DL
T E Ll
v NIES24 ° EARA ATIREUR Bk
J METRIC MALE 24 ° H.T./METRIC BANJO

= #2 4 THREADE % T4ME TUBE O.D. | figjijiete R~} DIMENSIONS
PART NO. E D1 BOLT A d D H
1DL-14-12 | M14x1.5 6 700M-12 | 12 12 22 12
1DL-16-14 | M16x1.5 8 700M-14 | 12 14 24 14
1DL-18-16 | M18x1.5 10 700M-16 | 12 16 28 18
1DL-20-18 | M20x1.5 12 700M-18 | 12 18 36 22
1DL-22-18 | M22x1.5 14 700M-18 | 14 20 36 22
1DL-24-22 | M24x1.5 16 700M-22 | 14 22 | 46 30

o T AR B R IR ST B, A R 5 RN, 41 1DL-22-18RN" ([I)
Remark:In case if you are interested to order the adapter in complete set with cutting ring and
nut,it is necessary to insert suffix"RN" arter our part NO.,for example 1DL-22-18RN. (the same

with above)

-79 -



fo

720B

e Tl B MR A
BSP BOLT
S1
w2 1241 THREADE J <1 DIMENSIONS
PART NO. E A B C S1
720B-02 G1/8"-28 205 | 4.8 5 14
720B-04 G1/4"-19 28.5 6 6 19
720B-06 G3/8"-19 38.5 9 7 22
720B-08 G1/2"-14 44 13 8.5 27
720B-10 G5/8"-14 48.5 15 10 30
720B-12 G3/4"-14 56 18 10 32
720B-16 G1"-11 68.5 22 12.5 41
C A
NIEEA Y
METRIC BOLT
S1
e 124 THREADE J <} DIMENSIONS
PART NO. E A B C S1
700M-10 M10x1 19 5 6 14
700M-12 M12x1.5 24 6 6 17
700M-14 M14x1.5 26 8 7 19
700M-16 M16x1.5 28 9 7.5 22
700M-18 M18x1.5 32 11 8 24
700M-22 M22x1.5 39 14 9 27
700M-26 M26x1.5 45 18 10 32
700M-30 M30x2 51 22 11 38

-80 -




S1

i

NL

% ) RERAR RS

RETAINING NUTS L.T.

s #% THREADE %¥4M% TUBE 0O.D. ]~ DIMENSIONS
PART NO. E D1 d S1
NL-12 M12x1.5 6 6 14
NL-14 M14x1.5 8 8 17
NL-16 M16x1.5 10 10 | 19
NL-18 M18x1.5 12 12 | 22
NL-22 M22x1.5 15 15 | 27
NL-26 M26x1.5 18 18 | 32
NL-30 M30x2 22 22 | 36
NL-33 M33x2 25 25 | 41
NL-36 M36x2 28 28 | 41
NL-52 M52x2 42 42 | 60

—/—

S1

NS

R AR5

Z 4 RETAINING NUTS H.T.

e 124 THREADE & 14M% TUBE O.D. & <} DIMENSI1ONS
PART NO. E D1 d S
NS-14 M14x1.5 6 6 17
NS-16 M16x1.5 8 8 19
NS-18 M18x1.5 10 10 22
NS-20 M20x1.5 12 12 24
NS-22 M22x1.5 14 14 27
NS-24 M24x1.5 16 16 30
NS-30 M30x2 20 20 36
NS-36 M36x2 25 25 46
NS-52 M52x2 38 38 60

- 81




RL

RERR
CUTTING RING L.T.

= B 74ME TUBE 0.D.

PART NO. D1

RL-06 6

RL-08

RL-10 10

RL-12 12

RL-15 15

RL-18 18

RL-22 22

RL-28 28

RL-35 35

RL-42 42

RS
(]
! TEERY
CUTTING RING H.T.

(2 4% TUBE 0.D.
PART NO. D1

RS-06 6

RS-08 8

RS-10 10

RS-12 12

RS-14 14

RS-16 16

RS-20 20

RS-25 25

RS-30 30

RS-38 38

-82 -




. =i 1 Q
Nimigin
NHIIMELT4 4
K2 %/ 7 ETRIC UALE 74 - CONE
S1
= 124; THREADE J = DIMENSIONS
PART NO. E A B S1 L
1Q-10 M10x1 12 12 12 30
1Q-12 M12x1.5 16 16 14 38
1Q-14 M14x1.5 17 17 17 40
1Q-16 M16x1.5 18 18 17 42
1Q-18 M18x1.5 18 18 19 42
1Q-22 M22x1.5 19.5 | 19.5 24 47
1Q-24 M24x1.5 20 20 27 49
1Q-27 M27x1.5 20 20 30 49
1Q-30 M30x1.5 23 23 32 56
1Q-30X2 M30x2 26 26 32 62
1Q-33 M33x2 26 26 36 63
1Q-36 M36x2 26 26 36 63
1Q-39 M39x2 26 26 41 64
1Q-42 M42x2 28.5 | 28.5 46 70
1Q-45 M45x2 285 | 285 46 70

-83 -




-

4Q

N THIANBETA * HMHER Sk
METRIC MALE 74 ° CONE PLUG

S1

=, # 4 THREADE U~ DIMENSIONS
PART NO. E A S L
4Q-10 M10x1 12 12 18
4Q-12 M12x1.5 16 14 22
4Q-14 M14x1.5 17 17 23
4Q-16 M16x1.5 18 17 24
4Q-18 M18x1.5 18 19 24
4Q-22 M22x1.5 19.5 24 27
4Q-24 M24x1.5 20 27 29
4Q-27 M27x1.5 20 30 29
4Q-30 M30x1.5 23 32 33
4Q-30E M30x2 26 32 36
4Q-33 M33x2 26 36 37
4Q-36 M36x2 26 36 37
4Q-39 M39x2 26 41 38
4Q-42 M42x2 285 46 415
4Q-45 M45x2 285 46 415

-84 -




A I 6Q
w ’7 N w
77 NI SMRET4 ° A ARk
METRIC MALE 74 ° CONE BULKHEAD
1
= 12 4; THREADE U =} DIMENSIONS
PART NO. E A B S1 L
6Q-10 M10x1 12 34 12 52
6Q-12 M12x1.5 16 38 14 60
6Q-14 M14x1.5 17 40 17 63
6Q-16 M16x1.5 18 41 17 65
6Q-18 M18x1.5 18 43 19 67
6Q-22 M22x1.5 19.5 44 24 7
6Q-24 M24x1.5 20 45 27 74
6Q-27 M27x1.5 20 48 30 77
6Q-30 M30x1.5 23 53 32 86
6Q-33 M33x2 26 55 36 92
6Q-36 M36x2 26 56 36 93
6Q-39 M39x2 26 58 41 96
6Q-42 M42x2 285 | 59 46 100.5
6Q-45 M45x2 285 | 60 46 101.5

AT AT BT T B, WIS AEAC S S5 m LN, 4n6Q-18LN;

Remark:In case if you are interested to order the adapter with lock nut,please

insert suffix"LN"after our part NO.,for example 6Q-18LN.

-85 -




: 6Q9

o L 90 * il FMERLLT4 * AMFEE Rk
v _B{v 90 ° METRIC MALE 74 ° CONE BULKHEAD
A st
e #40 THREADE K< DIMENSIONS
PART NO. E A B | st
6Q9-12 | M12x15 25 | 56 | 11
6Q9-14 | M14x1.5 29 | 56 | 14
6Q9-16 | M16x1.5 30 | 58 | 17
6Q9-18 | M18x1.5 33 | 62 | 19
6Q9-22 | M22x1.5 37 | 64 | 22
6Q9-27 | M27x1.5 40 | 72 | 27
6Q9-30 | M30x1.5 40 | 72 | 27
6Q9-33 M33x2 49 | 82 | 33
6Q9-36 M36x2 46 | 82 | 33
6Q9-39 M39x2 57 | 88 | 44
6Q9-42 M42x2 57 | 88 | 44
6Q9-45 M45x2 55 | 96 | 50

AL ANFE T BIREL T 6, SRS 5 LN, 416Q9-18LN;
Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6Q9-18LN.

-86 -




%

81;

1QN

AHINRLTA " SMIEL ATHER SMERAL
METRIC MALE 74 ° CONE/NPT MALE

e # 2 THREADE U~} DIMENSIONS

PART NO. E F A B S1 L
1QN-12-02 | M12x1.5 | Z1/8"X27 16 | 10 | 14 32
1QN-12-04 | M12x1.5 | Z1/4"X18 16 | 14 | 14 36
1QN-14-02 | M14x1.5 | Z1/8"X27 17 | 10 | 17 33
1QN-14-04 | M14x1.5 | Z1/4"X18 17 | 14 | 17 37
1QN-16-04 | M16x1.5 | Z1/4"X18 18 | 14 | 17 38
1QN-16-06 | M16x1.5 | Z3/8"X18 18 | 14 | 17 38
1QN-18-04 | M18x1.5 | Z1/4'X18 18 | 14 | 19 38
1QN-18-06 | M18x1.5 | Z3/8"X18 18 | 14 | 19 38
1QN-18-08 | M18x1.5 | Z1/2'X14 18 | 19 | 22 44
1QN-22-06 | M22x1.5 | Z3/8'X18 195 | 14 | 24 41
1QN-22-08 | M22x1.5 | Z1/2'X14 195 | 19 | 24 46
1QN-27-06 | M27x1.5 | Z3/8"X18 20 | 14 | 30 43
1QN-27-08 | M27x1.5 | Z1/2"X14 20 | 19 | 30 48
1QN-27-12 | M27x1.5 | Z3/4"X14 20 | 195 | 30 485
1QN-27-16 | M27x1.5 | Z1"X11.5 20 | 24 | 36 55
1QN-30-12 | M30x2 | Z3/4"X14 23 | 195 | 32 52.5
1QN-33-12 | M33x2 | Z3/4"X14 26 | 195 | 36 56.5
1QN-36-16 | M36x2 | Z1"X11.5 25 | 24 | 41 61
1QN-39-16 | M39x2 | Z1"X11.5 26 | 24 | 41 62
1QN-45-16 | M45x2 | Z1"X11.5 285 | 24 | 46 65.5
1QN-45-20 | M45x2 |Z1.1/4"X115 285 | 25 | 46 66.5
1QN-45-24 | M45x2 |Z1.1/2'X11.5 285 | 25 | 50 705
1QN-52-20 | M52x2 |Z1.1/4"X11.5 30 | 25 | 55 72

-87 -




1QN4

45 ° ANHIAMRETA AN A AMRS
45 ° METRIC MALE 74 ° CONE/NPT MALE

-—

A S1
R 124 THREADE JX <} DIMENSIONS

PART NO. E F A B S1
1QN4-12-02 | M12x1.5 | Z1/8"X27 20 20 11
1QN4-14-02 | M14x1.5 | Z1/8"X27 22 22 14
1QN4-14-04 | M14x1.5 | Z1/4"X18 22 22 14
1QN4-16-06 | M16x1.5 | Z3/8"X18 22 22 17
1QN4-18-06 | M18x1.5 | Z3/8"X18 24 24 19
1QN4-22-08 | M22x1.5 | Z1/2"X14 27 27 22
1QN4-27-08 | M27x1.5 | Z1/2"X14 33 33 27
1QN4-27-12 | M27x1.5 | Z3/4"X14 33 33 27
1QN4-30-12 | M30x1.5 | Z3/4"X14 37 37 33
1QN4-36-16 M36x2 Z1"X11.5 37 37 33
1QN4-39-16 M39x2 Z1"X11.5 40 40 44
1QN4-42-20 M42x2 (Z1.1/4"X11.5 40 40 44

-88 -




60 °

‘
- TQN9
wl e | 90 * AHISMRLTA * HNE AHER SR
90 ° METRIC MALE 74 ° CONE/NPT MALE
A 5%&
e #2 4. THREADE R <} DIMENSIONS

PART NO. E F A B S1
1QN9-12-02 | M12x1.5 | Z1/8"X27 25 25 11
1QN9-12-04 | M12x1.5 | Z1/4"X18 29 27 14
1QN9-14-02 | M14x1.5 | Z1/8"X27 29 27 14
1QN9-14-04 | M14x1.5 | Z1/4"X18 29 27 14
1QN9-16-04 | M16x1.5 | Z1/4"X18 30 28 17
1QN9-16-06 | M16x1.5 | Z3/8"X18 30 28 17
1QN9-16-08 | M16x1.5 | Z1/2"X14 37 37 22
1QN9-18-04 | M18x1.5 | Z1/4"X18 33 33 19
1QN9-18-06 | M18x1.5 | Z3/8"X18 33 33 19
1QN9-22-06 | M22x1.5 | Z3/8"X18 37 37 22
1QN9-22-08 | M22x1.5 | Z1/2"X14 37 37 22
1QN9-27-08 | M27x1.5 | Z1/2"X14 41 41 27
1QN9-27-12 | M27x1.5 | Z3/4"X14 41 41 27
1QN9-27-16 | M27x1.5 | Z1"X11.5 49 49 33
1QN9-30-12 | M30x1.5 | Z3/4"X14 40 40 27
1QN9-36-16 | M36x2 | Z1"X11.5 46 46 33
1QN9-39-16 | M39x2 | Z1"X11.5 57 57 44
1QN9-42-20 | M42x2 |Z1.1/4"X11.5 57 57 44
1QN9-45-16 | M45x2 | Z1"X11.5 55 55 44
1QN9-45-20 | M45x2 |Z1.1/4"X11.5 55 55 44
1QN9-45-24 | M45x2 |Z1.1/2"'X11.5 60 57 55

-89 -




T

—_

sy
si/

1QT

AIMRETA " S SR SMRAL
METRIC MALE 74 ° CONE/BSPT MALE

o i24r THREADE R~} DIMENSIONS

PART NO. E F A B S1 L
1QT-12-02 | M12x1.5 | R1/8"X28 16 10 14 32
1QT-12-04 | M12x1.5 | R1/4"X19 16 14 14 36
1QT-14-02 | M14x1.5 | R1/8"X28 17 10 17 33
1QT-14-04 | M14x1.5 | R1/4"X19 17 14 17 37
1QT-16-04 | M16x1.5 | R1/4"X19 18 14 19 38
1QT-16-06 | M16x1.5 | R3/8"X19 18 14 19 38
1QT-18-04 | M18x1.5 | R1/4"X19 18 14 19 38
1QT-18-06 | M18x1.5 | R3/8"X19 18 14 19 38
1QT-18-08 | M18x1.5 | R1/2"X14 18 19 22 44
1QT-22-06 | M22x1.5 | R3/8"X19 195 | 14 24 41
1QT-22-08 | M22x1.5 | R1/2"X14 195 | 19 24 46
1QT-27-06 | M27x1.5 | R3/8"X19 20 14 30 43
1QT-27-08 | M27x1.5 | R1/2'X14 20 19 30 48
1QT-27-12 | M27x1.5 | R3/4"X14 20 | 195 | 30 48.5
1QT-27-16 | M27x1.5 |  R1"X11 20 24 36 55
1QT-30-12 M30x2 | R3/4"X14 23 | 195 | 32 52.5
1QT-33-12 M33x2 | R3/4"X14 26 | 195 | 36 56.5
1QT-36-16 M36x2 R1"X11 25 24 41 61
1QT-39-16 M39x2 R1"X11 26 24 41 62
1QT-45-16 M45x2 R1"X11 285 | 24 46 65.5
1QT-45-20 M45x2 | R1.1/4"X11 285 | 25 46 66.5
1QT-45-24 M45x2 | R1.1/2"X11 285 | 25 50 70.5
1QT-52-20 M52x2 | R1.1/4"X11 30 25 55 72

-90 -




60 °
/

- 1QT9

S F; |‘ % 90 ° AHIAMEBLITA © HNHE] TEHEAS SMZ AL
S1

90 ° METRIC MALE 74 ° CONE/BSPT MALE

A
=2 124 THREADE J =} DIMENSIONS

PART NO. E F A B S1
1QT9-12-02 | M12x1.5 | R1/8"X28 25 25 11
1QT9-12-04 | M12x1.5 | R1/4"X19 29 27 14
1QT9-14-02 | M14x1.5 | R1/8"X28 29 27 14
1QT9-14-04 | M14x1.5 | R1/4"X19 29 27 14
1QT9-16-04 | M16x1.5 | R1/4"X19 30 28 17
1QT9-16-06 | M16x1.5 | R3/8"X19 30 28 17
1QT9-16-08 | M16x1.5 | R1/2"X14 37 37 22
1QT9-18-04 | M18x1.5 | Z1/4"X19 33 33 19
1QT9-18-06 | M18x1.5 | R3/8"X19 33 33 19
1QT9-22-06 | M22x1.5 | R3/8"X19 37 37 22
1QT9-22-08 | M22x1.5 | R1/2"X14 37 37 22
1QT9-27-08 | M27x1.5 | R1/2"X14 41 41 27
1QT9-27-12 | M27x1.5 | R3/4"X14 41 41 27
1QT9-27-16 | M27x1.5 R1"X11 49 49 33
1QT9-30-12 | M30x1.5 | R3/4"X14 40 40 27
1QT9-36-16 M36x2 R1"X11 46 46 33
1QT9-39-16 M39x2 R1"X11 57 57 44
1QT9-42-20 M42x2 | R1.1/4"X11 57 57 44
1QT9-45-16 M45x2 R1"X11 55 55 44
1QT9-45-20 M45x2 | R1.1/4"X11 55 55 44
1QT9-45-24 M45x2 | R1.1/2"X11 60 57 55




A B

!
) |
| 2

7 s
s

1QB

NISMRLTA " ANEN B AMREL

60 ° PYHESL S a2

5
s

E2)

METRIC MALE 74 ° CONE/BSP MALE
DOUBLE FOR 60 * SEAT BONDED SEAL

= 1240 THREADE JR =t DIMENSIONS

PART NO. E F A B S1 L
1QB-12-02 M12x1.5 | G1/8"X28 16 10 14 32
1QB-14-04 M14x1.5 | G1/4"X19 17 12 19 35
1QB-16-06 M16x1.5 | G3/8"X19 18 13.5 22 39
1QB-18-06 M18x1.5 | G3/8"X19 18 13.5 22 39
1QB-22-08 M22x1.5 | G1/2"'X14 19.5 16 27 44
1QB-24-10 M24x1.5 | G5/8"X14 20 17.5 30 46.5
1QB-27-12 M27x1.5 | G3/4"X14 20 18.5 32 48.5
1QB-30-12 M30x1.5 | G3/4"X14 23 18.5 32 51.5
1QB-30E-12 M30x2 G3/4"X14 26 18.5 32 54.5
1QB-33-16 M33x2 G1"X11 26 20.5 41 58.5
1QB-39-16 M39x2 G1"X11 26 20.5 41 58.5
1QB-45-20 M45x2 | G1.1/4"X11 285 | 20.5 50 66

-92 -




-
S1

1QG

Kifil74  ShEN SE SMRSIORE
METRIC 74 ° CONE/BSP MALE O-RING

= #24r THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1QG-14-04 M14x1.5 | G1/4"X19 17 12 17 35
1QG-16-06 M16x1.5 | G3/8"X19 18 | 135 | 22 39
1QG-18-06 M18x1.5 | G3/8"X19 18 | 135 | 22 39
1QG-18-08 M18x1.5 | G1/2'X14 18 16 27 43
1QG-22-08 M22x1.5 | G1/2'X14 195 | 16 27 44
1QG-27-12 M27x1.5 | G3/4"X14 20 185 | 32 48.5
1QG-30-12 M30x1.5 | G3/4"X14 23 185 | 32 51.5
1QG-39-16 M39x2 G1"X11 26 | 205 | 41 58.5
1QG-45-20 M45x2 | G1.1/4"X11 285 | 205 | 50 66
F
D = 1QG9-0G
90 ° |74 ° Ahk/
w \ P HMRSLORY B ] ] [ A i
,_% 90 ° METRIC 74 ° CONE/
A S1 BSP MALE O-RING ADJUSTABLE STUD
o2 1240 THREADE JL ~F DIMENSIONS
PART NO. E F A B S1 S2
1QG9-14-040G | M14x1.5 | G1/4"X19 27 | 313 | 14 19
1QG9-16-060G | M16x1.5 | G3/8"X19 29 | 358 | 17 22
1QG9-18-060G | M18x1.5 | G3/8"X19 32 | 368 | 19 22
1QG9-18-080G | M18x1.5 | G1/2"X14 32 | 432 | 19 27
1QG9-22-080G | M22x1.5 | G1/2"X14 37 | 432 | 22 27
1QG9-27-120G | M27x1.5 | G3/4"X14 41 | 493 | 27 32
1QG9-30-120G | M30x1.5 | G3/4"X14 40 52 27 32
1QG9-39-160G | M39x2 G1"X11 57 58 44 41
1QG9-45-200G | M45x2 | G1.1/4"X11 55 63 44 50

-903 -




-
S1

-

1QH

KT ML A I AMES

METRIC 74 ° CONE/METRIC MALE

=2 12 4 THREADE J* =} DIMENSIONS
PART NO. E F A B S1 L
1QH-14-12 M14x1.5 M12x1.5 17 11 17 34
1QH-16-14 M16x1.5 | M14x1.5 18 11 19 35
1QH-18-16 M18x1.5 | M16x1.5 18 11 22 36
1QH-22-18 M22x1.5 | M18x1.5 19.5 11 24 38
1QH-27-22 M27x1.5 | M22x1.5 20 12 27 41
1QH-30-27 M30x1.5 M27x1.5 23 13 32 46
1QH-33-27 M33x2 | M27x1.5 26 13 32 49

F
X = 1QH9-0G
v
I / 90 ° Afhl74 ° HhaES
mJ OISOV
S 90 ° METRIC 74 ° CONE/
A S METRIC MALE ADJUSTABLE STUD

= 24 THREADE J* =} DIMENSIONS

PART NO. E F A B S1 S2

1QH9-14-120G | M14x1.5 | M12x1.5 27 32 14 17

1QH9-16-140G | M16x1.5 | M14x1.5 29 35.5 17 19

1QH9-18-160G | M18x1.5 | M16x1.5 32 36 19 22

1QH9-22-180G | M22x1.5 | M18x1.5 37 39.5 22 24

1QH9-27-220G | M27x1.5 | M22x1.5 41 43.5 27 27

1QH9-30-270G | M30x1.5 | M27x1.5 40 50 27 32

1QH9-33-270G | M33x2 | M27x1.5 49 52 33 32

1QH9-36-330G | M36x2 M33x2 49 54 33 41

1QH9-39-330G | M39x2 M33x2 57 57.2 44 41

1QH9-45-420G | M45x2 M42x2 55 61 44 50

-94 -




- : 1QM

w /1;1 | wl INTIAMBELTA ° ANEL Ol AR S

) o 60 ° PIHED S A i T 2H A 3 )
%//{‘ < METRIC MALE 74 ° CONE/METRIC MALE

317 DOUBLE FOR 60 ° SEAT BONDED SEAL

e 124; THREADE JU ) DIMENSIONS

PART NO. E F A B S1 L
1QM-12 M12x1.5 | M12x1.5 16 10 17 34
1QM-14 M14x1.5 | M14x1.5 17 11 19 36
1QM-14-12 | M14x1.5 | M12x1.5 17 10 17 35
1QM-14-16 | M14x1.5 | M16x1.5 17 12 22 38
1QM-16 M16x1.5 | M16x1.5 18 12 22 39
1QM-16-14 | M16x1.5 | M14x1.5 18 11 19 37
1QM-18 M18x1.5 | M18x1.5 18 12 24 40
1QM-18-16 | M18x1.5 | M16x1.5 18 12 22 39
1QM-22 M22x1.5 | M22x1.5 195 | 14 27 44.5
1QM-22-18 | M22x1.5 | M18x1.5 195 | 12 24 39

-905 -




% Z

S1

1Q0

NTISMERLZLTA ° SN
SAESMRLL O
METRIC MALE74 ° CONE/
SAE MALE O-RING

= #2 4 THREADE R =} DIMENSIONS
PART NO. E F A B S1 L
1Q0-16-06 M16x1.5 | U9/16"X18 18 12 17 36
1Q0-18-08 M18x1.5 | U3/4"X16 18 12 22 37
1Q0-22-10 M22x1.5 | U7/8"X14 195 | 135 | 27 42
1Q0-27-12 M27x1.5 |[U1.1/16"X12 20 16 32 46
1Q0-30-12 M30x1.5 |U1.1/16"X12 23 16 32 49
1Q0-33-16 M33x2 |U1.5/16"X12 26 17 41 55
1Q0-39-16 M39x2 |U1.5/16"X12 26 17 41 55
1Q0-42-20 M42x2 | U1.5/8"X12 285 | 18 50 63.5
F
s 1Q09-0G
[
‘ 90 ° A ANBLTA * A/
SAE/MEZOAIPE 90 °
= ‘ ){/ METRIC MALE74 ° CONE/
— SAE MALE O-RING ADJUSTABLE STUD
A S1
e 24 THREADE R~} DIMENSIONS
PART NO. E F A B S1 S2
1Q09-16-060G | M16x1.5 | U9/16"X18 30 | 318 | 17 19
1Q09-18-080G | M18x1.5 | U3/4"X16 37 | 368 | 22 24
1Q09-22-100G | M22x1.5 | U7/8"X14 37 44 22 27
1Q09-27-120G | M27x1.5 |U1.1/16"X12 41 51 27 32
1Q09-30-120G | M30x1.5 [U1.1/16"X12 40 53 27 32
1Q09-33-160G | M33x2 |U1.5/16"X12 49 | 545 | 33 41
1Q09-39-160G | M39x2 |U1.5/16"X12 49 | 595 | 44 41
1Q09-42-200G | M42x2 | U1.5/8"X12 49 59 44 50

-96 -




74°

//:\\\
|- E

£|/
OL7 S2
= 2Q9
90 ° Al AMRLT4 ° HNHES
" . NI NERE74 ° PYE9D °
METRIC MALE 74 ° CONE/
s METRIC FEMALE 74 ° SEAT

A
o 1240 THREADE .~ DIMENSIONS
PART NO. E A c S1 S2
2Q9-14 M14x1.5 29 9 14 19
2Q9-16 M16x1.5 30 | 95 17 22
2Q9-18 M18x1.5 33 | 95 19 24
2Q9-22 M22x1.5 37 10 22 27
2Q9-27 M27x1.5 41 | 105 | 27 32
2Q9-30 M30x1.5 40 | 115 | 27 36
2Q9-33 M33x2 49 | 145 | 33 41
2Q9-36 M36x2 46 | 135 | 33 41
2Q9-39 M39x2 57 | 135 | 44 46
2Q9-45 M52x2 55 | 155 | 44 55

E

NS |

N | St AQ

~ Tzl .

§(>“J ”J<>§° AN AMELTA © SN
\”l | METRIC MALE 74 ° CONE TEE

A A

5 124 THREADE J 5} DIMENSIONS
PART NO. E A 31

AQ-14 M14x1.5 27 14

AQ-16 M16x1.5 29 17

AQ-18 M18x1.5 32 19

AQ-22 M22x1.5 33 22

AQ-27 M27x1.5 40 27

AQ-30 M30x1.5 40 27

AQ-33 M33x2 49 33

-97 -




S2
) - AQHQ-0G
2
I ¢ % 2, | AHAMBLTA * S
M} j@ u AT TR A S
\ METRIC MALE74 ° CONE/
A \s1 A ADJUSTABLE STUD BRANCH TEE
=2 124 THREADE O% g K =} DIMENSIONS
PART NO. E F 0-RING A B s1 s2
AQHQ- 14 -12- 140G | M14x1.5 M12x1.5 9.3x2.4 27 32 14 17
AQHQ- 16 -14- 160G | M16x1.5 | M14x1.5 11.3x2.4 29 355 17 19
AQHQ- 18 -16- 180G | M18x1.5 | M16x1.5 13.3x2.4 32 36 19 22
AQHQ- 22 -18-220G | M22x1.5 | M18x1.5 15.3x2.4 33 39.5 22 24
AQHQ- 27 -22- 270G | M27x1.5 | M22x1.5 19.3x2.4 40 43.5 27 27
AQHQ- 30 -27- 300G | M30x1.5 M27x1.5 23.5x3 40 50 27 32
AQHQ- 33-27-330G| M33x2 | M27x1.5 23.5x3 49 52 33 32
AQHQ- 36 -33- 360G | M36x2 M33x2 29.5x3 46 54 33 41
AQHQ- 39 -33-390G| M39x2 M33x2 29.5x3 57 57.2 44 41
E

. AQQH-0G

<<

1 7, % | KNISNRET4 ° S

e LL\ A A g 57

\ Lb— J METRIC MALE74 ° CONE/

A \s1 8 ADJUSTABLE STUD RUN TEE

=2 124 THREADE lo¥itl] JR =f DIMENSIONS
PART NO. E F 0-RING A B S1 S2
AQQH-14-14-120G| M14x1.5 | M12x1.5 9.3x2.4 27 32 14 17
AQQH-16-16- 140G| M16x1.5 | M14x1.5 11.3x2.4 29 35.5 17 19
AQQH-18-18-160G| M18x1.5 | M16x1.5 13.3x2.4 | 32 36 19 22
AQQH-22-22-180G| M22x1.5 | M18x1.5 15.3x2.4 33 39.5 22 24
AQQH-27-27-220G| M27x1.5 | M22x1.5 19.3x2.4 40 43.5 27 27
AQQH-30-30-270G| M30x1.5 | M27x1.5 23.5x3 40 50 27 32
AQQH-33-33-270G| M33x2 | M27x1.5 23.5x3 49 52 33 32
AQQH- 36-36- 330G| M36x2 M33x2 29.5x3 36 54 33 41
AQQH-39-39-330G| M39x2 M33x2 29.5x3 57 57.2 44 41

-98 -



i

I

. @
oy
s1/

-]

53]

1K

H A2 il SMREL60 ° S

JIS METRIC MALE6O ° CONE

e 124 THREADE R f DIMENSIONS
PART NO. E A B 51 L
1K-14 M14x1.5 17 | 17 | 17 40
1K-16 M16x1.5 18 | 18 | 17 42
1K-18 M18x1.5 18 | 18 | 19 42
1K-20 M20x1.5 20 | 20 | 22 47
1K-22 M22x1.5 20 | 20 | 24 48
1K-24 M24x1.5 215 | 215 | 27 52
1K-30 M30x1.5 — 26 | 26 | 32 62
1K-33 M33x1.5 | 30 | 30 | 36 71
1K-36 M36x1.5 | 33 | 33 | 41 78
1K-42 M42x1.5 / 36 | 36 | 46 85
2K9
" N 90 ° HA/ATHIMAZL60 ° M
90 ° JIS METRIC MALE60 ° CONE
A St

e 240 THREADE R 1 DIMENSIONS

PART NO. E F A c s1 s2
2K9-14 M14x1.5 | M14x1.5 20 | 12 | 14 | 19
2K9-16 M16x1.5 | M16x1.5 30 | 95 | 17 | 22
2K9-18 M18x1.5 | M18x1.5 33 | 11 19 | 24
2K9-22 M22x1.5 | M22x1.5 37 | 14 | 22 | 27
2K9-24 M24x1.5 | M24x1.5 37 | 135 | 24 | 32

2K9-30-24 | M30x1.5 | M24x1.5 40 | 135 | 27 | 32
2K9-30 M30x1.5 | M30x1.5 40 | 20 | 27 | 36
2K9-33 M33x1.5 | M33x1.5 49 | 205 | 33 | 41

-99 -




4K

HAR A HIAMZE60 ° SRk

JIS METRIC MALE6O ° CONE PLUG

S1
B i24r THREADE JL =) DIMENSIONS
PART NO. E A s1 L
4K-14 M14x1.5 17 14 23
4K-16 M16x1.5 18 17 24
4K-18 M18x1.5 18 19 24
4K-20 M20x1.5 20 22 27
4K-22 M22x1.5 20 24 28
4K-24 M24x1.5 21.5 27 30
4K-30 M30x1.5 26 32 36
4K-33 M33x1.5 30 36 41
9K
% FLA 22 BB 60 °
JIS METRIC FEMALE 60 ° SEAT PLUG
= 4 THREADE .~} DIMENSIONS
PART NO. E C S1 S2
9K-14 M14x1.5 12 19 19
9K-16 M16x1.5 9.5 | 19 22
9K-18 M18x1.5 11 24 | 24
9K-22 M22x1.5 14 27 | 27
9K-24 M24x1.5 135 | 32 | 32
9K-30 M30x1.5 20 | 36 | 36
9K-33 M33x1.5 205 | 41 41

- 100 -




"

T KN

4] 3
(,/Z/ | HA A BISMEL60 © SheE AT HERTSMBLL
4% JIS METRIC MALE 60 ° CONE/NPT MALE
S1
o2 124 THREADE K =+ DIMENSIONS
PART NO. E F A B S1 L
1KN-14-04 M14x1.5 Z1/4"X18 17 14 14 37
1KN-14-06 M14x1.5 Z3/8"X18 17 14 17 37
1KN-16-06 M16x1.5 Z3/8"X18 18 14 17 38
1KN-18-06 M18x1.5 Z3/8"X18 18 14 19 38
1KN-20-06 M20x1.5 Z3/8"X18 20 14 22 41
1KN-22-06 M22x1.5 Z3/8"X18 20 14 24 42
1KN-22-08 M22x1.5 Z1/2"X14 20 19 24 47
1KN-24-12 M24x1.5 Z3/4"X14 21.5 19.5 27 50
1KN-30-12 M30x1.5 Z3/4"X14 26 19.5 32 55.5
1KN-33-16 M33x1.5 Z1"X11.5 30 24 36 65
1KN-36-20 M36x1.5 |Z1.1/4"X11.5 33 25 46 71
1KN-42-24 M42x1.5 |Z1.1/2"X11.5 36 25 50 78
L
e 1KM
/T ___ )
J L e EEYN Y DGR )
3 A HISMBEB0 * B B A 4
47 JIS METRIC MALEGO ° CONE/
%Y ) METRIC MALE 60 ° CONE BONDED SEAL
s1/
LB 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1KM-14-12 M14x1.5 | M12x1.5 17 10 17 35
1KM-14 M14x1.5 | M14x1.5 17 11 19 36
1KM-22-16 M22x1.5 | M16x1.5 20 12 22 41
1KM-22-18 M22x1.5 | M18x1.5 20 12 24 42
1KM-22 M22x1.5 | M22x1.5 20 14 27 45

- 101 -



A B

o KT

HARTHISNRE60 © 1 SCHER SMREL

i
N, A?%%%;:,\x_ JIS METRIC MALE60 ° CONE/BSPT MALE
F
S1

e # 4 THREADE K~} DIMENSIONS

PART NO. E F A B S1 L

1KT-14-04 M14x1.5 R1/4"X19 17 14 17 37

1KT-16-06 M16x1.5 R3/8"X19 18 14 19 38

1KT-18-06 M18x1.5 R3/8"X19 18 14 19 38

1KT-22-06 M22x1.5 R3/8"X19 20 14 24 42

1KT-22-08 M22x1.5 R1/2"X14 20 19 24 47

1KT-30-12 M30x1.5 R3/4"X14 26 19.5 32 555

1KT-33-16 M33x1.5 R1"X11 30 24 36 65

1KT-36-20 M36x1.5 | R1.1/4"X11 33 25 46 71

1KT-42-24 M42x1.5 | R1.1/2"X11 36 25 50 78

L
] B 1KH
A
w /ﬂ (:ﬁ w H A3 il SR E60 ° Ah4E/
I il IR E 2R
“z JIS METRIC MALE6O ° CONE/
METRIC MALE S-SERIES
S1
= 124 THREADE K =7 DIMENSIONS

PART NO. E F A B S1 L
1KH-14-12 M14x1.5 | M12x1.5 17 11 17 34
1KH-14 M14x1.5 | M14x1.5 17 1 19 34
1KH-16-14 M16x1.5 | M14x1.5 18 1 19 35
1KH-18-14 M18x1.5 | M14x1.5 18 1 19 35
1KH-18-16 M18x1.5 | M16x1.5 18 1 22 36
1KH-18-20 M18x1.5 | M20x1.5 18 12 27 39
1KH-20-18 M20x1.5 | M18x1.5 20 11 24 39
1KH-22-20 M22x1.5 | M20x1.5 20 12 27 41
1KH-24-20 M24x1.5 | M20x1.5 21.5 12 27 42
1KH-24-22 M24x1.5 | M22x1.5 21.5 12 27 42
1KH-30-27 M30x1.5 | M27x1.5 26 13 32 49

- 102 -




N

1KH9-0G

90 ° HAA il AMREL60 ° HME/
Ol AR ST I ) A g 90 ° JIS
METRIC MALE 60 ° CONE/METRIC

- _){& ALE ADJUSTABLE STUD
A S1

e 124 THREADE Ol J <} DIMENSIONS
PART NO. E F 0-RING A B S1 S2
1KH9-14-120G | M14x1.5 | M12x1.5 9.3x24 | 27 | 335 | 14 17
1KH9-140G | M14x1.5 | M14x1.5 11.3x24 | 27 | 345 | 14 19
1KH9-16-140G | M16x1.5 | M14x1.5 11.3x24 | 29 | 3565 | 17 19
1KH9-18-140G | M18x1.5 | M14x1.5 11.3x24 | 32 | 375 | 19 19
1KH9-18-160G | M18x1.5 | M16x1.5 13.3x24 | 32 | 395 | 19 22
1KH9-18-200G | M18x1.5 | M20x1.5 17.3x2.4 | 37 44 22 27
1KH9-20-180G | M20x1.5 | M18x1.5 15.3x2.4 | 37 | 425 | 22 24
1KH9-22-200G | M22x1.5 | M20x1.5 17.3x2.4 | 37 | 455 | 22 27
1KH9-24-200G | M24x1.5 | M20x1.5 17.3x24 | 37 47 24 27
1KH9-24-220G | M24x1.5 | M22x1.5 19.3x2.4 | 37 47 24 27
1KH9-30-270G | M30x1.5 | M27x1.5 23.5x3 40 57 27 32
1KH9-330G | M33x1.5 | M33x1.5 29.5x3 49 59 33 41
1KH9-36-330G | M36x1.5 | M33x1.5 29.5x3 46 | 60.5 | 33 41

- 103 -




’ ‘ 1KG

4
T w HA AT AMES60  ° ShE/
YA IR S OB E
<z W JIS METRIC MALE 60 ° CONE/
BSP MALE O-RING
st/
= 12 4. THREADE R =} DIMENSIONS
PART NO. E F A B S1 L
1KG-14-04 M14x1.5 G1/4"X19 17 12 19 35
1KG-14-06 M14x1.5 G3/8"X19 17 13.5 22 38
1KG-16-06 M16x1.5 G3/8"X19 18 13.5 22 39
1KG-18-06 M18x1.5 G3/8"X19 18 13.5 22 39
1KG-22-08 M22x1.5 G1/2"X14 20 16 27 45
1KG-30-12 M30x1.5 G3/4"X14 26 18.5 32 54.5
1KG-33-12 M33x1.5 G3/4"X14 30 18.5 36 59.5
1KG-33-16 M33x1.5 G1"X11 30 20.5 41 62.5
F
S2 |

. 1KG9-0G

|| Bz ‘ 90 * HA A HIAMELE0 * |

G ) S MBSO T i

90 ° JIS MERIC MALE/
A s1 BSP MALE O-RING ADJUSTABLE STUD

e 12 4r THREADE ] =} DIMENSIONS
PART NO. E F A B S1 S2
1KG9-14-040G | M14x1.5 G1/4"X19 29 31.3 14 19
1KG9-14-060G | M14x1.5 G3/8"X19 30 35.8 17 22
1KG9-16-060G | M16x1.5 G3/8"X19 30 35.8 17 22
1KG9-18-060G | M18x1.5 G3/8"X19 33 37 19 22
1KG9-22-080G | M22x1.5 G1/2"X14 37 43.2 22 27
1KG9-24-080G | M24x1.5 G1/2"X14 37 46 24 27
1KG9-24-120G | M24x1.5 G3/4"X14 41 49.3 27 32
1KG9-30-120G | M30x1.5 G3/4"X14 40 53 27 32
1KG9-33-160G | M33x1.5 G1"X11 49 53 33 41
1KG9-42-200G | M42x1.5 | G1.1/4"X11 57 59 44 50

- 104 -




AK

)
7 LHJ H A SMEE60 * S =5

JIS METRIC MALE60 ° CONE TEE

fae

)

= 14 THREADE ] <} DIMENSIONS
PART NO. E A 51

AK-14 M14x1.5 27 14

AK-16 M16x1.5 29 17

AK-18 M18x1.5 32 19

AK-22 M22x1.5 33 22

AK-24 M24x1.5 33 24

AK-30 M30x1.5 40 27

AK-33 M33x1.5 49 33

F S2

o 7 f BK

I ‘ H A SMRZ60 ° A1/

wl o w A% R EC60 Y 4 S =38
| \ JIS METRIC MALEGO ° CONE/
A \&A JIS METRIC FEMALE 60 ° SEAT BRANCH TEE

= 124 THREADE S ) DIMENSIONS
PART NO. E F A C S1 S2
BK-14 M14x1.5 | M14x1.5 27 12 14 19
BK-16 M16x1.5 | M16x1.5 29 9.5 17 22
BK-18 M18x1.5 | M18x1.5 32 11 19 24
BK-22 M22x1.5 | M22x1.5 33 14 22 27
BK-24 M24x1.5 | M24x1.5 33 13.5 24 32
BK-30 M30x1.5 | M30x1.5 40 20 27 36
BK-33 M33x1.5 | M33x1.5 49 20.5 33 41

- 105 -




|

\lb—— )

A — B

AKKG-0G

H A2 il SNR S S8 SMREL
OZY [ m] ] [ i 3 5 =
JIS METRIC MALE/BSP MALE 0-RING
RUN TEE ADJUSTABLE STUD

5
PART NO.

124 THREADE

E F

J <1 DIMENSIONS

A B S1 S2

AKKG- 14 -14- 040G

M14x1.5 [ G1/4"X19

27 31.3 14 19

AKKG- 14 -14- 060G

M14x1.5 [ G3/8"X19

29 35.8 17 22

AKKG- 16 -16- 060G

M16x1.5 [ G3/8"X19

29 35.8 17 22

AKKG- 18 -18- 060G

M18x1.5 [ G3/8"X19

32 37 19 22

AKKG- 22 -22- 080G

M22x1.5 [ G1/2"'X14

33 43.2 22 27

AKKG- 24 -24- 080G

M24x1.5 [ G1/2"'X14

33 46 24 27

AKKG- 24 -24- 120G

M24x1.5 [ G3/4"X14

40 493 | 27 32

AKKG- 30 -30- 120G

M30x1.5 [ G3/4"X14

40 53 27 32

AKKG- 33 -33- 160G

M33x1.5 G1"X11

49 53 33 41

- 106 -




i AKKH-OG
| & ] AR SMEE60 * SME/ 225
ki J ST VA R i =
A JIS METRIC MALE 60 ° CONE/
A \SJ B ADJUSTABLE STUD RUN TEE
B 124 THREADE O%ifE JL ) DIMENSIONS
PART NO. E F 0-RING A B S1 S2
AKKH-14-14-120G | M14x1.5 | M12x1.5 9.3x2.4 27 335 14 17
AKKH-140G M14x1.5 | M14x1.5 11.3x2.4 27 34.5 14 19
AKKH-16-16-140G | M16x1.5 | M14x1.5 11.3x2.4 29 | 355 17 19
AKKH-18-18-160G | M18x1.5 | M16x1.5 13.3x2.4 32 | 395 19 22
AKKH-18-18-200G | M18x1.5 | M20x1.5 17.3x2.4 33 44 22 27
AKKH-20-20-180G | M20x1.5 | M18x1.5 15.3x2.4 33 | 425 22 24
AKKH-22-22-200G | M22x1.5 | M20x1.5 17.3x2.4 33 | 455 22 27
AKKH-24-24-200G | M24x1.5 | M20x1.5 17.3x2.4 33 47 24 27
AKKH-24-24-220G | M24x1.5 | M22x1.5 19.3x2.4 33 47 24 27
AKKH-30-30-270G | M30x1.5 | M27x1.5 23.5x3 40 57 27 32
AKKH-330G | M33x1.5 | M33x1.5 29.5x3 49 59 33 41
AKKH-36-36-330G | M36x1.5 | M33x1.5 29.5x3 46 | 60.5 33 41
CE
aﬁ r AKGK-0G
@ y B
: H AR il S S 5148
o F i BORIRE AT L3 5 3 =
\ “ JIS METRIC MALE/BSP MALE 0-RING
\st ADJUSTABLE STUD BRANCH TEE
A A
= 1240 THREADE JX =7 DIMENSIONS
PART NO. E F A B S1 S2
AKGK- 14 -04- 140G | M14x1.5 [ G1/4"X19 27 313 | 14 19
AKGK- 14 -06- 140G | M14x1.5 | G3/8"X19 29 358 | 17 22
AKGK- 16 -06- 160G | M16x1.5 | G3/8"X19 29 | 358 | 17 22
AKGK- 18 -06- 180G | M18x1.5 [ G3/8"X19 32 37 19 22
AKGK- 22 -08- 220G | M22x1.5 | G1/2"X14 33 432 | 22 27
AKGK- 24 -08- 240G | M24x1.5 [ G1/2"X14 33 46 24 27
AKGK- 24 -12- 240G | M24x1.5 | G3/4"X14 40 493 | 27 32
AKGK- 30 -12- 300G | M30x1.5 | G3/4"X14 40 53 27 32
AKGK- 33 -16- 330G | M33x1.5 G1"X11 49 53 33 41

- 107 -




S2
AKHK-OG
T A HIAMBELB0 * SN/ 2 IS
“ =) TR R B 5 S
\ JIS METRIC MALE 60 ° CONE/
\& ADJUSTABLE STUD BRANCHTEE
A A
=2 12 4; THREADE O} J =} DIMENSIONS
PART NO. E F 0-RING A B S1 S2
AKHK-14-12-140G | M14x1.5 | M12x1.5 9.3x2.4 27 33.5 14 17
AKHK-140G M14x1.5 | M14x1.5 11.3x2.4 27 34.5 14 19

AKHK-16-14-160G

M16x1.5 | M14x1.5

11.3x2.4 | 29 35.5 17 19

AKHK-18-14-180G

M18x1.5 | M14x1.5

11.3x2.4 | 32 37.5 19 19

AKHK-18-16-180G

M18x1.5 | M16x1.5

13.3x2.4 | 32 39.5 19 22

AKHK-18-20-180G

M18x1.5 | M20x1.5

17.3x2.4 | 33 44 22 27

AKHK-20-18-200G

M20x1.5 | M18x1.5

15.3x2.4 | 33 42.5 22 24

AKHK-22-20-220G | M22x1.5 | M20x1.5 17.3x2.4 | 33 45.5 22 27
AKHK-24-20-240G | M24x1.5 | M20x1.5 17.3x2.4 | 33 47 24 27
AKHK-24-22-240G | M24x1.5 | M22x1.5 19.3x2.4 | 33 47 24 27
AKHK-30-27-300G | M30x1.5 | M27x1.5 23.5x3 40 57 27 32

AKHK-330G M33x1.5 | M33x1.5 29.5x3 49 59 33 41

- 108 -




L

S

A)FA

1V

141 [ TR
%% /A RLLTA ° HETH
METRIC FEMALE 74 ° CONE SEAT

e #24(E THREADE ] =t DIMENSIONS

PART NO. E A S L

1V-14 M14X1.5 8 14 22

1V-16 M16X1.5 8.5 17 23

1V-18 M18X1.5 8.5 19 23

1V-22 M22X1.56 9 24 26

1V-27 M27X1.5 8.5 30 26

1V-30 M30X1.56 8 32 26

1V-36 M36X2 9 41 30

1V-39 M39X2 9 41 30

1V-45 M45x2 9 46 31

1V-52 M52X2 9 55 35

1V-64 M64X2 12 65 41

VT
PNHIAMRSTA * HETE SRR SMRAL
METRIC FEMALE 74 ° CONE SEAT/BSPT MALE

=t #24(E THREADE ] =t DIMENSIONS

PART NO. E F A B S L
1VT-14-04 M14X1.5 2G1/4"19 8 14 14 28
1VT-18-06 M18Xx1.5 7G3/8"19 8.5 14 19 28.5
1VT-22-08 M22X1.5 ZG1/2"14 9 19 24 36
1VT-30-12 M30x1.5 ZG3/4"14 8 19.5 32 37.5
1VT-39-16 M39X2 Z61"-11 9 24 41 45
1VT-45-20 M45x2 ZG1.1/4"11 9 25 46 47
1VT-52-24 M52x2 ZG1.1/2"11 9 25 55 51
1VT-64-32 M64Xx2 762" -11 12 29 65 58

- 109 -




IR 1S
| H m

2| H A B4 SMEL60 ° Sk
WWW
st/

JIS GAS MALE 60 ° CONE

= 12 4r THREADE R~} DIMENSIONS

PART NO. E A S1 L
1S-04 G1/4"X19 15 14 36
1S-06 G3/8"X19 16 17 38
1S-08 G1/2"X14 19 22 45
1S-12 G3/4"X14 23 30 55
1S-16 G1"X11 25 36 61
1S8-20 G1.1/4"X11 29 46 71
1S-24 G1.1/2"X11 30 50 77
1S8-32 (6G2"X11 35 70 88

L
- A
1 4S
S
H A AMEL60 ° ARk
JIS GAS MALE 60 ° CONE PLUG
S1

a2 124 THREADE R <} DIMENSIONS

PART NO. E A S1 L
4S-04 G1/4"X19 15 14 21
4S-06 G3/8"X19 16 17 22
4S-08 G1/2"X14 19 22 26
4S-12 G3/4"X14 23 30 32
4S-16 G1"X11 25 36 36
4S-20 G1.1/4"X11 29 46 42
4S-24 G1.1/2"X11 30 50 47
4S-32 G2"X11 35 70 53

- 110 -




T
\

]

H ARG I IRE60 ° A HESE Sk

9S

JIS GAS FEMALE 60 ° SEAT PLUG

e 1240 THREADE ] =} DIMENSIONS
PART NO. E C S1 S2
9S-04 G1/4"X19 8 17 19
9S-06 G3/8"X19 8.5 19 22
9S-08 G1/2"X14 10.5 22 27
9S-12 G3/4"X14 14 32 32
9S-16 G1"X11 14.5 36 41
9S-20 G1.1/4"X11 16 50 50
9S-24 G1.1/2"X11 18 55 55
9S8-32 G2"X11 24 70 70
X t
6S
JALT )

3 au AT AMRLELB0 * SMEREBRHE
% JIS GAS MALE 60 ° CONE BULKHEAD
s1/

= 122y THREADE ] =7 DIMENSIONS
PART NO. E A B 51 L
6S-04 G1/4"X19 15 32 19 53
6S-06 G3/8"X19 16 36 22 59
6S-08 G1/2"X14 19 40 27 68
6S-12 G3/4"X14 23 41 32 74
6S-16 G1"X11 25 45 41 82

i AN BREIT B, W E A 55 LN, 4168 -04LN;
Remark:In case if you are interested to order the adapter with lock nut,please

insert suffix"LN"after our part NO.,for example 6S-04LN.

- 111




§\ad2

ﬁo
=

1ST

HASEAEIMRL60 * SME/  SEHER SMERLL
JIS GAS MALE 60 * CONE/BSPT MALE

S1
feE 1241 THREADE J <} DIMENSIONS

PART NO. E F A B S1 L

1ST-04 G1/4"X19 R1/4"X19 15 14 17 35
18T-04-02 G1/4"X19 R1/8"X28 15 10 17 31
1ST-04-06 G1/4"X19 R3/8"X19 15 14 19 35
1ST-04-08 G1/4"X19 R1/2"X14 15 19 22 41

1ST-06 G3/8"X19 R3/8"X19 16 14 19 36
1ST-06-04 G3/8"X19 R1/4"X19 16 14 19 36
1ST-06-08 G3/8"X19 R1/2"X14 16 19 22 42

1ST-08 G1/2"X14 R1/2"X14 19 19 22 45
1ST-08-04 G1/2"X14 R1/4"X19 19 14 22 40
1ST-08-06 G1/2"X14 R3/8"X19 19 14 22 40
1ST-08-12 G1/2"X14 R3/4"X14 19 19.5 27 47.5

1ST-12 G3/4"X14 R3/4"X14 23 19.5 30 51.5
1ST-12-08 G3/4"X14 R1/2"X14 23 19 30 51
1ST-12-16 G3/4"X14 R1"X11 23 24 36 58

1ST-16 G1"X11 R1"X11 25 24 36 60
18T-16-12 G1"X11 R3/4"X14 25 19.5 36 55.5

1ST-20 G1.1/4"X11 | R1.1/4"X11 29 25 46 67

1ST-24 G1.1/2"X11 | R1.1/2"X11 30 25 50 68

1ST-32 G2"X11 R2"X11 35 29 70 81

- 112 -




15T4

45 ° HAIE SMRL60 °

HNEE SRS SMRL45
—] JIS GAS MALE 60 ° CONE/
A St BSPT MALE
g # 4 THREADE K~} DIMENSIONS
PART NO. E F A B S1
1ST4-04 G1/4"X19 R1/4"X19 22 22 14
1ST4-04-02 G1/4"X19 R1/8"X28 22 22 14
1ST4-04-06 G1/4"X19 R3/8"X19 22 22 17
1ST4-04-08 G1/4"X19 R1/2"X14 27 27 22
1ST4-06 G3/8"X19 R3/8"X19 22 22 17
1ST4-06-04 G3/8"X19 R1/4"X19 22 22 17
1ST4-06-08 G3/8"X19 R1/2"X14 27 27 22
1ST4-08 G1/2"X14 R1/2"X14 27 27 22
1ST4-08-06 G1/2"X14 R3/8"X19 27 27 22
1ST4-12 G3/4"X14 R3/4"X14 33 33 27
1ST4-12-08 G3/4"X14 R1/2"X14 33 33 27
1ST4-16 G1"X11 R1"X11 37 37 33
1ST4-16-12 G1"X11 R3/4"X14 37 37 33
1ST4-20 G1.1/4"X11 | R1.1/4"X11 40 40 44
1ST4-24 G1.1/2"X11 | R1.1/2"X11 47 47 53
1ST4-32 G2"X11 R2"X11 55 55 65

- 113 -




60 °

[aa]

< Y
]

J s

=oy

1ST9

90 * HAJATHMERL60 °
O SR SMIRE90 ©
JIS GAS MALE 60 * CONE/

A BSPT MALE
= 124r THREADE R =t DIMENSIONS
PART NO. E F A B S1
1ST9-04 G1/4"X19 R1/4"X19 29 27 14
1ST9-04-02 G1/4"X19 R1/8"X28 29 27 14
1ST9-04-06 G1/4"X19 R3/8"X19 29 30 17
1ST9-06 G3/8"X19 R3/8"X19 30 28 17
1ST9-06-04 G3/8"X19 R1/4"X19 30 28 17
18T9-06-08 G3/8"X19 R1/2"X14 37 37 22
18T9-08 G1/2"X14 R1/2"X14 37 37 22
1ST9-08-06 G1/2"X14 R3/8"X19 37 37 22
18T9-08-12 G1/2"X14 R3/4"X14 41 41 27
18T9-12 G3/4"X14 R3/4"X14 41 41 27
18T9-12-08 G3/4"X14 R1/2"X14 41 41 27
1ST9-12-16 G3/4"X14 R1"X11 49 49 33
1ST9-16 G1"X11 R1"X11 49 49 33
18T9-20 G1.1/4"X11 | R1.1/4"X11 57 57 44
1ST9-24 G1.1/2"X11 | R1.1/2"X11 57 57 48
18T9-32 G2"X11 R2"X11 66 63 65

- 114 -




§ : ]
A B
T ﬁ 1SN
19 | 8 FAR ST SMEAC60 ° ML/ T HEE SN
_ W % JIS GAS MALE 60 ° CONE/NPT MALE
-
S1
e # 4 THREADE ] =} DIMENSIONS

PART NO. E F A B S1 L

1SN-04 G1/4"X19 Z1/4"X18 15 14 17 35
1SN-04-02 G1/4"X19 21/8"X27 15 10 17 31
1SN-04-06 G1/4"X19 Z3/8"X18 15 14 19 35
1SN-04-08 G1/4"X19 Z1/12"X14 15 19 22 41

1SN-06 G3/8"X19 Z3/8"X18 16 14 19 36
1SN-06-04 G3/8"X19 Z1/4"X18 16 14 19 36
1SN-06-08 G3/8"X19 Z21/2"X14 16 19 22 42

1ST-08 G1/2"X14 Z1/2"X14 19 19 22 45
1SN-08-04 G1/2"X14 Z1/4"X18 19 14 22 40
1SN-08-06 G1/2"X14 Z3/8"X18 19 14 22 40
1SN-08-12 G1/2"X14 Z3/4"X14 19 19.5 27 47.5

1SN-12 G3/4"X14 Z3/4"X14 23 19.5 30 51.5
1SN-12-08 G3/4"X14 Z1/12"X14 23 19 30 51
1SN-12-16 G3/4"X14 Z1"X11.5 23 24 36 58

1SN-16 G1"X11 Z1"X11.5 25 24 36 60
1SN-16-12 G1"X11 Z3/4"X14 25 19.5 36 555

1SN-20 G1.1/4"X11 | Z1.1/4"X11.5 29 25 46 67

1SN-24 G1.1/2"X11 | 211/ 2"X11.5 30 25 50 68

1SN-32 G2"X11 Z2"X11.5 35 29 70 81

- 115 -




S1

1SN4

45 ° HASAEINEL60 °
HIHE /AR SMIRS45 ©
JIS GAS MALE 60 °

CONE/NPT MALE

e 1240 THREADE ] =7 DIMENSIONS
PART NO. E F A B S1
1SN4-04 G1/4"X19 Z1/4"X19 22 22 14

1SN4-04-02 G1/4"X19 Z1/8"X27 22 22 14
1SN4-04-06 G1/4"X19 Z3/8"X18 22 22 17
1SN4-04-08 G1/4"X19 Z1/2"X14 27 27 22
1SN4-06 G3/8"X19 Z3/8"X18 22 22 17
1SN4-06-04 G3/8"X19 Z1/4"X19 22 22 17
1SN4-06-08 G3/8"X19 Z21/2"X14 27 27 22
1SN4-08 G1/2"X14 Z1/2"X14 27 27 22
1SN4-08-06 G1/2"X14 Z3/8"X18 27 27 22
1SN4-12 G3/4"X14 Z3/4"X14 33 33 27
1SN4-12-08 G3/4"X14 Z1/2"X14 33 33 27
1SN4-16 G1"X11 Z1"X11.5 37 37 33
1SN4-16-12 G1"X11 Z3/4"X14 37 37 33
1SN4-20 G1.1/4"X11 | Z1.1/4"X11.5 40 40 44
1SN4-24 G1.1/2"X11 | Z1.1/2"X11.5 47 47 53
1SN4-32 G2"X11 Z2"X11.5 55 55 65

- 116 -




60 °

[aa]

< Y
]

J s

1SN9

90 ° H AT SMELL60 °
HIME/ AT HEE SMRZ90 ©
JIS GAS MALE 60 °

CONE/NPT MALE

o 1240 THREADE R =t DIMENSIONS
PART NO. E F A B S1
1SN9-04 G1/4"X19 Z1/4"X18 29 27 14

1SN9-04-02 | G1/4"X19 Z1/8"X27 29 27 14
1SN9-04-06 | G1/4"X19 Z3/8"X18 29 30 17
1SN9-06 G3/8"X19 Z3/8"X18 30 28 17
1SN9-06-04 | G3/8"'X19 Z1/4"X18 30 28 17
1SN9-06-08 | G3/8"'X19 Z1/2"X14 37 37 22
1SN9-08 G1/2"'X14 Z1/2"X14 37 37 22
1SN9-08-06 | G1/2"'X14 Z3/8"X18 37 37 22
1SN9-08-12 | G1/2'X14 Z3/4"X14 41 41 27
1SN9-12 G3/4"X14 Z3/4"X14 41 41 27
1SN9-12-08 | G3/4"X14 Z1/2"X14 41 41 27
1SN9-12-16 | G3/4"X14 | Z1"X11.5 49 49 33
1SN9-16 G1"X11 Z1"X11.5 49 49 33
1SN9-20 G1.1/4"X11 | Z1.114"X11.5 57 57 44
1SN9-24 G1.1/2"X11 | Z1.1/2"'X11.5 57 57 48
1SN9-32 62" X11 Z2"X11.5 66 63 65

- 117 -




—

0

|

SR
s/

HASE SMRLI60 © ShiE/
K IMRLOR
JIS GAS MALE 60 ° CONE/
BSP MALE O-RING

185G

= 124 THREADE ] = DIMENSIONS
PART NO. E F A B S1 L
1SG-04 G1/4"X19 G1/4"X19 15 12 19 33
1SG-06 G3/8"X19 G3/8"X19 16 13.5 22 37
1SG-08 G1/2"X14 G1/2"X14 19 16 27 44
1SG-12 G3/4"X14 G3/4"X14 23 18.5 32 51.5
1SG-16 G1"X11 G1"X11 25 20.5 41 57.5
1SG-20 G1.1/4"X11 | G1.1/4"X11 29 20.5 50 66.5
1SG-24 G1.1/2"X11 | G1.1/2"X11 30 23 55 70
1SG-32 G2"X11 G2"X11 35 25.5 70 78.5
F
& 15G9-0G
.
: 90 ° H AT HNZRL60 ° i/
2% ‘ SEEANBEI60 * OB ] A T R
W :ﬁ' | g{/ 90 * JIS GAS MALE 60 ° CONE/
— BSP MALE 0-RING ADJUSTABLE STUD
A S1
= 124 THREADE R =} DIMENSIONS
PART NO. E F A B S1 S2
1SG9-040G G1/4"X19 G1/4"X19 29 31.3 14 19
1SG9-060G G3/8"X19 G3/8"X19 30 35.8 17 22
1SG9-080G G1/2"X14 G1/2"X14 37 43.2 22 27
1SG9-120G G3/4"X14 G3/4"X14 41 49.3 27 32
1SG9-160G G1"X11 G1"X11 49 53 33 41
1SG9-200G G1.1/4"X11 | G1.1/4"X11 57 59 44 50
1SG9-240G G1.1/2"X11 | G1.1/2"X11 57 65 48 55

- 118 -




.

N
&
NS

AS

" ! H A 3045 SR A60 ° AMiE =l
: «W/ JIS GAS FEMALE 60 ° SEAT TEE
A \st A

foE #24 THREADE R <} DIMENSIONS
PART NO. E F A S1

AS-04 G1/4"X19 | G1/4"'X19 27 14

AS-06 G3/8"X19 | G3/8'X19 29 17

AS-08 G1/2'X14 | G1/2'X14 33 22

AS-12 G3/4"X14 | G3/4"X14 40 27

AS-16 G1"X11 G1"X11 49 33

X\ 60" /
- F -~ S2
= BS
H A4 HMERE60 ° ShE/
" 3 H A48 N IR S60 N HE 4> 3 =18
g JIS GAS MALE 60 ° CONE/
\ JIS GAS FEMALE 60 ° SEAT BRANCH TEE
A \st

= 24 THREADE R <} DIMENSIONS

PART NO. E F A c S1 s2
BS-04 G1/4"X19 | G1/4"'X19 27 8 14 19
BS-06 G3/8"X19 | G3/8"X19 29 | 85 | 17 | 22
BS-08 G1/2'X14 | G1/2'X14 33 | 105 | 22 | 27
BS-12 G3/4"X14 | G3/4"X14 40 | 14 27 | 32
BS-16 G1"X11 G1"X11 49 | 145 | 33 | 41

- 119 -




v

%

D P

T8

CS

H A4S SMRL60 ° S/
H AR NIRE60 ° P4 3230 =3

N ﬂabj,{ JIS GAS MALE 60 ° CONE/
L JIS GAS FEMALE 60 ° SEAT RUN TEE
A S1 s2
) % THREADE R~ DIMENSIONS
PART NO. E F A c S1 2
CS-04 G1/4"X19 | G1/4"X19 27 8 14 19
CS-06 G3/8'X19 | G3/8"X19 29 | 85 | 17 22
CS-08 G1/2'X14 | G1/2"X14 33 |105 | 22 27
CS-12 G3/4"X14 | G3/4"X14 40 14 27 32
CS-16 61X T~G1"X11 49 |145 | 33 41
\ 60 /
| F -]
E DS
< 1] <
I 1 —he iy ° —
o J ) H AR Je4s IR 460 ° A HE =l
L : : L o JIS GAS FEMALE 60 ° SEAT TEE
H—1—8)
s2 \st s2

) 1% THREADE R I DIMENSIONS
PART NO. E F c S1 S2
DS-04 G1/4"X19 | G1/4"X19 8 14 19
DS-06 G3/8'X19 | G3/8"X19 8.5 | 17 22
DS-08 G1/2'%X14 | G1/2'X14 105 | 22 | 27
DS-12 G3/4"X14 | G3/4"X14 14 27 | 32
DS-16 61"X11 G1"X11 145 | 33 | 41

- 120 -




S2

\

. E—

=

ASGS-0G

AR S 060 * AP S 1
RO TR )2 =1 U
GAS MALE 60 ° CONE/BSP MALE
0-RING ADJUSTABLE STUD BRANCH TEE

A \st A
o i 4 THREADE J =} DIMENSIONS
PART NO. E F A B S1 S2
ASGS-040G G1/4"X19 | G1/4"X19 27 | 313 | 14 19
ASGS-060G G3/8"X19 | G3/8"X19 29 | 358 | 17 22
ASGS-080G G1/2'X14 | G1/2'X14 33 | 432 | 22 27
ASGS-120G G3/4"X14 | G3/4"X14 40 | 493 | 27 32
ASGS-160G G1"X11 G1"X11 49 | 545 | 33 41
ASGS-2006G G1.1/4"X11 | G1.1/4"X11 57 59 44 50
E
71 ASSG-0G
S2
<C j .
H AR i SMBE60 © AN 3248 4
w YR EC Ol W] YA ) ek i 2 S =3 JIS
\ lbqh GAS MALE 60 ° CONE/BSP MALE
A E - 0-RING ADJUSTABLE STUD END RUN TEE

e 1240 THREADE J <} DIMENSIONS
PART NO. E F A B S1 S2
ASSG-040G | G1/4"X19 G1/4"X19 27 31 14 19
ASSG-060G | G3/8"X19 G3/8"X19 29 | 355 | 17 22
ASSG-080G | G1/2'X14 G1/2"X14 33 | 435 | 22 27
ASSG-120G | G3/4"X14 G3/4"X14 40 | 495 | 27 32
ASSG-160G G1"X11 G1"X11 49 | 545 | 33 41
ASSG-200G | G1.1/4"X11 | G1.1/4"X11 57 59 44 50

- 121




60 °

1B

SR HMRB60 ° MHE B
7N U T 4 5 2
BSP MALE DOUBLE FOR

60 * SEAT BONDED SEAL

= 1241 THREADE JX <} DIMENSIONS
PART NO. E F A B S1 L
1B-02 G1/8"X28 G1/8"X28 10 10 14 26
1B-02-04 G1/8"X28 G1/4"X19 10 12 19 28
1B-02-06 G1/8"X28 G3/8"X19 10 13.5 22 31.5
1B-02-08 G1/8"X28 G1/2"X14 10 16 27 34
1B-04 G1/4"X19 G1/4"X19 12 12 19 30
1B-04-06 G1/4"X19 G3/8"X19 12 13.5 22 33
1B-04-08 G1/4"X19 G1/2"X14 12 16 27 36
1B-04-10 G1/4"X19 G5/8"X14 12 17.5 30 38.5
1B-06 G3/8"X19 G3/8"X19 135 | 13.5 22 35
1B-06-08 G3/8"X19 G1/2"X14 13.5 16 27 37.5
1B-06-10 G3/8"X19 G5/8"X14 135 | 17.5 30 40
1B-06-12 G3/8"X19 G3/4"X14 13.5 | 18.5 32 42
1B-08 G1/2"X14 G1/2"X14 16 16 27 40
1B-08-10 G1/2"X14 G5/8"X14 16 17.5 30 425
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 32 44
1B-10 G5/8"X14 G5/8"X14 175 | 175 30 44
1B-10-12 G5/8"X14 G3/4"X14 175 | 18.5 32 46
1B-10-16 G5/8"X14 G1"X11 17.5 | 20.5 41 50
1B-12 G3/4"X14 G3/4"X14 18,5 | 18.5 32 47
1B-12-16 G3/4"X14 G1"X11 18,5 | 20.5 41 49
1B-12-20 G3/4"X14 | G1.1/4"X11 18,5 | 20.5 50 56
1B-16 G1"X11 G1"X11 205 | 205 41 53
1B-16-20 G1"X11 G1.1/4"X11 20.5 | 20.5 50 57
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 55 60
1B-20 G1.1/4"X11 | G1.1/4"X11 20.5 | 20.5 50 58
1B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 23 55 61
1B-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63
1B-24-32 G1.1/2"X11 G2"X11 23 25.5 70 66
1B-32 G2"X11 G2"X11 255 | 255 70 69

- 122 -




/\Q

1B4

g " 45 * JLAFHMBLIBO * Pyt
] 45 ° BSP MALE 60 ° SEAT
= $1
= 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1B4-02-04 G1/8"X28 G1/4"X19 22 22 14
1B4-04 G1/4"X19 G1/4"X19 22 22 14
1B4-04-06 G1/4"X19 G3/8"X19 22 22 17
1B4-06 G3/8"X19 G3/8"X19 22 22 17
1B4-06-08 G3/8"X19 G1/2"X14 27 27 22
1B4-08 G1/2"X14 G1/2"X14 27 27 22
1B4-08-12 G1/2"X14 G3/4"X14 33 33 27
1B4-10 G5/8"X14 G5/8"X14 27 27 22
1B4-10-12 G5/8"X14 G3/4"X14 33 33 27
1B4-12 G3/4"X14 G3/4"X14 33 33 27
1B4-12-16 G3/4"X14 G1"X11 37 37 33
1B4-16 G1"X11 G1"X11 37 37 33
1B4-16-20 G1"X11 G1.1/4"X11 40 40 44
1B4-20 G1.1/4"X11 | G1.1/4"X11 40 40 44
1B4-20-24 G1.1/4"X11 | G1.1/2"X11 47 47 53
1B4-24 G1.1/2"X11 | G1.1/2"X11 47 47 53
1B4-32 G2"X11 G2"X11 55 55 65

- 123 -




60
~—E

1B9

90 ° JLATHMNRLB0 °
_){/ 90 ° BSP MALE 60 * SEAT
A $1
= 124 THREADE J <} DIMENSIONS
PART NO. E F A B S1
1B9-02-04 G1/8"X28 G1/4"X19 27 29 14
1B9-04 G1/4"X19 G1/4"X19 29 27 14
1B9-04-06 G1/4"X19 G3/8"X19 28 30 17
1B9-06 G3/8"X19 G3/8"X19 30 28 17
1B9-06-08 G3/8"X19 G1/2"X14 37 37 22
1B9-08 G1/2"X14 G1/2"X14 37 37 22
1B9-08-12 G1/2"X14 G3/4"X14 41 41 27
1B9-10 G5/8"X14 G5/8"X14 37 37 22
1B9-10-12 G5/8"X14 G3/4"X14 41 41 27
1B9-12 G3/4"X14 G3/4"X14 41 41 27
1B9-12-16 G3/4"X14 G1"X11 49 49 33
1B9-16 G1"X11 G1"X11 49 49 33
1B9-16-20 G1"X11 G1.1/4"X11 57 57 44
1B9-20 G1.1/4"X11 | G1.1/4"X11 57 57 44
1B9-20-24 G1.1/4"X11 | G1.1/2"X11 57 57 48
1B9-24 G1.1/2"X11 | G1.1/2"X11 57 57 48
1B9-32 G2"X11 G2"X11 66 63 65

- 124 -




—

S2

—|

2B

SR HMRL60 ° NHESN A AL
B SAT N RL60 ° S
BSP MALE DOUBLE FOR 60 * SEAT
BONDED SEAL /BSP FEMALE 60 ° CONE

o #24; THREADE R~} DIMENSIONS
PART NO. E F A C S1 S2
2B-02 G1/8'X28 | G1/8"X28 10 | 55 | 14 14
2B-02-04 G1/8'X28 | G1/4"X19 10 | 55 | 14 19
2B-04 G1/4'X19 | G1/4"X19 12 | 55 | 19 19
2B-04-06 G1/4'X19 | G3/8"'X19 12 | 6.5 | 19 22
2B-04-08 G1/4"X19 | G1/2'X14 12 8 19 27
2B-06 G3/8'X19 | G3/8"X19 135 | 6.5 | 22 | 22
2B-06-08 G3/8'X19 | G1/2'X14 135 | 8 22 | 27
2B-06-10 G3/8'X19 | G5/8'X14 135 | 105 | 22 30
2B-08 G1/2'X14 | G1/2'X14 16 8 27 | 27
2B-08-06 G1/2'X14 | G3/8"X19 16 | 6.5 | 27 | 27
2B-10 G5/8'X14 | G5/8'X14 175 | 10.5 | 30 30
2B-10-08 G5/8'X14 | G1/2'X14 175 | 8 30 | 27
2B-10-12 G5/8'X14 | G3/4"X14 175 | 115 | 30 32
2B-12 G3/4"X14 | G3/4"X14 185 | 11.5 | 32 32
2B-12-10 G3/4'X14 | G5/8"X14 185 | 105 | 32 30
2B-12-16 G3/4"X14 G1"X11 185 | 115 | 32 | 41
2B-16 G1"X11 G1"X11 205 | 115 | 41 41
2B-16-12 G1"X11 G3/4"X14 205 | 115 | 41 32
2B-16-20 G1"X11 | G1.1/4"X11 205 | 12 41 50
2B-20 G1.1/4"X11 | G1.1/4"X11 205 | 12 50 50
2B-20-16 | G1.1/4"X11 | G1"X11 205 | 115 | 50 | 41
2B-20-24 | G1.1/4"X11 | G1.1/2"X11 205 | 13 50 55
2B-24 G1.1/2"X11 | G1.1/2"X11 23 13 55 55
2B-32 G2"X11 G2"X11 255 | 16 70 70

- 125 -




2B4

45 ° JEATHMRE60 © P/

SE NIREL60 © S1fE45 ©

BSP MALE 60 ° SEAT/ BSP
FEMALE 60 * CONE

) 124, THREADE . ~F DIMENSIONS
PART NO. E F A C S1 S2
2B4-04 G1/4"X19 | G1/4"X19 22 | 55 | 14 | 19

2B4-04-06 | G1/4'X19 | G3/8"X19 22 | 65 | 17 | 22
2B4-06 G3/8'X19 | G3/8"'X19 22 | 65 | 17 | 22
2B4-06-04 | G3/8'X19 | G1/4"X19 22 | 55 | 17 | 19
2B4-08 G1/2'X14 | G1/2'X14 27 8 22 | 27
2B4-08-06 | G1/2'X14 | G3/8'X19 27 | 65 | 22 | 22
2B4-10 G5/8'X14 | G5/8'X14 27 | 105 | 22 | 30
2B4-10-08 | G5/8'X14 | G1/2'X14 27 8 22 | 27
2B4-12 G3/4"X14 | G3/4"X14 33 | 115 | 27 | 32
2B4-16 61"X11 G1"X11 37 | 115 | 33 | 41
2B4-20 G1.1/4"X11 | G1.1/4"X11 4 | 12 | 44 | s0
2B4-24 G1.1/2X11 | G1.1/2"X11 47 | 13 | 53 | 55
2B4-32 62"X11 62"X11 55 | 16 | 65 | 70

- 126 -




Lo
)

2B9

° 90 ° A HMRLL60 © N HE/
s SEAFPIREG0 * SME0
— BSP MALE 60 * SEAT/ BSP
R s1 FEMALE 60 * CONE
= 12 4; THREADE J = DIMENSIONS
PART NO. E F A C S1 S2
2B9-02 G1/8"X28 G1/8"X28 23 5.5 11 14
2B9-04 G1/4"X19 G1/4"X19 29 5.5 14 19
2B9-04-06 G1/4"X19 G3/8"X19 30 6.5 17 22
2B9-06 G3/8"X19 G3/8"X19 30 6.5 17 22
2B9-06-04 G3/8"X19 G1/4"X19 30 5.5 17 19
2B9-08 G1/2"X14 G1/2"X14 37 8 22 27
2B9-08-06 G1/2"X14 G3/8"X19 37 6.5 22 22
2B9-10 G5/8"X14 G5/8"X14 37 10.5 22 30
2B9-10-08 G5/8"X14 G1/2"X14 37 8 22 27
2B9-12 G3/4"X14 G3/4"X14 41 11.5 27 32
2B9-16 G1"X11 G1"X11 49 11.5 33 41
2B9-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50
2B9-24 G1.1/2"X11 | G1.1/2"X11 57 13 48 55
2B9-32 G2"X11 G2"X11 66 16 65 70

- 127 -




i i 3B
<3

S IRS60 ° S

BSP FEMALE 60 ° CONE

LA _C.|
= 1240 THREADE JR =t DIMENSIONS
PART NO. E F A C S1 S2
3B-02 G1/8"X28 G1/8"X28 5.5 5.5 14 14
3B-02-04 G1/8"X28 G1/4"X19 5.5 5.5 14 19
3B-04 G1/4"X19 G1/4"X19 5.5 5.5 19 19
3B-04-06 G1/4"X19 G3/8"X19 5.5 6.5 19 22
3B-04-08 G1/4"X19 G1/2"X14 5.5 8 19 27
3B-06 G3/8"X19 G3/8"X19 6.5 6.5 22 22
3B-06-08 G3/8"X19 G1/2"X14 6.5 8 22 27
3B-08 G1/2"X14 G1/2"X14 8 8 27 27
3B-08-10 G1/2"X14 G5/8"X14 8 10.5 27 30
3B-08-12 G1/2"X14 G3/4"X14 8 11.5 27 32
3B-10 G5/8"X14 G5/8"X14 10.5 | 10.5 30 30
3B-10-12 G5/8"X14 G3/4"X14 105 | 11.5 30 32
3B-12 G3/4"X14 G3/4"X14 115 | 11.5 32 32
3B-12-16 G3/4"X14 G1"X11 115 | 11.5 32 41
3B-16 G1"X11 G1"X11 115 | 11.5 41 41
3B-16-20 G1"X11 G1.1/4"X11 11.5 12 41 50
3B-20 G1.1/4"X11 | G1.1/4"X11 12 12 50 50
3B-24 G1.1/2"X11 | G1.1/2"X11 13 13 55 55
3B-32 G2"X11 G2"X11 16 16 70 70

- 128 -




N o

3«/\

ARsk

S1

3B4

45 ° JRENIRL60 ° Ak
45°BSP FEMALE 60 ° CONE

feE 124 THREADE JX =} DIMENSIONS
PART NO. E C | s1 | s2
3B4-02 G1/8"X28 55 11 14
3B4-04 G1/4"X19 5.5 11 19
3B4-06 G3/8"X19 6.5 17 22
3B4-08 G1/2"X14 8 19 27
3B4-10 G5/8"X14 10.5 22 30
3B4-12 G3/4"X14 11.5 27 32
3B4-16 G1"X11 11.5 33 41
3B4-20 G1.1/4"X11 12 44 50
3B4-24 G1.1/2"X11 13 50 55
3B4-32 G2"X11 F 16 65 70
e 1
= T
< 3B9
1
. 90 ° B NIRLL60 ° A
3 90 ° BSP FEMALE 60 ° CONE
S1
=2 124 THREADE ] =} DIMENSIONS

PART NO. E C S1 S2
3B9-02 G1/8"X28 5.5 1 14
3B9-04 G1/4"X19 5.5 1 19
3B9-06 G3/8"X19 6.5 17 22
3B9-08 G1/2"X14 8 19 27
3B9-10 G5/8"X14 10.5 22 30
3B9-12 G3/4"X14 11.5 27 32
3B9-16 G1"X11 11.5 33 41
3B9-20 G1.1/4"X11 12 44 50
3B9-24 G1.1/2"X11 13 50 55
3B9-32 G2"X11 16 65 70

- 129 -




S1

4B

SR HMRZI60 ° NHESN A
S T FH A1 5 B Bk

BSP MALE DOUBLE FOR 60 °

SEAT OR BONDED SEAL PLUG

LB 1240 THREADE J 5} DIMENSIONS
PART NO. E A S1 L
4B-02 G1/8"X28 10 14 16
4B-04 G1/4"X19 12 19 18
4B-06 G3/8"X19 13.5 22 21
4B-08 G1/2"X14 16 27 24
4B-10 G5/8"X14 17.5 30 27
4B-12 G3/4"X14 18.5 32 28
4B-16 G1"X11 205 | 41 32
4B-20 G1.1/4"X11 20.5 50 37
4B-24 G1.1/2"X11 23 55 40
4B-32 G2"X11 255 70 43
S1
{ 9B
é Y NIEL60 ° MRk

)

BSP FEMALE 60 ° CONE PLUG

|G
o2 124 THREADE R~} DIMENSIONS
PART NO. E C 51
9B-04 G1/4"X19 5.5 17
9B-06 G3/8"X19 6 22
9B-08 G1/2"X14 7 27
9B-10 G5/8"X14 8.5 27
9B-12 G3/4"X14 9 32
9B-16 G1"X11 11 38
9B-20 G1.1/4"X11 11 50
9B-24 G1.1/2"X11 12 55
9B-32 G2"X11 15 70

- 130 -




Sy — 6B

g | YO SMIBEB0 ° P HE Ik
% iz BSP MALE 60 ° SEAT BULKHEAD
S1
= 124 THREADE K. =} DIMENSIONS
PART NO. E A B S1 L
6B-02 G1/8"X28 10 33 14 49
6B-04 G1/4"X19 12 35 19 53
6B-06 G3/8"X19 13.5 35 22 56
6B-08 G1/2"X14 16 39 27 63
6B-10 G5/8"X14 17.5 40 30 67.5
6B-12 G3/4"X14 18.5 42 32 70
6B-16 G1"X11 20.5 50 41 83
6B-20 G1.1/4"X11 20.5 52 50 89.5
6B-24 G1.1/2"X11 23 55 55 95
6B-32 G2"X11 25.5 55 70 98.5

F L NGB 52, M TEAC S R IN"LN", 416B-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6B-12LN.

. 6B9

ﬁ ’ 90 ° HATHMBLE0 ° kit B S
° __XU 90 ° BSP MALE 60 ° SEAT BULKHEAD
A $1

e 12 4r THREADE X 5} DIMENSIONS

PART NO. E A B S1

6B9-04 G1/4"X19 29 51 14

6B9-06 G3/8"X19 30 53.5 17

6B9-08 G1/2"X14 37 58.5 22

6B9-12 G3/4"X14 41 64 27

6B9-16 G1"X11 49 71 33

FE AR B RE T BT, WIS TE A S R I LN, A6 B9-12LN;
Remark:In case if you are interested to order the adapter with lock nut,please
insert suffix"LN"after our part NO.,for example 6B9-12LN.

- 131 -




S1

8B

S IRAU B
BSP LOCK NUT

A |
=2 1240 THREADE JR =t DIMENSIONS
PART NO. E A 51
8B-02 G1/8"X28 5.5 14
8B-04 G1/4"X19 6.5 19
8B-06 G3/8"X19 7 22
8B-08 G1/2"X14 9 27
8B-10 G5/8"X14 9 30
8B-12 G3/4"X14 10.5 32
8B-16 G1"X11 10.5 41
8B-20 G1.1/4"X11 10.5 50
8B-24 G1.1/2"X11 10.5 55
8B-32 G2"X11 10.5 70

- 132 -




o

s
51 E

1BT

S HMERL60 ° PHERS A i T

21 AR B S MRS
BSP MALE DOUBLE FOR 60 ° SEAT
BONDED SEAL/BSPT MALE

= 1241 THREADE J <1 DIMENSIONS
PART NO. E F A B S1 L
1BT-02 G1/8"X28 R1/8"X28 10 10 14 26
1BT-02-04 G1/8"X28 R1/4"X19 10 14 14 30
1BT-04 G1/4"X19 R1/4"X19 12 14 19 32
1BT-04-02 G1/4"X19 R1/8"X28 12 10 19 28
1BT-04-06 G1/4"X19 R3/8"X19 12 14 19 32
1BT-06 G3/8"X19 R3/8"X19 13.5 14 22 35
1BT-06-04 G3/8"X19 R1/4"X19 13.5 14 22 35
1BT-06-08 G3/8"X19 R1/2"X14 13.5 19 22 41
1BT-08 G1/2"X14 R1/2"X14 16 19 27 45
1BT-08-06 G1/2"X14 R3/8"X19 16 14 27 40
1BT-08-12 G1/2"X14 R3/4"X14 16 19.5 27 45
1BT-10-08 G5/8"X14 R1/2"X14 17.5 19 30 45
1BT-10-12 G5/8"X14 R3/4"X14 175 | 19.5 30 47
1BT-12 G3/4"X14 R3/4"X14 18.5 | 19.5 32 48
1BT-12-08 G3/4"X14 R1/2"X14 18.5 19 32 47
1BT-12-16 G3/4"X14 R1"X11 18.5 24 36 53
1BT-16 G1"X11 R1"X11 20.5 24 41 58
1BT-16-12 G1"X11 R3/4"X14 205 | 19.5 41 53
1BT-16-20 G1"X11 R1.1/4"X11 20.5 25 46 59
1BT-20 G1.1/4"X11 | R1.1/4"X11 20.5 25 50 62
1BT-20-16 G1.1/4"X11 R1"X11 20.5 24 50 61
1BT-20-24 G1.1/4"X11 | R1.1/2"X11 20.5 25 50 62
1BT-24 G1.1/2"X11 | R1.1/2"X11 23 25 55 65
1BT-24-16 G1.1/2"X11 R1"X11 23 24 55 61
1BT-24-20 G1.1/2"X11 | R1.1/4"X11 23 25 55 65
1BT-24-32 G1.1/2"X11 R2"X11 23 29 65 69
1BT-32 G2"X11 R2"X11 255 29 70 72
1BT-32-24 G2"X11 R1.1/2"X11 255 25 70 68

- 133 -




1BT4

45 ° SR HMRA60 ° HES SEAHER ML
45° BSP MALE 60 ° SEAT /BSPT MALE

\st

A
e 124r THREADE JU ) DIMENSIONS
PART NO. E F A B S1
1BT4-02 G1/8"X28 | R1/8"X28 17 17 11
1BT4-04 G1/4"X19 | R1/4"X19 22 22 14
1BT4-04-06 G1/4"'X19 | R3/8"X19 22 22 17
1BT4-06 G3/8"'X19 | R3/8"X19 22 22 17
1BT4-06-04 | G3/8'X19 | R1/4"X19 22 22 17
1BT4-06-08 | G3/8'X19 | R1/2"'X14 27 27 22
1BT4-06-12 | G3/8'X19 | R3/4"X14 33 33 27
1BT4-08 G1/2'X14 | R1/2"X14 27 27 22
1BT4-08-06 | G1/2'X14 | R3/8"X19 27 27 22
1BT4-08-12 | G1/2'X14 | R3/4"X14 33 33 27
1BT4-10-08 | G5/8'X14 | R1/2'X14 27 27 22
1BT4-10-12 | G5/8'X14 | R3/4"X14 33 33 27
1BT4-12 G3/4"X14 | R3/4"X14 33 33 27
1BT4-12-08 | G3/4"X14 | R1/2"X14 33 33 27
1BT4-12-16 G3/4"X14 R1"X11 37 37 33
1BT4-16 G1"X11 R1"X11 37 37 33
1BT4-16-12 61"X11 R3/4"X14 37 37 33
1BT4-16-20 G1"X11 R1.1/4"X11 40 40 44
1BT4-20 G1.1/4"X11 | R1.1/4"X11 40 40 44
1BT4-20-16 | G1.1/4"X11 R1"X11 40 40 44
1BT4-20-24 | G1.1/4"X11 | R1.1/2"X11 47 47 52
1BT4-24 G1.1/2"X11 | R1.1/2"X11 47 47 52
1BT4-24-20 | G1.1/2"X11 | R1.1/4"X11 47 47 52
1BT4-24-32 | G1.1/2"X11 R2"X11 55 55 65
1BT4-32 62"X11 R2"X11 55 55 65
1BT4-32-24 62"X11 R1.1/2"X11 55 55 65

- 134 -




-

N
% ) 1BT9

NS

ﬁ 00 ° HFSMBL60 © P/ K SNBLL

& 3@ 90 ° BSP MALE 60 ° SEAT /BSPT MALE
A S1
e i24r THREADE S ) DIMENSIONS
PART NO. E F A B S1
1BT9-02 G1/8'X28 | R1/8"X28 25 25 11
1BT9-02-04 | G1/8'X28 | R1/4"X19 27 29 14
1BT9-04 G1/4"X19 | R1/4"X19 29 27 14
1BT9-04-02 | G1/4"X19 | R1/8"X28 29 27 14
1BT9-04-06 | G1/4'X19 | R3/8"X19 29 30 17
1BT9-06 G3/8'X19 | R3/8"X19 30 29 17
1BT9-06-04 | G3/8'X19 | R1/4"X19 30 29 17
1BT9-06-08 | G3/8'X19 | R1/2'X14 37 37 22
1BT9-08 G1/2'X14 | R1/2"X14 37 37 22
1BT9-08-06 | G1/2'X14 | R3/8"X19 37 37 22
1BT9-08-12 | G1/2'X14 | R3/4"X14 41 41 27
1BT9-10-08 | G5/8'X14 | R1/2"'X14 41 41 27
1BT9-10-12 | G5/8'X14 | R3/4"X14 41 41 27
1BT9-12 G3/4"X14 | R3/4"X14 41 41 27
1BT9-12-08 | G3/4"X14 | R1/2'X14 41 41 27
1BT9-12-16 | G3/4'X14 R1"X11 49 49 33
1BT9-16 G1"X11 R1"X11 49 49 33
1BT9-16-12 G1"X11 R3/4"X14 49 49 33
1BT9-16-20 G1"X11 | R1.1/4"X11 57 57 44
1BT9-20 G1.1/4"X11 | R1.1/4"X11 57 57 44
1BT9-20-16 | G1.1/4"X11 R1"X11 57 57 44
1BT9-20-24 | G1.1/4"X11 | R1.1/2"X11 57 57 48
1BT9-24 G1.1/2"X11 | R1.1/2"X11 57 57 48
1BT9-24-20 | G1.1/2"X11 | R1.1/4"X11 57 57 48
1BT9-24-32 | G1.1/2"X11 R2"X11 66 66 65
1BT9-32 G2"X11 R2"X11 66 66 65
1BT9-32-24 G2"X11 | R1.1/2"X11 66 66 65

- 135 -




o

7 7
9,

1BN

S SMERS60 ° PHES A B

By BV B AT HERE SMREL
BSP MALE DOUBLE FOR 60 ° SEAT
BONDED SEAL/NPT MALE

= 1241 THREADE J <1 DIMENSIONS
PART NO. E F A B S1 L
1BN-02 G1/8"X28 Z21/8"X27 10 10 14 26
1BN-02-04 G1/8"X28 Z1/4"X18 10 14 14 30
1BN-04 G1/4"X19 Z1/4"X18 12 14 19 32
1BN-04-02 G1/4"X19 Z1/8"X27 12 10 19 28
1BN-04-06 G1/4"X19 Z3/8"X18 12 14 19 32
1BN-06 G3/8"X19 Z3/8"X18 13.5 14 22 35
1BN-06-04 G3/8"X19 Z1/4"X18 13.5 14 22 35
1BN-06-08 G3/8"X19 Z1/2"X14 13.5 19 22 41
1BN-08 G1/2"X14 Z1/2"X14 16 19 27 45
1BN-08-06 G1/2"X14 Z3/8"X18 16 14 27 40
1BN-08-12 G1/2"X14 Z3/4"X14 16 19.5 27 45
1BN-10-08 G5/8"X14 Z21/2"X14 17.5 19 30 45
1BN-10-12 G5/8"X14 Z3/4"X14 175 | 19.5 30 47
1BN-12 G3/4"X14 Z3/4"X14 18.5 | 19.5 32 48
1BN-12-08 G3/4"X14 Z1/2"X14 18.5 19 32 47
1BN-12-16 G3/4"X14 Z1"X11.5 18.5 24 36 53
1BN-16 G1"X11 Z1"X11.5 20.5 24 41 58
1BN-16-12 G1"X11 Z3/4"X14 205 | 19.5 41 53
1BN-16-20 G1"X11 Z1.1/4X11.5 20.5 25 46 59
1BN-20 G1.1/4"X11 [ Z1.1/4"X11.5 20.5 25 50 62
1BN-20-16 G1.1/4"X11 | Z1"X11.5 20.5 24 50 61
1BN-20-24 G1.1/4"X11 | Z1.1/2"X11.5 20.5 25 50 62
1BN-24 G1.1/2"X11 [ Z1.1/2"X11.5 23 25 55 65
1BN-24-20 G1.1/2"X11 | Z1.1/4"X11.5 23 25 55 65
1BN-24-32 G1.1/2"X11 | Z2"X11.5 23 29 65 69
1BN-32 G2"X11 Z2"X11.5 25.5 29 70 72
1BN-32-24 G2"X11 Z1.1/2"X11.5 255 25 70 68

- 136 -




1BN4

45 ° SR SMRA60 T N HE/ ATHER SMERLL
45 ° BSP MALE 60 ° SEAT /NPT MALE

60
- E .

A \ S1

o 124 THREADE ] =7 DIMENSIONS
PART NO. E F A B S1
1BN4-04 G1/4"X19 Z1/4"X18 22 22 14

1BN4-04-02 G1/4"X19 Z1/8"X27 22 22 14
1BN4-06 G3/8"X19 Z3/8"X18 22 22 17
1BN4-06-04 G3/8"X19 Z1/4"X18 22 22 17
1BN4-06-08 G3/8"X19 Z1/2"X14 27 27 22
1BN4-06-12 G3/8"X19 Z3/4"X14 33 33 27
1BN4-08 G1/2"X14 Z21/2"X14 27 27 22
1BN4-08-06 G1/2"X14 Z3/8"X18 27 27 22
1BN4-12 G3/4"X14 Z3/4"X14 33 33 27
1BN4-12-08 G3/4"X14 Z21/2"X14 33 33 27
1BN4-12-16 G3/4"X14 Z1"X11.5 37 37 33
1BN4-16 G1"X11 Z1"X11.5 37 37 33
1BN4-16-12 G1"X11 Z3/4"X14 37 37 33
1BN4-20 G1.1/4"X11 | Z1.174"X11.5 40 40 44
1BN4-24 G1.1/2"X11 | 21.1/2"X11.5 47 47 52
1BN4-32 G2"X11 Z2"X11.5 55 55 65

- 137 -




60 °

. 1BN9

| |
. mj 0 00 * HCAFSMELLLB0 © P/ T HR ISR
| 90 ° BSP MALE 60 ° SEAT /NPT MALE
A S1
= 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1BN9-04 G1/4"X19 Z1/4"X18 29 27 14
1BN9-04-02 G1/4"X19 Z1/8"X27 29 27 14
1BN9-06 G3/8"X19 Z3/8"X18 30 29 17
1BN9-06-04 G3/8"X19 71/4"X18 30 29 17
1BN9-06-08 G3/8"X19 Z21/2"X14 37 37 22
1BN9-06-12 G3/8"X19 73/4"X14 41 41 27
1BN9-08 G1/2"X14 71/2"X14 37 37 22
1BN9-08-06 G1/2"X14 73/8"X18 37 37 22
1BN9-12 G3/4"X14 73/4"X14 41 41 27
1BN9-12-08 G3/4"X14 71/2"X14 41 41 27
1BN9-12-16 G3/4"X14 Z1"X11.5 49 49 33
1BN9-16 G1"X11 Z1"X11.5 49 49 33
1BN9-16-12 G1"X11 Z3/4"X14 49 49 33
1BN9-20 G1.1/4"X11 |z1.1 ] 4"X11.5 57 57 44
1BN9-24 G1.1/2"X11 (2111 2"X11.5 57 57 48
1BN9-32 G2"X11 Z2"X11.5 66 66 65

- 138 -




1BG

S SMRL60 ° PN HESS i T

S YR YR AMB A0 T
2 \//% 7 BSP MALE DOUBLE FOR 60 ° SEAT
BONDED SEAL/BSPT MALE 0-RING
S1
= 12 4. THREADE R <} DIMENSIONS
PART NO. E F A B S1 L
1BG-02 G1/8"X28 G1/8"X28 10 9 14 25
1BG-04 G1/4"X19 G1/4"X19 12 12 19 30
1BG-04-06 G1/4"X19 G3/8"X19 12 13.5 19 315
1BG-06 G3/8"X19 G3/8"X19 13.5 13.5 22 35
1BG-06-04 G3/8"X19 G1/4"X19 13.5 12 22 33.5
1BG-06-08 G3/8"X19 G1/2"X14 13.5 16 27 39.5
1BG-08 G1/2"X14 G1/2"X14 16 16 27 42
1BG-08-06 G1/2"X14 G3/8"X19 16 13.5 27 39.5
1BG-08-12 G1/2"X14 G3/4"X14 16 18.5 27 445
1BG-10-08 G5/8"X14 G1/2"X14 17.5 16 30 43.5
1BG-12 G3/4"X14 G3/4"X14 18.5 18.5 32 47
1BG-12-08 G3/4"X14 G1/2"X14 18.5 16 32 44.5
1BG-16-08 G1"X11 G1/2"X14 20.5 16 41 48.5
1BG-16 G1"X11 G1"X11 20.5 | 205 41 53
1BG-16-12 G1"X11 G3/4"X14 20.5 18.5 41 51
1BG-20 G1.1/4"X11 | G1.1/4"X11 20.5 | 205 50 58
1BG-24 G1.1/2"X11 | G1.1/2"X11 23 23 55 63

- 139 -




52 \Q
’ 1BG4-0G
A
= ‘ 45 ° JLAEAMRL60 N HE/
L /R SR EO T T
< 45° BSP MALE 60 ° SEAT/BSP
A S1 MALE O-RING ADJUSTABLE STUD END
I 240 THREADE R 1 DIMENSIONS
PART NO. E F A B S1 S2
1BG4-040G | G1/4'X19 | G1/4"X19 22 | 28 | 14 | 19
1BG4-04-060G | G1/4'X19 | G3/8'X19 22 | 30 | 17 | 22
1BG4-04-080G | G1/4'X19 | G1/2'X14 27 | 36 | 22 | 27
1BG4-060G | G3/8'X19 | G3/8"X19 22 | 30 | 17 | 22
1BG4-06-080G | G3/8'X19 | G1/2'X14 27 | 36 | 22 | 27
1BG4-080G | G1/2'X14 | G1/2'X14 27 | 36 | 22 | 27
1BG4-120G | G3/4"X14 | G3/4"X14 33 | 42 | 27 | 32
1BG4-12-160G | G3/4"X14 G1"X11 37 | 44 | 33 | 41
1BG4-160G 61"X11 61"X11 37 | 44 | 33 | 41
1BG4-200G | G1.1/4"X11 | G1.1/4"X11 40 | 475 | 44 | 50
1BG4-240G | G1.1/2"X11 | G1.1/2"X11 47 | 515 | 52 | 55

- 140 -




1BG9-0G

90 ° JLAEHMRLL60 ° P/
SAE AL OB W] A ) A g
90 * BSP MALE 60 * SEAT/BSP
MALE O-RING ADJUSTABLE STUD END

=) 124 THREADE R =t DIMENSIONS

PART NO. E F A B S1 S2
1BG9-040G G1/4"X19 G1/4"X19 29 | 315 | 14 19
1BG9-04-060G | G1/4"X19 G3/8"X19 30 | 36.8 | 17 22
1BG9-060G G3/8"X19 G3/8"X19 30 | 368 | 17 22
1BGY9-06-080G | G3/8"X19 G1/2"X14 37 | 432 | 22 27
1BG9-080G G1/2"'X14 G1/2"X14 37 | 432 | 22 27
1BG9-08-120G | G1/2'X14 G3/4"X14 41 | 493 | 27 32
1BG9-120G G3/4"X14 G3/4"X14 41 | 493 | 27 32
1BG9-12-160G | G3/4"X14 G1"X11 49 53 33 41
1BG9-160G G1"X11 G1"X11 49 53 33 41
1BG9-20-160G | G1.1/4"X11 G1"X11 57 58 44 41
1BG9-200G | G1.1/4"X11 | G1.1/4"X11 57 58 44 50
1BG9-240G | G1.1/2"X11 | G1.1/2"X11 57 63 48 55

- 141




- B 1BH

| w " SEAFSMBEIB0 * PIHESN A
e 4L A B 2 T SNALIE T
’ % Z BSP MALE DOUBLE FOR 60 * SEAT
BONDED SEAL/METRIC MALE L-SERIES
S1

e 124 THREADE JR =t DIMENSIONS

PART NO. E F A B S1 L
1BH-02-10 G1/8"X28 M10x1 10 11 14 27
1BH-02-12 G1/8"X28 M12x1.5 10 11 14 27
1BH-04-12 G1/4"X19 M12x1.5 12 11 19 29
1BH-04-14 G1/4"X19 M14x1.5 12 11 19 29
1BH-04-16 G1/4"X19 M16x1.5 12 11 19 29
1BH-06-14 G3/8"X19 M14x1.5 13.5 11 22 32.5
1BH-06-16 G3/8"X19 M16x1.5 13.5 11 22 32.5
1BH-06-18 G3/8"X19 M18x1.5 13.5 11 22 32.5
1BH-08-18 G1/2"X14 M18x1.5 16 11 27 37
1BH-08-22 G1/2"X14 M22x1.5 16 12 27 38
1BH-10-22 G5/8"X14 M22x1.5 17.5 12 30 39.5
1BH-12-16 G3/4"X14 M16x1.5 18.5 11 32 39.5
1BH-12-22 G3/4"X14 M22x1.5 18.5 12 32 40.5
1BH-12-27 G3/4"X14 M27x1.5 18.5 13 32 41.5
1BH-16-27 G1"X11 M27x1.5 20.5 13 41 45.5

- 142 -




N 1BH4-0G

[}
d. | 45 * FEFHNBL60 * By
L ATHISNBEUR 7251 45
¢ BSP MALE 60 * SEAT/
A S1 METRIC MALE O-RING
= 124 THREADE JL 7 DIMENSIONS
PART NO. E F A B S1 52
1BH4-02-100G | G1/8"X28 M10x1 20 | 235 | 11 14
1BH4-02-120G | G1/8"X28 M12x1.5 20 | 215 | M 17
1BH4-04-120G | G1/4"X19 M12x1.5 22 | 283 14 17
1BH4-04-140G | G1/4"X19 M14x1.5 22 | 283 | 14 19
1BH4-04-160G | G1/4"X19 M16x1.5 22 | 293 | 17 22
1BH4-06-140G | G3/8"X19 M14x1.5 22 | 288 [ 17 19
1BH4-06-160G | G3/8"X19 M16x1.5 22 [ 293 | 17 22
1BH4-06-180G | G3/8"X19 M18x1.5 25 31 19 24
1BH4-08-180G | G1/2"X14 M18x1.5 27 | 333 | 22 24
1BH4-08-220G | G1/2"X14 M22x1.5 33 | 333 | 27 27
1BH4-10-220G | G5/8"X14 M22x1.5 33 | 333 27 27
1BH4-12-220G | G3/4"X14 M22x1.5 33 | 345 | 27 27
1BH4-12-270G | G3/4"X14 M27x1.5 33 | 395 | 27 32
1BH4-16-270G G1"X11 M27x1.5 37 | 405 33 32

- 143 -




|
‘ 90 * B HMBL60 ° P/

K MREIE A1) 90 °
— BSP MALE 60 * SEAT/
s1 METRIC MALE 0-RING

=, 124 THREADE ) DIMENSIONS

PART NO. E F A B S1 S2
1BH9-02-100G | G1/8"X28 M10x1 25 | 265 | 11 14
1BH9-02-120G | G1/8'X28 | M12x1.5 25 | 305 | 11 17
1BH9-04-120G | G1/4'X19 | M12x1.5 29 32 14 17
1BH9-04-140G | G1/4'X19 | M14x1.5 29 | 325 | 14 19
1BH9-04-160G | G1/4'X19 | M16x1.5 30 | 348 | 17 22
1BH9-06-140G | G3/8'X19 | M14x1.5 30 34 17 19
1BH9-06-160G | G3/8'X19 | M16x1.5 30 | 348 | 17 22
1BH9-06-180G | G3/8'X19 | M18x1.5 33 37 19 24
1BH9-08-180G | G1/2'X14 | M18x1.5 37 | 395 | 22 24
1BH9-08-220G | G1/2'X14 | M22x1.5 40 | 402 | 27 27
1BH9-10-220G | G5/8'X14 | M22x1.5 40 | 402 | 27 27
1BH9-12-220G | G3/4"'X14 | M22x1.5 40 | 435 | 27 27
1BH9-12-270G | G3/4'X14 | M27x1.5 40 | 485 | 27 32
1BH9-16-270G |  G1"X11 M27x1.5 49 52 33 32

- 144 -




\ES

1BJ

S AMES60 ° PYHED N A i 41

2 S B B 1CAMEETA ° SN
% BSP MALE DOUBLE FOR 60 ° SEeT
BONDED SEAL/JIC MALE 74 ° CONE
S1
e 124 THREADE K =7 DIMENSIONS
PART NO. E F A B S1 L
1BJ-02-04 G1/8"X28 U7/16"X20 10 14 14 30
1BJ-02-05 G1/8"X28 U1/2"X20 10 14 14 30
1BJ-02-06 G1/8"X28 U9/16"X18 10 14 14 30
1BJ-04 G1/4"X19 U7/16"X20 12 14 19 32
1BJ-04-05 G1/4"X19 U1/2"X20 12 14 19 32
1BJ-04-06 G1/4"X19 U9/16"X18 12 14 19 32
1BJ-04-08 G1/4"X19 U3/4"X16 12 16.7 19 37
1BJ-04-10 G1/4"X19 u7/8"X14 12 19.5 22 39.5
1BJ-06 G3/8"X19 U9/16"X18 13.5 14 22 35
1BJ-06-04 G3/8"X19 U7/16"X20 13.5 14 22 35
1BJ-06-05 G3/8"X19 U1/2"X20 13.5 14 22 35
1BJ-06-08 G3/8"X19 U3/4"X16 13.5 16.7 22 38
1BJ-06-10 G3/8"X19 U7/8"X14 13.5 19.5 22 41
1BJ-06-12 G3/8"X19 | U1.1/16"X12 13.5 22 30 44.5
1BJ-08 G1/2"X14 U3/4"X16 16 16.7 27 42
1BJ-08-04 G1/2"X14 U7/16"X20 16 14 27 40
1BJ-08-05 G1/2"X14 U1/2"X20 16 14 27 40
1BJ-08-06 G1/2"X14 U9/16"X18 16 14 27 40
1BJ-08-10 G1/2"X14 u7/8"X14 16 19.5 27 45.5
1BJ-08-12 G1/2"X14 |U1.1/16"X12 16 22 30 47
1BJ-08-16 G1/2"X14 |U1.5/16"X12 16 23 36 50
1BJ-10 G5/8"X14 U7/8"X14 175 19.5 30 46
1BJ-10-08 G5/8"X14 U3/4"X16 17.5 16.7 30 43
1BJ-10-12 G5/8"X14 |U1.1/16"X12 17.5 22 30 48.5
1BJ-10-16 G5/8"X14 | U1.5/16"X12 17.5 23 36 515
1BJ-12 G3/4"X14 |1 U1.1/16"X12 18.5 22 32 50
1BJ-12-06 G3/4"X14 U9/16"X18 18.5 14 32 42
1BJ-12-08 G3/4"X14 U3/4"X16 18.5 16.7 32 46
1BJ-12-10 G3/4"X14 U7/8"X14 18.5 19.5 32 49

- 145 -




R

a2 1240 THREADE J <1 DIMENSIONS
PART NO. E F A B S1 L
1BJ-12-16 G3/4"X14 | U1.5/16"X12 18.5 23 36 52
1BJ-12-20 G3/4"X14 U1.5/8"X12 185 | 245 46 56
1BJ-16 G1"X11 U1.5/16"X12 20.5 23 41 56
1BJ-16-08 G1"X11 U3/4"X16 20.5 | 16.7 41 49
1BJ-16-10 G1"X11 u7/8"X14 205 | 19.5 41 52
1BJ-16-12 G1"X11 U1.1/16"X12 20.5 22 41 54
1BJ-16-20 G1"X11 U1.5/8"X12 205 | 245 46 59.5
1BJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 245 50 62
1BJ-20-12 G1.1/4"X11 |U1.1/16"X12 20.5 22 50 59
1BJ-20-16 G1.1/4"X11 |U1.5/16"X12 20.5 23 50 60
1BJ-20-24 G1.1/4"X11 | U1.7/8"X12 205 | 275 50 65
1BJ-24-16 G1.1/2"X11 |U1.5/16"X12 23 23 55 63
1BJ-24-20 G1.1/2"X11 | U1.5/8"X12 23 245 55 64
1BJ-24 G1.1/2"X11 | U1.7/8"X12 23 27.5 55 67
1BJ-24-32 G1.1/2"X11 | U2.1/2"X12 23 34 65 74
1BJ-32 G2"X11 u2.1/2"X12 25.5 34 70 77
1BJ-32-24 G2"X11 U1.7/8"X12 255 | 275 70 71

- 146 -




1BJ4

45 " B HMEL60 © NHE/
SKAIJICHMRLT4 * HMAfE
45° BSP MALE 60 ° SEAT/

A st JIC MALE 74 ° CONE

= 124 THREADE ] =1 DIMENSIONS
PART NO. E F A B S1
1BJ4-04 G1/4"X19 U7/16"X20 22 22 14
1BJ4-04-05 G1/4"X19 U1/2"X20 22 22 14
1BJ4-04-06 G1/4"X19 U9/16"X18 22 22 14
1BJ4-06 G3/8"X19 U9/16"X18 22 22 17
1BJ4-06-08 G3/8"X19 U3/4"X16 25 25 19
1BJ4-08 G1/2"X14 U3/4"X16 27 27 22
1BJ4-08-10 G1/2"X14 U7/8"X14 27 27 22
1BJ4-10 G5/8"X14 U7/8"X14 33 33 27
1BJ4-12 G3/4"X14 | U1.1/16"X12 33 33 27
1BJ4-16 G1"X11 U1.5/16"X12 37 37 33
1BJ4-16-20 G1"X11 U1.5/8"X12 40 40 44
1BJ4-20 G1.1/4"X11 | U1.5/8"X12 40 40 44
1BJ4-24 G1.1/2"X11 | U1.7/8"X12 47 47 53
1BJ4-32 G2"X11 U2.1/2"X12 55 55 65

- 147 -




74—

=l

K

90 °

1BJ9

SR HMERLI60 T PHE/

SKAIJICHMRLT4 * S
90 * BSP MALE 60 * SEAT/

A S1 JIC MALE 74 ° CONE

=, 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1BJ9-04 G1/4"X19 | U7/16"X20 27 29 14
1BJ9-04-05 | G1/4"X19 | U1/2"X20 27 29 14
1BJ9-04-06 | G1/4"X19 | U9/16"X18 27 29 14
1BJ9-06 G3/8"'X19 | U9/16"X18 29 30 17
1BJ9-06-08 | G3/8'X19 | U3/4"X16 33 33 19
1BJ9-08 G1/2'X14 | U3/4"X16 37 37 22
1BJ9-08-10 | G1/2'X14 | U7/8"X14 37 37 22
1BJ9-10 G5/8"X14 | U7/8"X14 40 40 27
1BJ9-12 G3/4"X14 | U1.1/16"X12 40 40 27
1BJ9-16 G1"X11 | U1.5/16"X12 49 49 33
1BJ9-16-20 G1"X11 U1.5/8"X12 57 57 44
1BJ9-20 G1.1/4"X11 | U1.5/8"X12 57 57 44
1BJ9-24 G1.1/2"X11 | U1.7/8"X12 57 57 48
1BJ9-32 62"X11 U2.1/2"X12 66 66 65

- 148 -




B 1BM
AN |
| N SR AMBLB0 ° P T 2L 3
@ A THIAMERZL60 ° PYHER S i 18 2H A g )
’ /%/// 7 BSP MALE 60 ° SEAT DOUBLE 60 ° SEAT
BONDED SEAL/METRIC MALE
J DOUBLE 60 ° SEAT BONDED SEAL
fri i2 40 THREADE ) DIMENSIONS
PART NO. E F A B S1 L
1BM-02-12 G1/8'X28 | M12x1.5 10 10 17 28
1BM-04-12 G1/4'X19 | M12x1.5 12 10 19 30
1BM-04-14 G1/4'X19 | M14x1.5 12 11 19 31
1BM-04-16 G1/4'X19 | M16x1.5 12 12 22 34
1BM-04-18 G1/4"X19 | M18x1.5 12 12 24 34
1BM-06-12 G3/8"X19 | M12x1.5 13.5 | 10 22 | 325
1BM-06-14 G3/8"X19 | M14x1.5 135 | 11 22 | 335
1BM-06-16 G3/8"X19 | M16x1.5 135 | 12 22 | 345
1BM-06-18 G3/8"'X19 | M18x1.5 135 | 12 24 | 345
1BM-06-22 G3/8"X19 | M22x1.5 135 | 14 27 | 395
1BM-08-14 G1/2'X14 | M14x1.5 16 11 27 39
1BM-08-16 G1/2'X14 | M16x1.5 16 12 27 40
1BM-08-18 G1/2'X14 | M18x1.5 16 12 27 40
1BM-08-22 G1/2'X14 | M22x1.5 16 14 27 42
1BM-10-22 G5/8"X14 | M22x1.5 175 | 14 30 | 435
1BM-12-18 G3/4"X14 | M18x1.5 185 | 12 32 | 425
1BM-12-22 G3/4"'X14 | M22x1.5 18.5 | 14 32 | 445
1BM-16-14 G1"X11 M14x1.5 205 | 11 41 46
1BM-16-22 G1"X11 M22x1.5 205 | 14 41 49

- 149 -



: "~ ] 1BO
w w YL AMERLI60 ° NHEES i 1A A A VR B
1 3 1| SAESMERLHF OB [l 5% 2 57|
¢ W BSP MALE 60 ° SEAT BONDED SEAL
/SAE 0-RING BOSS L-SERIES
st/

= 124 THREADE ] =} DIMENSIONS
PART NO. E F A B S1 L
1BO-04 G1/4"X19 U7/16"X20 12 10 19 28
1B0O-04-05 G1/4"X19 U1/2"X20 12 10 19 28
1B0O-04-06 G1/4"X19 U9/16"X18 12 12 19 30
1B0O-04-08 G1/4"X19 U3/4"X16 12 12 22 32
1B0O-06 G3/8"X19 U9/16"X18 13.5 12 22 335
1BO-06-04 G3/8"X19 U7/16"X20 13.5 10 22 315
1B0O-06-08 G3/8"X19 U3/4"X16 13.5 12 24 335
1BO-06-10 G3/8"X19 U7/8"X14 13.5 13.5 27 37
1B0O-08 G1/2"X14 U3/4"X16 16 12 27 38
1B0O-08-06 G1/2"X14 U9/16"X18 16 12 27 38
1BO-08-10 G1/2"X14 u7/8"xX14 16 13.5 27 39.5
1BO-08-12 G1/2"X14 |U1.1/16"X12 16 16 32 42
1BO-10 G5/8"X14 u7/8"xX14 17.5 13.5 30 41
1BO-10-08 G5/8"X14 u7/8"xX14 17.5 12 30 39.5
1B0O-10-12 G5/8"X14 |U1.1/16"X12 17.5 16 32 43.5
1BO-12 G3/4"X14 |U1.1/16"X12 18.5 16 32 445
1BO-12-08 G3/4"X14 U3/4"X16 18.5 12 32 40.5
1BO-12-10 G3/4"X14 U7/8"X14 18.5 13.5 32 42
1BO-12-16 G3/4"X14 |U1.5/16"X12 18.5 17 41 47.5
1BO-16 G1"X11 U1.5/16"X12 20.5 17 41 49.5
1BO-16-10 G1"X11 U7/8"X14 20.5 | 13.5 41 46
1BO-16-12 G1"X11 U1.1/16"X12 20.5 16 41 48.5
1B0O-16-20 G1"X11 U1.5/8"X12 20.5 18 50 55.5
1B0O-20 G1.1/4"X11 | U1.5/8"X12 20.5 18 50 55.5
1B0O-20-16 G1.1/4"X11 |U1.5/16"X12 20.5 17 50 54.5
1BO-24 G1.1/2"X11 | U1.7/8"X12 23 18.5 55 58.5

- 150 -



—

-

1BW

L AMEL60 ° PHEEN A

1] [m]
c A TH 4L £ B AT BSP
% MALE 60 ° SEAT BONDEDSEAL
/BUTT-WELD TUBE
st/
e 124 THREADE E¥4ME TUBE O.D. K~} DIMENSIONS
PART NO. E D A B S1 L
1BW-04-10 G1/4"X19 10 12 7 19 25
1BW-06-14 G3/8"X19 14 13.5 8 22 29.5
1BW-08-18 G1/2"X14 18 16 10 27 36
1BW-12-22 G3/4"X14 22 18.5 10 32 38.5
1BW-12-28 G3/4"X14 28 18.5 12 32 40.5
1BW-16-28 G1"X11 28 20.5 12 41 445
1BW-16-30 G1"X11 30 20.5 12 41 445
1BW-20-34 G1.1/4"X11 34 20.5 14 50 51.5
1BW-20-36 G1.1/4"X11 36 20.5 14 50 51.5
1BW-20-42 G1.1/4"X11 42 20.5 16 50 53.5
1BW-24-36 G1.1/2"X11 36 23 14 55 54
1BW-24-42 G1.1/4"X11 42 23 16 55 56
1BW-24-50 G1.1/2"X11 50 23 16 55 56
1] ! 2WB
"8 o
SR S NIRZ60 ° AhE
zzZ ~ BUTT-WELD TUBE/BSP FEMALE 60 ° CONE
= 24 THREADE HF4ME TUBE O.D. ] <} DIMENSIONS
PART NO. E D C S1
2WB-10-04 G1/4"X19 10 5.5 19
2WB-14-06 G3/8"X19 14 6.5 22
2WB-18-08 G1/2"X14 18 8 27
2WB-22-08 G1/2"X14 22 8 27
2WB-22-12 G3/4"X14 22 115 32
2WB-28-16 G1"X11 28 11.5 41
2WB-34-20 | G1.1/4"X11 34 12 50
2WB-42-20 [G1.1/4"X11 42 12 50
2WB-50-24 |G1.1/2"X11 50 13 55

- 151




Ny 1B-WD

EE i ol | SEESNREB0 * il AN
» ) I YR AR B
BSP MALE 60 ° SEAT BONDED SEAL
/BSP MALE CAPTIVE SEAL
S1
= 1240 THREADE JX <} DIMENSIONS
PART NO. E F A B S1 L
1B-04WD G1/4"X19 | G1/4"X19 12 12 19 32
1B-04-06WD | G1/4"X19 | G3/8"X19 12 13.5 22 36
1B-04-08WD | G1/4"X19 | G1/2"X14 12 16 27 41
1B-06WD G3/8"X19 | G3/8"X19 13.5 | 13.5 22 35.5
1B-06-08WD | G3/8"X19 | G1/2"X14 13.5 16 27 42.5
1B-08WD G1/2'X14 | G1/2"X14 16 16 27 45
1B-08-12WD | G1/2'X14 | G3/4"X14 16 18.5 32 48.5
1B-12WD G3/4"X14 | G3/4"X14 18.5 | 18.5 32 49
1B-12-16WD | G3/4"X14 G1"X11 18.5 | 20.5 41 55
1B-16WD G1"X11 G1"X11 20.5 | 20.5 41 57
1B-16-20WD G1"X11 | G1.1/4"X11 20.5 | 20.5 50 59
1B-20WD G1.1/4"X11| G1.1/4"X11 20.5 | 20.5 50 59

- 152 -



- 2BJ
g - | %ﬁﬁﬁ%ﬁﬁo ’ V\J%EEZT\% Hﬁ”%ﬁéﬂ
S I CIIETA © P
I %f@ BSP MALE DOUBLE FOR 60 ° SEAT
J BONDED SEAL/JIC FEMALE 74 ° SEAT
S1
e 14 THREADE U~} DIMENSIONS
PART NO. E F A C S1 S2
2BJ-02-04 G1/8"X28 U7/16"X20 10 8.5 14 17
2BJ-02-06 G1/8"X28 U9/16"X18 10 10 14 19
2BJ-04 G1/4"X19 U7/16"X20 12 8.5 19 17
2BJ-04-05 G1/4"X19 U1/2"X20 12 9.5 19 19
2BJ-04-06 G1/4"X19 U9/16"X18 12 10 19 19
2BJ-04-08 G1/4"X19 U3/4"X16 12 1 19 24
2BJ-06 G3/8"X19 U9/16"X18 13.5 10 22 19
2BJ-06-08 G3/8"X19 U3/4"X16 13.5 1 22 24
2BJ-06-10 G3/8"X19 U7/8"X14 13.5 1 22 27
2BJ-08 G1/2"X14 U3/4"X16 16 1 27 24
2BJ-08-06 G1/2"X14 U9/16"X18 16 10 27 19
2BJ-08-10 G1/2"X14 u7/8"X14 16 1 27 27
2BJ-10 G5/8"X14 u7/8"X14 17.5 1 30 27
2BJ-12 G3/4"X14  |U1.1/16"X12 18.5 13.5 32 32
2BJ-12-08 G3/4"X14 U3/4"X16 18.5 1 32 24
2BJ-12-10 G3/4"X14 u7/8"X14 18.5 1 32 27
2BJ-12-16 G3/4"X14  |U1.5/16"X12 18.5 14.5 32 41
2BJ-16 G1"X11 U1.5/16"X12 20.5 14.5 41 41
2BJ-16-20 G1"X11 U1.5/8"X12 20.5 15.5 41 50
2BJ-20 G1.1/4"X11 [ U1.5/8"X12 20.5 15.5 50 50
2BJ-20-24 G1.1/4"X11 | U1.7/8"X12 20.5 18.5 50 55
2BJ-24 G1.1/2"X11 | U1.7/8"X12 23 18.5 55 55
2BJ-32 G2"X11 U2.1/2"X12 255 | 24.5 70 75

- 183 -




S2

I e 2BJ-WD

g [ T S SRR
77 SEHIICHIRATA * Py
BSP MALE CAPTIVE SEAL/
s C JIC FEMALE 74 ° SEAT

= 1241 THREADE U =} DIMENSIONS
PART NO. E F A c Sl S2
2BJ-02-04WD | G1/8"X28 | U7/16"X20 10 8.5 14 17
2BJ-04-05WD | G1/4"X19 U1/2"X20 12 9.5 19 19
2BJ-04-06WD | G1/4"X19 | U9/16"X18 12 10 19 19
2BJ-04-08WD | G1/4"X19 U3/4"X16 12 11 19 24
2BJ-04WD G1/4"X19 | U7/16"X20 12 8.5 19 17
2BJ-06-08WD | G3/8"X19 U3/4"X16 13.5 11 22 24
2BJ-06WD G3/8"X19 | U9/16"X18 13.5 10 22 19
2BJ-08-06WD | G1/2"X14 | U9/16"X18 16 10 27 19
2BJ-08-10WD | G1/2"X14 Uu7/8"X14 16 11 27 27
2BJ-08WD G1/2"'X14 U3/4"X16 16 11 27 24
2BJ-12-16WD | G3/4"X14 | U1.5/16"X12 18.5 | 14.5 32 41
2BJ-12WD G3/4"X14 | U1.1/16"X12 18.5 | 13.5 32 32
2BJ-16WD G1"X11 | U1.5/16"X12 205 | 145 41 41
2BJ-20-16WD | G1.1/4"X11| U1.5/16"X12 20.5 | 145 50 41
2BJ-20WD | G1.1/4"X11| U1.5/8"X12 20.5 | 155 50 50
2BJ-24WD | G1.1/2"X11| U1.7/8"X12 23 18.5 55 55

- 154 -




S2

S

V., Al

-

o

21B

BHERFIMREL TR NIREL60 © AME
BSPT MALE/BSP FEMALE 60 ° CONE

B i24r THREADE R~} DIMENSIONS
PART NO. E F A C S1 S2
2TB-02 ZG1/8"X28 G1/8"X28 10 55 | 12 14

2TB-02-04 ZG1/8"X28 G1/4"X19 10 55 | 14 19
2TB-04 ZG1/4"X19 G1/4"X19 14 55 | 17 19
2TB-04-06 ZG1/4"X19 G3/8"X19 14 6.5 | 17 22
2TB-04-08 ZG1/4"X19 G1/2"X14 14 8 19 27
2TB-06 ZG3/8"X19 G3/8"X19 14 6.5 | 19 22
2TB-06-08 ZG3/8"X19 G1/2"X14 14 8 22 27
2TB-08 ZG1/2"X14 G1/2"'X14 19 8 22 27
2TB-08-06 ZG1/2"X14 G3/8"X19 19 6.5 | 22 24
2TB-08-12 ZG1/2"X14 G3/4"X14 19 | 115 | 27 32
2TB-12 ZG3/4"X14 G3/4"X14 195 | 115 | 30 32
2TB-12-16 ZG3/4"X14 G1"X11 195 | 115 | 32 41
2TB-16 Z61"X11 G1"X11 24 | 115 | 36 41
2TB-16-20 ZG1"X11 G1.1/4"X11 24 12 41 50
2TB-20 ZG1.1/4"X11 | G1.1/4"X11 25 12 46 50
2TB-24 ZG1.1/2"%11 | G1.1/2"X11 25 13 50 55
2TB-32 762"X11 G2"X11 29 16 70 70

- 155 -




NS

27B4

a; 52 45 ° PR SMBLL LRI IZE60 ° S
| 45 ° BSPT MALE/BSP FEMALE 60 ° CONE
A S1
fog i 4 THREADE R~} DIMENSIONS
PART NO. E F A c S1 S2
2TB4-02 ZG1/8"X28 G1/8"X28 20 | 55 | 11 14
2TB4-04 ZG1/4"X19 G1/4"X19 22 | 55 | 14 19
2TB4-06 ZG3/8"X19 G3/8"X19 22 | 6.5 | 17 22
2TB4-08 ZG1/2"X14 G1/2'X14 27 8 22 27
2TB4-12 ZG3/4"X14 G3/4"X14 33 | 115 | 27 32
2TB4-16 Z61"X11 G1"X11 37 | 115 | 33 41
2NB4-20 ZG1.1/4"X11 | G1.1/4"X11 40 12 44 50
2NB4-24 ZG14/2"%X11 | G1.1/2"X11 47 13 53 55
- 00
I 7 \1@
o‘ o )]
4 2TB9
af Q0 * HeHEEFIMEBLY AENIRE60 ° ShE
90 ° BSPT MALE/BSP FEMALE 60 ° CONE
g | —
A S1
e i24r THREADE R s} DIMENSIONS
PART NO. E F A c S1 S2
2TB9-02 ZG1/8"X28 G1/8"X28 23 | 55 | 11 14
2TB9-04 ZG1/4"X19 G1/4"X19 29 | 55 | 14 19
2TB9-06 ZG3/8"X19 G3/8"X19 30 | 6.5 | 17 22
2TB9-08 ZG1/2"X14 G1/2"X14 37 8 22 27
2TB9-12 ZG3/4"X14 G3/4"X14 40 | 115 | 27 32
2TB9-16 Z61"X11 G1"X11 49 | 115 | 33 41
2NB9-20 ZG1.4/4"X11 | G1.1/4"X11 57 12 44 50
2NB9-24 ZG1.4/2"X11 | G1.1/2"X11 57 13 48 55

- 156 -




o

T

S2

|
Z,
L/ S1

Il

-

THEE SMREL T8 NIREL60 © HMfE
NPT MALE/BSP FEMALE 60 ° CONE

2NB

B i24r THREADE R~} DIMENSIONS
PART NO. E F A C S1 S2
2NB-02 Z1/8"X27 G1/8"X28 10 55 | 12 14

2NB-02-04 Z1/8"X27 G1/4"X19 10 55 | 14 19
2NB-04 Z1/4"X18 G1/4"X19 14 55 | 17 19
2NB-04-06 Z1/4"X18 G3/8"X19 14 6.5 | 17 22
2NB-04-08 Z1/4"X18 G1/2"X14 14 8 19 27
2NB-06 Z3/8"X18 G3/8"X19 14 6.5 | 19 22
2NB-06-08 Z3/8"X18 G1/2"X14 14 8 22 27
2NB-08 Z1/2"X14 G1/2"'X14 19 8 22 27
2NB-08-06 Z1/2"X14 G3/8"X19 19 6.5 | 22 24
2NB-08-12 Z1/2"X14 G3/4"X14 19 | 115 | 27 32
2NB-12 Z3/4"X14 G3/4"X14 195 | 115 | 30 32
2NB-12-16 Z3/4"X14 G1"X11 195 | 115 | 32 41
2NB-16 Z1"X11.5 G1"X11 24 | 115 | 36 41
2NB-16-20 Z1"X11.5 | G1.1/4"X11 24 12 41 50
2NB-20 Z1.1/4"X11.5 | G1.1/4"X11 25 12 46 50
2NB-24 Z1.1/2"'X11.5 | G1.1/2"X11 25 13 50 55
2NB-32 Z2"X11.5 G2"X11 29 16 70 70

- 157 -




i 2NB4

T

45 ° MHEATSMRAL SR IRE60 © M
45° NPT MALE/BSP FEMALE 60 ° CONE

| SR
A S1
iz 124 THREADE S ) DIMENSIONS
PART NO. E F A C S1 S2
2NB4-02 Z1/8"X27 G1/8"X28 20 5.5 11 14
2NB4-04 Z1/4"X18 G1/4"X19 22 5.5 14 19
2NB4-04-06 Z1/4"X18 G3/8"X19 22 6.5 17 22
2NB4-06 Z3/8"X18 G3/8"X19 22 6.5 17 22
2NB4-06-04 Z3/8"X18 G1/4"X19 22 5.5 17 19
2NB4-06-08 Z3/8"X18 G1/2"X14 25 8 19 27
2NB4-08 Z1/2"X14 G1/2"X14 27 8 22 27
2NB4-08-06 Z1/2"X14 G3/8"X19 27 6.5 22 22
2NB4-12 Z3/4"X14 G3/4"X14 33 11.5 27 32
2NB4-12-08 Z3/4"X14 G1/2"X14 33 8 27 27
2NB4-12-16 Z3/4"X14 G1"X11 37 11.5 33 41
2NB4-16 Z1"X11.5 G1"X11 37 11.5 33 41
2NB4-16-12 Z1"X11.5 G3/4"X14 37 11.5 33 32
2NB4-20 Z1.1/4"X11.5 | G1.1/4"X11 40 12 44 50
2NB4-24 Z1.1/2"X11.5 | G1.1/2"X11 47 13 53 55
2NB4-32 Z2"X11.5 G2"X11 55 16 65 70

- 158 -




‘6_Qo

NN
o [
2NB9
%C Q0 * T HEATIMELL FEAFIIZLI60 ° S
90 ° NPT MALE/BSP FEMALE 60 ° CONE
]
A S1
a2 124 THREADE ] =} DIMENSIONS
PART NO. E F A C S1 S2
2NB9-02 Z1/8"X27 G1/8"X28 23 55 11 14
2NB9-04 Z1/4"X18 G1/4"X19 29 5.5 14 19
2NB9-04-06 Z1/4"X18 G3/8"X19 30 6.5 17 22
2NB9-06 Z3/8"X18 G3/8"X19 30 6.5 17 22
2NB9-06-04 Z3/8"X18 G1/4"X19 30 5.5 17 19
2NB9-06-08 Z3/8"X18 G1/2"X14 33 8 19 27
2NB9-08 Z1/2"X14 G1/2"X14 37 8 22 27
2NB9-08-06 Z1/2"X14 G3/8"X19 37 6.5 22 22
2NB9-12 Z3/4"X14 G3/4"X14 40 1.5 27 32
2NB9-12-08 Z3/4"X14 G1/2"X14 40 8 27 27
2NB9-12-16 Z3/4"X14 G1"X11 49 11.5 33 41
2NB9-16 Z1"X11.5 G1"X11 49 11.5 33 41
2NB9-16-12 Z1"X11.5 G3/4"X14 49 11.5 33 32
2NB9-20 Z1.1/4"X11.5 | G1.1/4"X11 57 12 44 50
2NB9-24 Z1.1/12"X11.5 | G1.1/2"X11 57 13 48 55
2NB9-32 Z2"X11.5 G2"X11 66 16 65 70

- 159 -




S1

4BN-WD

T 1 [=]
— i MRS B S Sk
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
H

e 124 THREADE Rt DIMENSIONS

PART NO. E A d D s1 H L
4BN-04WD G1/4"X19 12 | 163 | 19 6 | 1.2 | 173
4BN-06WD G3/8"X19 12 | 187 | 22 8 | 1.2 | 173
4BN-08WD G1/2'X14 14 | 237 | 27 | 10 | 1.2 | 193
4BN-12WD G3/4"X14 16 | 29 | 32 | 12 | 1.2 | 213
4BN-16WD G1"X11 16 | 355 | 40 | 14 | 1.6 | 228
| 4B-WD

7 . YA HMR SRR Bk

BSP MALE CAPTIVE SEAL PLUG

£ 240 THREADE J =} DIMENSIONS
PART NO. E A d S1 H
4B-04WD G1/4"X19 12 16.3 19 1.2
4B-06WD G3/8"X19 12 18.7 22 1.2
4B-08WD G1/2"X14 14 237 27 1.2
4B-12WD G3/4"X14 16 29 32 1.2
4B-16WD G1"X11 16 35.5 41 1.6

- 160 -



HoAE HMIBLL60 ° PN HEDE S
T 2 £ B3 5 A Y RS

5B

& 7 BSP MALE DOUBLE FOR 60 * SEAT
o/ BONDED SEAL/BSP FEMALE
S1

e #24 THREADE R ~F DIMENS10NS
PART NO. E F A S1 L
5B-02-04 G1/8"X28 G1/4"X19 10 19 28
5B-04-02 G1/4"X19 G1/8"X28 12 19 30

5B-04 G1/4"X19 G1/4"X19 12 19 30
5B-04-06 G1/4"X19 G3/8"X19 12 22 32
5B-06-04 G3/8"X19 G1/4"X19 13.5 22 33.5

5B-06 G3/8"X19 G3/8"X19 13.5 22 33.5
5B-06-08 G3/8"X19 G1/2"X14 13.5 27 33.5
5B-08-06 G1/2"X14 G3/8"X19 16 27 36

5B-08 G1/2"X14 G1/2"X14 16 27 36
5B-08-10 G1/2"X14 G5/8"X14 16 30 42
5B-08-12 G1/2"X14 G3/4"X14 16 32 40
5B-10-08 G5/8"X14 G1/2"X14 17.5 30 44
5B-12-08 G3/4"X14 G1/2"X14 18.5 32 43

5B-12 G3/4"X14 G3/4"X14 18.5 32 42.5
5B-12-16 G3/4"X14 G1"X11 18.5 41 52.5
5B-16-12 G1"X11 G3/4"X14 20.5 41 54.5

5B-16 G1"X11 G1"X11 20.5 41 54.5
5B-16-20 G1"X11 G1.1/4"X11 20.5 50 37.5
5B-20-16 G1.1/4"X11 G1"X11 20.5 50 57.5

5B-20 G1.1/4"X11 | G1.1/4"X11 20.5 50 56.5
5B-20-24 G1.1/4"X11 | G1.1/2"X11 20.5 55 57.5

5B-24 G1.1/2"X11 | G1.1/2"X11 23 55 60
5B-32-24 G2"X11 G1.1/2"X11 23 70 60

5B-32 G2"X11 G2"X11 255 70 62.5

- 161




5B9

\w@z B

| w 90 ° WA HMELI60 ° PNHE/ HLE NIRLL

o &t 90 ° BSP MALE 60 ° SEAT/BSP FEMALE
A S1

e 1240 THREADE J =1 DIMENSIONS
PART NO. E F A B S1
5B9-02 G1/8"X28 G1/4"X19 22 17 14
5B9-04 G1/4"X19 G1/4"X19 27 21 17
5B9-06 G3/8"X19 G3/8"X19 32 27 22
5B9-08 G1/2"X14 G1/2"X14 35 30 27
5B9-12 G3/4"X14 G3/4"X14 40 32 33
5B9-16 G1"X11 G1"X11 49 38 41

- 162 -




5BN

S INERL60 © PIHED S A i T A

°C> )
o et R
| v B e R P R
MY BSP MALE DOUBLE FOR 60 ° EAT
7 . BONEDE SEAL/NPT FEMALE
=2 124 THREADE N s} DIMENS 10ONS
PART NO. E F A S1 L
5BN-04 G1/4"X19 Z1/4"X18 12 19 30
5BN-06 G3/8"X19 Z3/8"X18 13.5 22 33.5
5BN-08 G1/2"X14 Z21/2"X14 16 27 36
5BN-12 G3/4"X14 Z23/4"X14 18.5 32 42.5
5BN-16 G1"X11 Z1"X11.5 20.5 41 54.5
5BN-20 G1.1/4"X11 | 211/ 4"X11.5 20.5 50 57.5
5BN-24 G1.1/2"X11 [z1.1 /1 2"X11.5 23 55 60
5BN-32 (6G2"X11 Z2"X11.5 25.5 70 62.5
L
S1
S A 5BT
i
. SRR ARG afEsk s Fl AL
2 | £ B TR
277 BSP MALE DOUBLE FOR 60 * EAT
7% BONEDE SEAL /BSPT FEMALE
F
res) 147 THREADE I DIVENSIONS
PART NO. E F A S1 L
5BT-04 G1/4"X19 2G1/4"X19 12 19 30
5BT-06 G3/8"X19 ZG3/8"X19 13.5 22 33.5
5BT-08 G1/2"X14 Z2G1/2"X14 16 27 36
5BT-12 G3/4"X14 Z2G3/4"X14 18.5 32 425
5BT-16 G1"X11 ZG1"X11 20.5 41 54.5
5BT-20 G1.1/4"X11 ZG1.1/4"X11 20.5 50 57.5
5BT-24 G1.1/2"X11 ZG1.1/2"X11 23 55 60
5BT-32 (6G2"X11 262" X11 25.5 70 62.5

- 163 -




+

5B-WD

8 - - A YN LLIG BV B P I
BSP MALE CAPTIVE SEAL/BSP FEMALE
= 124 THREADE K =7 DIMENSIONS
PART NO. E F A S1 L
5B-02-04WD G1/8"X28 G1/4"X19 10 19 28
5B-02-06WD G1/8"X28 G3/8"X19 10 22 30
5B-04-02WD G1/4"X19 G1/8"X28 12 19 30
5B-04-06WD G1/4"X19 G3/8"X19 12 22 32
5B-04-08WD G1/4"X19 G1/2"X14 12 27 32
5B-06-02WD G3/8"X19 G1/8"X28 13.5 22 33.5
5B-06-04WD G3/8"X19 G1/4"X19 13.5 22 33.5
5B-06-08WD G3/8"X19 G1/2"X14 13.5 27 33.5
5B-08-04WD G1/2"X14 G1/4"X19 16 22 36
5B-08-06WD G1/2"X14 G3/8"X19 16 27 36
5B-08-12WD G1/2"X14 G3/4"X14 16 32 40
5B-12-08WD G3/4"X14 G1/2"X14 18.5 32 42.5
5B-12-16WD G3/4"X14 G1"X11 18.5 41 525
5B-12-20WD G3/4"X14 G1.1/4"X11 18.5 50 525
5B-16-12WD G1"X11 G3/4"X14 20.5 41 545
5B-16-20WD G1"X11 G1.1/4"X11 20.5 50 56.5
5B-20-16WD | G1.1/4"X11 G1"X11 20.5 50 56.5
5B-20-24WD | G1.1/4"X11 | G1.1/2"X11 20.5 55 575
5B-20-32WD | G1.1/4"X11 G2"X11 20.5 70 575
5B-24-16WD | G1.1/2"X11 G1"X11 23 55 60
5B-24-20WD | G1.1/2"X11 | G1.1/4"X11 23 55 60
5B-24-32WD | G1.1/2"X11 G2"X11 23 70 60

- 164 -




5GB

A SMROLOR [/ S48 IRAL

BSP MALE O-RING/BSP FEMALE

=2 124 THREADE R =t DIMENSIONS

PART NO. E F A S1 L

5GB-04 G1/4"X19 G1/4"X19 12 19 30
5GB-04-06 G1/4"X19 G3/8"X19 12 22 32

5GB-06 G3/8"X19 G3/8"X19 13.5 22 33.5
5GB-06-08 G3/8"X19 G1/2"X14 13.5 27 33.5

5GB-08 G1/2"X14 G1/2"X14 16 27 36
5GB-08-12 G3/4"X14 G3/4"X14 16 32 40

5GB-12 G3/4"X14 G3/4"X14 18.5 32 425
5GB-12-16 G3/4"X14 G1"X11 18.5 41 52.5
5GB-16-12 G1"X11 G3/4"X14 20.5 41 33

5GB-16 G1"X11 G1"X11 20.5 41 54.5

S1 S2

i

J .C.|

7B

SR NIREY S NIRAI60 © HMEE
BSPT FEMALE/BSP FEMALE 60 ° CONE

= 124 THREADE J <} DIMENSIONS
PART NO. E F C S1 S2
7TB-02-04 ZG1/8"X28 G1/4"X19 5.5 17 19
7TB-04 ZG1/4"X19 G1/4"X19 5.5 19 19
7TB-04-06 Z2G1/4"X19 G3/8"X19 6.5 22 22
7TB-06 ZG3/8"X19 G3/8"X19 6.5 22 22
7TB-06-08 ZG3/8"X19 G1/2"X14 8 27 27
7TB-08-06 2G1/2"X14 G3/8"X19 6.5 27 22
7TB-08 ZG1/2"X14 G1/2"X14 8 27 27
7TB-12 Z2G3/4"X14 G3/4"X14 11.5 32 32
7TB-16 ZG1"X11 G1"X11 11.5 41 41

- 165 -




/B

w
Yeig N IREL
% 7 2, BSP FEMALE

s/

e #4; THREADE & <} DIMENSIONS
PART NO. E F L S1
7B-02 G1/8'X28 | G1/8'X28 22 14
7B-04 G1/4'X19 | G1/4"X19 24 19
7B-06 G3/8'X19 | G3/8"X19 26 22
7B-08 G1/2'X14 | G1/2'X14 32 27
7B-10 G5/8'X14 | G5/8"X14 36 30
7B-12 G3/4"X14 | G3/4"X14 36 32
7B-16 61"X11 G1"X11 40 41
7B-20 G1.1/4"X11 | G1.1/4"X11 44 50
7B-24 G1.1/2'X11 | G1.1/2"X11 45 55
7B-32 62"X11 62"X11 54 70

- 166 -




\/

/B9

90 * B NIREL
90 * BSP FEMALE

A S1
feE 124 THREADE K =7 DIMENSIONS B
PART NO. E A 51
7B9-02 G1/8"X28 17 17 14
7B9-04 G1/4"X19 21 21 17
7B9-06 G3/8"X19 24 24 22
7B9-08 G1/2"X14 27 27 26
7B9-12 G3/4"X14 33 33 34
7B9-16 G1"X11 38 38 41
7B9-20 G1.1/4"X11 45 45 54
7B9-24 G1.1/2"X11 47 47 56
7B9-32 G2"X11 60 60 68

[ )
j 1N | GB
AK
N . Yo IR =
BSP FEMALE TEE
A | \st
= 12 4r THREADE R <} DIMENSIONS

PART NO. E A S1
GB-02 G1/8"X28 17 14
GB-04 G1/4"X19 21 17
GB-06 G3/8"X19 24 22
GB-08 G1/2"X14 27 26
GB-12 G3/4"X14 33 34
GB-16 G1"X11 38 41
GB-20 G1.1/4"X11 45 54
GB-24 G1.1/2"X11 47 56
GB-32 G2"X11 60 68

- 167 -




i

AB

:
. [ TRz 7 % 2
mJ | Ll A AMELCB0 © P HE
\ BSP MALE 60 ° SEAT TEE
A \& B
= 1247 THREADE R =} DIMENSIONS
PART NO. E F G A B C S1
AB-02 G1/8"X28 [G1/8"X28 Q1/8"X28AB- 24 24 24 1
04 G1/4"X19 [G1/4"X19 Q1/4"X19AB- 27 27 27 14
06 G3/8"X19 |G3/8"X19 (33/8"X19AB- 28 28 28 17
08 G1/2"X14 [G1/2"X14 Q1/2"X14AB- 33 33 33 22
10 G5/8"X14 |G5/8"X14 Q5/8"X14AB- 33 33 33 22
12 G3/4"X14 [G3/4"X14  G3/4"X14AB- 40 40 40 27
16 G1"X11 G1"X11 G1"X11 49 49 49 33
AB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 57 57 57 44

S2
Y= BB
b0/
"~z 4 YA HMBL60 ° 4/
ol i L w U IR MIES)
: BSP MALE 60 ° SEAT/
A \S—1A BSP FEMALE 60 ° CONE BRANCH TEE

a2 12 4; THREADE J* =} DIMENSIONS
PART NO. E F A C S1 S2
BB-02 G1/8"X28 G1/8"X28 24 5.5 11 14
BB-04 G1/4"X19 G1/4"X19 27 5.5 14 19
BB-06 G3/8"X19 G1/4"X19 28 6.5 17 22
BB-08 G1/2"'X14 G1/2"X14 33 8 22 27
BB-12 G3/4"X14 G3/4"X14 40 11.5 27 32
BB-16 G1"X11 G1"X11 49 11.5 33 41
BB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50

- 168 -




60 °

60 °
E
o CB
/{ BT HNMIZL60 ° P EE/
gl v HAE IR AME T S =3
B \ Et_ BSP MALE 60 ° SEAT/
L BSP FEMALE 60 ° CONE RUN TEE
A $1 s2
e #24; THREADE R =} DIMENSIONS
PART NO. E F A C S1 S2
CB-02 G1/8"X28 | G1/8"X28 24 | 55 11 14
CB-04 G1/4"X19 | G1/4"X19 27 | 5.5 14 19
CB-06 G3/8'X19 | G1/4"X19 28 | 6.5 | 17 22
CB-08 G1/2'X14 | G1/2"X14 33 8 22 27
CB-12 G3/4"X14 | G3/4"X14 40 | 115 | 27 32
CB-16 GI"X11__| G1"X11 49 | 115 | 33 M
CB-20 G1.1/4'¥11 ,Lb1.1/4"x11 57 | 12 | 44 | 50
4
F
gl DB
G .
v
! B IR S A ME =3
‘ ‘ - BSP FEMALE 60 ° CONE TEE
ﬂfﬁ \ E& —
\ﬂ ?iz
re 124, THREADE R <} DIMENSIONS
PART NO. E F C S1 s2
DB-02 G1/8"X28 | G1/8"'X28 55 | 11 14
DB-04 G1/4"X19 | G1/4"X19 55 | 14 19
DB-06 G3/8"X19 | G1/4"X19 6.5 | 17 22
DB-08 G1/2'X14 | G1/2"X14 8 22 27
DB-12 G3/4"X14 | G3/4"X14 15 | 27 32
DB-16 G1"X11 G1"X11 115 | 33 41
DB-20 G1.1/4"X11 | G1.1/4"X11 12 44 50

- 169 -




o

6 o

N o

c:dﬂ \

\s1

=

EB

S NIRL60 ° S/
SO SMEL60 © NHES L= H
BSP FEMALE 60 * CONE/
BSP MALE 60 ° BRANCH TEE

Elir=

e J124r THREADE JX =} DIMENSIONS
PART NO. E F A C S1 S2
EB-02 G1/8"X28 G1/8"X28 24 5.5 11 14
EB-04 G1/4"X19 G1/4"X19 27 5.5 14 19
EB-06 G3/8"X19 G1/4"X19 28 6.5 17 22
EB-08 G1/2"X14 G1/2"X14 33 8 22 27
EB-12 G3/4"X14 G3/4"X14 40 11.5 27 32
EB-16 G1"X11 G1"X11 49 11.5 33 41
EB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50
6Q°

FB

S NIBL60 ° SME/
SEHMRE60 ° NHESY S
BSP FEMALE 60 * CONE/
BSP MALE 60 * BRANCH TEE

(3

B 124 THREADE R~} DIMENSIONS
PART NO. E F A c S1 S2
FB-02 G1/8"X28 | G1/8"X28 24 | 55 | 11 14
FB-04 G1/4"'X19 | G1/4"X19 27 | 55 | 14 19
FB-06 G3/8"X19 | G1/4"X19 28 | 6.5 | 17 22
FB-08 G1/2'X14 | G1/2"X14 33 8 22 27
FB-12 G3/4'X14 | G3/4"X14 40 | 115 | 27 32
FB-16 G1"X11 G1"X11 49 | 115 | 33 41
FB-20 G1.1/4"X11 | G1.1/4"X11 57 12 44 50

- 170 -




ABBG-0G

S2
| s Y ° v | A
A SEEPSMBALB0 * P/ S
ol L " L OAY Rl mI ] i) A i 3 57 =3
lb‘* J BSP MALE 60 ° SEAT/BSP MALE
\ 0-RING ADJUSTABLE STUD END RUN TEE
A \st g

! #4 THREADE R~} DIMENSIONS

PART NO. E F G A B S1 S2
ABBG-040G G1/4"X19 G1/4"X19 G1/4"X19 27 24.5 14 19
IABBG-04-04-060G G1/4"X19 G1/4"X19 G3/8"X19 28 26.5 17 19
ABBG-060G G3/8"X19 G3/8"X19 G3/8"X19 28 27.5 17 22
IABBG-06-06-080G G3/8"X19 G3/8"X19 G1/2"X19 33 31 22 22
ABBG-080G G1/2"X14 G1/2"X14 G1/2"X14 33 345 22 27
ABBG-120G G3/4"X14 G3/4"X14 G3/4"X14 33 40 24 32
ABBG-160G G1"X11 G1"X11 G1"X11 49 46 33 41

_F
% ABGB-0G
[as) %
, 7 , BAFIMEL60 ° L BeEr s
1 1NE SO T 3 45 =
BSP MALE 60 ° SEAT/BSP MALEO-RING
\ ADJUSTABLE STUD END BRANCH TEE
A \ﬂA

= 124 THREADE K~} DIMENSIONS
PART NO. E F G A B S1 52
ABGB-040G G1/4"X19 G1/4"X19 G1/4"X19 27 31.8 14 19
ABGB-06-04-060G G1/4"X19 G1/4"X19 G3/8"X19 28 33.5 17 19
ABGB-060G G3/8"X19 G3/8"X19 G3/8"X19 28 36.8 17 22
ABGB-08-06-080G G3/8"X19 G3/8"X19 G1/2"X19 33 39.5 22 22
ABGB-080G G1/2"X14 G1/2"X14 G1/2"X14 33 43.2 22 27
ABGB-12-08-120G G3/4"X14 G1/2"X14 G3/4"X14 33 46.5 24 27
ABGB-120G G3/4"X14 G3/4"X14 G3/4"X14 33 49.3 24 32
ABGB-160G G1"X11 G1"X11 G1"X11 49 53 33 41

- 171



o

1T

BEREAT ML
BSPT MALE

S1
fri i2 40 THREADE R =t DIMENSIONS
PART NO. E F A B S1 L
1T-02 ZG1/8"X28 | ZG1/8"X28 10 10 12 26
1T-02-04 ZG1/8"X28 | ZG1/4"X19 10 14 14 30
1T-02-06 ZG1/8"X28 | ZG3/8"X19 10 14 17 30
1T-04 ZG1/4"X19 | ZG1/4"X19 14 14 14 34
1T-04-06 ZG1/4"X19 | ZG3/8"X19 14 14 17 34
1T-04-08 ZG1/4"X19 | ZG1/2"X14 14 19 22 415
1T-06 ZG3/8"X19 | ZG3/8"X19 14 14 17 34
1T-06-08 ZG3/8"X19 | ZG1/2"X14 14 19 22 41
1T-08 ZG1/2"X14 | ZG1/2"X14 19 19 22 46
1T-08-12 ZG1/2"X14 | ZG3/4"X14 19 | 195 | 27 47
1T-12 ZG3/4"X14 | ZG3/4"X14 19.5 | 195 | 27 48
1T-12-16 ZG3/4"X14 | ZG1"X11 19.5 | 24 36 53
1T-16 Z61"X11 Z61"X11 24 24 36 58
1T-16-20 Z61"X11 | ZG1.1/4"X11 24 25 46 62
1T-20 ZG1.1/4"X11 | ZG1.1/4"X11 25 25 46 63
1T-20-24 | ZG1.1/4"X11 | ZG1.1/2"X11 25 25 50 65
1T-24 ZG1.1/2"X11 | ZG1.1/2"X11 25 25 50 65
1T-24-32  |ZG1.1/2"X11 | ZG2"X11 25 29 70 72
1T-32 262"X11 262"X11 29 29 70 75

- 172 -




1T4

45 ° JHEE JMERLL
45 ° BSPT MALE

A S1
o2 12 4r THREADE J <t DIMENSIONS
PART NO. E F A B S1
1T4-02 ZG1/8"X28 | ZG1/8"X28 19 21 11
1T4-04 ZG1/4"X19 | ZG1/4"X19 22 27 14
1T4-06 ZG3/8"X19 | ZG3/8"X19 22 29 17
1T4-08 ZG1/2"X14 | ZG1/2"X14 27 37 22
1T4-12 ZG3/4"X14 | ZG3/4"X14 33 43 27
1T4-16 ZG1"X11 ZG61"X11 37 47 33
1T4-20 Z2G1.1/4"X11 | ZG1.1/4"X11 40 56 44
1T4-24 Z2G1.1/2"X11 | ZG1.1/2"X11 47 57 53
1T4-32 2G2"X11 2G2"X11 55 63 65
F
g 1T9
[N 90 ° SEHERFIMRLL
v 90 ° BSPT MALE
A S1
feE 124; THREADE ]~} DIMENSIONS
PART NO. E F A B S1
1T9-02 ZG1/8"X28 | ZG1/8"X28 22 22 11
1T9-04 Z2G1/4"X19 | ZG1/4"X19 29 27 14
1T9-06 ZG3/8"X19 | ZG3/8"X19 30 29 17
17T9-08 ZG1/2"X14 | ZG1/2"X14 37 37 22
1T9-12 ZG3/4"X14 | ZG3/4"X14 40 40 27
1T9-16 Z61"X11 ZG1"X11 49 49 33
1T9-20 Z2G1.1/4"X11 | ZG1.1/4"X11 57 57 44
1T9-24 ZG1.1/2"X11 | ZG1.1/2"X11 57 57 48
1T9-32 262"X11 2G2"X11 66 66 65

- 173 -




-

\e

41

SeHEE SMREUIE K

BSPT MALE PLUG

St
) # 4 THREADE & <} DIMENSIONS

PART NO. E A S1 L
4T-02 ZG1/8'X28 10 12 16
4T-04 ZG1/4"X19 14 17 20
4T-06 7G3/8"X19 14 19 21
4T-08 ZG1/2"X14 19 22 27
4T-12 ZG3/4"X14 19.5 30 29
4T-16 261"X11 24 36 36
4T-20 7G1.1/4"X11 25 46 38
4T-24 ZG1.1/2"X11 25 50 41
4T-32 262"X11 29 65 46

E
/_&
A 4TN
SRR SMRL A AN AL
BSPT MALE HOLLOW HEX PLUG
L

o # 4 THREADE ] =t DIMENSIONS

PART NO. E L S

4TN-02 ZG1/8'X28 8 5

4TN-04 ZG1/4"X19 10 6

4TN-06 ZG3/8"X19 12 8

4TN-08 ZG1/2'X14 15 10

4TN-12 ZG3/4"X14 18 12

4TN-16 261"X11 20 17

4TN-20  |ZG1.1/4"X11 22 22

- 174 -




A
A ' 5T
§ SR FMR S FEERE IR
; BSPT MALE/BSPT FEMALE
\e

=, i2 40 THREADE R~} DIMENSIONS
PART NO. E F A S1 L

5T-02 ZG1/8"X28 | ZG1/8"X28 10 14 25
5T-02-04 ZG1/8"X28 | ZG1/4"X19 10 19 28
5T-04-02 ZG1/4"X19 | ZG1/8"X28 14 17 20

5T-04 ZG1/4'X19 | ZG1/4"X19 14 19 32
5T-04-06 ZG1/4"X19 | ZG3/8"X19 14 22 34
5T-06-02 ZG3/8"X19 | ZG1/8"X28 14 19 21
5T-06-04 ZG3/8"X19 | ZG1/4"X19 14 19 21
5T-06-06 ZG3/8"X19 | ZG3/8"X19 14 24 34
5T-06-08 ZG3/8"X19 | ZG1/2"X14 14 30 40
5T-08-02 ZG1/2"X14 | ZG3/4"X14 19 24 27
5T-08-04 ZG1/2'X14 | ZG1/4"X19 19 24 27
5T-08-06 ZG1/2'X14 | 2G3/8"X19 19 24 27
5T-08-12 ZG1/2"X14 | ZG3/4"X14 19 36 49
5T-12-04 ZG3/4"X14 | ZG1/4"X19 19.5 27 29
5T-12-06 ZG3/4"X14 | 2G3/8"X19 19.5 27 29
5T-12-08 ZG3/4"X14 | ZG1/2"X14 19.5 30 29
5T-12-16 ZG3/4"X14 | ZG1"X11 19.5 41 54
5T-12-20 ZG3/4"X14 | ZG1.1/4"X11 19.5 50 56
5T-16-06 Z61"X11 | ZG3/8"X19 24 36 34
5T-16-08 Z61"X11 | ZG1/2"X14 24 36 34
5T-16-12 Z61"X11 | ZG3/4"X14 24 36 34
5T-16-16 Z61"X11 Z61"X11 24 41 58
5T-20-12  |ZG1.1/4"X11| ZG3/4"X14 25 46 38
5T-20-16  |ZG1.1/4"X11|  ZG61"X11 25 46 38
5T-24-16  |ZG1.1/2"X11|  ZG1"X11 25 50 42
5T-24-20 |ZG1.1/2"X11 | ZG1.1/4"X11 25 50 42
5T-32-16 262"X11 Z61"X11 29 65 47
5T-32-20 Z62"X11 | ZG1.1/4"X11 29 65 47
5T-32-24 Z62"X11 | ZG1.1/2"X11 29 65 47

- 175 -




E - 5T9

90 ° JEHER SMBLY JEHE IR
{/ 90 ° BSPT MALE/BSPT FEMALE

A S1
=, i24r THREADE R~} DIMENSIONS
PART NO. E F A B S1
5T9-02 ZG1/8"X28 | ZG1/8"X28 30 23 17
5T9-04 ZG1/4"X19 | ZG1/4"X19 33 25 19
5T9-06 ZG3/8"'X19 | ZG3/8"X19 37 25 22
5T9-08 ZG1/2"X14 | ZG1/2"X14 43 | 315 | 27
5T9-12 ZG3/4"X14 | ZG3/4"X14 52 37 33
5T9-16 Z61"X11 Z61"X11 59 43 44
5T9-20 ZG1.1/4"X11 | ZG1.1/4"X11 61 50 50
5T9-24 ZG1.1/2"X11 | ZG1.1/2"X11 65 55 65

- 176 -




A _B _
— 7T
YLHEAS N IREL
BSPT FEMALE
S1
%= 124 THREADE R <t DIMENSIONS
PART NO. E F A B S1 L
7T-02 ZG1/8"X28 ZG1/8"X28 8 8 14 22
7T-04-02 ZG1/4"X19 ZG1/8"X28 10 8 19 26
7T-04 ZG1/4"X19 ZG1/4"X19 10 10 19 28
7T-06-04 ZG3/8"X19 ZG1/4"X19 10 8 19 26
7T-06 ZG3/8"X19 ZG3/8"X19 11 11 19 28
7T-08-04 ZG1/2"X14 ZG1/4"X19 14 10 27 34
7T-08 ZG1/2"X14 ZG1/2"X14 14 14 27 38
7T-12 ZG3/4"X14 ZG3/4"X14 15.5 15.5 36 42
7T-16 ZG1"X11 ZG1"X11 17 17 41 50
7T-20 ZG1.1/4"X11 | ZG1.1/4"X11 19 19 50 55
7T-24 ZG1.1/2"X11 | ZG1.1/2"X11 19 19 55 55
7T-32 2G2"X11 2G2"X11 21 21 70 60

- 177 -




-

A &ﬂ

90 ° BEHER NIRLL
90 * BSPT FEMALE

779

=, 124 THREADE R =} DIMENSIONS
PART NO. E F A B S1
7T9-02 ZG1/8"X28 | ZG1/8"X28 17 17 14
7T9-02-04 | ZG1/8"'X28 | ZG1/4"X19 21 21 17
7T9-04 ZG1/4"X19 | ZG1/4"X19 21 21 17
7T9-06 ZG3/8"'X19 | 2G3/8"X19 24 24 22
7T9-08 ZG1/2'X14 | ZG1/2"X14 27 27 26
7T9-12 ZG3/4"X14 | ZG3/4"X14 33 33 34
7T9-16 Z61"X11 Z61"X11 38 38 41
7T9-20 ZG1.1/4"X11 | ZG1.1/4"X11 45 45 54
7T9-24 ZG1.1/2"X11 | ZG1.1/2"X11 47 47 56
7T9-32 262"X11 262"X11 60 60 68

E

%

é

GT

_6%%4 s
\ e
St BSPT FEMALE TEE
s |\

= 1240 THREADE R~} DIMENSIONS
PART NO. E A S1
GT-02 ZG1/8"X28 17 14
GT-04 ZG1/4"X19 21 17
GT-06 ZG3/8"X19 24 22
GT-08 ZG1/2"X14 27 26
GT-12 ZG3/4"X14 33 34
GT-16 ZG1"X11 38 41
GT-20 ZG1.1/4"X11 45 54
GT-24 ZG1.1/2"X11 47 56
GT-32 Z62"X11 60 68




e
By

LT

ﬂ S P
BSPT FEMALE CROSS
A
2 12 4. THREADE K =7 DIMENSIONS
PART NO. E A S1
ZT-02 ZG1/8"X28 17 14
ZT-04 ZG1/4"X19 21 17
ZT-06 ZG3/8"X19 24 22
ZT-08 ZG1/2"X14 27 26
ZT-12 ZG3/4"X14 33 34
ZT-16 ZG1"X11 38 41
ZT-20 ZG1.1/4"X11 45 54
T
A S1
5GT
B | g YR AMBLORIE W HERP I
. BSP MALE O-RING/BSPT FEMALE
feE 124 THREADE R~} DIMENSIONS
PART NO. E F S1 L
5GT-02 G1/8"X28 ZG1/8"X28 14 24
5GT-04 G1/4"X19 ZG1/4"X19 12 19 30
5GT-06 G3/8"X19 ZG3/8"X19 13.5 22 33.5
5GT-08-06 G1/2"X14 ZG3/8"X19 16 27 36
5GT-08 G1/2"X14 ZG1/2"X14 16 27 36
5GT-12 G3/4"X14 ZG3/4"X14 18.5 36 49
5GT-16 G1"X11 ZG1"X11 20.5 41 55

- 179 -




o

N

N e T HEAE SRS
% 7z NPT MALE
o/
S1

= 124 THREADE K =7 DIMENSIONS
PART NO. E F A B Sl L

1N-02 Z1/8"X27 Z1/8"X27 10 10 12 26
1N-02-04 Z1/8"X27 Z1/4"X18 10 14 14 30
1N-02-06 Z1/8"X27 Z3/8"X18 10 14 17 30

1N-04 Z1/4"X18 Z1/4"X18 14 14 14 34
1N-04-06 Z1/4"X18 Z3/8"X18 14 14 17 34
1N-04-08 Z1/4"X18 Z1/2"X14 14 19 22 41.5

1N-06 Z3/8"X18 Z3/8"X18 14 14 17 34
1N-06-08 Z3/8"X18 Z1/2"X14 14 19 22 41

1N-08 Z1/2"X14 Z1/2"X14 19 19 22 46
1N-08-12 Z1/2"X14 Z3/4"X14 19 19.5 27 47

1N-12 Z3/4"X14 Z3/4"X14 19.5 19.5 27 48
1N-12-16 Z3/4"X14 Z1"X11.5 19.5 24 36 53

1N-16 Z1"X11.5 Z1"X11.5 24 24 36 58
1N-16-20 Z1"X11.5 Z1.1/4"X11.5 24 25 46 62

1N-20 Z11/4"X11.5 | Z1.1/4"X11.5 25 25 46 63
1N-20-24 Z11/4"X11.5 | Z1.1/2"X11.5 25 25 50 65

1N-24 Z11/2"X11.5 |1 Z1.1/2"X11.5 25 25 50 65
1N-24-32 Z1.1/2"X11.5 Z2"X11.5 25 29 70 72

1N-32 Z2"X11.5 Z2"X11.5 29 29 70 75

- 180 -




{

1N4

45 ° S HER SMREL
45 ° NPT MALE

A st
T # % THREADE R < DIMENSIONS
PART NO. E F A B S1
1N4-02 Z1/8"X27 Z1/8"X27 19 | 21 | 11
1N4-04 Z1/4"X18 71/4"X18 22 | 27 | 14
1N4-06 Z3/8"X18 73/8"X18 22 | 29 | 17
1N4-08 Z1/2"X14 71/2"X14 27 | 37 | 22
1N4-12 Z3/4"X14 Z3/4"X14 33 | 43 | 27
1N4-16 Z1"X115 | Z1"X115 37 | 47 | 33
1N4-20 | Z1.1/4"X11.5 | Z1.1/4"X115 40 | 56 | 44
1N4-24 | Z1.1/2'X115 | Z1.1/2'X115 47 | 57 | 53
1N4-32 Z2"X115 | Z2"X115 55 | 63 | 65

F
g 1N9
o MY
‘%L | \ 90 * Sl HE R SMREL

L 90 “ NPT MALE

R
) 14 THREADE R <+ DIMENSIONS
PART NO. E F A B S1
1N9-02 71/8"X27 71/8"X27 22 | 22 | 11
1N9-04 71/4"X18 71/4"X18 29 | 27 | 14
1N9-06 73/8'X18 73/8'X18 30 | 29 | 17
1N9-08 71/2'X14 71/2'X14 37 | 37 | 22
1N9-12 Z3/4"X14 73/4"X14 40 | 40 | 27
1N9-16 Z1"X115 | Z1"X11.5 49 | 49 | 33
IN9-20 | Z1.1/4"X11.5 | Z1.1/4"X115 57 | 57 | 44
1N9-24 | Z1.1/2'X115 | Z1.1/2'X11.5 57 | 57 | 48
1N9-32 72'X115 | Z2"X115 66 | 66 | 65




S1

=

L

4ANN

SEAITHER SNBSSk
NPT MALE HOLLOW HEX PLUG

= 124 THREADE R =t DIMENSIONS

PART NO. E L S1

4NN-02 Z1/8"X27 8 5

4NN-04 Z1/4"X18 10 6

4NN-06 Z3/8"X18 12 8

4NN-08 Z1/2"X14 15 10

4NN-12 Z3/4"X14 18 12

4NN-16 Z1"X11.5 20 17

A
4N
=
JE A A SMRBUIE Sk
NPT MALE PLUG

=2 1240 THREADE JR =t DIMENSIONS

PART NO. E A S1 L
4N-02 Z1/8"X27 10 12 16
4N-04 Z1/4"X18 14 17 20
4N-06 Z3/8"X18 14 19 21
4N-08 Z21/2"X14 19 22 27
4N-12 Z3/4"X14 19.5 30 29
4N-16 Z1"X11.5 24 36 36
4N-20 Z1.1/4X11.5 25 46 38
4N-24 Z1.1/2"X11.5 25 50 41
4N-32 Z2"X11.5 29 65 46

- 182 -




S1
/—

> N
o x 9
§ | 5 i T S AMR S TR N IREL
J NPT MALE/NPT FEMALE
E F

=, i2 40 THREADE R~} DIMENSIONS
PART NO. E F A S1 L

5N-02 71/8"X27 Z1/8"X27 10 14 25
5N-02-04 Z1/8"X27 Z1/4"X18 10 19 28
5N-04-02 Z1/4"X18 Z1/8"X27 14 17 20

5N-04 Z1/4"X18 Z1/4"X18 14 19 32
5N-04-06 Z1/4"X18 Z3/8"X18 14 22 34
5N-06-02 Z3/8"X18 Z1/8"X28 14 19 21
5N-06-04 Z3/8"X18 Z1/4"X18 14 19 21
5N-06-06 Z3/8"X18 Z3/8"X18 14 24 34
5N-06-08 Z3/8"X18 Z1/2"X14 14 30 40
5N-08-02 Z1/2"X14 Z3/4"X14 19 24 27
5N-08-04 Z1/2"X14 Z1/4"X18 19 24 27
5N-08-06 Z1/2"X14 Z3/8"X18 19 24 27
5N-08-12 Z1/2"X14 Z3/4"X14 19 36 49
5N-12-04 Z3/4"X14 Z1/4"X18 19.5 27 29
5N-12-06 Z3/4"X14 Z3/8"X18 19.5 27 29
5N-12-08 Z3/4"X14 Z1/2"X14 19.5 30 29
5N-12-16 Z3/4"X14 Z1"X11.5 19.5 41 54
5N-12-20 Z3/4"X14 | Z1.1/4"X11.5 19.5 50 56
5N-16-06 Z1"X11.5 Z3/8"X18 24 36 34
5N-16-08 Z1"X11.5 Z1/2"X14 24 36 34
5N-16-12 Z1"X11.5 Z3/4"X14 24 36 34
5N-16-16 Z1"X11.5 Z1"X11.5 24 41 58
5N-20-12 | Z1.1/4"X11.5 |  Z3/4"X14 25 46 38
5N-20-16 | Z1.1/4"X11.5 | Z1"X11.5 25 46 38
5N-24-16 | Z1.1/2'X11.5 | Z1"X11.5 25 50 42
5N-24-20 | Z1.1/2"X11.5 | Z1.1/4"X11.5 25 50 42
5N-32-16 Z2"X11.5 Z1"X11.5 29 65 47
5N-32-20 Z2"X11.5 | Z1.1/4"X11.5 29 65 47
5N-32-24 Z2"X11.5 | Z1.1/2"X11.5 29 65 47

- 183 -




o

N

\st

SN4

45 ° FHIHEE MRS 1 HEE IRS
45° NPT MALE/NPT FEMALE

A
feE 1240 THREADE J = DIMENSIONS
PART NO. E A B S1
5N4-02 Z1/8"X27 22 17 17
5N4-04 Z1/4"X18 25 20 19
5N4-06 Z3/8"X18 27 19 22
5N4-08 Z21/2"X14 33 28 27
5N4-12 Z3/4"X14 37 30 33
5N4-16 Z1"X11.5 40 37.5 44
5N4-20 Z1.1/4"X11.5 47 30 50
5N4-24 Z1.1/2"X11.5 55 36 65
Fj
E . ON9
90 * SHITHER SMRLY THEE NIRLL
90 * NPT MALE/NPT FEMALE
A S1
2 124 THREADE ] =7 DIMENSIONS
PART NO. E F A B S1
5N9-02 Z1/8"X27 Z21/8"X27 22 17 14
5N9-04-02 Z1/4"X18 Z21/8"X27 27 21 17
5N9-04 Z1/4"X18 Z1/4"X18 27 21 17
5N9-04-06 Z1/4"X18 Z3/8"X18 32 27 22
5N9-06 Z23/8"X18 Z3/8"X18 32 27 22
5N9-08 Z21/2"X14 Z21/2"X14 35 30 27
5N9-12-08 Z3/4"X14 Z1/2"X14 40 32 33
5N9-12 Z3/4"X14 Z3/4"X14 40 32 33
5N9-16 Z1"X11.5 Z1"X11.5 49 38 41
5N9-20 Z1.1/4"X11.5 | Z1.1/4"X11.5 61 43.2 50
5N9-24 Z11/2"X11.5 | Z1.1/2"X11.5 65 52.8 65
5N9-32 Z2"X11.5 Z2"X11.5 65 62 65

- 184 -




A B
/N
i TS RS
NPT FEMALE
St

fri #2 4r THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
7N-02 Z1/8"X27 Z1/8"X27 8 8 14 22
7N-04-02 Z1/4"X18 Z1/8"X27 10 8 19 26
7N-04 Z1/4"X18 Z1/4"X18 10 10 19 28
7N-06-04 Z3/8"X18 Z1/4"X18 10 8 19 26
7N-06 Z3/8"X18 73/8"X18 11 11 19 28
7N-08-04 Z1/2"X14 Z1/4"X18 14 10 27 34
7N-08 Z1/2"X14 Z1/2"X14 14 14 27 38
7N-12 Z3/4"X14 Z3/4"X14 155 | 155 | 36 42
7N-16 Z1"X11.5 Z1"X11.5 17 17 41 50
7N-20 Z1.1/4"X11.5 | Z1.1/4"X11.5 19 19 50 55
7N-24 Z1.1/2"X11.5 | Z1.1/2"X11.5 19 19 55 55
7N-32 Z2"X11.5 Z2"X11.5 21 21 70 60

- 185 -




/N9

90 * Sl 11 A N BREL
90 ° NPT FEMALE
A s1
o2 1240 THREADE ] =7 DIMENSIONS
PART NO. E F A S1
7N9-02 Z1/8"X27 Z1/8"X27 17 14
7N9-02-04 Z1/8"X27 Z1/4"X18 21 17
7N9-04 Z1/4"X18 Z1/4"X18 21 17
7N9-06 Z3/8"X18 Z3/8"X18 24 22
7N9-08 Z21/2"X14 Z21/2"X14 27 26
7N9-12 Z3/4"X14 Z3/4"X14 33 34
7N9-16 Z1"X11.5 Z1"X11.5 38 41
7N9-20 21114115 | Z1.1/4"X11.5 45 54
7N9-24 Z1.1/2"X11.5 | Z1.1/2"X11.5 47 56
7N9-32 Z2"X11.5 Z2"X11.5 60 68
S1
ﬁL
9ON-CAP
e
A HER N IRBOE Sk
) 4 NPT FEMALE PLUG
= 124 THREADE ] =7 DIMENSIONS
PART NO. E A S1
9N-02CAP Z21/8"X27 175 17
9N-04CAP Z1/4"X18 23 19
9N-06CAP Z3/8"X18 24 24
9N-08CAP Z1/2"X14 28 30
9N-12CAP Z3/4"X14 28 36
9N-16CAP Z1"X11.5 34 46
9N-20CAP Z1.1/4"X11.5 37 55
9N-24CAP Z1.1/2"X11.5 37 65
9N-32CAP Z2"X11.5 40.5 75

- 186 -




|
N §\m
St

|
=
\i\

FE Tl SAESMEBLLHT O [/ 56 il 11 4 A S MRS

TNO

NPT MALE/SAE 0-RING BOSS

re i24r THREADE &~} DIMENSIONS
PART NO. E F A B S1 L
10N-04 U7/16"X20 | Z1/4"X18 10 14 19 30
1ON-04-06 | U9/16"X18 | Z1/4"X18 12 14 22 32
10N-06-04 | U7/16"X20 | Z3/8"X18 10 14 19 30
10N-06 u9/16"X18 | Z3/8'X18 12 14 22 34
10N-06-08 U3/4"X16 Z3/8"X18 12 14 27 36
10N-08 U3/4"X16 Z1/2"X14 12 19 27 41
10ON-08-10 U7/8"x14 Z1/2"X14 135 | 19 30 | 425
1ON-08-12 |U1.1/16"X12| Z1/2"X14 16 19 32 45
10ON-12-10 U7/8"X14 Z3/4"X14 135 | 195 | 30 43
10N-12 U1.1/16"X12 | Z3/4"X14 16 | 195 | 32 | 455
10N-16 U1.5/16"x12| Z1"X11.5 16 24 41 52
10N-20-16 | U1.5/16"X12 | Z1.1/4"X11.5 16 25 46 54
10N-20 U1.5/8"X12 | Z1.1/4"X11.5 18 25 50 60
10N-24 U1.7/8"X12 | Z1.1/2"X11.5 185 | 25 55 | 60.5

- 187 -




o

Ql
N_F_

2NU

TIHEE SMRSU KL HINPSMNIRE60 ° Sh
NPT MALE/NPSM FEMALE 60 * CONE

B 124 THREADE R =t DIMENSIONS
PART NO. E F A C S1 S2
2NU-02 Z1/8"X27 Z1/8"X27 10 | 5.5 12 14

2NU-02-04 71/8"X27 Z1/4"X18 10 | 5.5 12 19
2NU-04-02 Z1/4"X18 71/8"X27 14 | 5.5 14 14
2NU-04 Z1/4"X18 Z1/4"X18 14 | 55 | 14 19
2NU-04-06 Z1/4"X18 73/8"X18 14 | 6.5 17 22
2NU-04-08 Z1/4"X18 Z1/2"X14 14 8 19 27
2NU-06 73/8"X18 73/8'X18 14 | 6.5 | 19 22
2NU-06-04 73/8"X18 Z1/4"X18 14 | 5.5 | 19 19
2NU-06-08 73/8'X18 Z1/2"X14 14 8 19 27
2NU-08 Z1/2"X14 Z1/2"X14 19 8 22 27
2NU-08-04 Z1/2"X14 Z1/4"X18 19 | 55 | 22 19
2NU-08-06 Z1/2"X14 73/8'X18 19 | 6.5 | 22 22
2NU-12 Z3/4"X14 Z3/4"X14 195 | 115 | 27 32
2NU-12-06 Z3/4"X14 73/8"X18 195 | 6.5 | 27 22
2NU-12-08 Z3/4"X14 Z1/2"X14 19.5 8 27 27
2NU-12-16 Z3/4"X14 Z1"X11.5 195 | 115 | 36 41
2NU-16-12 Z1"X11.5 Z3/4"X14 24 | 115 | 36 32
2NU-16 Z1"X11.5 Z1"X11.5 24 | 115 | 36 41
2NU-16-20 Z1"X11.5 Z1.1/4"X11.5 24 12 41 50
2NU-20-16 | Z1.1/4"X11.5 Z1"X11.5 25 | 115 | 46 41
2NU-20 Z1.1/4"X11.5 Z1.1/4"X11.5 25 12 46 50
2NU-20-24 | Z1.1/4"X11.5 Z1.1/2"X11.5 25 13 41 55
2NU-24-20 | Z1.1/2"X11.5 Z1.1/4"X11.5 25 12 46 50
2NU-24 Z1.1/2"X11.5 Z1.1/2"X11.5 25 13 50 55
2NU-32 72"X11.5 Z2"X11.5 29 16 65 70

- 188 -




{

45 ° AR SMRSU K HNPSMNIRLI60 © ShE
45° NPT MALE/NPSM FEMALE 60 ° CONE

2NU4

A S1
fri i24r THREADE R =t DIMENSIONS
PART NO. E F A c S1 S2
2NU4-02 Z1/8"X27 Z1/8"X27 177 | 55 | 11 14
2NU4-04 Z1/4"X18 Z1/4"X18 22 | 55 | 14 19
2NU4-04-06 Z1/4"X18 73/8"X18 22 | 65 | 17 22
2NU4-06 73/8"X18 73/8"X18 22 | 6.5 | 17 22
2NU4-06-04 73/8'X18 Z1/4"X18 22 | 55 | 17 19
2NU4-06-08 73/8"X18 Z1/2"X14 25 8 19 27
2NU4-08 Z1/2"X14 Z1/2"X14 27 8 22 27
2NU4-08-06 Z1/2"X14 73/8"X18 27 | 65 | 22 22
2NU4-08-12 Z1/2"X14 Z3/4"X14 33 | 115 | 27 32
2NU4-12 Z3/4"X14 Z3/4"X14 33 | 115 | 27 32
2NU4-12-08 Z3/4"X14 Z1/2"X14 33 8 27 27
2NU4-12-16 Z3/4"X14 Z1"X11.5 37 | 115 | 33 41
2NU4-16 Z1"X11.5 Z1"X11.5 37 | 115 | 33 41
2NU4-16-12 Z1"X11.5 Z3/4"X14 37 | 115 | 33 32
2NU4-20 Z1.1/4"X11.5 Z1.1/4"X11.5 40 12 44 50
2NU4-24 Z1.1/2"X11.5 Z1.1/2"X11.5 47 13 50 55
2NU4-32 Z2"X11.5 Z2"X11.5 55 16 65 70

- 189 -




S2

{

|

\st

90 ° fHHERE SR SEHINPSMNIREL60 ° Sh4
90 ° NPT MALE/NPSM FEMALE 60 ° CONE

2NU9

A
e 124 THREADE J <1 DIMENSIONS
PART NO. E F A C S1 S2
2NU9-02 Z21/8"X27 Z1/8"X27 21 5.5 11 14
2NU9-02-04 Z1/8"X27 Z1/4"X18 21 5.5 11 19
2NU9-04-02 Z1/4"X18 Z21/8"X27 29 5.5 14 14
2NU9-04 Z1/4"X18 Z1/4"X18 29 5.5 14 19
2NU9-04-06 Z1/4"X18 Z3/8"X18 30 6.5 17 22
2NU9-06 Z3/8"X18 Z3/8"X18 30 6.5 17 22
2NU9-06-04 Z3/8"X18 Z1/4"X18 30 5.5 17 19
2NU9-06-08 73/8"X18 Z1/2"X14 33 8 19 27
2NU9-08 Z21/2"X14 Z1/2"X14 37 8 22 27
2NU9-08-06 Z1/2"X14 Z3/8"X18 37 6.5 22 22
2NU9-08-12 Z1/2"X14 Z3/4"X14 43 11.5 27 32
2NU9-12 Z3/4"X14 Z3/4"X14 43 11.5 27 32
2NU9-12-08 Z3/4"X14 Z1/2"X14 43 8 27 27
2NU9-12-16 Z3/4"X14 Z1"X11.5 52 11.5 33 41
2NU9-16 Z1"X11.5 Z1"X11.5 52 11.5 33 41
2NU9-16-12 Z1"X11.5 Z3/4"X14 52 11.5 33 32
2NU9-20-16 | Z1.1/4"X11.5 | Z1"X11.5 59 11.5 44 41
2NU9-20 Z1.1/4"X11.5 | Z1.1/4"X11.5 59 12 44 50
2NU9-24 Z1.1/12"X11.5 | 21.1/2"X11.5 61 13 50 55
2NU9-32 Z2"X11.5 Z2"X11.5 66 16 65 70

- 190 -




L
S1
A
. 5GN
“ F AY a¥ AY
| D'% L PG I,
i BSP MALE O-RING/NPT FEMALE
LB 1240 THREADE R <+ DIMENSIONS
PART NO. E F A S1 L
5GN-02 G1/8"X28 Z1/8"X27 9 17 24
5GN-02-04 G1/8"X28 Z1/4"X18 9 19 27
5GN-04-02 G1/4"X19 Z1/8"X27 12 19 30
5GN-04 G1/4"X19 Z1/4"X18 12 19 30
5GN-04-06 G1/4"X19 Z3/8"X18 12 22 32
5GN-06-04 G3/8"X19 Z1/4"X18 13.5 22 33.5
5GN-06 G3/8"X19 Z3/8"X18 13.5 22 33.5
5GN-08-04 G1/2"X14 Z1/4"X18 16 27 36
5GN-08-06 G1/2"X14 Z3/8"X18 16 27 36
5GN-08 G1/2"X14 Z1/2"X14 16 30 42
5GN-12 G3/4"X14 Z3/4"X14 18.5 36 48.5
5GN-16 G1"X11 Z1"X11.5 20.5 41 54.5
5GN-20 G1.1/4"X11| Z1.1/4"X11.5 20.5 50 57.5
5GN-24 G1.1/2"X11| Z1.1/2"X11.5 23 60 60

- 191 -



[ -

S1
A
Y\

SHN

= F
| % I SMBLUS S T B
—; METRIC MALE L-SERIES/NPT FEMALE
feE 12 4r THREADE R~} DIMENSIONS
PART NO. E F A S1 L
5HN-10-02 M10x1 Z1/8"X27 8.5 14 23
5HN-12-02 M12x1.5 [Z1 | 8"X27 11 17 26
5HN-12-04 M12x1.5 [Z1 | 4"X18 11 19 29
5HN-14-04 M14x1.5 [Z1 | 4"X18 11 19 29
5HN-16-06 M16x1.5 [Z3 / 8"X18 11 22 31
5HN-16-08 M16x1.5 [Z1 | 2"X14 11 30 37
5HN-18-06 M18x1.5 [Z3 / 8"X18 11 24 31
5HN-18-08 M18x1.5 [Z1 | 2"X14 11 30 37
5HN-22-08 M22x1.5 Z21/2"X14 12 30 38
5HN-27-12 M27x2 Z3/4"X14 13 36 43
L
S1
A
|niam 5MN
wl 1 F . . .
| a A SRS AL £ 4B S A S 1 8
é / METRIC MALE WITH BONDED SEAL/NPT FEMALE
/
feE 124 THREADE K~} DIMENSIONS
PART NO. E F A Sl L
5MN-12-02 |M12x1.5| Z1/8"X27 10 19 30
5MN-14-04 |M14x1.5]| Z1/4"X18 1 19 31
5MN-16-06 |M16x1.5| Z3/8"X18 12 22 34
5MN-18-06 |M18x1.5| Z3/8"X18 12 24 34
5MN-22-06 |M22x1.5| Z3/8"X18 14 27 36
5MN-22-08 |M22x1.5| Z1/2"X14 14 30 43

- 192 -



S1

5NO

s SE T HE R SMBEY F:HISAE IR
v I NPT MALE/SAE FEMALE
. 2727
e 124 THREADE JR =t DIMENSIONS

PART NO. E F A S1 L
5N0O-02-04 Z21/8"X27 U7/16"X20 10 17 25
5NO-02-05 Z1/8"X27 U1/2"X20 10 17 25
5NO-04 Z1/4"X18 U7/16"X20 14 17 29
5NO-04-06 Z1/4"X18 U9/16"X18 14 19 32
5NO-04-08 Z1/4"X18 U3/4"X16 14 27 34
5NO-06-04 Z3/8"X18 U7/16"X20 14 19 20
5NO-06 Z3/8"X18 U9/16"X18 14 19 32
5N0O-06-08 Z3/8"X18 U3/4"X16 14 24 34
5NO-08-06 Z1/2"X14 U9/16"X18 19 24 27
5NO-08 Z1/2"X14 U3/4"X16 19 27 39
5NO-08-10 Z1/2"X14 u7/8"X14 19 30 45
5NO-12-08 Z3/4"X14 U3/4"X16 19.5 30 30
5NO-12-10 Z3/4"X14 u7/8"X14 19.5 30 30
5NO-12 Z3/4"X14 U1.1/16"X12 19.5 36 49
5NO-16-12 Z1"X11.5 | U1.1/16"X12 24 36 35
5NO-16 Z1"X11.5 | U1.5/16"X12 24 41 58
5NO-20 Z1.1/4"X11.5 | U1.5/8"X12 25 50 62

- 193 -




v aEAn 50N
w | . FHISAESMELOTL B 2 2 51/
e S 11 40 7 A R
4 SAE O-RING BOSS L-SERIES/
! NPT FEMALE
o % THREADE K.~} DIMENSIONS
PART NO. E F A S1 L
50N-04-02 | U7/16"X20 | Z1/8"X27 10 17 25
50N-04 U7/16"X20 | Z1/4"X18 10 19 28
50N-04-06 | U7/16"X20 | Z3/8"X18 10 24 30
50N-05-02 | U1/2"X20 71/8"X27 10 17 25
50N-06-04 | U9/16"X18 | Z1/4"X18 12 19 30
50N-08-04 | U3/4"X16 Z1/4"X18 12 22 32
50N-08-06 | U3/4"X16 Z3/8"X18 12 22 32
50N-08 U3/4"X16 Z1/2"X14 12 30 38
50N-08-12 | U3/4"X16 Z3/4"X14 12 36 42
50N-10-08 | U7/8"'X14 Z1/2"X14 13.5 30 39
50N-10-06 | U7/8"X14 Z3/8"X18 13.5 27 33
50N-10-12 | U7/8"X14 Z3/4"X14 13.5 36 43
50N-12-08 |U1.1/16"X12| Z1/2"X14 16 32 40
50N-12 U1.1/16"X12| Z3/4"X14 16 36 46
50N-12-16 |U1.1/16"X12| Z1"X11.5 16 41 50
50N-16-12 |U1.5/16"X12| Z3/4"X14 17 41 51
50N-16 U1.5/16"x12| Z1"X11.5 17 41 51
50N-20-16 | U1.5/8"X12 | Z1"X11.5 18 50 54
50N-20 U1.5/8"'X12 | Z1.1/4"X11.5 18 50 54
50N-24-16 | U1.7/8"X12 | Z1"X11.5 18.5 55 56
50N-24-20 | U1.7/8"X12 | Z1.1/4"X11.5 18.5 55 56
50N-24 U1.7/8"X12 | Z1.1/2"X11.5 18.5 60 56
50N-32 U1.1/2"x12 | Z2"X11.5 22 70 59

- 194 -




5TN

SEHEAE SN/ SE AT HER PHIREL
BSPT MALE/NPT FEMALE

= #24r THREADE . <t DIMENSIONS
PART NO. E F A S1 L
5TN-02 ZG1/8"X28 | z1/8"X27 10 17 25
5TN-04-02 | ZG1/4"X19 | Z1/8"X27 14 14 20
5TN-04 ZG1/4"X19 | Z1/4"X18 14 19 32
5TN-06-04 | ZG3/8"X19 | Z1/4"X18 14 19 20
5TN-06 ZG3/8"X19 | Z3/8"X18 14 24 34
5TN-08-06 | ZG1/2'X14 | Z3/8"'X18 19 24 27
5TN-08 ZG1/2'X14 | Z1/2"X14 19 30 45
5TN-12-08 | ZG3/4"X14 | Z1/2"X14 19.5 32 29
5TN-12 ZG3/4"X14 | Z3/4"X14 19.5 36 49
5TN-16-12 | ZG1"X11 | Z3/4"X14 19.5 36 31
5TN-16 Z61"X11 | Z1"X11.5 24 41 58
E s1
) /N
\&j/ SR L
NPT FEMALE CROSS
A
e 24 THREADE . ~F DIMENSIONS
PART NO. E A S1
ZN-04 Z1/4"X18 21 17
ZN-06 73/8"X18 24 22
ZN-08 Z1/2"X14 27 26
ZN-12 Z314"X14 33 34
ZN-16 Z1"X11.5 38 41
ZN-20 Z1.114"X115 45 54

- 195 -




S1

/NU

) TIHEE WIREU LHINPSMNIRL60 ° S
NPT FEMALE/NPSM FEMALE 60 * CONE
c\E

m
Q

i #4 THREADE R I DIMENSIONS
PART NO. E F A c s1 s2
7NU-02 Z1/8"X27 Z1/8"X27 10 | 55 | 17 | 14

7NU-04-02 Z1/4"X18 Z1/8"X27 14 | 55 | 19 | 14
7NU-04 Z1/4"X18 Z1/4"X18 14 | 55 | 19 | 19
7NU-04-06 Z1/4"X18 73/8'X18 14 | 65 | 19 | 22
7NU-06 73/8'X18 73/8'X18 14 | 65 | 22 | 22
7NU-06-08 73/8'X18 Z1/2"X14 14 8 22 | 27
7NU-08-06 Z1/2"X14 73/8'X18 19 | 65 | 30 | 22
7NU-08 Z1/2"X14 Z1/2"X14 19 8 30 | 27
7NU-12 Z3/4"X14 Z3/14"X14 195 | 115 | 36 | 32
7NU-16 Z1"X11.5 Z1"X11.5 24 | 115 | 41 | 41
7NU-20 Z11/4"X11.5 | Z1.1/4"X115 25 | 12 | 50 | 50
7NU-24 Z11/2'X11.5 | 1.1/ 2'X115 25 | 13 | 60 | 55
7NU-32 Z2"'X11.5 Z2"'X11.5 29 | 16 | 70 | 70

- 196 -



N % AN
o I Y,
' | ' SR HERT SN =
| \ J NPT MALE TEE
= 124 THREADE K =7 DIMENSIONS
PART NO. E A 51
AN-02 Z1/8"X27 24 11
AN-04 Z1/4"X18 27 14
AN-06 73/8"X18 28 17
AN-08 Z1/2"X14 33 22
AN-12 Z3/4"X14 40 27
AN-16 Z1"X11.5 49 33
AN-20 Z21.1/4"X11.5 57 44
N GN
. y/
\ HEEE NS =38
] NPT FEMALE TEE
feE 12 4. THREADE R~} DIMENSIONS

PART NO. E A ST
GN-02 Z1/8"X27 17 14
GN-04 Z1/4"X18 21 17
GN-06 Z3/8"X18 24 22
GN-08 Z112"X14 27 26
GN-12 Z3/4"X14 33 34
GN-16 Z1"X11.5 38 41
GN-20 Z21.1/4"X11.5 45 54
GN-24 Z1.1/2"X11.5 47 56
GN-32 Z2"X11.5 60 68

- 197 -




ke

JN

Fe A HE R N IREY A A MRS =
NPT FEMALE/NPT MALE BRANCH TEE

A A

lin= 14 THREADE JU ) DIMENSTONS
PART NO. E F A B S1

JN-02 Z1/8"X27 | Z1/8"X27 17 17 14

JN-04 Z1/4"X18 | Z1/4"X18 21 21 17

JN-06 Z3/8"X18 | Z3/8"X18 24 24 22

JN-08 Z1/2"X14 | Z1/2"X14 27 27 26

JN-12 Z3/4"X14 | Z3/4"X14 33 33 34

JN-16 Z1"X11.5 | Z1"X11.5 38 38 41

N HN
S A R P SR A A SRS 3 3 =
NPT FEMALE/NPT MALE RUN TEE
A B

= 1241 THREADE JU ) DIMENSIONS
PART NO. E F A B S1

HN-02 Z1/8"X27 | Z1/8"X27 17 17 14

HN-04 Z1/4"X18 | Z1/4"X18 21 21 17

HN-06 Z3/8"X18 | Z3/8"X18 24 24 22

HN-08 Z1/2"X14 | Z1/2"X14 27 27 26

HN-12 Z3/4"X14 | Z3/4"X14 33 33 34

HN-16 Z1"X11.5 | Z1"X11.5 38 38 41

- 198 -



T

742

7
LTS
J

SKAJICHTMRLT4 Sk
JIC MALE 74 ° CONE

1J

P 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1J-02 U5/16"X24 U5/16"X24 115 | 115 | 12 29
1J-04 U7/16"X20 U7/16"X20 14 14 14 34
1J-04-05 U7/16"X20 U1/2"X20 14 14 14 34
1J-04-06 U7/16"X20 U9/16"X18 14 14 17 34
1J-04-08 U7/16"X20 U3/4"X16 14 | 167 | 22 39
1J-05 U1/2"X20 U1/2"X20 14 14 14 34
1J-05-06 U1/2"X20 U9/16"X18 14 14 17 35
1J-05-08 U1/2"X20 U3/4"X16 14 | 16.7 | 22 39
1J-05-10 U1/2"X20 U7/8"X14 14 | 195 | 24 42
1J-06 U9/16"X18 U9/16"X18 14 14 17 35.5
1J-06-08 U9/16"X18 U3/4"X16 14 | 167 | 22 38
1J-06-10 U9/16"X18 U7/8"X14 14 | 195 | 24 42
1J-06-12 U9/16"x18 U1.1/16"X12 14 22 30 46
1J-08 U3/4"x16 U3/4"X16 16.7 | 16.7 | 22 42
1J-08-10 U3/4"X16 U7/8"X14 16.7 | 195 | 24 44
1J-08-12 U3/4"X16 U1.1/16"X12 16.7 | 22 30 49
1J-08-16 U3/4"X16 U1.5/16"X12 16.7 | 23 36 51
1J-10 u7/8"X14 U7/8"X14 195 | 195 | 24 475
1J-10-12 u7/8"X14 U1.1/16"X12 195 | 22 30 52
1J-10-16 u7/8"X14 U1.5/16"X12 195 | 23 36 53.5
1J-12 U1.1/16"X12 | U1.1/16"X12 22 22 30 55
1J-12-16 U1.1/16"X12 | U1.5/16"X12 22 23 36 56
1J-16 U1.5/16"X12 | U1.5/16"X12 23 23 36 57
1J-16-20 U1.5/16"X12 | U1.5/8"X12 23 | 245 | 46 60
1J-20 U1.5/8"X12 U1.5/8"X12 245 | 245 | 46 61.5
1J-20-24 U1.5/8"X12 U1.7/8"X12 245 | 275 | 50 66.5
1J-20-32 U1.5/8"X12 U2.1/2"X12 245 | 34 70 75.5
1J-24 U1.7/8"x12 U1.7/8"X12 275 | 275 | 50 69.5
1J-24-32 U1.7/8"X12 U2.1/2"x12 275 | 34 70 78.5
1J-32 u2.1/2"x12 U2.1/2"X12 34 34 70 85

- 199 -




-—

A

1J4

45 ° LI ICHMRIITA * i
45 ° JIC MALE 74 ° CONE

a [\
feE 124 THREADE K =7 DIMENSIONS B

PART NO. E A S1
1J4-04 U7 /16"X20 20 20 11
1J4-05 U1/ 2"X20 22 22 14
1J4-06 U9/16"X18 22 22 14
1J4-08 U3/ 4"X16 25 25 19
1J4-10 U7 /8"X14 27 27 22
1J4-12 U1.1/16"X12 33 33 27
1J4-16 U1.5/16"X12 37 37 33
1J4-20 U1.5/8"X12 40 40 44
1J4-24 U1.7/8"X12 47 47 53
1J4-32 U2.1/2"X12 55 55 65

. F .

(Z BN
. 1J9

70 /
w ﬁ‘— ‘k 90 ° FHIJICHNZLLTA ° S

—

90 ° JIC MALE 74 ° CONE

A S1
= 1240 THREADE JX <} DIMENSIONS
PART NO. E A B S1
1J9-04 Uu7/16"X20 U7/16"X20 22 22 11
1J9-05 U1/2"X20 U1/2"X20 29 27 14
1J9-06 U9/16"X18 U9/16"X18 29 27 14
1J9-08 U3/4"X16 U3/4"X16 33 33 19
1J9-10 u7/8"X14 U7/8"X14 37 37 22
1J9-12 U1.1/16"X12 U1.1/16"X12 40 40 27
1J9-16 U1.5/16"X12 U1.5/16"X12 49 49 33
1J9-20 U1.5/8"X12 U1.5/8"X12 57 57 44
1J9-24 U1.7/8"X12 U1.7/8"X12 57 57 48
1J9-32 U2.1/2"X12 U2.1/2"X12 66 66 65

- 200 -




2J

FHIJICHNRELTA * SMHE
JICHIRZ74 ° pyigk JIC
MALE 74 ° CONE/ JIC
FEMALE 74 ° SEAT

e 1240 THREADE R =t DIMENSIONS
PART NO. E F A C S1 S2
2J-04 U7/16"X20 U7/16"X20 14 8.5 14 17
2J-04-05 U7/16"X20 U1/2"X20 14 9.5 14 19
2J-04-06 U7/16"X20 U9/16"X18 14 10 17 19
2J-04-08 U7/16"X20 U3/4"X16 14 11 22 24
2J-05 U1/2"X20 U1/2"X20 14 9.5 14 19
2J-05-06 U1/2"X20 U9/16"X18 14 10 17 19
2J-05-08 U1/2"X20 U3/4"X16 14 11 22 24
2J-06 U9/16"X18 U9/16"X18 14 10 17 19
2J-06-08 U9/16"X18 U3/4"X16 14 11 22 24
2J-06-10 U9/16"X18 u7/8"X14 14 11 22 27
2J-08 U3/4"X16 U3/4"X16 16.7 11 22 24
2J-08-10 U3/4"X16 u7/8"X14 16.7 11 22 27
2J-08-12 U3/4"X16 U1.1/16"X12 16.7 | 13.5 30 32
2J-10 U7/8"X14 u7/8"X14 19.5 11 22 27
2J-10-08 u7/8"X14 U3/4"X16 19.5 11 22 24
2J-10-12 u7/8"X14 U1.1/16"X12 19.5 | 13.5 30 32
2J-12 U1.1/16"X12 U1.1/16"X12 22 13.5 30 32
2J-12-10 U1.1/16"X12 u7/8"X14 22 11 30 27
2J-12-16 U1.1/16"X12 U1.5/16"X12 22 14.5 36 41
2J-16 U1.5/16"X12 U1.5/16"X12 23 14.5 36 41
2J-16-20 U1.5/16"X12 U1.5/8"X12 23 15.5 41 50
2J-20 U1.5/8"X12 U1.5/8"X12 245 | 155 46 50
2J-20-24 U1.5/8"X12 U1.7/8"X12 245 | 18.5 46 55
2J-24 U1.7/8"X12 U1.7/8"X12 275 | 18.5 50 55
2J-24-32 U1.7/8"X12 U2.1/2"X12 275 | 245 65 75
2J-32 U2.1/2"X12 U2.1/2"X12 34 24.5 65 75

- 201




2J4

45 ° EHIJICHMRLTA ° HhifE/

S2 JICHIRZ74 ° NHEA45 °
JIC MALE 74 ° CONE/ JIC
L FEMALE 74 ° SEAT
A S1

e #2 4 THREADE R <t DIMENSIONS
PART NO. E F A C S1 Y)
2J4-04 U7/16"X20 U7/16"X20 20 | 85 | 11 17
2J4-05 U1/2"X20 U1/2"X20 22 | 95 | 14 19
2J4-06 U9/16"X18 U9/16"X18 22 10 14 19
2J4-08 U3/4"X16 U3/4"X16 25 11 19 24
2J4-10 U7/8"X14 U7/8"X14 27 11 22 27
2J4-12 U1.1/16"X12 | U1.1/16"X12 33 | 135 | 27 32
2J4-16 U1.5/16"X12 | U1.5/16"X12 37 | 145 | 33 41
2J4-20 U1.5/8"X12 U1.5/8"X12 40 | 155 | 44 50
2J4-24 U1.7/8"X12 U1.7/8"X12 47 | 185 | 53 55
2J4-32 U2.1/2"X12 U2.1/2"X12 55 | 245 | 65 75

- 202 -




T [

2J9

90 ° SEHIJICHMRLLTA ° HMES

JICPHRZL74 ° NHE9O °
JIC MALE 74 ° CONE/ JIC

FEMALE 74 ° SEAT

A S1
= 124 THREADE J 5} DIMENSIONS
PART NO. E F A C S1 S2
2J9-04 Uu7/16"x20 U7/16"X20 22 8.5 11 17
2J9-05 U1/2"X20 U1/2"X20 29 9.5 14 19
2J9-06 U9/16"X18 U9/16"X18 29 10 14 19
2J9-06-08 U9/16"X18 U3/4"X16 33 11 19 24
2J9-08-06 U3/4"X16 U9/16"X18 33 10 19 19
2J9-08 U3/4"X16 U3/4"X16 33 11 19 24
2J9-08-10 U3/4"X16 u7/8"X14 37 11 22 27
2J9-10 u7/8"X14 u7/8"xX14 37 11 22 27
2J9-10-08 u7/8"xX14 U3/4"X16 37 11 22 24
2J9-10-12 u7/8"xX14 U1.1/16"X12 40 13.5 27 32
2J4-12 U1.1/16"X12 U1.1/16"X12 40 13.5 27 32
2J4-12-10 U1.1/16"X12 u7/8"X14 40 11 27 27
2J4-12-16 U1.1/16"X12 U1.5/16"X12 49 14.5 33 41
2J9-16 U1.5/16"X12 U1.5/16"X12 49 14.5 33 41
2J9-16-20 U1.5/16"X12 U1.5/8"X12 57 15.5 44 50
2J9-20-16 U1.5/8"X12 U1.5/16"X12 57 14.5 44 41
2J9-20 U1.5/8"X12 U1.5/8"X12 57 15.5 44 50
2J9-20-24 U1.5/8"X12 U1.7/8"X12 57 18.5 48 55
2J9-24-20 U1.7/8"X12 U1.5/8"X12 57 15.5 48 50
2J9-24 U1.7/8"X12 U1.7/8"X12 57 18.5 48 55
2J9-32 U2.1/2"X12 U2.1/2"X12 66 24.5 65 75

- 203 -




S1

e

3J

SKAJICHIRET4 © P
JIC FEMALE 74 ° SEAT

C d

e i2 40 THREADE R ~F DIMENSIONS
PART NO. E F C d S1 Y]

3J-04 U7/16"X20 U7/16"X20 85 | 85 | 17 17

3J-05 U1/2"X20 U1/2"X20 95 | 95 | 19 19

3J-06 U9/16"X18 U9/16"X18 10 10 19 19
3J-06-08 U9/16"X18 U3/4"X16 10 11 19 24

3J-08 U3/4"X16 U3/4"X16 11 11 24 24

3J-10 U7/8"X14 U7/8"X14 11 11 27 27

3J-12 U1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 32

3J-16 U15/16'X12 || U15/16"X12 145 | 145 | 41 41

3J-20 U1.5/8"X12 ( U1.5/8"X12 155 | 155 | 50 50

3J-24 U1.7/8"X12 U1.7/8"X12 185 | 185 | 55 55

/
/\< R
3J4
S2 45 ° SEHIJICINIRZLT4 ° N HE
45 ° JIC FEMALE 74 ° SEAT
S1

= #2 4 THREADE R~} DIMENSIONS
PART NO. E F C d S1 S2
3J4-04 U7/16"X20 U7/16"X20 85 | 85 | 17 17
3J4-05 U1/2"X20 U1/2"X20 95 | 9.5 | 19 19
3J4-06 U9/16"X18 U9/16"X18 10 10 19 19
3J4-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J4-08 U3/4"X16 U3/4"X16 11 11 24 24
3J4-10 U7/8"X14 U7/8"X14 11 11 27 27
3J4-12 U1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 32
3J4-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 41
3J4-20 U1.5/8"X12 U1.5/8"X12 155 | 155 | 50 50
3J4-24 U1.7/8"X12 U1.7/8"X12 185 | 185 | 55 55

- 204 -




L 3J9

: A
3 MJ 90 * HEHIJICHIRLTA ° Pyt
90 ° JIC FEMALE 74 ° SEAT
P St
= 24 THREADE K.~} DIMENSIONS
PART NO. E F C d S1 S2
3J9-04 U7/16"X20 U7/16"X20 8.5 | 85 | 17 17
3J9-05 U1/2"X20 U1/2"X20 9.5 | 95 | 19 19
3J9-06 U9/16"X18 U9/16"X18 10 10 19 19
3J9-06-08 U9/16"X18 U3/4"X16 10 11 19 24
3J9-08 U3/4"X16 U3/4"X16 11 11 24 | 24
3J9-10 U7/8"X14 U7/8"X14 11 11 27 | 27
3J9-12 U1.1/16"X12 | U1.1/16"X12 135 | 135 | 32 | 32
3J9-16 U1.5/16"X12 | U1.5/16"X12 145 | 145 | 41 41
3J9-20 U1.5/8"X12 U1.5/8"X12 155 | 155 | 50 | 50
3J9-24 U1.7/8"X12 U1.7/8"X12 185 | 185 | 55 | 55
L
A e\
4J
qj// | SEHIIICHNRETA * SRS
JIC MALE 74 ° CONE PLUG
S1
e i24r THREADE R s} DIMENSIONS
PART NO. E A S1 L
4J-04 U7/16"X20 14 14 20
4J-05 U1/2"X20 14 14 20
4J-06 U9/16"X18 14 17 20
4J-08 U3/4"X16 16.7 22 25
4J-10 U7/8"X14 19.5 24 28
4J-12 U1.1/16"X12 22 30 31
4J-16 U1.5/16"X12 23 36 34
4J-20 U1.5/8"X12 24.5 46 38
4J-24 U1.7/8"X12 27.5 50 44
4J-32 U2.1/2"X12 34 65 52

- 205 -




S1

~A _
o 5J
w ,\ [
FlJICHMRLL/ Sl ICHIREL
N @ JIC MALE/JIC FEMALE
C |

e #4; THREADE ] <} DIMENSIONS
PART NO. E F A C S1
5J-06-04 U9/16"X18 U7/16"X20 14 | 10 | 19
5J-08-04 U3/4"X16 U7/16"X20 14 | 11 | 24
5J-10-04 u7/8"X14 U7/16"X20 14 | 12 | 27
5J-12-04 UT.1/16"X12 | U7/16"X20 14 | 13 | 32
5J-08-05 U3/4"X16 U1/2"X20 14 | 11 | 24
5J-10-05 u7/8"X14 U1/2"X20 14 | 12 | 27
5J-12-05 UT.1/16"X12 | U1/2"X20 14 | 13 | 32
5J-08-06 U3/4"X16 U9/16"X18 14 | 11 | 24
5J-10-06 u7/8"X14 U9/16"X18 14 | 12 | 27
5J-12-06 UT.1/16"X12 | U9/16"X18 14 | 13 | 32
5J-16-06 U1.5/16"X12 | U9/16"X18 14 | 14 | 38
5J-12-08 U1.1/16"X12 |  U3/4"X16 167 | 13 | 32
5J-16-08 U1.5/16"X12 |  U3/4"X16 167 | 14 | 38
5J-20-08 U1.5/8"X12 U3/4"X16 167 | 15 | 50
5J-16-10 U1.5/16"X12 |  U7/8"X14 195 | 14 | 38
5J-20-10 U1.5/8"X12 U7/8"X14 195 | 15 | 50
5J-24-10 U1.7/8"X12 U7/8"X14 195 | 19 | 55
5J-16-12 U1.5/16"X12 | U1.1/16"X12 22 | 14 | 38
5J-20-12 U1.5/8'X12 | U1.1/16"X12 22 | 15 | 50
5J-24-12 U1.7/8'X12 | U1.1/16"X12 22 | 19 | 55
5J-20-16 U1.5/8'X12 | U15/16"X12 23 | 15 | 50
5J-24-16 U1.7/8'X12 | U1.5/16"X12 23 | 19 | 55
5J-24-20 U1.7/8'X12 | U1.5/8"'X12 245 | 19 | 55

- 206 -




742

fu=

-

|
S

6J

S ICHMELTA ° SR Bk
JIC MALE 74 ° CONE BULKHEAD

= 1241 THREADE JL =} DIMENSIONS
PART NO. E A B S1 L
6J-04 U7/16"X20 14 32.5 17 53
6J-06 U9/16"X18 14 32.5 22 54
6J-08 U3/ 4"xX16 16.7 | 36.5 24 61.5
6J-10 u7/8"x14 19.5 40 30 69.5
6J-12 U1.1/16"X12 22 44.5 36 78
6J-16 U1.5/16"X12 23 44.5 41 80
6J-20 U1.5/8"X12 245 | 45.7 50 84
6J-24 U1.7/8"X12 27.5 46 55 89
6J-32 u2.1/2"X12 | 34 53.1 70 105
/ 6J4
[
allt \ 45 * SEHIICHMELTA * ShfE Bk
45 ° JIC MALE 74 ° CONE BULKHEAD
I\
= 141 THREADE JL =} DIMENSIONS
PART NO. E A B S1
6J4-04 U7/16"X20 22 39 14
6J4-06 U9/16"X18 22 425 | 14
6J4-08 U3/4"X16 25 49.3 19
6J4-10 u7/8"X14 27 55 22
6J4-12 U1.1/16"X12 33 62 27
6J4-16 U1.5/16"X12 37 65 33
6J4-20 U1.5/8"X12 40 67.3 44

- 207 -




§<>m \

.
A S1

6J9

90 * KL JICHMIRETA * HME ARk
90 ° JIC MALE 74 ° CONE BULKHEAD

2 24 THREADE ] =7 DIMENSIONS
PART NO. E A B $1
6J9-04 U7/16"X20 29 40.4 14
6J9-06 U9/16"X18 29 46 14
6J9-08 U3/4"X16 33 53.5 19
6J9-10 U7/8"X14 37 60.7 22
6J9-12 U1.1/16"X12 40 67.8 27
6J9-16 U1.5/16"X12 49 71 33
6J9-20 U1.5/8"X12 57 79.2 44

A
] 8J

F I 1CH B
% JIC LOCK NUT
L ]

2 124 THREADE J =} DIMENSIONS
PART NO. E L $1

8J-04 U7/16"X20 7 17

8J-06 U9/16"X18 7 19

8J-08 U3/4"X16 8 24

8J-10 u7/8"X14 9 30

8J-12 U1.1/16"X12 10.5 36

8J-16 U1.5/16"X12 10.5 41
8J-20 U1.5/8"X12 10.5 50
8J-24 U1.7/8"X12 10.5 55
8J-32 U2.1/2"X12 10.5 70

- 208 -




9J

SKAJICHHIRET4 * NHER K
JIC FEMALE 74 ° SEAT PLUG

2 124 THREADE J =} DIMENSIONS
PART NO. E F C S1
9J-04 u7/16"X20 U7/16"X20 9 17
9J-06 U9/16"X18 U9/16"X18 10 19
9J-08 U3/4"X16 U3/4"X16 11 24
9J-10 U7/8"X14 u7/8"X14 12 27
9J-12 U1.1/16"X12 U1.1/16"X12 13 32
9J-16 U1.5/16"X12 U1.5/16"X12 14 38
9J-20 U1.5/8"X12 U1.5/8"X12 15 50
9J-24 U1.7/8"X12 U1.7/8"X12 19 55
9J-32 U2.1/2"X12 U2.1/2"X12 24 75

i

S1

9J-CAP

JIC74 ° PIRLEE Sk

JIC 74 ° FEMALE PLUG

L
= # 2 THREADE R <F DIMENSIONS

PART NO. E Sl L
9J-04CAP U7/16"X20 14 15
9J-06CAP U9/16"X18 17 16
9J-08CAP U3/4"X16 22 19
9J-10CAP u7/8"X14 27 215
9J-12CAP | U1.1/16"X12 32 23
9J-16CAP | U1.5/16"X12 38 26

- 209 -




\

1JT

JICHMEETA * S/ SeE s AL
JIC MALE 74 ° CONE/BSPT MALE
S1
e 124 THREADE J* =} DIMENSIONS
PART NO. E F A B S1 L
1JT-04-02 U7/16"X20 ZG1/8"X28 14 10 14 30
1JT-04 U7/16"X20 ZG1/4"X19 14 14 14 34
1JT-04-06 U7/16"X20 ZG3/8"X19 14 14 19 34
1JT-04-08 U7/16"X20 7G1/2"X14 14 19 22 41.5
1JT-05-04 U1/2"X20 7G1/4"X19 14 14 14 34
1JT-05-06 U1/2"X20 ZG3/8"X19 14 14 19 34
1JT-05-08 U1/2"X20 ZG1/2"X14 14 19 22 41.5
1JT-06-04 U9/16"X18 ZG1/4"X19 14 14 17 34
1JT-06 U9/16"X18 ZG3/8"X19 14 14 19 34
1JT-06-08 U9/16"X18 ZG1/2"X14 14 19 22 41
1JT-08-04 U3/4"X16 ZG1/4"X19 16.7 14 22 39
1JT-08-06 U3/4"X16 ZG3/8"X19 16.7 14 22 38
1JT-08 U3/4"X16 ZG1/2"X14 16.7 19 22 44
1JT-08-12 U3/4"X16 7G3/4"X14 16.7 | 19.5 30 46
1JT-10-06 U7/8"X14 ZG3/8"X19 19.5 14 24 42
1JT-10-08 U7/8"X14 7ZG1/2"X14 19.5 19 24 47
1JT-10-12 U7/8"X14 7G3/4"X14 19.5 | 19.5 30 48
1JT-12-08 U1.1/16"X12 ZG1/2"X14 22 19 30 50
1JT-12 U1.1/16"X12 7G3/4"X14 22 19.5 30 50
1JT-12-16 U1.1/16"X12 ZG1"X11 22 24 36 57
1JT-12-20 U1.1/16"X12 ZG1.1/4"X11 22 25 46 60
1JT-16-12 U1.5/16"X12 7G3/4"X14 23 19.5 36 53
1JT-16 U1.5/16"X12 ZG1"X11 23 24 36 58
1JT-16-20 U1.5/16"X12 ZG1.1/4"X11 23 25 46 61
1JT-16-24 U1.5/16"X12 ZG1.1/2"X11 23 25 50 64
1JT-20-16 U1.5/8"X12 ZG1"X11 24.5 24 46 62
1JT-20 U1.5/8"X12 ZG1.1/4"X11 24.5 25 46 63
1JT-24 U1.7/8"X12 ZG1.1/2"X11 275 25 50 69
1JT-24-32 U1.7/8"X12 ZG2"X11 27.5 29 70 74
1JT-32 U2.1/2"X12 Z2G2"X11 34 29 70 81

- 210 -




N 1JT4

45 ° JICHMBLLT4 ° FNE/ BEAEAS FMB LY
45 ° JIC MALE 74 ° CONE/BSPT MALE

r | \st

=, #2 4 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1JT4-04-02 U7/16"X20 ZG1/8"X28 20 20 11
1JT4-04 U7/16"X20 ZG1/4"X19 22 22 14
1JT4-04-06 U7/16"X20 ZG3/8"X19 22 22 17
1JT4-04-08 U7/16"X20 ZG1/2"X14 27 27 22
1JT4-05-04 U1/2"X20 ZG1/4"X19 22 22 14
1JT4-06-04 U9/16"X18 ZG1/4"X19 22 22 14
1JT4-06 U9/16"X18 ZG3/8"X19 22 22 17
1JT4-06-08 U9/16"X18 ZG1/2"X14 27 27 22
1JT4-08-04 U3/4"X16 ZG1/4"X19 25 25 19
1JT4-08-06 U3/4"X16 ZG3/8"X19 25 25 19
1JT4-08 U3/4"X16 ZG1/2"X14 27 27 22
1JT4-08-12 U3/4"X16 ZG3/4"X14 33 33 27
1JT4-10-08 u7/8"X14 ZG1/2"X14 27 27 22
1JT4-10-12 u7/8"X14 ZG3/4"X14 33 33 27
1JT4-12-08 U1.1/16"X12 | ZG1/2"X14 33 33 27
1JT4-12 U1.1/16"X12 | ZG3/4"X14 33 33 27
1JT4-12-16 U1.1/16"X12 Z61"X11 37 37 33
1JT4-16-12 U1.5/16"X12 | ZG3/4"X14 37 37 33
1JT4-16 U1.5/16"X12 Z61"X11 37 37 33
1JT4-16-20 U1.5/16"X12 | ZG1.1/4"X11 40 40 44
1JT4-20-16 U1.5/8"X12 Z61"X11 40 40 44
1JT4-20 U1.5/8"X12 | ZG1.1/4"X11 40 40 44
1JT4-20-24 U1.7/8"X12 | ZG1.1/2"X11 47 47 53
1JT4-24 U1.7/8"X12 | ZG1.1/2"X11 47 47 53
1JT4-32 U2.1/2"X12 262"X11 55 55 65

- 211




) 1JT9

90 ° JICHMELITA ° SNk FrfEas F B Ly
90 ° JIC MALE 74 ° CONE/BSPT MALE

A S1
=, #2 4 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1JT9-04-02 U7/16"X20 ZG1/8"X28 22 22 11
1JT9-04 U7/16"X20 | zG1/4"X19 29 27 14
1JT9-04-06 U7/16"X20 ZG3/8"X19 29 30 17
1JT9-05-02 U1/2"X20 7G1/8"X28 29 27 14
1JT9-05-04 U1/2"X20 ZG1/4"X19 29 27 14
1JT9-05-06 U1/2"X20 ZG3/8"X19 29 30 17
1JT79-06 U9/16"X18 ZG3/8"X19 22 22 17
1JT9-06-04 U9/16"X18 | ZG1/4"X19 29 27 14
1JT9-06-08 U9/16"X18 ZG1/2"X14 37 37 22
1JT9-08-04 U3/4"X16 ZG1/4"X19 33 33 19
1JT9-08-06 U3/4"X16 ZG3/8"X19 33 33 19
1JT79-08 U3/4"X16 ZG1/2"X14 37 37 22
1JT9-08-12 U3/4"X16 ZG3/4"X14 40 40 27
1JT9-10-06 U7/8"x14 7G3/8"X19 37 37 22
1JT9-10-08 U7/8"X14 ZG1/2"X14 37 37 22
1JT9-10-12 U7/8"X14 ZG3/4"X14 40 40 27
1JT9-12-08 | U1.1/16"X12 | ZG1/2'X14 40 40 27
1JT9-12 U1.1/16"X12 | ZG3/4"X14 40 40 27
1JT9-12-16 | U1.1/16"X12 Z61"X11 49 49 33
1JT9-16-12 | U1.5/16"X12 | ZG3/4"X14 49 49 33
1JT9-16 U1.5/16"X12 Z61"X11 49 49 33
1JT9-16-20 | U1.5/16"X12 | ZG1.1/4"X11 57 57 44
1JT9-16-24 | U1.5/16"X12 |ZG1.1/2"X11 57 57 48
1JT9-20-16 U1.5/8"X12 Z61"X11 57 57 44
1JT9-20 U1.5/8'X12 | ZG1.1/4"X11 57 57 44
1JT9-20-24 U1.7/8"'X12 | ZG1.1/2"X11 57 57 48
1JT9-24 U1.7/8'X12 | ZG1.1/2"X11 57 57 48
1JT9-24-20 U1.7/8"'X12 | ZG1.1/4"X11 57 57 48
1JT9-32-24 U2.1/2"X12 | 2G1.1/2"X11 66 66 65
1JT9-32 U2.1/2"x12 262"X11 66 66 65

- 212 -




A B
T 1JN
w [ o
«Z// | &L% JICAMBELTA * M B SR
g JIC MALE 74 ° CONE/NPT MALE
o\
e 124 THREADE R~} DIMENSIONS

PART NO. E F A B S1 L
1JN-04-02 U7/16"X20 Z1/8"X27 14 10 14 30

1JN-04 u7/16"X20 Z1/4"X18 14 14 14 34
1JN-04-06 u7/16"X20 73/8"X18 14 14 19 34
1JN-04-08 U7/16"X20 Z1/2"X14 14 19 22 41.5
1JN-05-04 U1/2"X20 Z1/4"X18 14 14 14 34
1JN-05-06 U1/2"X20 73/8"X18 14 14 19 34
1JN-05-08 U1/2"X20 Z1/12"X14 14 19 22 41.5
1JN-06-04 U9/16"X18 Z1/4"X18 14 14 17 34

1JN-06 U9/16"X18 73/8"X18 14 14 19 34
1JN-06-08 U9/16"X18 Z1/12"X14 14 19 22 41
1JN-08-04 U3/4"X16 Z21/4"X18 16.7 14 22 39
1JN-08-06 U3/4"X16 73/8"X18 16.7 14 22 38

1JN-08 U3/4"X16 Z21/2"X14 16.7 19 22 44
1JN-08-12 U3/4"X16 Z3/4"X14 16.7 19.5 30 46
1JN-10-06 U7/8"X14 73/8"X18 19.5 14 24 42
1JN-10-08 U7/8"X14 Z21/2"X14 19.5 19 24 47
1JN-10-12 U7/8"X14 Z3/4"X14 19.5 19.5 30 48
1JN-12-08 U1.1/16"X12 Z21/2"X14 22 19 30 50

1JN-12 U1.1/16"X12 Z3/4"X14 22 19.5 30 50
1JN-12-16 U1.1/16"X12 Z1"X11.5 22 24 36 57
1JN-12-20 U1.1/16"X12 | Z21.1/4"X11.5 22 25 46 60
1JN-16-12 U1.5/16"X12 Z3/4"X14 23 19.5 36 53

1JN-16 U1.5/16"X12 Z1"X11.5 23 24 36 58
1JN-16-20 U1.5/16"X12 | Z21.1/4"X11.5 23 25 46 61
1JN-16-24 U1.5/16"X12 | Z21.1/2"X11.5 23 25 50 64
1JN-20-16 U1.5/8"X12 Z1"X11.5 24.5 24 46 62

1JN-20 U1.5/8"X12 Z1.1/4"X11.5 24.5 25 46 63

1JN-24 U1.7/8"X12 Z1.11/2"X11.5 275 25 50 69
1JN-24-32 U1.7/8"X12 Z2"X11.5 27.5 29 70 74

1JN-32 u2.1/2"X12 Z2"X11.5 34 29 70 81

- 213 -




N 1JN4

45 ° JICHMBLLT4 ° HNE Ak FMB L
45 ° JIC MALE 74 ° CONE/NPT MALE

r | \st

=, #2 4 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1JN4-04-02 U7/16"X20 Z1/8"X27 20 20 11
1JN4-04 U7/16"X20 Z1/4"X18 22 22 14
1JN4-04-06 U7/16"X20 73/8"X18 22 22 17
1JN4-04-08 U7/16"X20 Z1/2"X14 27 27 22
1JN4-05-04 U1/2"X20 Z1/4"X18 22 22 14
1JN4-06-04 U9/16"X18 Z1/4"X18 22 22 14
1JN4-06 U9/16"X18 73/8"X18 22 22 17
1JN4-06-08 U9/16"X18 Z1/2"X14 27 27 22
1JN4-08-04 U3/4"X16 Z1/4"X18 25 25 19
1JN4-08-06 U3/4"X16 73/8"X18 25 25 19
1JN4-08 U3/4"X16 Z1/2"X14 27 27 22
1JN4-08-12 U3/4"X16 Z3/4"X14 33 33 27
1JN4-10-08 u7/8"X14 Z1/2"X14 27 27 22
1JN4-10-12 u7/8"X14 Z3/4"X14 33 33 27
1JN4-12-08 | U1.1/16"X12 | Z1/2"X14 33 33 27
1JN4-12 U1.1/16"X12 | Z3/4"X14 33 33 27
1JN4-12-16 | U1.1/16"X12 | Z1"X11.5 37 37 33
1JN4-16-12 | U1.5/16"X12 | Z3/4"X14 37 37 33
1JN4-16 U15/16"X12 | Z1"X11.5 37 37 33
1JN4-16-20 | U1.5/16"X12 |Z1.1/4"X11.5 40 40 44
1JN4-20-16 U1.5/8"X12 Z1"X11.5 40 40 44
1JN4-20 U1.5/8"'X12 | Z1.1/4"X11.5 40 40 44
1JN4-20-24 U1.7/8'X12 | Z1.1/2"X11.5 47 47 53
1JN4-24 U1.7/8X12 | Z1.1/2"X11.5 47 47 53
1JN4-32 U2.1/2"X12 Z2"X11.5 55 55 65

- 214 -




) 1JNO

90 ° JICHMBLLTA ° AN 7k FMB L
90 ° JIC MALE 74 ° CONE/NPT MALE

A S1
o2 1240 THREADE J =} DIMENSIONS
PART NO. E F A B S1
1JN9-04-02 U7/16"X20 Z1/8"X27 22 22 11
1JN9-04 U7/16"X20 Z1/4"X18 29 27 14
1JN9-04-06 u7/16"X20 73/8"X18 29 30 17
1JN9-05-02 U1/2"X20 Z21/8"X27 29 27 14
1JN9-05-04 U1/2"X20 Z1/4"X18 29 27 14
1JN9-05-06 U1/2"X20 Z3/8"X18 29 30 17
1JN9-06 U9/16"X18 Z3/8"X18 22 22 17
1JN9-06-04 U9/16"X18 Z1/4"X18 29 27 14
1JN9-06-08 U9/16"X18 Z1/2"X14 37 37 22
1JN9-08-04 U3/4"X16 Z1/4"X18 33 33 19
1JN9-08-06 U3/4"X16 73/8"X18 33 33 19
1JN9-08 U3/4"X16 Z1/2"X14 37 37 22
1JN9-08-12 U3/4"X16 Z3/4"X14 40 40 27
1JN9-10-06 u7/8"X14 Z3/8"X18 37 37 22
1JN9-10-08 u7/8"X14 Z21/2"X14 37 37 22
1JN9-10-12 u7/8"X14 Z3/4"X14 40 40 27
1JN9-12-08 U1.1/16"X12 Z1/2"X14 40 40 27
1JN9-12 U1.1/16"X12 Z3/4"X14 40 40 27
1JN9-12-16 U1.1/16"X12 Z1"X11.5 49 49 33
1JN9-16-12 U1.5/16"X12 Z3/4"X14 49 49 33
1JN9-16 U1.5/16"X12 Z1"X11.5 49 49 33
1JN9-16-20 U1.5/16"X12 | Z1.1/4"X11.5 57 57 44
1JN9-16-24 U1.5/16"X12 | Z1.1/2"X11.5 57 57 48
1JN9-20-16 U1.5/8"X12 Z1"X11.5 57 57 44
1JN9-20 U1.5/8'X12 | Z1.1/4"X11.5 57 57 44
1JN9-20-24 U1.7/8'X12 | Z1.1/2"X11.5 57 57 48
1JN9-24 u1.7/8"'x12 [Z1.1/2"X11.5 57 57 48
1JN9-24-20 U1.7/8'X12 | Z1.1/4"X11.5 57 57 48
1JN9-32-24 u2.1/2'x12 | Z1.1/2"X11.5 66 66 65
1JN9-32 U2.1/2"X12 Z2"X11.5 66 66 65

- 215 -




AN
/’

b

TINO-L

90 ° JICHMEZELITA ° HNHE IR AT HER AMZLL
90 ° JIC MALE 74 ° CONE/LONG NPT MALE

="l

X
n ] \s

=, #2 4 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1JN9-04-02L | U7/16"X20 Z1/8"X27 22 30 11
1JN9-04L U7/16"X20 Z1/4"X18 29 | 401 | 14
1JN9-05-02L U1/2"X20 Z1/8"X27 29 31 14
1JN9-05-04L U1/2"X20 Z1/4"X18 29 | 401 | 14
1JN9-06-04L | U9/16"X18 Z1/4"X18 29 | 401 | 14
1JN9-06-08L | U9/16"X18 Z1/2"X14 37 | 551 | 22
1JN9-08-06L U3/4"x16 73/8"X18 33 | 462 | 19
1JN9-08L U3/4"X16 Z1/2"X14 37 | 551 | 22
1JN9-10-08L U7/8"X14 Z1/2"X14 37 | 551 | 22
1JN9-12-08L | U1.1/16"X12 | Z1/2"X14 40 | 56.9 | 27
1JN9-12L U1.1/16"X12 | Z3/4"X14 40 62 27
1JN9-16-12L | U1.5/16"X12 | Z3/4"X14 49 | 69.9 | 33
1JN9-16L U1.5/16"X12 | Z1"X11.5 49 | 765 | 33
1JN9-20L U15/8"X12 | Z1.1/4"X11.5 57 | 937 | 44
1JN9-24L U1.7/8"X12 | Z1.1/2"X11.5 57 |104.1| 48
1JN9-32L U2.1/2"X12 Z2"X11.5 66 |122.2| 65

- 216 -




7 - TIN9O-LL

P ’ 00 * JICHMEIELTA * S/ 5 K AT HE A S
/3(>wj \”| N 90 ° JIC MALE 74 ° CONE/LONGGER NPT MALE
A S1
= 1240 THREADE K~} DIMENSIONS

PART NO. E F A B S1
1JN9-04-02LL U7/16"X20 Z1/8"X27 22 39.6 11
1JN9-04LL U7/16"X20 Z1/4"X18 29 52.6 14
1JN9-05-04LL U1/2"X20 Z1/4"X18 29 52.6 14
1JN9-06-04LL U9/16"X18 Z1/4"X18 29 52.6 14
1JN9-06LL U9/16"X18 Z3/8"X18 30 61.5 17
1JN9-08-06LL U3/4"X16 Z3/8"X18 33 61.5 19
1JN9-10-08LL u7/8"X14 Z21/2"X14 37 72.9 22
1JN9-12LL U1.1/16"X12 Z3/4"X14 40 83.3 27
1JN9-16LL U1.5/16"X12 Z1"X11.5 49 102.9 33
1JN9-20LL U1.5/8"X12 Z1.1/4"X11.5 57 127 44
1JN9-24LL U1.7/8"X12 Z21.1/12"X11.5 57 141 48
1JN9-32LL U2.1/2"X12 Z2"X11.5 66 168.4 65

- 217 -



S1 S2
i 2JB
4 )

W Q Feild1CHMBLTA * S

) | YERF M BREI60 * A1

Y, JIC MALE 74 ° CONE/

1.C BSP FEMALE 60 ° CONE
=] #24r THREADE R =} DIMENSIONS
PART NO. E F A C S1 S2
2JB-04 U7/16"X20 G1/4"X19 14 55 | 14 19
2JB-04-06 U7/16"X20 G3/8"X19 14 6.5 | 17 22
2JB-04-08 U7/16"X20 G1/2"'X14 14 8 22 27
2JB-06 U9/16"X18 G3/8"X19 14 6.5 | 17 22
2JB-06-08 U9/16"X18 G1/2"X14 14 8 22 27
2JB-06-10 U9/16"X18 | G5/8"X14 14 | 105 | 22 30
2JB-08 U3/4"X16 G1/2"'X14 16.7 8 22 27
2JB-08-06 U3/4"X16 G3/8"X19 16.7 | 6.5 | 22 22
2JB-08-10 U3/4"X16 G5/8"X14 16.7 | 105 | 22 30
2JB-10 U7/8"X16 G5/8"X14 19.5 | 105 | 22 30
2JB-12 U1.1/16"X12 | G3/4"X14 22 | 115 | 30 32
2JB-12-08 | U1.1/16"X12 | G1/2"X14 22 8 30 27
2JB-12-10 | U1.1/16"X12 | G5/8"X14 22 | 105 | 30 30
2JB-12-16 | U1.1/16"X12 G1"X11 22 | 115 | 32 41
2JB-16 U1.5/16"X12 G1"X11 23 | 115 | 36 41
2JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 12 41 50
2JB-20 U1.5/8"X12 | G1.1/4"X11 245 | 12 46 50
2JB-20-24 U1.5/8"X12 | G1.1/2"X11 245 | 13 46 55
2JB-24 U1.7/8"X12 | G1.1/2"X11 275 | 13 50 55
2JB-32 U2.1/2"X12 62"X11 34 16 70 70

- 218 -




<

1JG

FKHJICHNRLELT4 * HhHES

N g SR L OB
JIC MALE 74 ° CONE/
St BSP MALE O-RING
=) 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1JG-04-02 U7/16"X20 | G1/8"X28 14 9 14 29
1JG-04 U7/16"X20 | G1/4"X19 14 12 19 33
1JG-04-06 U7/16"X20 | G3/8"X19 14 | 135 | 22 35
1JG-04-08 U7/16"X20 | G1/2'X14 14 16 27 39
1JG-05-04 U1/2"X20 G1/4"X19 14 12 19 33
1JG-05-06 U1/2"X20 G3/8"X19 14 | 135 | 22 35
1JG-05-08 U1/2"X20 G1/2"X14 14 16 27 39
1JG-06-04 U9/16"X18 | G1/4"X19 14 12 19 32
1JG-06 U9/16"X18 | G3/8"X19 14 | 135 | 22 35
1JG-06-08 U9/16"X18 | G1/2"X14 14 16 27 39
1JG-08-04 U3/4"X16 G1/4"X19 16.7 | 12 22 37
1JG-08-06 U3/4"X16 G3/8"X19 16.7 | 135 | 22 | 385
1JG-08 U3/4"X16 G1/2"X14 16.7 | 16 27 41
1JG-08-12 U3/4"X16 G3/4"X14 16.7 | 185 | 32 46
1JG-10-06 U7/8"X14 G3/8"X19 195 | 135 | 24 42
1JG-10-08 U7/8"X14 G1/2"X14 195 | 16 27 45
1JG-10-12 U7/8"X14 G3/4"X14 195 | 185 | 32 49
1JG-12-08 | U1.1/16"X12 | G1/2"X14 22 16 30 47
1JG-12 U1.1/16"X12 | G3/4"X14 22 | 185 | 32 51
1JG-12-16 | U1.1/16"X12 |  G1"X11 22 | 205 | 19 54
1JG-12-20 | U1.1/16"X12 | G1.1/4"X11 22 | 205 | 50 56
1JG-16-12 | U1.5/16"X12 | G3/4"X14 23 | 185 | 36 52
1JG-16 U15/16"X12 | G1"X11 23 | 205 | #1 55
1JG-16-20 | U1.5/16"X12 | G1.1/4"X11 23 | 205 | 50 57
1JG-20-16 U1.5/8"X12 G1"X11 245 | 205 | 46 58
1JG-20 U1.5/8"X12 | G1.1/4"X11 245 | 205 | 50 58
1JG-24-16 U1.7/8"X12 G1"X11 275 | 205 | 50 61
1JG-24-20 U1.7/8"'X12 | G1.1/4"X11 275 | 205 | 50 61
1JG-24 U1.7/8'x12 | G1.1/2"X11 275 | 23 55 67

- 219 -




RN 1JG4-0G

7 45 ° EHJIICHMBELTA ° S
” A HMELORIE 45 °
JIC MALE 74 ° CONE/ BSP

A \§i MALE O-RING
e i24; THREADE R~} DIMENSIONS

PART NO. E F A B S1 S2
1JG4-040G U7/16"X20 G1/4"X19 22 28 14 19
1JG4-05-040G U1/2"X20 G1/4"X19 22 28 14 19
1JG4-06-040G | U9/16"X18 G1/4"X19 22 28 17 19
1JG4-060G U9/16"X18 G3/8"X19 22 32 17 22
1JG4-08-060G U3/4"X16 G3/8"X19 25 32 19 22
1JG4-080G U3/4"X16 G1/2"X14 27 36 22 27
1JG4-10-080G u7/8"X14 G1/2"X14 27 38 22 27
1JG4-100G u7/8"X14 G5/8"X14 27 38 22 30
1JG4-12-100G | U1.1/16"X12 G5/8"X14 33 38.5 27 30
1JG4-12-160G | U1.1/16"X12 G1"X11 37 44 33 41
1JG4-120G U1.1/16"X12 G3/4"X14 33 42 27 32
1JG4-16-120G | U1.5/16"X12 G3/4"X14 37 44 33 32
1JG4-160G U1.5/16"X12 G1"X11 37 44 33 41
1JG4-200G U1.5/8"X12 | G1.1/4"X11 40 47.5 44 50
1JG4-240G U1.7/8"X12 | G1.1/2"X11 47 51.5 53 55

- 220 -




1'ﬂ

S2

1JG9-0G

T ﬁj 90 ° JEHIJICHMRLLTA * HhifE/
w | A FMRZOZ[E 90
%ﬂ

JIC MALE 74 ° CONE/ BSP

MALE O-RING
A
LB 1241 THREADE JX <} DIMENSIONS

PART NO. E F A B S1 S2
1JG9-04-020G | U7/16"X20 G1/8"X28 22 26.2 11 14
1JG9-04-060G | U7/16"X20 G3/8"X19 30 36.8 17 22
1JG9-040G Uu7/16"X20 G1/4"X19 29 31.3 14 19
1JG9-05-040G | U1/2"X20 G1/4"X19 29 31.8 14 19
1JG9-05-060G | U1/2"X20 G3/8"X19 30 35.8 17 22
1JG9-05-080G | U1/2"X20 G1/2"X14 37 43.2 22 27
1JG9-06-040G | U9/16"X18 G1/4"X19 29 31.3 14 19
1JG9-06-080G | U9/16"X18 G1/2"X14 37 43.2 22 27
1JG9-060G U9/16"X18 G3/8"X19 30 35.8 17 22
1JG9-08-040G | U3/4"X16 G1/4"X19 33 33.5 19 19
1JG9-08-060G | U3/4"X16 G3/8"X19 33 36.8 19 22
1JG9-080G U3/4"X16 G1/2"X14 37 432 | 22 27
1JG9-08-120G | U3/4"X16 G3/4"X14 40 49.3 27 32
1JG9-10-060G | U7/8"X16 G3/8"X19 37 39.2 22 22
1JG9-10-080G | U7/8"X16 G1/2"X14 37 43.2 22 27
1JG9-10-120G | U7/8"X16 G3/4"X14 40 49.3 27 32
1JG9-120G U1.1/16"X12 | G3/4"X14 40 49.3 27 32
1JG9-12-080G | U1.1/16"X12 | G1/2"X14 40 46.5 27 27
1JG9-12-160G | U1.1/16"X12 G1"X11 49 53 33 41
1JG9-160G U1.5/16"X12 G1"X11 49 53 33 41
1JG9-16-120G | U1.5/16"X12 | G3/4"X14 49 53 33 32
1JG9-16-200G | U1.5/16"X12 | G1.1/4"X11 57 58 44 50
1JG9-200G U1.5/8"'X12 | G1.1/4"X11 57 58 44 50
1JG9-20-160G | U1.5/8"X12 G1"X11 57 58 44 41
1JG9-24-160G | U1.7/8"X12 G1"X11 57 63 48 41
1JG9-24-200G | U1.7/8"X12 | G1.1/4"X11 57 63 48 50
1JG9-240G U1.7/8'X12 | G1.1/2"X11 57 63 48 55

- 221 -




5 1JF

) K JICHMELTA ° HM !
BLIT4 ° BN/ ORFSHMELL
K2 %/ 7 JIC MALE 74 ° CONE/ORFS MALE

S1
fri 124 THREADE R =} DIMENSIONS
PART NO. E F A B S1 L

1JF-04 U7/16"X20 | U9/16"X18 14 12 17 32
1JF-05-04 U1/2"X20 U9/16"X18 14 12 17 32
1JF-05-06 U1/2"x20 | U11/16"X16 14 14 19 34
1JF-06-04 U9/16"X18 | U9/16"X18 14 12 17 32
1JF-08-06 U3/4"x16 | U11/16"X16 16.7 | 14 19 37

1JF-08 U3/4"x16 | U13/16"X16 16.7 | 15 22 40
1JF-10-08 U7/8"x16 | U13/16"X16 195 | 15 24 43

1JF-10 U7/8"X16 U1"X14 195 | 165 | 27 46
1JF-12-10 | U1.1/16"X12 U1"X14 22 | 165 | 30 49

1JF-12 U1.1/16"X12 | U1.3/16"X12 22 17 32 50
1JF-16-12 | U1.5/16"X12 | U1.3/16"X12 23 17 36 51

1JF-16 U1.5/16"X12 | U1.7/16"X12 23 | 185 | 41 54
1JF-20-16 U1.5/8"X12 | U1.7/16"X12 245 | 185 | 46 56

1JF-20 U1.5/8"X12 | U1.11/16"X12 245 | 19.5 | 46 57
1JF-24-20 U1.7/8"X12 | U1.11/16"X12 275 | 195 | 50 64

- 222 -




A

; |
4 _E§Z%%§7 ,
st

1JH

= JICHMZRZT4 ° Hhik/
N Tl AN 2 O 7Y e 2
JIC MALE 74 ° CONE/

METRIC MALE END O-RING

P #24r THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1JH-04-10 U7/16"X20 M10x1 14 11 14 31
1JH-04-12 U7/16"X20 | M12x1.5 14 11 17 31
1JH-04-14 U7/16"X20 | M14x1.5 14 11 19 32
1JH-05-10 U1/2"X20 M10x1 14 11 14 31
1JH-05-12 U1/2'X20 | M12x1.5 14 11 17 31
1JH-05-14 U1/2'X20 | M14x1.5 14 11 19 31
1JH-06-14 U9/16"X18 | M14x1.5 14 11 19 32
1JH-06-16 U9/16"x18 | M16x1.5 14 11 22 33
1JH-06-18 U9/16"X18 | M18x1.5 14 11 24 33
1JH-08-14 U3/4"X16 | M14x1.5 16.7 | 11 22 36
1JH-08-16 U3/4"X16 | M16x1.5 16.7 | 11 22 36
1JH-08-18 U3/4"X16 | M18x1.5 16.7 | 11 24 36
1JH-08-22 U3/4"X16 | M22x1.5 16.7 | 12 27 37
1JH-10-16 u7/8"'xX14 | M16x1.5 135 | 11 24 33
1JH-10-18 u7/8'xX14 | M18x1.5 135 | 11 24 33
1JH-10-22 u7/8"'xX14 | M22x1.5 135 | 12 27 33
1JH-12-22 | U1.1/16"X12 | M22x1.5 16 12 30 38
1JH-12-27 | U1.1/16"X12 |  M27x2 16 13 32 39
1JH-16-27 | U1.5/16"X12 | M27x2 16 13 36 40

- 223 -




RPN 1JH4-0G

] / ‘ 45 ° SEHIICHNELITA ° ShelE/

O T SRS AT R ) i
45 ° JIC MALE 74 ° CONE/METRIC MALE

A \_31 ADJUSTABLE STUD END
P i24r THREADE R~} DIMENSIONS

PART NO. E F A B S1 S2
1JH4-04-100G | U7/16"X20 M10x1 20 | 235 | 11 14
1JH4-04-120G | U7/16"X20 | M12x1.5 22 | 275 | 14 17
1JH4-04-140G | U7/16"X20 | M14x1.5 22 | 283 | 14 19
1JH4-05-120G | U1/2"X20 | M12x1.5 22 | 283 | 14 17
1JH4-05-140G | U1/2"X20 | M14x1.5 22 | 283 | 14 19
1JH4-06-140G | U9/16"X18 | M14x1.5 22 | 283 | 14 19
1JH4-06-160G | U9/16"X18 | M16x1.5 22 29 17 22
1JH4-08-160G | U3/4"X16 | M16x1.5 25 30 19 22
1JH4-08-180G | U3/4"X16 | M18x1.5 25 31 19 24
1JH4-10-160G | U7/8"X14 | M16x1.5 27 31 22 22
1JH4-10-180G | U7/8"X14 | M18x1.5 27 32 22 24
1JH4-10-220G | U7/8"X14 | M22x1.5 33 33 27 27
1JH4-12-220G | U1.1/16"X12 | M22x1.5 33 | 345 | 27 27
1JH4-12-270G | U1.1/16"X12 | M27x2 33 | 395 | 27 32
1JH4-16-270G | U1.5/16"X12 | M27x2 37 41 33 32

- 224 -




G

A \$1

1JH9-0G

90 ° ZEfHJICHNRL T4 ° HMNHE/
O il AN AT R T b i
90 ° JIC MALE 74 ° CONE/METRIC MALE
ADJUSTABLE STUD END

LB 1241 THREADE JX <} DIMENSIONS

PART NO. E F A B S1 S2
1JH9-04-100G | U7/16"X20 M10x1 22 27.5 11 14
1JH9-04-120G | U7/16"X20 M12x1.5 29 30.3 14 17
1JH9-04-140G | U7/16"X20 M14x1.5 29 32 14 19
1JH9-05-120G U1/2"X20 M12x1.5 29 32 14 17
1JH9-05-140G U1/2"X20 M14x1.5 29 32 14 19
1JH9-06-140G | U9/16"X18 M14x1.5 29 32 14 19
1JH9-06-160G | U9/16"X18 M16x1.5 30 34.8 17 22
1JH9-08-160G U3/4"X16 M16x1.5 33 38 19 22
1JH9-08-180G U3/4"X16 M18x1.5 33 38 19 24
1JH9-10-160G u7/8"x14 M16x1.5 37 38 22 22
1JH9-10-180G u7/8"X14 M18x1.5 37 39.5 22 24
1JH9-10-220G u7/8"X14 M22x1.5 40 42.5 27 27
1JH9-12-220G | U1.1/16"X12 | M22x1.5 40 44 27 27
1JH9-12-270G | U1.1/16"X12 M27x2 40 48.5 27 32
1JH9-16-270G | U1.5/16"X12 M27x2 49 41 33 32

- 225 -




T

|

] |
g
$1

1JM

JICHNBLLT74 ° HNES I\ Tl SN S
60 ° PR S i I 4 A B dt

JIC MALE 74 ° CONE/METRIC MALE DOUBLE
USE FOR 60 ° SEAT OR BONDED SEAL

=, 124 THREADE R =t DIMENSIONS

PART NO. E F A B S1 L
1JM-04-12 U7/16"X20 | M12x1.5 14 10 17 32
1JM-04-14 U7/16"X20 | M14x1.5 14 11 19 33
1JM-05-12 U1/2"X20 | M12x1.5 14 10 17 32
1JM-05-14 U1/2'X20 | M14x1.5 14 11 19 33
1JM-06-12 U9/16"X18 | M12x1.5 14 10 17 32
1JM-06-14 U9/16"X18 | M14x1.5 14 11 19 33
1JM-06-16 U9/16"X18 | M16x1.5 14 12 22 35
1JM-06-18 U9/16"X18 | M18x1.5 14 12 24 50
1JM-08-16 U3/4"X16 | M16x1.5 16.7 | 12 22 38
1JM-08-18 U3/4"X16 | M18x1.5 16.7 | 12 24 38
1JM-08-22 U3/4"x16 | M22x1.5 16.7 | 14 27 41
1JM-10-22 u7/8"'x16 | M22x1.5 195 | 14 27 44
1JM-12-22 | U1.1/16"X12 | M22x1.5 22 14 30 48

- 226 -



: - 1JM-WD
" /g wlol g JICHMBELTA * S/
@ | NI Dy e
JIC MALE 74 ° CONE/
N U H METRIC MALE CAPTIVE SEAL
=2 24 THREADE ] =} DIMENSIONS
PART NO. E F A B D H S1 L
1JM-04-12WD U7/16"X20 M12x1.5 14 10 14.2 2 17 32
1JM-05-14WD U1/2"X20 M14x1.5 14 11 16.3 2 19 33
1JM-06-14WD U9/16"X18 M14x1.5 14 1 16.3 2 19 33
1JM-06-18WD U9/16"X18 M18x1.5 14 12 20.7 2 24 36.5
1JM-08-18WD U3/4"X16 M18x1.5 16.7 12 20.7 .2 24 39
1JM-08-22WD U3/4"X16 M22x1.5 16.7 14 241 2 27 43.5
1JM-10-18WD U7/8"X16 M18x1.5 19.5 12 20.7 2 24 41.5
1JM-10-22WD U7/8"X16 M22x1.5 19.5 14 241 2 27 46
1JM-12-22WD | U1.1/16"X12 | M22x1.5 22 14 241 .2 30 49

- 227 -




- ' 1JO

= 3 = FIJICHMRLLT4 ° H1Mifk/
) SAESMRLLHF O
: JIC MALE 74 ° CONE/
st SAE O-RING BOSS

= i2 40 THREADE K.~} DIMENSIONS
PART NO. E F A B S1 L
1J0-04 U7/16"X20 U7/16"X20 14 10 14 31
1J0-04-05 U7/16"X20 U1/2"X20 14 10 17 30
1J0-04-06 U7/16"X20 U9/16"X18 14 12 17 32
1J0-04-08 U7/16"X20 U3/4"X16 14 12 24 35
1J0-05 U1/2"X20 U1/2"X20 14 10 17 30
1J0-05-04 U1/2"X20 U7/16"X20 14 10 14 30
1J0-05-06 U1/2"X20 U9/16"X18 14 12 17 32
1J0-05-08 U1/2"X20 U3/4"X16 14 12 24 35
1J0-06 U9/16"X18 U9/16"X18 14 12 17 33
1J0-06-04 U9/16"X18 U7/16"X20 14 10 17 31
1J0-06-05 U9/16"X18 U1/2"X20 14 10 17 30
1J0-06-08 U9/16"X18 U3/4"X16 14 12 24 35
1J0-06-10 U9/16"X18 U7/8"X14 14 | 135 | 27 36
1J0-06-12 U9/16"X18 U1.1/16"X12 14 16 32 39
1J0-08 U3/4"X16 U3/4"X16 16.7 | 12 24 37
1J0-08-04 U3/4"X16 U7/16"X20 16.7 | 10 22 35
1J0-08-06 U3/4"X16 U9/16"X18 16.7 | 12 22 37
1J0-08-10 U3/4"X16 U7/8"x14 16.7 | 135 | 27 39
1J0-08-12 U3/4"x16 U1.1/16"X12 16.7 | 16 32 42
1JO-10 U7/8"X14 U7/8"X14 195 | 135 | 27 | 415
1J0O-10-08 U7/8"x14 U3/4"X16 195 | 12 24 40
1J0-10-12 U7/8"X14 U1.1/16"X12 195 | 16 32 45
1JO-12 U1.1/16"X12 | U1.1/16"X12 22 16 32 47
1J0-12-08 U1.1/16"X12 U3/4"X16 22 12 30 43
1J0-12-10 U1.1/16"X12 U7/8"X14 22 | 135 | 30 45
1J0-12-16 U1.1/16"X12 | U1.5/16"X12 22 17 41 50
1JO-16 U1.5/16"X12 | U1.5/16"X12 23 17 41 51
1J0-16-12 U1.5/16"X12 | U1.1/16"X12 23 16 36 50
1J0-16-20 U1.5/16"X12 | U1.5/8"X12 23 18 50 55
1J0-20 U1.5/8"X12 U1.5/8"X12 245 | 18 50 56

- 228 -




B

e 124 THREADE J <1 DIMENSIONS
PART NO. E F A B S1 L
1J0O-16-20 U1.5/16"X12 U1.5/8"X12 23 18 50 55
1J0O-20-16 U1.5/8"X12 U1.5/16"X12 245 17 46 55
1J0O-20-24 U1.5/8"X12 U1.7/8"X12 245 | 18.5 55 59
1J0O-24 U1.7/8"X12 U1.7/8"X12 275 | 18.5 55 62
1J0-24-20 U1.7/8"X12 U1.5/8"X12 27.5 18 50 59
1J0-24-32 U1.7/8"X12 u2.1/2"X12 27.5 22 70 67.5
1J0O-32 U2.1/2"X12 Uu2.1/2"X12 34 22 70 74

L
: = 1JO-L
w I LRI JICHMRLT4 * HhfE/
SAESMRLUHF O
K2 i LONG JIC MALE 74 * CONE/
SAE 0-RING BOSS
S1
%= 124 THREADE J <} DIMENSIONS

PART NO. E F A B S1 L

1JO-04L U7/16"X20 U7/16"X20 35 10 14 51

1JO-05L U1/2"X20 U1/2"X20 37 10 17 53

1JO-06L U9/16"X18 U9/16"X18 39 12 17 57

1JO-08L U3/4"X16 U3/4"X16 48 12 24 69

1JO-10L u7/8"X14 u7/8"X14 53 13.5 27 75

1JO-12L U1.1/16"X12 U1.1/16"X12 63 16 32 88

1JO-16L U1.5/16"X12 U1.5/16"X12 72 17 41 100

1JO-20L U1.5/8"X12 U1.5/8"X12 88.1 18 50 120

- 229 -




AN 1J04-0G

" 45 ° JICHMNRLT4 ° S/
SAE SMEZH O [

45 ° JIC MALE 74 ° CONE/

A \g SAE 0-RING BOSS

a2 124 THREADE ] = DIMENSIONS
PART NO. E F A B S1 S2
1J04-040G U7/16"X20 U7/16"X20 20 24 11 17
1J04-04-060G U7/16"X20 U9/16"X18 22 27.5 14 19
1J04-04-080G U7/16"X20 U3/4"X16 25 325 19 24
1J04-050G U1/2"X20 U1/2"X20 22 26.7 14 17
1J04-05-040G U1/2"X20 U7/16"X20 22 26.7 14 17
1J04-060G U9/16"X18 U9/16"X18 22 28 14 19
1J04-06-040G U9/16"X18 U7/16"X20 22 26 14 17
1J04-06-050G U9/16"X18 U1/2"X20 22 26 14 17
1J04-06-080G U9/16"X18 U3/4"X16 25 325 19 24
1J04-06-100G U9/16"X18 uU7/8"X14 27 38.5 22 27
1J04-080G U3/4"X16 U3/4"X16 25 325 19 24
1J04-08-060G U3/4"X16 U9/16"X18 25 28 19 19
1J04-08-100G U3/4"X16 U7/8"X14 27 38.7 22 27
1J04-08-120G U3/4"X16 U1.1/16"X12 33 43.9 27 32
1J04-100G u7/8"X14 U7/8"X14 27 38.7 22 27
1J04-10-080G U7/8"X14 U3/4"X16 27 33 22 27
1J04-10-120G U7/8"X14 U1.1/16"X12 33 43.9 27 32
1J04-120G U1.1/16"X12 U1.1/16"X12 33 43.5 27 32
1J04-12-100G | U1.1/16"X12 u7/8"X14 33 42 27 27
1J04-12-160G | U1.1/16"X12 U1.5/16"X12 37 45,5 33 41
1J04-160G U1.5/16"X12 U1.5/16"X12 37 45,5 33 41
1JO4-16-120G| U1.5/16"X12 U1.1/16"X12 37 45 33 32
1J04-16-200G | U1.5/16"X12 U1.5/8"X12 40 47 44 50
1J04-200G U1.5/8"X12 U1.5/8"X12 40 48.5 44 50
1J04-20-240G U1.5/8"X12 U1.7/8"X12 47 50 53 55
1J04-240G U1.7/8"X12 U1.7/8"X12 47 50 53 55
1J04-320G U1.7/8"X12 U2.1/2"X12 55 54 65 70

- 230 -




. 1J09-0G
.. I ]
I
— ’ 90 * JICHMELLT4 ° Hh4fk/
mJ : SAESMREH ORI
\d 90 ° JIC MALE 74 ° CONE/
) st SAE 0-RING BOSS
a2 124 THREADE ] = DIMENSIONS
PART NO. E F A B S1 S2
1J09-040G uU7/16"X20 U7/16"X20 22 27.2 11 17
1J09-04-060G U7/16"X20 U9/16"X18 29 31.8 14 19
1J09-05-040G U1/2"X20 U7/16"X20 29 30 14 17
1J09-050G U1/2"X20 U1/2"X20 29 29 14 17
1J09-05-060G U1/2"X20 U9/16"X18 29 31.8 14 19
1J09-060G U9/16"X18 U9/16"X18 29 31.8 14 19
1J09-06-040G U9/16"X18 U7/16"X20 29 30 14 17
1J09-06-050G U9/16"X18 U1/2"X20 29 29.9 14 17
1J09-06-080G U9/16"X18 U3/4"X16 33 36.8 19 24
1J09-08-040G U3/4"X16 U7/16"X20 33 33 19 17
1J09-080G U3/4"X16 U3/4"X16 33 36.8 19 24
1J09-08-060G U3/4"X16 U9/16"X18 33 33.5 19 19
1J09-08-100G U3/4"X16 u7/8"xX14 37 44 22 27
1J09-08-120G U3/4"X16 U1.1/16"X12 40 51 27 32
1J09-100G u7/8"X14 U7/8"X14 37 44 22 27
1J0O9-10-080G u7/8"X14 U3/4"X16 37 40 22 27
1J09-10-120G u7/8"X14 U1.1/16"X12 40 51 27 32
1J09-120G U1.1/16"X12 U1.1/16"X12 40 51 27 32
1J09-12-100G | U1.1/16"X12 uU7/8"X14 40 47 27 27
1J09-12-160G | U1.1/16"X12 U1.5/16"X12 49 545 33 41
1J09-160G U1.5/16"X12 U1.5/16"X12 49 54.5 33 41
1JO9-16-120G| U1.5/16"X12 U1.1/16"X12 49 54.5 33 32
1J09-16-200G | U1.5/16"X12 U1.5/8"X12 57 59 44 50
1J09-200G U1.5/8"X12 U1.5/8"X12 57 59 44 50
1J09-20-240G U1.5/8"X12 U1.7/8"X12 57 63 48 55
1J09-240G U1.7/8"X12 U1.7/8"X12 57 63 48 55
1J09-320G U1.7/8"X12 U2.1/2"X12 66 76 65 70

- 231 -




S2

'

1J09-0G/L

90 * EHIJICHMRLETS * ShfE/
I SAESMRSLHT OB 90 ©
JIC MALE 74 ° CONE/ LONG

SAE O-RING BOSS

A S1
fri i2 40 THREADE R~} DIMENSIONS
PART NO. E F A B S1 S2
1J09-040G/ L U7/16"X20 U7/16"X20 22 44 11 17
1J09-060G/ L U9/16"X18 U9/16"X18 29 | 528 | 14 19
1J09-080G/ L U3/4"X16 U3/4"X16 33 | 635 | 19 24
1J09-100G/ L U7/8"x14 U7/8"X14 37 | 734 | 22 27
1J09-120G/L | U1.1/16"X12 | U1.1/16"X12 40 | 84.8 | 27 32
1J09-160G/L | U1.5/16"X12 | U1.5/16"X12 49 | 945 | 33 41

- 232 -




m 1BJ-WD

LA SMREUR AT B I ICHMRBTA ° S
)\l BSP MALE CAPTIVE SEAL/JIC MALE 74 ° CONE

=2 1240 THREADE JX <} DIMENSIONS
PART NO. E F A B D H S1 L
1BJ-02-04WD G1/8"X28 Uu7/16"X20 10 14 1.7 | 0.7 14 31.5
1BJ-04WD G1/4"X19 U7/16"X20 12 14 16.3 | 1.2 19 34
1BJ-06-04WD G3/8"X19 U7/16"X20 13.5 14 18.7 | 1.2 22 36
1BJ-08-04WD G1/2"X14 U7/16"X20 16 14 237 | 1.2 27 43
1BJ-04-05WD G1/4"X19 U1/2"X20 12 14 16.3 | 1.2 19 34
1BJ-06-05WD G3/8"X19 U1/2"X20 13.5 14 18.7 | 1.2 22 36
1BJ-02-06WD G1/8"X28 U9/16"X18 10 14 1.7 | 0.7 17 31.5
1BJ-04-06WD G1/4"X19 U9/16"X18 12 14 16.3 | 1.2 19 34
1BJ-06WD G3/8"X19 U9/16"X18 13.5 14 18.7 | 1.2 22 36
1BJ-08-06WD G1/2"X14 U9/16"X18 16 14 237 | 1.2 27 43
1BJ-04-08WD G1/4"X19 U3/4"X16 12 16.7 | 16.3 | 1.2 22 37
1BJ-06-08WD G3/8"X19 U3/4"X16 135 | 16.7 | 18.7 | 1.2 22 39
1BJ-08WD G1/2"X14 U3/4"X16 16 16.7 | 23.7 | 1.2 27 45.5
1BJ-08-10WD G1/2"X14 U7/8"X16 16 195 | 237 | 1.2 27 49
1BJ-12-10WD G3/4"X14 u7/8"X16 18.5 | 19.5 29 1.2 32 50
1BJ-08-12WD G1/2"X14 U1.1/16"X12 16 22 237 | 1.2 30 50.5
1BJ-12WD G3/4"X14 U1.1/16"X12 18.5 22 29 1.2 32 52.5
1BJ-16-12WD G1"X11 U1.1/16"X12 20.5 22 355 | 1.6 41 58.5
1BJ-12-16WD G3/4"X14 U1.5/16"X12 18.5 23 29 1.2 36 55.5
1BJ-16WD G1"X11 U1.5/16"X12 20.5 23 355 | 1.6 41 59.5
1BJ-20-16WD | G1.1/4"X11 | U1.5/16"X12 20.5 23 456 | 1.6 50 61.5
1BJ-16 -20WD G1"X11 U1.5/8"X12 205 | 245 | 355 | 1.6 46 61
1BJ-20WD G1.1/4"X11 | U1.5/8"X12 205 | 245 | 456 | 1.6 50 63
1BJ-24-20WD | G1.1/2"X11 | U1.5/8"X12 23 245 | 505 | 1.6 55 65
1BJ-20-24WD | G1.1/4"X11 | U1.7/8"X12 205 | 275 | 456 | 1.6 50 66
1BJ-24WD G1.1/2"X11 | U1.7/8"X12 23 275 | 505 | 1.6 55 68.5

- 233 -



S1

A
: | 2TJ
| | 19
A M% FEHEAS SNBE JICHIRETA © P
BSPT MALE/JIC FEMALE 74 ° SEAT
Cc

fri i24r THREADE R =t DIMENSIONS
PART NO. E F A C S1 S2
2TJ-02-04 ZG1/8"X28 U7/16"X20 10 | 85 | 14 17
2TJ-04 ZG1/4"X19 U7/16"X20 14 | 8.5 | 17 17
2TJ-04-05 ZG1/4"X19 U1/2"X20 14 | 95 | 17 19
2TJ-04-06 ZG1/4"X19 U9/16"X18 14 10 17 19
2TJ-06-05 ZG3/8"X19 U1/2"X20 14 | 95 | 17 19
2TJ-06 ZG3/8"X19 U9/16"X18 14 10 17 19
2TJ-06-08 ZG3/8"X19 U3/4"X16 14 11 19 24
2TJ-08 ZG1/2"X14 U3/4"X16 19 11 22 24
2TJ-08-10 ZG1/2"X14 U7/8"X14 19 11 22 27
2TJ-08-12 ZG1/2'X14 | U1.1/16"X12 19 | 135 | 27 32
2TJ-12 ZG3/4"X14 | U1.1/16"X12 19.5 | 135 | 30 32
2TJ-12-16 ZG3/4"X14 | U1.5/16"X12 195 | 145 | 36 41
2TJ-16 Z61"X11 U1.5/16"X12 24 | 145 | 36 41
2TJ-20 ZG1.1/4"X11 | U1.5/8"X12 24 | 155 | 46 50
2TJ-24 ZG1.1/2"X11 | U1.7/8"X12 25 | 185 | 50 55

- 234 -




A
o | 2NJ
| DR
Y A HE AL I CHECTA * e
D %‘ NPT MALE/JIC FEMALE 74 ° SEAT
C
e 124, THREADE J ~F DIVENSIONS
PART NO. E F A C S1 S2
2NJ-02-04 Z1/8"X27 U7/16"X20 10 8.5 14 17
2NJ-02-05 21/8"X27 U1/2"X20 10 9.5 14 19
2NJ-04 Z21/4"X18 U7/16"X20 14 8.5 17 17
2NJ-04-05 Z1/4"X18 U1/2"X20 14 9.5 17 19
2NJ-04-06 Z21/4"X18 U9/16"X18 14 10 17 19
2NJ-04-08 Z1/4"X18 U3/4"X16 14 11 19 24
2NJ-06 Z3/8"X18 U9/16"X18 14 10 17 19
2NJ-06-08 Z3/8"X18 U3/4"X16 14 11 19 24
2NJ-06-10 Z3/8"X18 u7/8"X14 14 11 22 27
2NJ-08 Z1/2"X14 U3/4"X16 19 11 22 24
2NJ-08-06 Z1/2"X14 U9/16"X18 19 10 22 19
2NJ-08-10 Z1/2"X14 u7/8"X14 19 1 22 27
2NJ-08-12 Z1/2"X14 U1.1/16"X12 19 13.5 27 32
2NJ-12 Z3/4"X14 U1.1/16"X12 19.5 13.5 30 32
2NJ-12-08 Z3/4"X14 U3/4"X16 19.5 1 27 24
2NJ-12-10 Z3/4"X14 u7/8"X14 19.5 1 27 27
2NJ-12-16 Z3/4"X14 U1.5/16"X12 19.5 14.5 36 41
2NJ-16 Z1"X11.5 U1.5/16"X12 24 14.5 36 41
2NJ-16-12 Z1"X11.5 U1.1/16"X12 24 13.5 36 32
2NJ-16-20 Z1"X11.5 U1.5/8"X12 24 15.5 46 50
2NJ-20 Z1.1/4"X11.5 U1.5/8"X12 24 15.5 46 50
2NJ-20-24 Z1.1/4"X11.5 U1.7/8"X12 24 18.5 46 55
2NJ-24-20 Z1.1/12"X11.5 U1.5/8"X12 25 15.5 50 50
2NJ-24 Z1.1/12"X11.5 U1.7/8"X12 25 18.5 50 55

- 235 -




2GJ

S IMRSLORY [/ JICIRELT4 © AT

Wl BSP MALE O-RING/JIC FEMALE 74 ° CONE
c
) 124, THREADE . ~F DIMENSIONS
PART NO. E F A C s1 s2
2GJ-04 G1/4"X19 | UT7/16"X20 12 | 85 | 19 | 17
2GJ-04-05 | G1/4"X19 U1/2"X20 12 | 95 | 19 | 19
2GJ-04-06 | G1/4'X19 | U9/16"X18 12 | 10 | 19 | 19
2GJ-06 G3/8'X19 | U9/16"X18 135 | 10 | 22 | 19
2GJ-06-08 | G3/8"X19 U3/4"X16 135 | 11 | 22 | 24
2GJ-08 G1/2'X14 U3/4"X16 16 | 11 | 27 | 24
2GJ-08-06 | G1/2'X14 | U9/16"X18 16 | 10 | 27 | 19
2GJ-08-10 | G1/2'X14 U7/8"X16 16 1 | 27 | 27
2GJ-12 G3/4'X14 | U1.1/16"X12 185 | 135 | 32 | 32
2GJ-12-08 | G3/4'X14 U3/4"X16 185 | 11 32 | 24
2GJ-12-10 | G3/4'X14 U7/8"X16 185 | 11 | 32 | 27
2GJ-12-16 | G3/4'X14 | U1.5/16"X12 185 | 145 | 32 | 41
2GJ-16 G1"X11 | U1.5/16"X12 205 | 145 | 41 | 41
2GJ-20 G1.1/4"X11 | U1.5/8"X12 205 | 155 | 50 | 50
2GJ-24 G1.1/2"X11 | U1.7/8"X12 23 | 185 | 55 | 55

- 236 -




S1

|
-

20J

FEHISAESMELHT O 18 /
JICIHIRZ74 ° PHE
SAE 0-RING BOSS/
JIC FEMALE 74 ° SEAT

C
= % THREADE R <} DIMENSIONS
PART NO. E F A C S1 s2
20J-04 U7/16"X20 | U7/16"X20 10 | 8.5 14 17
20J-05 U1/2"'X20 | U1/2"X20 10 | 95 | 17 19
20J-06 U9/16"X18 | U9/ 16"X18 12 10 17 19
20J-08 U3/4"X16 | U3/4"X16 12 11 22 24
20J-10 U7/8'x14 | U7/8"X14 135 | 11 27 27
20J-12 U1.1/16"X12 [U1.1/16"X12 16 | 135 | 32 32
20J-16 U1.5/16"X12 |[U1.5/16"X12 17 | 145 | 41 41
20J-20 U1.5/8"X12 | U1.5/8"X12 18 | 155 | 50 50
S1
I ] i 2WJ
- ]
5 w
N R 2 | CIBETA * Pt
% BUTT-WELD TUBE/JIC FEMALE 74 ° SEAT
C
e #24 THREADE ¥ HATUBE 0.D. R~} DIMENSIONS
PART NO. E D1 C S1
2WJ-10-04 U7/16"X20 10 8.5 17
2WJ-12-05 U1/2"X20 12 9.5 19
2WJ-14-04 U7/16"X20 14 8.5 17
2WJ-14-06 U9/16"X18 14 10 19
2WJ-18-08 U3/4"X16 18 11 24
2WJ-20-10 U7/8"X14 20 11 27
2WJ-22-12 | U1.1/16"X12 22 13.5 32
2WJ-28-16 | U1.5/16"X12 28 14.5 41
2WJ-34-20 U1.5/8"X12 34 15.5 50

- 237 -



< L -
/st
A
- : 5JB
1
e I F
a S ICHMELELTA ° S1efe/ S P L
M/Z JIC MALE 74 ° CONE/BSP FEMALE

=, i24r THREADE R~} DIMENSIONS
PART NO. E F A S1 L
5JB-04 U7/16"X20 | G1/4"X19 14 19 32
5JB-04-02 U7/16"X20 | G1/8'X28 14 14 29
5JB-04-06 U7/16"X20 | G3/8"X19 14 22 34
5JB-06 U9/16"X18 | G3/8"X19 14 22 34
5JB-06-08 U9/16"X18 | G1/2"X14 14 27 34
5JB-08 U3/4"X16 G1/2"X14 16.7 27 37
5JB-08-10 U3/4"X16 G5/8"X14 16.7 30 43
5JB-10-12 U7/8"X16 G3/4"X14 19.5 32 44
5JB-12 U1.1/16"X12 | G3/4"X14 22 36 52
5JB-12-16 | U1.1/16"X12 |  G1"X11 22 41 56
5JB-16 U1.5/16"X12 G1"X11 23 41 57
5JB-16-20 | U1.5/16"X12 | G1.1/4"X11 23 50 59
5JB-20 U1.5/8"X12 | G1.1/4"X11 24.5 50 61
5JB-24 U1.7/8"'X12 | G1.1/2"X11 27.5 55 65
5JB-32 U2.1/2"x12 G2"X11 34 70 71

- 238 -




S1

A
T oJT
w q_ .
L LRI ICHNRETA ° AN S P IRLL
£ JIC MALE 74 ° CONE/BSPT FEMALE

=] 124 THREADE R~} DIMENSIONS

PART NO. E F A S1 L
5JT-04-02 U7/16"X20 ZG1/8"X28 14 17 29
5JT-04 U7/16"X20 ZG1/4"X19 14 19 32
5JT-06-04 U9/16"X18 ZG1/4"X19 14 19 32
5JT-06 U9/16"X18 ZG3/8"X19 14 22 34
5JT-08-06 U3/4"X16 ZG3/8"X19 16.7 22 37
5JT-08 U3/4"X16 ZG1/2"X14 16.7 30 43
5JT-10-08 U7/8"X14 ZG1/2"X14 19.5 30 36
5JT-12 U1.1/16"X12 | ZG3/4"X14 22 36 52
5JT-16 U1.5/16"X12 ZG1"X11 23 41 57

- 239 -




7
0 5JN
w| | -
- FMIIICHMELTA ° HMHE/ TR NIRLL
2 JIC MALE 74 ° CONE/NPT FEMALE
= #4 THREADE R~ DIMENSIONS
PART NO. E F A S1 L
5JN-04-02 U7/16"X20 Z1/8"X27 14 17 29
5JN-04 U7/16"X20 Z1/4"X18 14 19 32
5JN-05-04 U1/2"X20 Z1/4"X18 14 19 32
5JN-06-04 U9/16"X18 71/4"X18 14 19 32
5JN-06 U9/16"X18 73/8"'X18 14 22 34
5JN-06-08 U9/16"X18 Z1/2"X14 14 30 40
5JN-08-06 U3/4"X16 Z73/8"'X18 16.7 22 37
5JN-08 U3/4"X16 Z1/2'X14 16.7 30 43
5JN-08-12 U3/4"X16 Z3/4"X14 16.7 36 47
5JN-10-08 U7/8"X14 Z1/2'X14 19.5 30 46
5JN-10-12 Uu7/8"X14 Z3/4"X14 19.5 36 50
5JN-12-08 | U1.1/16"X12 | Z1/2"'X14 22 30 48
5JN-12 UT.1/16"X12 | Z3/4"X14 22 36 52
5UN-16-12 | U1.5/16"X12 | Z3/4'X14 23 36 53
5JN-16 U1.5/16"X12 | Z1"X11.5 23 41 57
5JN-20 U1.5/8'X12 | Z1.1/4"X11.5 24.5 50 61
5JN-24 U1.7/8'X12 | Z1.1/2'X11.5 27.5 60 65
5JN-32 u2.1/2'x12 | Z2"X11.5 34 70 71

- 240 -




5JN9

90 ° SEIJICHMRLTA * HhHE/ A1 HER YIRS
90 * JIC MALE 74 ° CONE/NPT FEMALE

i # 4 THREADE R I DIMENSIONS
PART NO. E F A B s1
5JN9-04-02 | U7/16"X20 7118"X27 27 | 21 17
5JN9-04 U7/16"X20 Z1/4"X18 27 | 21 17
5JN9-06-04 | U9/16"X18 Z1/4"X18 2 | 27 | 22
5JN9-06 U9/16"X18 Z3/8"X18 2 | 27 | 22
5JN9-08-04 | U3/4"X16 Z1/4"X18 35 | 30 | 27
5JN9-08 U3/4"X16 Z1/2'X14 35 | 30 | 27
5JN9-12-08 | U1.1/16"X12 | Z1/2'X14 35 | 30 | 27
5JN9-12 | U1.1/16'X12 | Z3/4"X14 40 | 32 | 33
5JN9-12-16 | U1.1/16"X12 | Z1"X11.5 38 | 49 | 41
5JN9-16-12 | U1.5/16"X12 | Z3/4"X14 49 | 38 | 41
5JN9-16 | U15/16"X12 | Z1"X11.5 49 | 38 | 41

- 241 -



A B
o - 3 6NJ
| Nue
) 75 S HINPT SN 5 501 COMBEUAMHE I B
J NPT MALE/JIC MALE 74 ° CONE BULKHEAD
E S1
e 124 THREADE K =} DIMENSIONS
PART NO. E F A B S1 L
6NJ-02-04 21/8"X27 u7/16"X20 10 32.5 14 485
6NJ-04 Z1/4"X18 U7/16"X20 14 32.5 14 52.5
6NJ-04-06 Z1/4"X18 U9/16"X18 14 32.5 17 52.5
6NJ-06 Z3/8"X18 U9/16"X18 14 32.5 17 52.5
6NJ-08 Z1/2"X14 U3/4"X16 19 36.5 22 64
6NJ-08-10 Z21/2"X14 U7/8"X14 19 40 22 67
6NJ-12 Z3/4"X14 U1.1/16"X12 19.5 445 27 73
6NJ-16 Z1"X11.5 U1.5/16"X12 24 445 36 79.5
6NJ-20 Z1.1/4"X11.5 U1.5/8"X12 25 45.7 46 84
6NJ-24 Z1.1/2"X11.5 U1.7/8"X12 25 46 50 88
S1 S2
/NJ
E
Y TTHER I JICIRETA * Pyt
NPT FEMALE/JIC FEMALE 74 ° SEAT
= 124 THREADE R~} DIMENSIONS
PART NO. E F C S1 S2
7NJ-04 Z1/4"X18 U7/16"X20 8.5 19 17
7NJ-04-06 Z1/4"X18 U9/16"X18 10 19 19
7NJ-06 Z3/8"X18 U9/16"X18 10 24 19
7NJ-06-08 Z3/8"X18 U3/4"X16 11 24 24
7NJ-08 Z1/2"X14 U3/4"X16 11 30 24
7NJ-08-10 Z1/2"X14 u7/8"X14 11 30 27
7NJ-08-12 Z21/2"X14 U1.1/16"X12 13.5 30 32
7NJ-12 Z3/4"X14 U1.1/16"X12 13.5 36 32
7NJ-16 Z1"X11.5 U1.5/16"X12 14.5 41 41
7NJ-20 Z1.1/4"X11.5 U1.5/8"X12 15.5 50 50
7NJ-24 Z21.1/2"X11.5 U1.7/8"X12 18.5 60 55

- 242 -




—~—

ze

Bl %

S1

-

7

AJ

SKAJICHMRLT4 * HMfE =18
JIC MALE 74 ° CONE TEE

A C
T=s i24r THREADE R~} DIMENSIONS
PART NO. E F G A B C S1
AJ-04 U7/16"X20 U7/16"X20 U7/16"X20 24 24 24 1
AJ-04-06-04 U7/16"X20 U9/16"X18 U7/16"X20 27 27 27 14
AJ-05 U1 /2"X20 U1/2"X20 U1/2"X20 27 27 27 14
AJ-06-04-06 U9/16"X18 U7/16"X20 U9/16"X18 27 27 27 14
AJ-06 U9/16"X18 U9/16"X18 U9/16"X18 27 27 27 14
AJ-08 U3 /4"X16 U3/4"X16 U3/4"X16 30 30 30 19
AJ-08-06-08 U3 /4"X16 U9/16"X18 U3/4"X16 30 30 30 19
AJ-10 U7/8"X14 u7/8"xX14 U7/8"X14 33 33 33 22
AJ-12 U1.1/16"X12 U1.1/16"X12 U1.1/16"X12 40 40 40 27
AJ-16 U1.5/16"X12 U1.5/16"X12 U1.5/16"X12 49 49 49 33
AJ-16-12-16 U1.5/16"X12 U1.1/16"X12 U1.5/16"X12 49 49 49 33
AJ-20 U1.5/8"X12 U1.5/8"X12 U1.5/8"X12 57 57 57 44
74N
hN—))
Sl BJ
S1
e o~ %ﬁﬂJlCﬁf?ﬁ%i%M °‘ WE&L ‘
: . EMINICHIRLT4 ° NHES X =38
* ‘ jﬁ: . JIC MALE 74 ° CONE/
JIC FEMALE BRANCH TEE
A A
LB 124 THREADE R =} DIMENSIONS
PART NO. E F A C S1 S2
BJ-04 U7/16"X20 U7/16"X20 24 8.5 11 17
BJ-05 U1/2"X20 U1/2"X20 27 9.5 14 19
BJ-06 U9/16"X18 U9/16"X18 27 10 14 19
BJ-08 U3/4"X16 U3/4"X16 30 1 19 24
BJ-10 U7/8"X14 u7/8"X14 33 1 22 27
BJ-12 U1.1/16"X12 U1.1/16"X12 40 13.5 27 32
BJ-16 U1.5/16"X12 U1.5/16"X12 49 14.5 33 41
BJ-20 U1.5/8"X12 U1.5/8"X12 57 15.5 44 50

- 243 -




CJ

C_
<C
/ FEHIJICHMRLT4 ° SMHE/
w wl FHJICHIRE74 ° N4k S =il
<
JIC MALE 74 ° CONE/
— JIC FEMALE 74 ° SEAT RUN TEE
A S1
S2
=) i24 THREADE R~} DIMENSIONS
PART NO. E F A C S1 S2
CJ-04 U7/ 16"X20 U7/ 16"X20 24 8.5 11 17
CJ-05 U1/ 2"X20 U1/ 2"X20 27 9.5 14 19
CJ-06 U9/ 16"X18 U9/ 16"X18 27 10 14 19
CJ-08 U3/ 4"X16 U3/ 4"X16 30 11 19 24
CJ-10 u7/8"X14 U7/8"X14 33 11 22 27
CJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 32
CJ-16 U1.5/16"X12 || U1.5/16"X12 49 | 145 | 33 41
CJ-20 U148/ 8"X12 U1.5/8"X12 57 | 155 | 44 50
74°
-
o}
: DJ

\

\st

SKAIJICHIRETA © Py =
JIC FEMALE 74 ° SEAT TEE

$2
=1 # 4 THREADE & ~F DIMENSIONS

PART NO. E F C s1 | s2
DJ-04 U7/16"X20 U7/16"X20 85 | 11 | 17
DJ-05 U1/2"X20 U1/2"X20 95 | 11 | 19
DJ-06 U9/16"X18 U9/16"X18 10 | 14 | 19
DJ-08 U3/4"X16 U3/4"X16 11 | 19 | 24
DJ-10 U7/8"X14 U7/8"X14 11 | 22 | 27
DJ-12 U1.1/16"X12 | U1.1/16"X12 135 | 27 | 32
DJ-16 U1.5/16"X12 | U1.5/16"X12 145 | 33 | 41
DJ-20 U15/8'X12 | U1.5/8"X12 155 | 44 | 50

- 244 -




EJ

KAIIICHIRET4 * 4/
SKAJICHMRL74 * SISy S =3

JIC FEMALE 74 ° SEAT/
JIC MALE 74 ° CONE BRANCH TEE

= i2 40 THREADE R~} DIMENSIONS
PART NO. E F A C S1 S2
EJ-04 U7/ 16"X20 U7/ 16"X20 24 | 85 | 11 17
EJ-05 U1/2"X20 U1/2"X20 27 | 95 | 14 19
EJ-06 U9/ 16"X18 U9/ 16"X18 27 10 14 19
EJ-08 U3 /4"X16 U3 /4"X16 30 11 19 24
EJ-10 U7 /8"X14 U7 /8"X14 33 11 22 27
EJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 32
EJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 41
EJ-20 U1.5/8"X12 U1.5/8"X12 57 | 155 | 44 50
AR
4
] FJ
C_
: EHIIICHIRETA © P HE
/ . KHIICHMBELTA ° HMHET S =3
w ﬁf ‘ I o JIC FEMALE 74 ° SEAT/
JIC MALE 74 ° CONE BRANCH TEE
=, i2 40 THREADE & =} DIMENSIONS
PART NO. E F A C S1 S2
EJ-04 U7/16"X20 U7/16"X20 24 | 85 | 1 17
EJ-05 U1/2"X20 U1/2"X20 27 | 95 | 14 19
EJ-06 U9/16"X18 U9/16"X18 27 10 14 19
EJ-08 U3/4"X16 U3/4"X16 30 11 19 24
EJ-10 U7/8"X14 U7/8"X14 33 11 22 27
EJ-12 U1.1/16"X12 | U1.1/16"X12 40 | 135 | 27 32
EJ-16 U1.5/16"X12 | U1.5/16"X12 49 | 145 | 33 41
EJ-20 U1.5/8"X12 U1.5/8"X12 57 | 155 | 44 50

- 245 -




e AJNJ
S1
N N
S ICHMELLTA * S/
- -1 AL SMBES X
- JIC MALE 74 ° CONE/
NPT MALE BRANCH TEE
A A
e 124 THREADE J* =} DIMENSIONS

PART NO. E F A B S1
AJNJ-04 U7/16"X20 Z1/4"X18 27 27 14
AJNJ-04-02-04 U7/16"X20 Z1/8"X27 24 24 11
AJNJ-05-02-05 U1/2"X20 Z1/8"X27 27 27 14
AJNJ-05-04-05 U1/2"X20 Z1/4"X18 27 27 14
AJNJ-06 U9/16"X18 Z3/8"X18 28 28 17
AJNJ-06-04-06 U9/16"X18 Z1/4"X18 27 27 14
AJNJ-08 U3/4"X16 Z1/2"X14 33 33 22
AJNJ-08-06-08 U3/4"X16 Z3/8"X18 30 30 19
AJNJ-10-08-10 U7/8"X14 Z1/2"X14 33 33 22
AJNJ-10-12-10 U7/8"X14 Z3/4"X14 40 40 27
AJNJ-12 U1.1/16"X12 Z3/4"X14 40 40 27
AJNJ-16 U1.5/16"X12 Z1"X11.5 49 49 33
AJNJ-20 U1.5/8"X12 [Z1.1/4"X11.5 57 57 44

- 246 -




AJJIN

SKAJICHMREL T4 ShE/
THEE SMRS T =08
JIC MALE 74 ° CONE/
NPT MALE RUN TEE

RE i24r THREADE R s} DIMENSIONS
PART NO. E F A B S1
AJIN-04 U7/16"X20 Z1/4"X18 27 | 27 14

AJIN-04-04-02 |  U7/16"X20 Z1/8"X27 24 24 11
AJIN-05-05-02 |  U1/2"X20 Z1/8"X27 27 | 27 14
AJIN-05-05-04 | U1/2"X20 Z1/4"X18 27 | 27 14
AJIN-06 U9/16"X18 Z3/8"X18 28 | 28 17
AJJIN-06-06-04 | U9/16"X18 Z1/4"X18 27 | 27 14
AJIN-08 U3/4"X16 Z1/2"X14 33 | 33 | 22
AJIN-08-08-06 |  U3/4"X16 Z3/8"X18 30 30 19
AJIN-10-10-08 |  U7/8"X14 Z1/2"X14 33 | 33 | 22
AJIN-10-10-12 | U7/8"X14 Z3/4"X14 4 | 40 | 27
AJIN-12 U1.1/16"X12 | Z3/4"X14 40 | 40 | 27
AJIN-16 U1.5/16"X12 | Z1"X11.5 49 | 49 33
AJIN-20 U1.5/8'X12 | Z1.1/4"X11.5 57 | 57 | 44

- 247 -




18l AJJBJ
I o |
y i S ICHMBETA * ML 1% i
™ JIC MALE 74 ° CONE BULKHEAD RUN TEE
A B
2 124 THREADE R =} DIMENSIONS
PART NO. E A B S1
AJJ6J-04 U7/16"X20 24 40.4 1
AJJ6J-06 U9/16"X18 27 46 14
AJJ6J-08 U3/4"X16 30 53.5 19
AJJ6J-10 u7/8"X14 33 60.7 22
AJJ6J-12 U1.1/16"X12 40 67.8 27
AJJ6J-16 U1 §/16")§12 49 71 33
AJJ6J-20 U1.5/8"X12 57 79.2 44
_E
2

S1

=

o
:J_MKE

AJoJJ

FlJICHMRL74 * M Ak 73 32 =i
JIC MALE 74 ° CONE BULKHEAD BRANCH TEE

A A
= 1241 THREADE R =t DIMENSIONS
PART NO. E A B S1
AJ6JJ-04 U7/16"X20 24 40.4 11
AJ6JJ-06 U9/16"X18 27 46 14
AJ6JJ-08 U3/4"X16 30 53.5 19
AJ6JJ-10 u7/8"X14 33 60.7 22
AJ6JJ-12 U1.1/16"X12 40 67.8 27
AJ6JJ-16 U1.5/16"X12 49 71 33

- 248 -



—

S1

[
NI
~

KJNJ

SKAJICHMRLT4 * S/
THER IR S =0
JIC MALE 74 ° CONE/

NPT FEMALE BRANCH TEE

feE 1241 THREADE JX <} DIMENSIONS
PART NO. E F A B S1
KJNJ-04 u7/16"X20 Z1/4"X18 30 22.4 19
KJNJ-04-02-04 Uu7/16"X20 Z21/8"X27 28 16.8 17
KJNJ-05-02-05 U1/2"X20 Z21/8"X27 28 16.8 17
KJNJ-05-04-05 U1/2"X20 Z1/4"X18 30 224 19
KJNJ-06 U9/16"X18 Z3/8"X18 33 259 22
KJNJ-06-04-06 U9/16"X18 Z1/4"X18 30 224 19
KJNJ-08 U3/4"X16 Z1/2"X14 40 31.2 27
KJNJ-08-06-08 U3/4"X16 Z3/8"X18 40 259 27
KJNJ-10-08-10 U7/8"X14 Z1/2"X14 40 31.2 27
KJINJ-12 U1.1/16"X12 Z3/4"X14 49 34.5 33
KJNJ-16 U1.5/16"X12 Z1"X11.5 57 41.1 44

- 249 -




i LJIN
y SL
JE FHJICHMRLT74 ° HE/
ﬁ T IR S =5
JIC MALE 74 ° CONE/
A B NPT FEMALE RUN TEE
=, i2 40 THREADE K.~} DIMENSIONS
PART NO. E F A B S1
LJIN-04 U7/16"X20 Z1/4"X18 30 | 251 | 19
LJJIN-04-04-02 |  U7/16"X20 71/8"X27 28 | 168 | 17
LJIN-06 U9/16"X18 Z3/8"X18 33 | 268 | 22
LJIN-06-06-04 | U9/16"X18 Z1/4"X18 30 | 225 | 19
LJIN-08 U3/4"X16 Z1/2"X14 40 33 27
LJIN-08-08-06 |  U3/4"X16 Z3/8"X18 40 | 259 | 27
LJIN-10-10-08 |  U7/8"X14 Z1/2"X14 40 | 312 | 27
LJUN-12 U1.1/16"X12 | Z3/4"X14 49 39 33
LJJN-16 U1.5/16"X12 | Z1"X11.5 57 | 439 | 27
LJJN-20 U1.5/8'X12 |Z1.1/4"X11.5 57 | 433 | 44

- 250 -




AJOJ-0G

'
o (47
j’y/ SEHINCHNRLTA * S/
Y L SAESMREHF OB 8] 7p 3 =i
- ] AT JIC MALE 74 ° CONE/
JC SAE 0-RING BOSS BRANCH TEE
A St p
=) 124 THREADE )& DIMENSIONS
PART NO. E F A B S1 S2
AJOJ-040G U7/16"X20 U7/16"X20 24 27.2 11 17
AJOJ-050G U1/2"X20 U1/2"X20 27 29 14 17
AJOJ-05-04-050G U1/2"X20 U7/16"X20 27 30 14 17
AJOJ-060G U9/16"X18 U9/16"X18 27 31.8 14 19
AJOJ-06-04-060G | U9/16"X18 U7/16"X20 27 30 14 17
AJOJ-06-05-060G | U9/16"X18 U1/2"X20 27 30 14 17
AJOJ-080G U3/4"X16 U3/4"X16 30 36.8 19 24
AJOJ-08-06-080G U3/4"X16 U9/16"X18 30 33.5 19 19
AJOJ-100G U7/8"X14 U7/8"X14 33 44 22 27
AJOJ-10-08-100G u7/8"X14 U3/4"X16 33 40 22 24
AJOJ-120G U1.1/16"X12 [ U1.1/16"X12 33 51 24 32
AJOJ-12-08-120G [U1.1/16"X12 U3/4"X16 33 44 24 24
AJOJ-12-10-120G [U1.1/16"X12 u7/8"X14 33 49 24 27
AJOJ-160G U1.5/16"X12 | U1.5/16"X12 49 545 33 41
AJOJ-20-16-200G | U1.5/8"X12 U1.5/16"X12 57 59.5 44 41
AJOJ-200G U1.5/8"X12 U1.5/8"X12 57 59 44 50

- 251




2
5

-

e

Jtcf%ﬁi i

AJJO-0G

KAJICIMRLT4 * i/
SAESMRLEUHT O E 4 37 =i
JIC MALE 74 ° CONE/
SAE 0-RING BOSS RUN TEE

A B
o #2457 THREADE ] <t DIMENSIONS

PART NO. E F A B s1 52
AJJO-040G U7/16"X20 | U7/16"X20 24 | 272 | 11 17
AJJO-050G U1/2"X20 U1/2"X20 27 | 29 | 14 | 17
AJJO-05-05-040G | U1/2'X20 | U7/16"X20 27 | 30 | 14 | 17
AJJO-060G U9/16"X18 | U9/16"X18 27 | 318 | 14 | 19
AJJO-06-06-040G | U9/16"X18 | U7/16"X20 27 | 301 | 14 | 17
AJJO-06-06-050G | U9/16"X18 | U1/2"X20 27 | 30 | 14 | 17
AJJO-06-06-080G | U9/16"X18 | U3/4"X16 30 | 375 | 19 | 24
AJJO-080G U3/4"X16 U3/4"X16 30 | 368 | 19 | 24
AJJO-08-08-060G | U3/4"X16 | U9/16"X18 30 | 335 19 | 19
AJJO-08-08-100G | U3/4"X16 U7/8"'X14 33 | 44 | 22 | 27
AJJO-100G U7/8"X14 U7/8"X14 33 | 44 | 22 | 27
AJJO-10-10-080G | U7/8"X14 U3/4"X16 33 | 395 | 22 | 24
AJJO-120G  |U1.1/16"X12 | U1.1/16"X12 33 | 51 24 | 32
AJJO-12-12-080G |U1.1/16"X12 | U3/4"X16 33 | 43 | 24 | 24
AJJO-12-12-100G |U1.1/16"'X12 | U7/8"X14 33 | 49 | 24 | 27
AJJO-160G  |U1.5/16"X12 | U1.5/16"X12 49 | 545 | 33 | 41
AJJO-200G | U15/8'X12 | U1.5/8"X12 57 | 59 | 44 | 50

- 252 -




-—

S2

-

AJGJ-OG

JICHMEZLT4 ° HhsE/

wl ;ﬁ] " S SRS ORI 43 3 =18

" ~ JIC MALE 74 ° CONE/

—%C:— BSP MALE O-RING BRANCH TEE
A S1

=, 1240 THREADE JU ) DIMENSIONS
PART NO. E F A B S1 S2
AJGJ-04-02-040G | U7/16"'X20 | G1/8"'X28 24 | 262 | 11 14
AJGJ-040G U7/16"X20 | G1/4"X19 27 | 318 | 14 19
AJGJ-05-02-050G | U1/2"X20 G1/8"X28 27 29 | 14 19
AJGJ-05-04-050G | U1/2'%X20 | G1/4"X19 27 | 318 | 14 19
AJGJ-06-04-060G | U9/16"X18 | G1/4"X19 27 31 14 19
AJGJ-060G U9/16"X18 | G3/8"X19 28 | 368 | 17 22
AJGJ-08-06-080G | U3/4"X16 G3/8"X19 30 37 | 19 22
AJGJ-080G U3/4"X16 G1/2"X14 33 | 432 | 22 27
AJGJ-10-08-100G | U7/8"'X16 G1/2"X14 33 | 435 | 22 27
AJGJ-120G | U1.1/16"X12 | G3 / 4"X14 33 51 24 32
AJGJ-160G | U1.5/16"X12 |  G1"X11 49 | 53 33 41

— E —]
74D AJJG-0G
. s2

— JICHMEZLTA * SN/
MJ ﬂt m] S MBSO 3 % =5

JIC MALE 74 ° CONE/

ot

BSP MALE O-RING RUN TEE

feE 1241 THREADE J <} DIMENSIONS

PART NO. E F A B S1 S2
AJJG-040G U7/16"X20 G1/4"X19 27 31.9 14 19
AJJG-05-05-040G | U1/2"X20 G1/4"X19 27 31.3 14 19
AJJG-060G U9/16"X18 G3/8"X19 28 36.8 17 22
AJJG-06-06-040G | U9/16"X18 G1/4"X19 27 31.3 14 19
AJJG-08-08-060G | U3/4"X16 G3/8"X19 30 36.8 19 22
AJJG-080G U3/4"X16 G1/2"X14 33 432 | 22 27
AJJG-10-10-080G | U7/8"X16 G1/2"X14 33 44 22 27
AJJG-120G U1.1/16"X12 | G3/4"X14 33 49.5 24 32
AJJG-160G U1.5/16"X12 G1"X11 49 53 33 41

- 253 -




-—

7

AJJH-0OG

FKAJIICHMRLT4 * S/
2 AR ECRT A 1 e 3 5 =3
JIC MALE 74 ° CONE/METRIC MALE
ADJUSTABLE STUD END

A B
e #4 THREADE R I DIMENSIONS

PART NO. E F A B s1 s2
AJJH-04-04-100G | U7/16"X20 | M10x1 24 | 265 | 11 14
AJJH-04-04-120G | U7/16"X20 | M12x1.5 27 | 325 | 14 | 17
AJJH-05-05-120G | U1/2"X20 | M12x1.5 27 | 32 | 14 | 17
AJJH-05-05-140G | U1/2'X20 | M14x1.5 27 | 32 | 14 | 19
AJJH-06-06-140G | U9/16"X18 | M14x1.5 27 | 32 | 14 | 19
AJJH-06-06-160G | U9/16"X18 | M16x1.5 28 | 348 | 17 | 22
AJJH-08-08-160G | U3/4"X16 | M16x1.5 30 | 36 | 19 | 22
AJJH-08-08-180G | U3/4"X16 | M18x1.5 30 | 37 | 19 | 24
AJJH-10-10-180G | U7/8"X14 | M18x1.5 33 | 395 | 22 | 24
AJJH-10-10-220G | U7/8'X14 | M22x1.5 33 | 402 | 22 | 27
AJJH-12-12-220G | U1.1/16"X12 | M22x1.5 33 | 44 | 24 | 27
AJH-12-12-270G | U1.1/16"X12 | M27x2 40 | 485 | 27 | 32
AJJH-16-16-270G | U1.5/16"X12 | M27x2 49 | 52 | 33 | 32

- 254 -




NB500

JICAHIERE
JIC METRIC SLEEVE

re #24 THREADE ‘&¥4Mz TUBE O.D. ] 51 DIMENSIONS
PART NO. mm D L
NB500-06 | U7/16"X20 6 9.7 10.4
NB500-08 U1/2"X20 8 11.3 11.2
NB500-10 | U9/16"X18 10 12.7 12.7
NB500-12 U3/4"X16 12 17.3 14.2
NB500-14 U7/8"X16 14 20.2 16.8
NB500-15 U7/8'X16 15 20.2 16.8
NB500-16 U7/8'X16 16 20.2 16.8
NB500-18 | U1.1/16"X12 18 24.7 17.3
NB500-20A | U1.1/16"X12 20 24.7 17.3
NB500-20 | U1.3/16"X12 20 27.8 19.3
NB500-22 | U1.3/16"X12 22 27.8 19.3
NB500-25 | U1.5/16"X12 25 31 19.8
NB500-28 | U1.5/8"X12 28 38.9 23.1
NB500-30 | U1.5/8'X12 30 38.9 23.1
NB500-32 | U1.5/8"X12 32 38.9 23.1
NB500-35 | U1.7/8'X12 35 45.3 28.4
NB500-38 | U1.7/8"X12 38 45.3 28.4
NB500-50 | U2.1/2'X12 50 61.2 30.2

- 255 -




NB300

JICT Ml F e 2
JIC INCH SLEEVE

A
=1 # 4 THREADE %1-5M% TUBE 0.D. &~ DIMENSIONS

PART NO. in D L
NB300-04 U7/16"X20 1/4" 9.5 10.5
NB300-06 U9/16"X18 3/8" 12.5 13
NB300-08 U3/4"X16 1/2" 17 14
NB300-10 u7/8"X16 5/8" 20 17
NB300-12 | U1.1/16"X12 3/4" 245 17.5
NB300-16 | U1.5/16"X12 1" 31 20
NB300-20 | U1.5/8'X12 1.1/4" 39 235

s1

2

00TSUM-NB

LHINCY” DA HC K IR TS
JIC FLARE TUBE END NUT

linz2 124 THREADE J <} DIMENSIONS

PART NO. E S1
00TSUM-04NB | U7/16"X20 17
00TSUM-06NB | U9/16"X18 19
00TSUM-08NB U3/4"X16 24
00TSUM-10NB U7/8"X16 27
00TSUM-12NB | U1.1/16"X12 32
00TSUM-16NB | U1.5/16"X12 38
00TSUM-20NB | U1.5/8"X12 50
00TSUM-24NB | U1.7/8"X12 55

- 256 -




1F

"% S| ORFSHMRE O el -1 % £
d A ORFS MALE O-RING

= 124 THREADE J <} DIMENSIONS

PART NO. E F A B S1 L

1F-04 U9/16"X18 U9/16"X18 12 12 17 30
1F-04-06 U9/16"X18 U11/16"X16 12 14 19 32
1F-04-08 U9/16"X18 U13/16"X16 12 15 22 36

1F-06 U11/16"X16 U11/16"X16 14 14 19 34
1F-06-08 U11/16"X16 U13/16"X16 14 15 22 38
1F-06-10 U11/16"X16 U1"x14 14 16.5 27 39.5

1F-08 U13/16"X16 U13/16"X16 15 15 22 39
1F-08-10 U13/16"X16 U1"x14 15 16.5 27 40.5
1F-08-12 U13/16"X16 U1.3/16"X12 15 17 32 41

1F-10 u1"X14 u1"x14 16.5 | 16.5 27 42
1F-10-12 u1"Xx14 U1.3/16"X12 16.5 17 32 42.5

1F-12 U1.3/16"X12 U1.3/16"X12 17 17 32 43
1F-12-16 U1.3/16"X12 U1.7/16"X12 17 18.5 41 47.5
1F-12-20 U1.3/16"X12 | U1.11/16"X12 17 19.5 46 50

1F-16 U1.7/16"X12 U1.7/16"X12 185 | 18.5 41 49
1F-16-20 U1.7/16"X12 | U1.11/16"X12 185 | 19.5 46 51.5

1F-20 U1.11/16"X12 | U1.11/16"X12 19.5 | 195 46 52.5

1F-24 U2"x12 u2"Xx12 235 | 235 55 64

- 257 -




NS

1F4

)
"
45 ° FH|ORFSHMERLLORY el -1 % £F
— 45 ° ORFS MALE 0-RING
s1

e 14, THREADE .~ DINENSIONS
PART NO. E F A B | sl
1F4-04 U9/16"X18 | U9/16"X18 2 | 22 | 14
1F4-04-06 | U9/16'X18 | U11/16"X16 25 | 25 | 19
1F4-06 U11/16"X16 | U11/16"X16 25 | 25 | 19
1F4-06-08 | U11/16"X16 | U13/16"X16 27 | 27 | 22
1F4-08 U13/16'X16 | U13/16"X16 27 | 27 | 22
1F4-08-12 | U13/16'X16 | U1.3/16"X12 37 | 37 | 33
1F4-10 U1"X14 U1"X14 33 | 33 | 27
1F4-12 | U1.3/16"X12 | U1.3/16"X12 37 | 37 | 33
1F4-16 | U1.7/16"X12 | U1.7/16"X12 40 | 40 | 44
1F4-20 | U1.11/16"X12 | U1.11/16"X12 40 | 40 | 44
1F4-24 U2"X12 U2"X12 47 | 47 | 53

F
7
- 1F9
wJ [ 90 * X 1| ORFSHMRLLO R 1 1hi % 4
L 90 ° ORFS MALE O-RING
A s1

140 THREADE R <J DIMENSIONS
s E F A B Sl
"1F9-04 U9/16"X18 U9/16"X18 29 | 27 | 14
1F9-04-06 | U9/16'X18 | U11/16'X16 30 | 20 | 17
1F9-06 U11/16"X16 | U11/16"X16 30 | 29 | 17
1F9-06-08 | U11/16"X16 | U13/16"X16 37 | 37 | 22
1F9-08 U13/16"X16 | U13/16"X16 37 | 37 | 22
1F9-08-12 | U13/16"X16 | U1.3/16"X12 40 | 52 | 27
1F9-10 U1"X14 U1"X14 40 | 43 | 27
1F9-12 | U1.3/16"X12 | U1.3/16"X12 40 | 47 | 27
1F9-16 | U1.7/16'X12 | U1.7/16"X12 45 | 55 | 33
1F9-20 | U1.11/16"X12 | U1.11/16"X12 57 | 55 | 44
1F9-24 U2"X12 U2"X12 57 | 57 | 48

- 258 -




S1

| 2F

K| ORFSHMRLLOR & - £/ ORFSIAIREL
ORFS MALE O-RING/ORFS FEMALE

LI0]

| e,

C
= 1240 THREADE J <} DIMENSIONS
PART NO. E F A C S1 S2
2F-04 U9/16"X18 U9/16"X18 12 10 17 19
2F-04-06 U9/16"X18 U11/16"X16 12 11 17 22
2F-04-08 U9/16"X18 U13/16"X16 12 12 19 24
2F-06-04 U11/16"X16 U11/16"X16 14 10 19 19
2F-06 U11/16"X16 U11/16"X16 14 11 19 22
2F-06-08 U11/16"X16 U13/16"X16 14 12 19 24
2F-06-10 U11/16"X16 u1"Xx14 14 13.5 24 32
2F-08-06 U13/16"X16 U11/16"X16 15 11 22 22
2F-08 U13/16"X16 U13/16"X16 15 12 22 24
2F-08-10 U13/16"X16 u1"X14 15 13.5 24 32
2F-08-12 U13/16"X16 U1.3/16"X12 15 13.5 30 36
2F-10-08 U1"x14 U13/16"X16 16.5 12 27 24
2F-10 u1"Xx14 u1"X14 16.5 | 13.5 27 32
2F-10-12 u1"X14 U1.3/16"X12 16.5 | 13.5 30 36
2F-10-16 u1"Xx14 U1.7/16"X12 16.5 | 14.5 36 41
2F-12-08 U1.3/16"X12 U13/16"X16 17 12 32 24
2F-12-10 U1.3/16"X12 u1"X14 17 13.5 32 32
2F-12 U1.3/16"X12 U1.3/16"X12 17 13.5 32 36
2F-12-16 U1.3/16"X12 U1.7/16"X12 17 14.5 36 41
2F-16-12 U1.7/16"X12 U1.3/16"X12 18.5 | 13.5 41 36
2F-16 U1.7/16"X12 U1.7/16"X12 18.5 | 14.5 41 41
2F-16-20 U1.7/16"X12 | U1.11/16"X12 185 | 15.5 41 50
2F-20-16 U1.11/16"X12 | U1.7/16"X12 19.5 | 14.5 46 41
2F-20 U1.11/16"X12 | U1.11/16"X12 19.5 | 15.5 46 50

- 259 -




2F4

7 45 ° 25| ORFSHMEL O
w S2 | F-THi %5 4/ ORFS iz
1 45 ° ORFS MALE
A St 0-RING/ORFS FEMALE
= 124 THREADE K. <} DIMENSIONS
PART NO. E F A C S1 S2
2F4-04 U9 /16"X18 U9/16"X18 22 10 14 19
2F4-06 U11/16"X16 U11/16"X16 22 11 17 22
2F4-08 U13/16"X16 U13/16"X16 27 12 22 24
2F4-10 u1"Xx14 U1"x14 33 13.5 27 32
2F4-12 U1.3/16"X12 U1.3/16"X12 37 13.5 33 36
2F4-16 U1.7/16"X12 U1.7/16"X12 40 14.5 44 41
2F4-20 U1.11/16"X12 | U1.11/16"X12 40 15.5 44 50
F
. S2
|
r1 2 F9
7 90 ° 3 HORFSHMELO%
Z PP T % 1/ ORFS P24
! \/ 90 ° ORFS MALE
0-RING/ORFS FEMALE
A S1

= 12 4r THREADE R <} DIMENSIONS
PART NO. E F A C S1 S2
2F9-04 U9/16"X18 U9/16"X18 29 10 14 19
2F9-06 U11/16"X16 U11/16"X16 30 11 17 22
2F9-08 U13/16"X16 U13/16"X16 37 12 22 24
2F9-10 u1"x14 u1"x14 40 13.5 27 32
2F9-12 U1.3/16"X12 U1.3/16"X12 40 13.5 27 36
2F9-16 U1.7/16"X12 U1.7/16"X12 45 14.5 33 41
2F9-20 u1.11/16"X12 | U1.11/16"X12 57 15.5 44 50

- 260 -




S1 S1
r i 3F
w -y
Y S HORFSHIAL
2 72 ORFS FEMALE
C C
2 124 THREADE J =} DIMENSIONS
PART NO. E F C S1
3F-04 U9/16"X18 U9/16"X18 10 19
3F-06 U11/16"X16 U11/16"X16 11 22
3F-08 U13/16"X16 U13/16"X16 12 24
3F-10 u1"Xx14 u1"x14 13.5 32
3F-12 U1.3/16"X12 U1.3/16"X12 13.5 36
3F-16 U1.7/16"X12 U1.7/16"X12 14.5 41
3F-20 U1.11/16"X12 | U1.11/16"X12 155 50
L
A
| 4F
7 l/ % HlORFSIMRLLOHIIBAT- 1 5
ORFS MALE O-RING PLUG
S1
2 1240 THREADE ] =7 DIMENSIONS
PART NO. E A S1 L
4F-04 U9/16"X18 12 19 18
4F-06 U11/16"X16 14 22 22
4F-08 U13/16"X16 15 27 24
4F-10 u1"Xx14 16.5 30 26
4F-12 U1.3/16"X12 17 36 27
4F-16 U1.7/16"X12 18.5 41 30
4F-20 U1.11/16"X12 19.5 50 36

- 261




ZZyy
st/

oF

& I ORFSHME L OF &l P 5 B3 M Sk

ORFS MALE O-RING BULKHEAD

foE 122; THREADE U =} DIMENSIONS
PART NO. E A B S1 L
6F-04 U9/16"X18 12 31.5 19 49.5
6F-06 U11/16"X16 14 34 22 56
6F-08 U13/16"X16 15 36.5 27 61
6F-10 u1"Xx14 16.5 | 40.6 30 67
6F-12 U1.3/16"X12 17 41.7 36 70
6F-16 U1.7 /16"X12 18.5 | 42.2 41 72
6F-20 U1.11/16"X12 \ 195 | 42.2 50 79
6F4
X 45 * 3 H ORFSYMRLL ORI - 35 B Wi
| — 45 ° ORFS MALE O-RING BULKHEAD
£ 1240 THREADE ] =} DIMENSIONS
PART NO. E A B S1
6F4-04 U9/16"X18 22 42.4 14
6F4-06 U11/16"X16 22 48.5 17
6F4-08 U13/16"X16 27 51 22
6F4-10 u1"X14 33 56.6 27
6F4-12 U1.3/16"X12 37 60.7 33
6F4-16 U1.7/16"X12 40 65.2 44

- 262 -




%
jy o » = N N
) 90 * 3 HORFSHMELL O T 32t i3 e
\ / 90 ° ORFS MALE O-RING BULKHEAD
A A\ﬂ
= 124 THREADE J* =} DIMENSIONS
PART NO. E A B S1
6F9-04 U9/16"X18 29 47 14
6F9-06 U11/16"X16 30 52 17
6F9-08 U13/16"X16 37 55.5 22
6F9-10 U1"Xx14 40 63 27
6F9-12 U1.3/16"X12 40 67.2 27
6F9-16 U1.7/16"X12 45 71.2 33

- 263 -



S1

s

8F

| ORFSHi £}

2 ORFS LOCK NUT
L L -

e 1240 THREADE U DIMENSIONS
PART NO. E A S1

8F-04 U9/16"X18 7 19

8F-06 U11/16"X16 8 22

8F-08 U13/16"X16 9 27

8F-10 U1"X14 10.4 30

8F-12 U1.3/16"X12 10.4 36

8F-16 U1.7/16"X12 10.4 41

8F-20 U1.11/16"X12 10.4 50

8F-24 u2"x12 10.4 60

S1
OF
% HORFSPRELE Sk
Y 7 ORFS FEMALE PLUG
¢ |

= 124 THREADE J =} DIMENSIONS
PART NO. E C S1

9F-04 U9/16"X18 11 19

9F-06 U11/16"X16 10 22

9F-08 U13/16"X16 11 27

9F-10 u1"X14 13.5 30

9F-12 U1.3/16"X12 13 36

9F-16 U1.7/16"X12 15 41

9F-20 U1.11/16"X12 17.5 50

- 264 -




|oe]

o

S| ORFSHMELL OZ Y- i % 1/

1EN

% % THHEA SN AL
) x ORFS MALE O-RING/
St F NPT MALE

= 124 THREADE ] =} DIMENSIONS
PART NO. E F A B S1 L
1FN-04-02 U9/16"X18 Z1/8"X27 10 10 17 26
1FN-04 U9/16"X18 Z1/4"X18 10 14 17 30
1FN-04-06 U9/16"X18 73/8"X18 10 14 17 30
1FN-06-04 U11/16"X16 Z1/4"X18 11 14 19 31
1FN-06 U11/16"X16 73/8"X18 11 14 19 31
1FN-06-08 U11/16"X16 Z1/2"X14 11 19 22 38
1FN-08-04 U13/16"X16 Z1/4"X18 12 14 22 34
1FN-08-06 U13/16"X16 73/8"X18 12 14 22 34
1FN-08 U13/16"X16 Z1/2"X14 12 19 22 39
1FN-08-12 U13/16"X16 Z3/4"X14 12 19.5 27 40
1FN-10-08 U1"X14 Z1/2"X14 13.5 19 27 41
1FN-10-12 u1"x14 Z3/4"X14 13.5 19.5 27 42
1FN-12-08 U1.3/16"X12 Z1/2"X14 13.5 19 32 41
1FN-12 U1.3/16"X12 Z3/4"X14 135 | 19.5 32 42
1FN-12-16 U1.3/16"X12 Z1"X11.5 13.5 24 36 48
1FN-16-12 U1.7/16"X12 Z3/4"X14 14.5 19.5 41 46
1FN-16 U1.7/16"X12 Z1"X11.5 14.5 24 41 51
1FN-16-20 U1.7/16"X12 Z1.1/4"X11.5 14.5 25 46 53
1FN-20-16 U1.11/16"X12 Z1"X11.5 15.5 24 46 53
1FN-20 u1.11/16"X12 | Z21.1/4"X11.5 15.5 25 46 54
1FN-20-24 u1.11/16"X12 | Z21.1/2"X11.5 15.5 25 50 57

- 265 -




1FN4

JF 45 * S HORFSAMELOM T H !
AHEAT S5
ORFS MALE O-RING/
A s1 NPT MALE

e 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1FN4-04-02 U9/16"X18 Z1/8"X27 22 22 14
1FN4-04 U9/16"X18 Z1/4"X18 22 22 14
1FN4-04-06 U9/16"X18 Z3/8"X18 22 22 17
1FN4-06-04 U11/16"X16 Z1/4"X18 25 25 19
1FN4-06 U11/16"X16 73/8"X18 25 25 19
1FN4-06-08 U11/16"X16 Z1/2"X14 27 27 22
1FN4-08-06 U13/16"X16 73/8"X18 27 27 22
1FN4-08 U13/16"X16 Z21/2"X14 27 27 22
1FN4-10-08 u1"x14 Z1/2"X14 33 33 27
1FN4-12 U1.3/16"X12 Z3/4"X14 37 37 33
1FN4-16 U1.7/16"X12 Z1"X11.5 40 40 44
1FN4-20 U1.11/16"X12 Z21.1/4"X115 40 40 44

- 266 -




¢ 00%

K

A \ S1

1TFN9

90 * il ORFSHMRLLOAY & T i 2 i/
THERE JMRS90 ©
ORFS MALE 0-RING/
NPT MALE

a2 1241 THREADE J <} DIMENSIONS
PART NO. E F A B S1
1FN9-04-02 U9/16"X18 Z21/8"X27 29 27 14
1FN9-04 U9/16"X18 Z1/4"X18 29 27 14
1FN9-06-04 U11/16"X16 Z1/4"X18 33 33 19
1FN9-06 U11/16"X16 Z3/8"X18 33 33 19
1FN9-06-08 U11/16"X16 Z21/2"X14 37 37 22
1FN9-08-06 U13/16"X16 Z3/8"X18 37 37 22
1FN9-08 U13/16"X16 Z1/2"X14 37 37 22
1FN9-08-12 U13/16"X16 Z3/4"X14 40 40 27
1FN9-10-08 u1"X14 Z1/2"X14 40 40 27
1FN9-10-12 u1"Xx14 Z3/4"X14 40 40 27
1FN9-12-08 U1.3/16"X12 Z1/2"X14 40 40 27
1FN9-12 U1.3/16"X12 Z3/4"X14 40 40 27
1FN9-12-16 U1.3/16"X12 Z1"X11.5 45 45 33
1FN9-16-12 U1.7/16"X12 Z3/4"X14 45 45 33
1FN9-16 U1.7/16"X12 Z1"X11.5 45 45 33
1FN9-20-16 | U1.11/16"X12 Z1"X11.5 57 57 44
1FN9-20 U1.11/16"X12 | 21.1/4"X11.5 57 57 44

- 267 -




L

1FH

5 | ORF SHMR S OZY [&] - 181 % /2 il SMREL

y % ORFS MALE O-RING/METRIC MALE O-RING
S1

fri #2 4 THREADE R~} DIMENSIONS

PART NO. E F A B S1 L
1FH-04-10 U9/16"X18 M10x1 12 11 17 29
1FH-04-12 U9/16"X18 | M12x1.5 12 11 17 29
1FH-06-12 U11/16"X16 | M12x1.5 14 11 19 31
1FH-06-14 U11/16"X16 | M14x1.5 14 11 19 31
1FH-06-16 U11/16"x16 | M16x1.5 14 11 22 33
1FH-08-16 U13/16"X16 | M16x1.5 15 11 22 34
1FH-08-18 U13/16"X16 | M18x1.5 15 11 24 34
1FH-08-22 U13/16"X16 | M22x1.5 15 12 27 36
1FH-10-22 u1"x14 M22x1.5 16.5 | 12 27 37
1FH-12-22 U1.3/16"X12 | M22x1.5 17 12 32 38
1FH-12-27 U1.3/16"X12 M27x2 17 13 32 39

- 268 -



o N

s

1FH4-0G

45 ° K| ORFSHMERLL OB [ -1 % 1/
O AR RT A 1) S 45
ORFS MALE 0-RING/ METRIC
MALE ADJUSTABLE STUD END

= 140 THREADE R~} DIMENSIONS
PART NO. E F A B S1
1FH4-04-140G | U9/16"X18 | M14x1.5 22 | 295 | 14
1FH4-06-140G | U11/16"X16 | M14x1.5 25 33 19
1FH4-06-160G | U11/16"X16 | M16x1.5 25 |335 | 19
1FH4-08-160G | U13/16"X16 | M16x1.5 27 | 335 | 22
1FH4-08-180G | U13/16"X16 | M18x1.5 27 36 22
1FH4-10-220G U1"X14 M22x1.5 33 |385 | 27
1FH4-12-220G | U1.3/16"X12 | M22x1.5 37 |395 | 33
1FH4-12-270G | U1.3/16"X12 M27x2 37 40 33
E
1FH9-0G
7 ‘ 90 * | ORFS SN O I -6 35 1/
w DA NIRRT ) iy
—)(/ 90 ° ORFS MALE O-RING/ METRIC
A s MALE ADJUSTABLE STUD END
e 1240 THREADE J < DIMENSIONS
PART NO. E F A B S1
1FH9-04-120G | U9/16"X18 | M12x1.5 29 32 14
1FH9-06-140G | U11/16"X16 | M14x1.5 33 | 355 | 19
1FH9-06-160G | U11/16"X16 | M16x1.5 33 38 19
1FH9-08-160G | U13/16"X16 | M16x1.5 37 | 405 | 22
1FH9-08-180G | U13/16"X16 | M18x1.5 37 43 22
1FH9-08-220G | U13/16"X16 | M22x1.5 40 | 445 | 27
1FH9-10-220G U1"X14 M22x1.5 40 48 27
1FH9-12-270G | U1.3/16"X12 M27x2 40 50 27

- 269 -




. 1FO

- FH|ORFSHMERLL O Bl F- i 2% 4/

F SRS OZL el H A2 47
ORFS MALE O-RING/

L
s/

SAE O-RING BOSS S-SERIES

=2 124 THREADE R =t DIMENSIONS
PART NO. E F A B S1 L
1FO-04 U9/16"X18 U7/16"X20 12 10 17 28
1FO-04-05 U9/16"X18 U1/2"X20 12 10 17 28
1FO-04-06 U9/16"X18 U9/16"X18 12 12 17 30
1FO-04-08 U9/16"X18 U3/4"X16 12 12 22 32
1FO-06-04 U11/16"X16 | U7/16"X20 14 10 19 30
1FO-06-05 U11/16"X16 U1/2"X20 14 10 19 30
1FO-06 U11/16"X16 | U9/16"X18 14 12 19 32
1FO-06-08 U11/16"X16 U3/4"X16 14 12 22 34
1FO-06-10 U11/16"X16 u7/8"X14 14 13.5 27 37
1FO-08-06 U13/16"X16 | U9/16"X18 15 12 22 35
1FO-08 U13/16"X16 U3/4"X16 15 12 22 35
1FO-08-10 U13/16"X16 u7/8"X14 15 13.5 27 38
1FO-08-12 U13/16"X16 [ U1.1/16"X12 15 16 32 40
1FO-10 u1"X14 u7/8"X14 16.5 | 13.5 27 39
1FO-10-08 u1"X14 U3/4"X16 16.5 12 27 38
1FO-10-12 u1"X14 U1.1/16"X12 16.5 16 32 42
1FO-12-10 U1.3/16"X12 | U7/8"X14 17 13.5 32 41
1FO-12 U1.3/16"X12 | U1.1/16"X12 17 16 32 42
1FO-12-16 U1.3/16"X12 | U1.5/16"X12 17 17 41 46
1FO-16-12 U1.7/16"X12 | U1.1/16"X12 18.5 16 41 46
1FO-16 U1.7/16"X12 | U1.5/16"X12 18.5 17 41 47
1FO-16-20 U1.7/16"X12 | U1.5/8"X12 18.5 18 50 53
1FO-20-16 | U1.11/16"X12 | U1.5/16"X12 19.5 17 46 50
1FO-20 U1.11/16"X12 | U1.5/8"X12 19.5 18 50 54

- 270 -




PN 1F04-0G

45 ° | ORFSHMRAL OB el V-1 % 1/

FE i SAESME L H OZY B 45 °
ORFS MALE 0-RING/

A \g SAE 0-RING BOSS

fr 124 THREADE R~} DIMENSIONS
PART NO. E F A B S1 S2
1F04-040G | U9/16"X18 | U7/16"X20 22 26 14 17
1F04-04-060G | U9/16"X18 | U9/16"X18 22 28 14 19
1F04-06-040G | U11/16"X16 | U7/16"X20 25 | 273 | 19 17
1FO4-060G | U11/16"X16 | U9/16"X18 25 | 295 | 19 19
1F04-06-080G | U11/16"X16 | U3/4"X16 25 | 325 | 19 24
1F04-08-060G | U13/16"X16 | U9/16"X18 27 | 308 | 22 19
1F04-080G | U13/16"X16 | U3/4"X16 27 34 22 24
1F04-08-100G | U13/16"X16 | U7/8"X14 27 | 395 | 22 27
1F04-08-120G | U13/16"X16 | U1.1/16"X12 33 44 27 32
1F04-10-080G |  U1"X14 U3/4"X16 33 34 27 24
1F04-100G u1"x14 u7/8"X14 33 | 415 | 27 27
1F04-10-120G |  U1"X14 U1.1/16"X12 33 44 27 32
1F04-12-100G | U1.3/16"X12 | U7/8"X14 37 42 33 27
1F04-120G | U1.3/16"X12 | U1.1/16"X12 37 | 455 | 33 32
1F04-12-160G | U1.3/16"X12 | U1.5/16"X12 37 | 479 | 33 41
1F04-16-120G | U1.7/16"X12 | U1.1/16"X12 40 | 479 | 44 32
1FO4-160G | U1.7/16"X12 | U1.5/16"X12 40 | 479 | 44 41
1F04-16-200G | U1.7/16"X12 | U1.5/8"X12 40 | 485 | 44 50
1F04-200G | U1.11/16"X12 | U1.5/8"X12 40 | 48.8 | 44 50
1F04-20-240G | U1.11/16"X12 | U1.7/8"X12 47 51 53 55

- 271 -




1TFO9-0G

=

— ‘ 90 ° %%UORFS%%@‘CQ@%IEFE%‘%?/
E I SAESMRLH OZY 90
L”} ){ ORFS MALE O-RING/
J SAE O-RING BOSS
"
=2 12 4. THREADE R <t DIMENSIONS

PART NO. E F A B S1 S2
1F09-040G U9/16"X18 U7/16"X20 29 30.3 14 17
1F09-04-060G | U9/16"X18 U9/16"X18 29 32 14 19
1F09-06-040G | U11/16"X16 U7/16"X20 33 33.5 19 17
1F09-060G U11/16"X16 U9/16"X18 33 345 19 19
1F09-06-080G | U11/16"X16 U3/4"X16 33 38 19 24
1F09-06-100G | U11/16"X16 u7/8"X14 37 47 22 27
1F09-08-060G | U13/16"X16 U9/16"X18 37 37 22 19
1F09-080G U13/16"X16 U3/4"X16 37 40.5 22 24
1F09-08-100G | U13/16"X16 u7/8"X14 37 45.3 22 27
1F09-08-120G | U13/16"X16 | U1.1/16"X12 40 52 27 32
1F09-10-080G u1"x14 U3/4"X16 40 45 27 24
1F09-100G u1"Xx14 u7/8"X14 40 50.8 27 27
1F09-10-120G u1"Xx14 U1.1/16"X12 40 52 27 32
1F09-12-100G | U1.3/16"X12 | U7/8"X14 40 52.8 27 27
1F09-120G U1.3/16"X12 | U1.1/16"X12 40 54 27 32
1F09-12-160G | U1.3/16"X12 [ U1.5/16"X12 45 55.5 33 41
1F09-16-120G | U1.7/16"X12 | U1.1/16"X12 45 59 33 32
1F09-160G U1.7/16"X12 | U1.5/16"X12 45 59 33 41
1F09-200G | U1.11/16"X12 | U1.5/8"X12 57 60.5 44 50
1F09-20-240G | U1.11/16"X12 | U1.7/8"X12 57 66.5 48 55

- 272 -




1FG

| ORFSHMRAL O el - [ 2 £/
MR O

. %/% ORFS MALE 0-RING/
BSP MALE 0-RING
S1

=2 2 4r THREADE U =} DIMENSIONS
PART NO. E F A B S1 L
1FG-04-02 U9/16"X18 G1/8"X28 10 9 17 25

1FG-04 U9/16"X18 G1/4"X19 10 12 19 28
1FG-04-06 U9/16"X18 G3/8"X19 10 13.5 22 31

1FG-06 U11/16"X16 G3/8"X19 11 13.5 22 32
1FG-06-04 U11/16"X16 G1/4"X19 11 12 19 29
1FG-06-08 U11/16"X16 G1/2"X14 11 16 27 36

1FG-08 U13/16"X16 G1/2"X14 12 16 27 37
1FG-08-06 U13/16"X16 G3/8"X19 12 13.5 22 33
1FG-08-12 U13/16"X16 G3/4"X14 12 18.5 32 40
1FG-10-08 u1"X14 G1/2"X14 13.5 16 27 39
1FG-10-12 u1"x14 G3/4"X14 13.5 | 185 32 42
1FG-12-08 U1.3/16"X12 G1/2"X14 13.5 16 32 39

1FG-12 U1.3/16"X12 G3/4"X14 13.5 | 185 32 42
1FG-12-16 U1.3/16"X12 G1"X11 13.5 | 20.5 41 46
1FG-16-12 U1.7/16"X12 G3/4"X14 145 | 185 41 45

1FG-16 U1.7/16"X12 G1"X11 14.5 | 20.5 41 47

1FG-20 U1.11/16"X12 | G1.1/4"X11 156.5 | 20.5 50 53
1FG-20-16 U1.11/16"X12 G1"X11 15.5 | 20.5 46 49

- 273 -




S2

1FG4-0G

45 S| ORFSHMRAL OLY T 1hi 2% 1/
SO IMRELORUE45
ORFS MALE 0-RING/BSP

A \g MALE 0-RING
e i24; THREADE S ) DIMENSIONS

PART NO. E F A B S1 S2
1FG4-040G U9/16"X18 G1/4"X19 22 27 14 19
1FG4-04-020G U9/16"X18 G1/8"X28 22 24.8 14 14
1FG4-04-060G U9/16"X18 G3/8"X19 22 30 17 22
1FG4-060G U11/16"X16 G3/8"X19 25 31 19 22
1FG4-06-040G | U11/16"X16 G1/4"X19 25 28 19 19
1FG4-06-080G | U11/16"X16 G1/2"X14 27 36 22 27
1FG4-080G U13/16"X16 G1/2"X14 27 36 22 27
1FG4-08-060G | U13/16"X16 G3/8"X19 27 32 22 22
1FG4-10-080G U1"x14 G1/2"X14 33 37.5 27 27
1FG4-10-120G U1"x14 G3/4"X14 33 42 27 32
1FG4-120G U1.3/16"X12 G3/4"X14 37 42.5 33 32
1FG4-12-080G | U1.3/16"X12 G1/2"X14 37 38.5 33 27
1FG4-12-160G | U1.3/16"X12 G1"X11 37 44 33 41
1FG4-160G U1.7/16"X12 G1"X11 40 44.5 44 41
1FG4-16-120G | U1.7/16"X12 G3/4"X14 40 44.5 44 32
1FG4-200G U1.11/16"X12 | G1.1/4"X11 40 475 44 50

- 274 -




. 1FG9-0G
ér ) -
7 90 ° ZHi|ORFSHMERLLORY [ -1 % £/
w g HMZSLORIE 90 °
,__\)j ORFS MALE O-RING/BSP
MALE O-RING
A S1

fri 124 THREADE R =t DIMENSIONS
PART NO. E F A B S1 S2
1FG9-04-020G | U9/16"X18 | G1/8"X28 29 | 29 14 14
1FG9-040G U9/16"x18 | G1/4"X19 29 | 313 | 14 19
1FG9-04-060G | U9/16"X18 | G3/8"X19 30 | 358 | 17 22
1FG9-06-040G | U11/16"X16 | G1/4"X19 33 | 335 | 19 19
1FG9-060G U11/16"X16 | G3/8"X19 33 | 368 | 19 22
1FG9-06-080G | U11/16"X16 | G1/2"X14 37 | 432 | 22 27
1FG9-08-060G | U13/16"X16 | G3/8"X19 37 | 395 | 22 22
1FG9-080G U13/16"X16 | G1/2"X14 37 | 432 | 22 27
1FG9-10-080G U1"X14 G1/2"X14 40 | 465 | 27 27
1FG9-10-120G u1"x14 G3/4"X14 40 | 493 | 27 32
1FG9-12-080G | U1.3/16"X12 | G1/2"X14 40 | 475 | 27 27
1FG9-120G | U1.3/16"X12 | G3/4"X14 40 | 52 27 32
1FG9-12-160G | U1.3/16"X12 G1"X11 45 | 53 33 41
1FG9-16-120G | U1.7/16"X12 | G3/4"X14 45 | 56 33 32
1FG9-160G | U1.7/16"X12 G1"X11 45 | 56 33 41
1FG9-20-160G | U1.11/16"X12|  G1"X11 57 60 44 41
1FG9-200G | U1.11/16"X12 | G1.1/4"X11 57 | 60 44 50

- 275 -




20F

ORFS MIREL

ORFS FEMALE

LI SAESMRLL O P T AR 51/

SAE 0-RING BOSS S-SERIES/

5 124 THREADE J <} DIMENSIONS
PART NO. E F A C S1 S2
20F-04 U7/16"X20 U9/16"X18 10 10 14 19
20F-04-06 U7/16"X20 | U11/16"X16 10 11 17 22
20F-06-04 U9/16"X18 U9/16"X18 12 10 17 19
20F-06 U9/16"X18 | U11/16"X16 12 11 17 22
20F-06-08 U9/16"X18 | U13/16"X16 12 12 19 27
20F-08-06 U3/4"X16 U11/16"X16 12 11 22 22
20F-08 U3/4"X16 U13/16"X16 12 12 22 27
20F-10-08 Uu7/8"X14 U13/16"X16 13.5 12 27 27
20F-10 Uu7/8"X14 u1"X14 13,5 | 135 27 32
20F-12-10 U1.1/16"X12 u1"x14 16 13.5 32 32
20F-12 U1.1/16"X12| U1.3/16"X12 16 13.5 32 36
20F-16-12 U1.5/16"X12| U1.3/16"X12 17 13.5 41 36
20F-16 U1.5/16"X12| U1.7/16"X12 17 14.5 41 41
20F-20-16 U1.5/8"X12 | U1.7/16"X12 18 14.5 50 41
20F-20 U1.5/8"X12 | U1.11/16"X12 18 15.5 50 50

- 276 -




S1

N2

AFF6F

il Z 5 HIORFSSMELLOBIE-F
“JJ “JJ T B AR Sk 32 S =
] ORFS MALE O-RING
A 5 BULKHEAD RUN TEE
fE #24 THREADE R~} DIMENSIONS
PART NO. E A B S1
AFF6F-04 U9/ 16"X18 27 | 47 | 14
AFF6F-06 U11/16"X16 30 | 52 | 19
AFF6F-08 U13/16"X16 33 | 555 | 22
AFF6F-10 U1"X14 33 | 63 | 24
AFF6F-12 U1.3/16"X12 40 | 672 | 27
AFF6F-16 U1.7/16"X12 45 | 712 | 33
AFFBF-20 | U1.11/16"X12 57 | 755 | 44
E
%
AF6FF
S1
‘ 7 _ 5 HORFSMELLOTE T-ifi
" " R Ak S =
ORFS MALE O-RING
BULKHEAD BRANCH TEE
A
e 14 THREADE R~} DIMENSIONS
PART NO. E A B S1
AF6FF-04 U9/16"X18 27 | 47 | 14
AF6FF-06 U11/16"X16 30 | 52 | 19
AF6FF-08 U13/16"X16 33 | 555 | 22
AF6FF-10 U1"Xx14 33 | 63 | 24
AF6FF-12 | U1.3/16"X12 40 | 672 | 27
AF6FF-16 | U1.7/16"X12 45 | 712 | 33
AF6FF-20 | U1.11/16"X12 57 | 755 | 44

- 277 -




AFFG-0G

S2
S 2
I W % i ORF S AR L O 2 [ - 1) %% 5/
w B HMR L OT P 2 5 =l
; | J ORFS MALE O-RING/
W BSP MALE O-RING RUN TEE
A B
= 24 THREADE =} DIMENSIONS
PART NO. E F A B S1 S2
AFFG-040G U9 /16"X18 G1/4"X19 27 31.3 14 19
IAFFG-04-04-060G U9/16"X18 G3/8"X19 28 35.5 17 22
AFFG-06-06-040G | U11/16"X16 G1/4"X19 30 33.5 19 19
AFFG-060G U11/16"X16 G3/8"X19 30 36.8 19 22
AFFG-08-08-060G | U13/16"X16 G3/8"X19 33 39.5 22 22
AFFG-080G U13/16"X16 G1/2"X14 33 43.2 22 27
AFFG-10-10-120G u1"x14 G3/4"X14 40 49.3 27 32
AFFG-120G U1.3/16"X12 G3/4"X14 40 53.5 27 32
AFFG-160G U1.7/16"X12 G1"X11 45 56 33 41
|_ F -
2 AFGF-0OG
: y S %%'JS@RFS&I\E&O&”%HZ@%‘%W
Y HMELLORY ] 4357 =l
“J “J ORFS MALE 0-RING/
\ BSP MALE O-RING RUN TEE
A \&A
feE 124 THREADE ] =} DIMENSIONS
PART NO. E F A B S1 S2
AFGF-040G U9/16"X18 G1/4"X19 27 31.3 14 19
AFGF-04-06-040G U9/16"X18 G3/8"X19 28 35.5 17 22
AFGF-060G U11/16"X16 G3/8"X19 30 36.8 19 22
AFGF-08-06-080G | U13/16"X16 G3/8"X19 33 39.5 22 22
AFGF-080G U13/16"X16 G1/2"X14 33 43.2 22 27
AFGF-10-12-100G u1"Xx14 G3/4"X14 40 49.3 27 32
AFGF-120G U1.3/16"X12 G3/4"X14 40 53.5 27 32
AFGF-160G U1.7/16"X12 G1"X11 45 56 33 41

- 278 -




nw AFOF-0OG

7 1 F 1| ORFSHMEL O [ ~F-[f %5 £}/
" w S| SAESMRALLH O R B 7y 32 =1
\ g ORFS MALE O-RING/
\g SAE 0-RING BOSS BRANCH TEE
A A

re 1240 THREADE JX =1 DIMENSIONS
PART NO. E F A B S1 S2
AFOF-040G U9/16"X18 | U7/16"X20 27 | 303 | 14 17
AFOF-04-06-040G| U9/16"X18 | U9/16"X18 27 32 14 19
AFOF-060G | U11/16"X16 | U9/16"X18 30 355 | 19 19
AFOF-06-08-060G | U11/16"X16 | U3/4"X16 30 38 19 24
AFOF-080G | U13/16"X16 | U3/4"X16 33 | 405 | 22 24
AFOF-08-10-080G | U13/16"X16 | U7/8"X14 33 | 453 | 22 27
AFOF-08-12-080G | U13/16"X16 | U1.1/16"X12 33 54 24 32
AFOF-100G U1"X14 U7/8"x14 40 | 50.8 | 27 27
AFOF-10-12-100G|  U1"X14 U1.1/16"X12 40 52 27 32
AFOF-120G | U1.3/16"X12 | U1.1/16"X12 40 | 553 | 27 32
AFOF-160G | U1.7/16"X12 | U1.5/16"X12 45 | 593 | 33 41
AFOF-200G | U1.11/16"X12 | U1.5/8"X12 57 | 60.5 | 44 50

- 279 -




) s AFFO-0G

‘ 7 ‘ % | ORFSHMELL O 18 - i i 4/
B “J FHISAESMELLHF ORY ] 32 5 =il
\ %j:w ORFS MALE O-RING/
\ \s1 ; SAE 0-RING BOSS RUN TEE
e 12 4 THREADE ] =} DIMENSIONS

PART NO. E F A B S1 S2
AFFO-040G U9/16"X18 U7/16"X20 27 30 14 17
AFFO-04-04-060G| U9/16"X18 U9/16"X18 27 32 14 19
AFFO-060G U11/16"X16 U9/16"X18 30 35.5 19 19
AFFO-06-06-080G| U11/16"X16 U3/4"X16 30 38 19 24
AFFO-08-08-060G| U13/16"X16 U9/16"X18 33 37.5 22 19
AFFO-080G U13/16"X16 U3/4"X16 33 40.5 22 24
AFFO-08-08-100G| U13/16"X16 U7/8"X14 33 45.3 22 27
AFFO-08-08-120G| U13/16"X16 | U1.1/16"X12 33 54 24 32
AFFO-100G u1"Xx14 uU7/8"X14 40 50.8 27 27
AFFO-10-10-120G u1"x14 U1.1/16"X12 40 52 27 32
AFFO-120G U1.3/16"X12 [ U1.1/16"X12 40 55.3 27 32
AFFO-16-16-120G| U1.7/16"X12 | U1.1/16"X12 45 59.5 33 32
AFFO-160G U1.7/16"X12 | U1.5/16"X12 45 59.3 33 41
AFFO-200G U1.11/16"X12 | U1.5/8"X12 57 60.5 44 50

- 280 -




S2

[

-

\st

AFFH-0G

K| ORFSHMR AL O Y [ V- 1h % 1/
Sy SMR ST A b T S =0
ORFS MALE 0-RING/ METRIC

MALE ADJUSTABLE STUD END RUN TEE

A
= i2 40 THREADE 0%IPE 0 RING & <} DIMENSIONS
PART NO. E F Fith A B S1 S2
AFFH-04-04-140G | U9/16"X18 | M14x1.5 [11.3x2.4 27 | 335 | 14 19
AFFH-06-06-160G | U11/16"X16 | M16x1.5 [13.3x2.4 30 38 19 22
AFFH-08-08-220G | U13/16"X16 | M22x1.5 [19.3x2.4 33 | 445 | 24 27
AFFH-10-10-220G U1"X14 M22x1.5 |19.3x2.4 40 48 27 27
AFFH-12-12-270G [U1.3/16"X12 | M27x2 | 23.5x3 40 50 27 32

F
. AFHF-OG
o | v JEHORFS/HRAOMIEN Vi
O\ Tl AN RT [ ity 43 S =38
L”J . ORFS MALE O-RING/ METRIC
z 5 MALE ADJUSTABLE STUD END BRANCH TEE
A \& A

=, 124 THREADE 0%4[E 0 RING R~} DIMENSIONS
PART NO. E F it A B S1 S2
AFHF-04-14-040G | U9/16"X18 | M14x1.5 |11.3x2.4 27 23 14 19
AFHF-06-16-060G | U11/16"X16 | M16x1.5 |13.3x2.4 30 27 19 22
AFHF-08-22-080G | U13/16"X16 | M22x1.5 |19.3x2.4 33 31 24 27
AFHF-10-22-100G |  U1"X14 M22x1.5 |19.3x2.4 40 | 365 | 27 27
AFHF-12-27-120G |U1.3/16"X12 | M27x2 | 23.5x3 40 | 405 | 27 32

- 281 -




1G

S SRS OB
BSP MALE 0-RING

S1

£ 1240 THREADE ] =7 DIMENSIONS

PART NO. E A S1 L
1G-02 G1/8"x28 9 14 24
1G-04 G1/4"x19 12 19 30
1G-06 G3/8"x19 13.5 22 35
1G-08 G1/2"x14 16 27 41
1G-12 G3/4"x14 18.5 32 47
1G-16 G1"x11 20.5 41 53
1G-20 G1.1/4"x12 20.5 50 55
1G-24 G1.1/2"x11 23 55 62

L
A
4G
/// A AMRSORYE 3k
BSP MALE O-RING PLUG
S1

£t 124 THREADE U =7 DIMENSIONS

PART NO. E A S1 L
4G-04 G1/4"x19 12 19 18
4G-06 G3/8"x19 13.5 22 21
4G-08 G1/2"x14 16 27 25
4G-12 G3/4"x14 18.5 32 28
4G-16 G1"x11 20.5 41 32

- 282 -




§ : _
A B
» 1GT
w P
119 FRPIMBELOTIIE FhE MR
i"; BSP MALE O-RING/BSPT MALE
S1 E
= 124 THREADE R <} DIMENSIONS
PART NO. E F A B 51 L
1GT-04-04 G1/4"X19 ZG1/4"X19 12 14 19 32
1GT-06-04 G3/8"X19 ZG1/4"X19 13.5 14 22 355
1GT-06-06 G3/8"X19 ZG3/8"X19 13.5 14 22 35.5
1GT-08-06 G1/2"X14 ZG3/8"X19 16 14 27 38
1GT-08-08 G1/2"X14 7G1/2"X14 16 19 27 43
1GT-12-08 G3/4"X14 ZG1/2"X14 18.5 19 32 48
1GT-12-12 G3/4"X14 ZG3/4"X14 18.5 19.5 32 48
1GT-16-16 G1"X11 261"X11 205 | 24 | 41 55
1GT-20-20 G1.1/4"X11 | ZG1.1/4"X11 20.5 25 50 62
1GT-24-24 G1.1/2"X11 | ZG1.1/2"X11 23 25 55 65
1GT-32-32 G2"X11 Z2G2"X11 255 29 70 72
L -
A
B 4HN
S1 "
2 A IIME B R AP
Z Z METRIC MALE L-SERIES
HOLLOW HEX PLUG
= 124 THREADE R <} DIMENSIONS
PART NO. E A S1 L
4HN-10 M10x1 11 5 14
4HN-12 M12x1.5 11 6 14
4HN-14 M14x1.5 11 6 14
4HN-16 M16x1.5 11 8 13.5
4HN-18 M18x1.5 11 8 14.5
4HN-22 M22x1.5 12 10 15
4HN-27 M27x2 13 12 16

- 283 -




1H

I AMREUR 25
Z METRIC MALE L-SERIES
$1

= 1240 THREADE JR =t DIMENSIONS
PART NO. E A S1 L
1H-10 M10x1 11 14 28
1H-12 M12x1.5 11 17 28
1H-14 M14x1.5 11 19 28
1H-16 M16x1.5 11 22 30
1H-18 M18x1.5 11 24 30
1H-22 M22x1.5 12 27 33
1H-27 M27x2 13 32 35

I ANREUR RS K

METRIC MALE L-SERIES PLUG

5 1240 THREADE R =t DIMENSIONS
PART NO. E A S1 L
4H-10 M10x1 11 14 17
4H-12 M12x1.5 11 17 17
4H-14 M14x1.5 11 19 17
4H-16 M16x1.5 11 22 19
4H-18 M18x1.5 11 24 19
4H-22 M22x1.5 12 27 21
4H-27 M27x2 13 32 22

- 284 -




o

< /L»
vt

™

I HIANREI60 ° PR o I 4 £ 2
METRIC MALE DOUBLE FOR 60 °
CONE SEAT BONDED SEAL

o i2 40 THREADE R~} DIMENSIONS
PART NO. E F A B S1 L
1M-12 M12x1.5 M12x1.5 10 10 17 30
1M-12-14 M12x1.5 M14x1.5 10 11 19 31
1M-14 M14x1.5 M14x1.5 11 11 19 32
1M-14-16 M14x1.5 M16x1.5 11 12 22 35
1M-16 M16x1.5 M16x1.5 12 12 22 36
1M-16-18 M16x1.5 M18x1.5 12 12 24 36
1M-18 M18x1.5 M18x1.5 12 12 24 36
1M-18-22 M18x1.5 M22x1.5 12 14 27 38
1M-22 M22x1.5 M22x1.5 14 14 27 42

- 285 -




/L\\

4M

i AMERL60 ° PEES A i 2 A B Ak
METRIC MALE DOUBLE FOR 60 °
CONE SEAT BONDED SEAL PLUG

S1

= 12 4; THREADE J =} DIMENSIONS

PART NO. E F A S1 L

4M-12 M12x1.5 M12x1.5 10 17 18

4M-14 M14x1.5 M14x1.5 11 19 19

4M-16 M16x1.5 M16x1.5 12 22 21

4M-18 M18x1.5 M18x1.5 12 24 21

4M-22 M22x1.5 M22x1.5 14 27 24

A
4MN-WD
S1
N\ : AT MBS S B 4 7 P B
METRIC MALE CAPTIVE
SEAL HOLLOW HEX PLUG
—HH

= 124 THREADE ] < DIMENSIONS

PART NO. E A D H S1 L
4MN-12WD M12x1.5 10 14.2 1.2 6 15
4MN-14WD M14x1.5 11 16.3 1.2 6 16
4MN-16WD M16x1.5 12 18.7 1.2 8 17
4MN-18WD M18x1.5 12 20.7 1.2 8 17
4MN-22WD M22x1.5 14 24.1 1.2 10 19

- 286 -



10

LI SAESMRLLHF O

SAE O-RING BOSS

= i24; THREADE &~} DIMENSIONS
PART NO. E F A B S1 L
10-04 U7/16"X20 U7/16"X20 10 10 14 26
10-04-06 U7/16"X20 U9/16"X18 10 12 17 28
10-06 U9/16"X18 U9/16"X18 12 12 17 30
10-06-08 U9/16"X18 U3/4"X16 12 12 22 31
10-08 U3/4"X16 U3/4"X16 12 12 22 31
10-08-12 U3/4"x16 | U1.1/16"X12 12 16 32 34
10-10 U7/8"X14 U7/8"X14 135 | 135 | 27 35
10-12 U1.1/16"X12 | U1.1/16"X12 16 16 32 41
10-16 U1.5/16"X12 | U1.5/16"X12 17 17 41 44
10-20 U1.5/8"'X12 | U1.5/8"X12 18 18 50 | 485
10-24 U1.7/8"'X12 | U1.7/8"X12 185 | 185 | 55 55
» L -
A B
s 10T

7,

S SAESMREUHT O el / Jeff i SMREL

SAE 0-RING BOSS/BSPT MALE

=] #24r THREADE R =t DIMENSIONS

PART NO. E F A B S1 L
10T-04-04 U7/16"X20 ZG1/4"19 10 14 14 30
10T-04-06 U7/16"X20 ZG3/8"19 10 14 17 30
10T-06-06 U9/16"X18 ZG3/8"19 12 14 17 33
10T-06-08 U9/16"X18 7G1/2"-14 12 19 22 38
10T-08-08 U3/4"X16 ZG1/2"-14 12 19 22 | 385
10T-08-12 U3/4"X16 ZG3/4"-14 12 29 32 39
10T-12-12 | U1.1/16"X12 | ZG3/4"-14 16 29 32 53
10T-16-16 | U1.5/16"X12 Z61"-11 17 29 41 55
10T-20-20 | U1.5/8"X12 | ZG1.1/4"11 18 29 50 58
10T-24-24 | U1.7/8"'X12 | ZG1.1/2"-11 185 | 29 55 60

- 287 -




S1

—~——— -

«

20U

SAE/MRL AT OFL 1 /
EHINPSMNIZL60 ° A
SAE 0-RING BOSS /

c NUF NPSM FEMALE 60 ° CONE
= 1241 THREADE JX <} DIMENSIONS

PART NO. E F A C S1 S2
20U-04 U7/16"X20 Z1/4"X18 10 5.5 14 19
20U-04-06 U7/16"X20 73/8"X18 10 6.5 17 22
20U-06 U9/16"X18 73/8"X18 12 6.5 19 22
20U-06-08 U9/16"X18 Z21/2"X14 12 8 22 27
20U-08 U3/4"X16 Z1/2"X14 12 8 22 27
20U-08-06 U3/4"X16 73/8"X18 12 6.5 22 22
20U-10-08 u7/8"X14 Z1/2"X14 13.5 8 27 27
20U-12-08 |U1.1/16"X12| Z1/2"X14 16 8 32 27
20U-12 U1.1/16"X12 | Z3/4"X14 16 11.5 32 32
20U-12-16 | U1.1/16"X12| Z1"X11.5 16 11.5 36 41
20U-16 U1.5/16"X12| Z1"X11.5 17 11.5 41 41
20U-20 U1.5/8"X12 | Z1.1/4"X11.5 18 12 50 50
20U-24 U1.7/8"'X12 | Z1.1/2"X11.5 18.5 13 55 55

- 288 -




FHISAESMEL T OB [ 1 3k
SAE 0-RING BOSS PLUG

40

S1

e 1240 THREADE JX =1 DIMENSIONS

PART NO. E A S1 L
40-04 u7/16"X20 10 14 16
40-05 U1/2"X20 10 17 16
40-06 U9/16"X18 12 17 18
40-08 U3/4"X16 12 22 20
40-10 U7/8"X14 13.5 27 23
40-12 U1.1/16"X12 16 32 26
40-16 U1.5/16"X12 17 41 28
40-20 U1.5/8"X12 18 50 32
40-24 U1.7/8"X12 18.5 55 35
40-32 U2.1/2"X12 22 70 40

» L
A
s | 40N
> K HISAESMELUH ORI /N fiy bk
SAE O0-RING BOSS HOLLOW HEX PLUG

= 240 THREADE JX =) DIMENSIONS

PART NO. E A S1 L
40N-04 U7/16"X20 10 5 12
40N-05 U1/2"X20 10 5 12
40N-06 U9/16"X18 12 6 15
40N-08 U3/4"X16 12 15
40N-10 U7/8"X14 13.5 10 16.5
40N-12 U1.1/16"X12 16 14 20
40N-16 U1.5/16"X12 17 16 21
40N-20 U1.5/8"X12 18 19 22

- 289 -




\

H | /

st/

FEHISAESMRL90 ° A1

1P

SAE MALE 90 * CONE

o2 1240 THREADE ] <t DIMENSIONS
PART NO. E A S1 L
1P-04 U7/16"X20 13 14 32
1P-05 U1/2"X20 14 14 34
1P-06 U5/8"X18 16 17 38
1P-08 U3/4"X16 19 22 46

1P-10 u7/8"X14 225 24 52.5
1P-12 U1.1/16"X12 25.5 30 60.5
L
- A
—r 17 4P
E
FHISAESMERLI0 ° HMERE K
SAE MALE 90 ° CONE PLUG
S1

o2 122y THREADE J <t DIMENSIONS
PART NO. E A S1 L
4P-04 U7/16"X20 13 14 19
4P-05 U1/2"X20 14 14 20
4P-06 U5/8"X18 16 17 22
4P-08 U3/4"X16 19 22 27
4P-10 u7/8"X14 22.5 24 30
4pP-12 U1.1/16"X12 25.5 30 35

- 290 -




ffa)
8%
f

\
N

%
D)

\E

[

RTINS ITIE =k
L-SERIES SPLIT FLANGE CLAMPS

FL

e LT 12 JU_~F DIMENSIONS

PART NO. FLANGE SIZE BOLT A B C D E
FL-08 1/2" M8x25 54 46 38.1 9 17.5
FL-12 3/4" M10x30 65.1 52 47.6 1 22.2
FL-16 1" M10x30 69.8 59 524 1 26.2
FL-20 1.1/4" M10x30 79.4 73 58.7 1 30.2
FL-24 1.1/2" M12x35 93.7 83 69.8 | 13.5 35.7
FL-32 2" M12x35 101.6 97 77.8 | 13.5 42.9
FL-40 2.1/4" M12x40 114 108 89 13.5 50.8
FL-48 3" M16x50 135 130.6 | 106.4 | 16.7 62

B
E
D) FS
1. I
JZ RN T2 3%
] S-SERIES SPLIT FLANGE CLAMPS
N

i LA iz R DIMENSIONS

PART NO. FLANGE SIZE BOLT A B C D E
FS-08 1/2" M8x30 56.3 47 40.5 9 18.2
FS-12 3/4" M10x35 71.4 60 50.8 11 23.8
FS-16 1" M12x45 80.9 70 571 13 27.8
FS-20 1.1/4" M14x30 95.2 77 66.7 15 31.8
FS-24 1.1/2" M16x55 112.7 95 79.5 17 36.5
FS-32 2" M20x70 133.3| 114 96.8 21 445

- 291




E
RIS @) &
S FL-W
<| ©
A B R REARYE 22k
] L-SERIES WHOLE FLANGE CLAMPS
v
e LT 2 J I DIMENSIONS
PART NO. FLANGE SIZE BOLT A B C D E H
FL-08W 1/2" M8x25 54 46 38.1 9 17.5 6.2
FL-12W 3/4" M10x30 65.1 52 47.6 11 22.2 6.2
FL-16W 1" M10x30 69.8 59 524 11 26.2 7.5
FL-20W 1.1/4" M10x30 79.4 73 58.7 11 30.2 7.5
FL-24W 1.1/2" M12x35 93.7 83 69.8 | 135 | 35.7 7.5
FL-32W 2" M12x35 1016 | 97 778 | 13.5 | 42.9 9
FL-40W 2.1/4" M12x40 114 | 108 | 89 | 13.5 | 50.8 9
FL-48W 3" M16x50 135 | 130.6 | 106.4 | 16.7 62 9
B
E H
li FS-W
L R RERE 2k
] S-SERIES WHOLE FLANGE CLAMPS
e LR 2 R DIMENSIONS
PART NO. FLANGE SIZE BOLT A B C D E H
FS-08W 1/2" M8x30 56.3 47 40.5 9 18.2 7.2
FS-12wW 3/4" M10x35 71.4 60 50.8 11 23.8 8.2
FS-16W 1" M12x45 80.9 70 571 13 27.8 9
FS-20W 1.1/4" M14x30 95.2 77 66.7 15 31.8 9.8
FS-24W 1.1/2" M16x55 112.7 95 79.5 17 36.5 12
FS-32W 2" M20x70 133.3 | 114 96.8 21 445 12

- 292 -




/_ )
el 1CFL
fJJV 77 /% BBk R R

METRIC MALE BITE TYPE/
L-SERIES FLANGE

d1

L1

%7 IRACTHREADE | yremie | 4 74M%D R < DIMENSIONS
PART NO. E FLANGE SIZE | TUBE 0.D. L L1 d1 51
1CFL-22-08 M22x1.5 1/2" 15 7 35 30.2 24
1CFL-26-12 M26x1.5 3/4" 18 7 46 38.1 30
1CFL-30-12 M30x2 3/4" 22 7 46 38.1 32
1CFL-36-16 M36x2 1" 28 8.2 50 444 41
1CFL-45-20 M45x2 1.1/4" 35 8.2 66 50.8 41
1CFL-52-24 M52x2 1.1/2" 42 8.2 70 60.3 46
51 Lo

A
el 1DFL
7 77 ‘ 2 O TR 5 e R

METRIC MALE BITE TYPE/
L-SERIES FLANGE

d1

L1

fo 2 124 THREADE 2L A HTHMED R~} DIMENSIONS

PART NO. E FLANGE SIZE TUBE 0.D. L L1 d1 S1
1DFL-24-08 M24x1.5 1/2" 16 7 35 30.2 24
1DFL-24-12 M24x1.5 3/4" 20 7 46 | 38.1 27
1DFL-30-12 M30x2 3/4" 20 7 46 | 38.1 30
1DFL-36-12 M36x2 3/4" 25 7 46 | 38.1 30
1DFL-42-16 M42x2 1" 30 8.2 50 | 444 36
1DFL-36-20 M36x2 1.1/4" 25 8.2 66 50.8 41
1DFL-42-20 M42x2 1.1/4" 30 8.2 66 50.8 41
1DFL-52-20 M52x2 1.1/4" 38 8.2 66 50.8 46
1DFL-52-24 M52x2 1.1/2" 38 8.2 70 60.3 46

- 293 -




d1

n=- 1CFL9

<

- 90 * A HIRSRENX BEINEE

wi 90 ° METRIC MALE BITE TYPE/
‘ I \Y, L-SERIES FLANGE

\ S1
e 5 THREADE | yromie | #7402 D R DIMENSIONS
PART NO. E FLANGE SIZE | TUBE O.D. L A a1 S1
1CFL9-22-08 M22x1.5 /2" 15 7 36 30.2 22
1CFL9-26-12 M26x1.5 3/4" 18 7 42 38.1 27
1CFL9-30-12 M30x2 3/4" 22 7 42 38.1 27
1CFL9-36-16 M36x2 " 28 8.2 45 44 .4 33
1CFL9-45-20 M45x2 1.1/4" 35 8.2 50 50.8 44
1CFL9-52-24 M52x2 L.1/2" 42 8.2 55 60.3 50
d1
i
B —
2= 1DFLY
<t

1—% 90 * AHMIRLREN BRINEE

ui 90 ° METRIC MALE BITE TYPE/
\ | \J L-SERIES FLANGE

\ S1

Sz 124 THREADE 2L EEHZED JL =} DIMENSIONS
PART NO. E FLANGE SIZE | TUBE O.D. L A d1 S1
1DFL9-24-08 M24x1.5 /2" 16 7 36 30.2 27
1DFL9-30-12 M30x2 3/4" 20 7 42 38.1 27
1DFL9-36-12 M36x2 3/4" 25 7 42 38.1 33
1DFL9-42-16 M42x2 1" 30 8.2 45 44 .4 44
1DFL9-36-20 M36x2 1.1/4" 25 8.2 50 50.8 44
1DFL9-42-20 M42x2 1.1/4" 30 8.2 50 50.8 44
1DFL9-52-20 M52x2 1.1/4" 38 8.2 50 50.8 50
1DFL9-52-24 M52x2 1.1/2" 38 8.2 55 60.3 50

- 294 -




S1 —
AR 1DFS
=]
B’ 7 IRt TR S
METRIC MALE BITE TYPE/
L1 S-SERIES FLANGE
o 5 THREADE | gems | 74D ] f DIMENSIONS
PART NO. £ FLANGE SIZE | TUBE O.D. L 1 a1 )
1DFS-24-08 M24x1.5 /2" 16 7.9 37 31.7 24
1DFS-24-12 M24x1.5 3/4" 16 8.9 51 41.3 30
1DFS-30-12 M30x2 3/4" 20 8.9 51 41.3 30
1DFS-36-12 M36x2 3/4" 25 8.9 51 41.3 30
1DFS-36-16 M36x2 1" 25 9.6 53 47.6 36
1DFS-42-16 M42x2 I 30 9.6 53 47.6 36
1DFS-42-20 M42x2 1.1/4" 30 10.4 70 54 41
1DFS-52-20 M52x2 1.1/4" 38 10.4 70 54 46
1DFS-52-24 M52x2 1.1/2" 38 12.7 80 63.5 46
d1
-
' 1DFS9
-
| 90 * AHIRSRENX ERINEE
w 90 ° METRIC MALE BITE TYPE/
} | \/ S-SERIES FLANGE
\st
LB 12 4r THREADE 2L A HMED J <t DIMENSIONS

PART NO. E FLANGE SIZE TUBE O.D. L A d1 S1
1DFS9-24-08 M24x1.5 /2" 16 7.9 39 31.7 24
1DFS9-24-12 M24x1.5 3/4" 16 8.9 48 41.3 30
1DFS9-30-12 M30x2 3/4" 20 8.9 48 41.3 30
1DFS9-36-12 M36x2 3/4" 25 8.9 48 41.3 36
1DFS9-36-16 M36x2 1" 25 9.6 60 47.6 41
1DFS9-42-16 M42x2 1" 30 9.6 60 47.6 41
1DFS9-42-20 M42x2 1.1/4" 30 104 68 54 46
1DFS9-52-20 M52x2 1.1/4" 38 104 68 54 46
1DFS9-52-24 M52x2 1.1/2" 38 12.7 76 63.5 46

- 295 -




d1

S

1FFL

K HORFSHMRLLOR - i
HHIRRINE=
ORFS MALE O-RING/
L-SERIES FLANGE

= 124 THREADE ey 1= ] =} DIMENSIONS
PART NO. E FLANGE SIZE l d1 A
1FFL-12 U1.3/16"x12 3/4" 7 38.1 17
1FFL-16 U1.7/16"x12 1" 8.2 [ 444 | 185
1FFL-20 U1.11/16"x12 1.1/4" 8.2 [ 508 [ 195
d1
|
| 1FFL9
[aa]
' 90 * I ORFSHMEL O el
y BB F 2
\<) 90 ° ORFS MALE O-RING/
L-SERIES FLANGE
A \ $1
o2 124 THREADE L] R =} DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1FFL9-12 U1.3/16"x12 3/4" 7 38.1 43 541 27
1FFL9-16 U1.7/16"x12 " 8.2 | 444 59 60.2 44
1FFL9-20 U1.11/16"x12 1.1/4" 8.2 | 50.8 59 66.5 44
- 1FFS
1
w s T ORFSHMRLL OB Pl F- i
N % BRI
i é ORFS MALE O-RING/
S-SERIES FLANGE
o2 240 THREADE i = J = DIMENSIONS
PART NO. E FLANGE SIZE | d1 A
1FFS-12 U1.3/16"x12 3/4" 89 | 413 17
1FFS-16 U1.7/16"x12 1" 96 | 476 | 185
1FFS-20 U1.11/16"x12 1.1/4" 10.4 54 19.5

- 296 -




$

’—d1>

f

:

J

A | \s1

:
A\

1FFS9

90 * S HORFSHMELLOR -1
HEIERINE=
90 ° ORFS MALE 0-RING/
S-SERIES FLANGE

a2 124 THREADE Y2t A JR =} DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1FFS9-12 U1.3/16"x12 3/4" 8.9 | 413 40 54.1 27
1FFS9-16 U1.7/16"x12 1" 9.6 | 476 49 60.2 33
1FFS9-20 U1.11/16"x12 1.1/4" 10.4 54 57 66.5 44
.
e 1JFL
allEs | ® 4 b o
% Kl ICHMRLLTA * SNk e R AL~
JIC MALE 74 ° CONE/L-SERIES FLANGE
lin=2 1240 THREADE 2L J =} DIMENSIONS
PART NO. E FLANGE SIZE | d1 A
1JFL-08 U3/4"X16 1/2" 7 30.2 | 16.7
1JFL-08-12 U3/4"X16 3/4" 7 38.1 | 16.7
1JFL-10-08 u7/8"X14 1/2" 7 30.2 | 19.5
1JFL-10-12 u7/8"X14 3/4" 7 38.1 | 19.5
1JFL-12-08 U1.1/16"X12 1/2" 7 30.2 22
1JFL-12 U1.1/16"X12 3/4" 7 38.1 22
1JFL-12-16 U1.1/16"X12 1" 8.2 | 444 22
1JFL-16-12 U1.5/16"X12 3/4" 7 38.1 23
1JFL-16 U1.5/16"X12 1" 8.2 | 444 23
1JFL-16-20 U1.5/16"X12 1.1/4" 8.2 | 50.8 23
1JFL-20-16 U1.5/8"X12 1" 8.2 | 444 | 245
1JFL-20 U1.5/8"X12 1.1/4" 8.2 | 50.8 | 24.5
1JFL-20-24 U1.5/8"X12 1.1/2" 8.2 | 60.3 | 245
1JFL-24-20 U1.7/8"X12 1.1/4" 8.2 | 50.8 | 27.5
1JFL-24 U1.7/8"X12 1.1/2" 8.2 | 603 | 27.5
1JFL-24-32 U1.7/8"X12 2" 9.8 | 714 | 275
1JFL-32 Uu2.1/2"X12 2" 9.8 | 7114 34

- 297 -




hd

1JFL4

45 ° LI ICHNIRETA ° SMHE/ R AR SITE =
Y 45 ° JIC MALE 74 ° CONE/L-ERIES FLANGE

A \ S1

=2 1240 THREADE 2L J = DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1JFL4-08 U3/4"X16 1/2" 7 30.2 25 37 19
1JFL4-10-08 u7/8"X14 1/2" 7 30.2 27 37 22
1JFL4-10-12 u7/8"X14 3/4" 7 38.1 33 40.1 27
1JFL4-12 U1.1/16"X12 3/4" 7 38.1 33 40.1 27
1JFL4-12-16 U1.1/16"X12 1" 8.2 | 444 37 47 33
1JFL4-16 U1.5/16"X12 1" 8.2 | 444 37 47 33
1JFL4-16-12 U1.5/16"X12 3/4" 7 38.1 37 42 33
1JFL4-16-20 U1.5/16"X12 1.1/4" 8.2 | 50.8 40 51.8 44
1JFL4-20 U1.5/8"X12 1.1/4" 8.2 | 50.8 40 51.8 44
1JFL4-20-16 U1.5/8"X12 1" 8.2 | 444 40 51 44
1JFL4-20-24 U1.5/8"X12 1.1/2" 8.2 | 60.3 47 60.5 53
1JFL4-24-20 U1.7/8"X12 1.1/4" 8.2 | 50.8 47 54 53
1JFL4-24 U1.7/8"X12 1.1/2" 8.2 | 60.3 47 60.5 53
1JFL4-32 Uu2.1/2"X12 2" 9.8 | 714 55 76.2 65

- 298 -




d1

1JFL9

‘ 90 ° SEHiIJICHMERLLTA ° SME/ R AR SITE =
90 * JIC MALE 74 ° CONE/L-ERIES FLANGE

= 1240 THREADE i =, J = DIMENSIONS
PART NO. E FLANGE SIZE | d1 A B S1
1JFL9-08 U3/4"X16 1/2" 7 30.2 33 44 19
1JFL9-10-08 u7/8"X14 1/2" 7 30.2 37 44 22
1JFL9-10-12 u7/8"X14 3/4" 7 38.1 43 541 27
1JFL9-12 U1.1/16"X12 3/4" 7 38.1 40 40.1 27
1JFL9-12-16 U1.1/16"X12 1" 8.2 | 444 49 60.2 | 33
1JFL9-16 U1.5/16"X12 1" 8.2 | 444 49 60.2 | 33
1JFL9-16-12 U1.5/16"X12 3/4" 7 38.1 49 58 33
1JFL9-16-20 U1.5/16"X12 1.1/4" 8.2 | 50.8 57 66.5 44
1JFL9-20 U1.5/8"X12 1.1/4" 8.2 | 50.8 57 66.5 44
1JFL9-20-16 U1.5/8"X12 1" 8.2 | 444 57 65 44
1JFL9-20-24 U1.5/8"X12 1.1/2" 8.2 | 60.3 57 79.3 48
1JFL9-24-20 U1.7/8"X12 1.1/4" 8.2 | 50.8 57 75.5 48
1JFL9-24 U1.7/8"X12 1.1/2" 8.2 | 60.3 57 79.3 48
1JFL9-32 U2.1/2"X12 2" 9.8 | 714 66 108 65

- 299 -




-—

d1

1JFS

. /L SEHIICHMEETA * A T RS
%; JIC MALE 74 ° CONE/S-ERIES FLANGE
=2 124 THREADE D i R= K =7 DIMENSIONS

PART NO. E FLANGE SIZE | d1 A
1JFS-08 U3/4"X16 1/2" 7.9 31.7 16.7
1JFS-10-08 U7/8"X14 1/2" 7.9 31.7 19.5
1JFS-10-12 u7/8"X14 3/4" 8.9 41.3 22
1JFS-12 U1.1/16"X12 3/4" 8.9 41.3 22
1JFS-12-16 U1.1/16"X12 1" 8.9 41.3 22
1JFS-16 U1.5/16"X12 1" 9.6 47.6 23
1JFS-16-12 U1.5/16"X12 3/4" 9.6 47.6 23
1JFS-16-20 U1.5/16"X12 1.1/4" 9.6 47.6 23
1JFS-20 U1.5/8"X12 1.1/4" 104 54 24.5
1JFS-20-16 U1.5/8"X12 1" 104 54 245
1JFS-20-24 U1.5/8"X12 1.1/2" 104 54 24.5
1JFS-24-20 U1.7/8"X12 1.1/4" 12.7 63.5 27.5
1JFS-24 U1.7/8"X12 1.1/2" 12.7 63.5 27.5

- 300 -




1JFS4

45 ° L JICHNIRLLTA ° SMHE/ HARSITE =
45 ° JIC MALE 74 ° CONE/S-ERIES FLANGE

A \ S1

= 1240 THREADE i =, J = DIMENSIONS
PART NO. E FLANGE SIZE l d1 A B S1
1JFS4-08 U3/4"X16 /2" 7.9 | 317 25 38 19
1JFS4-10-08 u7/8"X14 /2" 79 | 317 27 39 22
1JFS4-10-12 u7/8"X14 3/4" 89 | 413 27 40.1 22
1JFS4-12 U1.1/16"X12 3/4" 8.9 | 41.3 33 40.1 27
1JFS4-12-16 U1.1/16"X12 1" 8.9 | 413 37 47 33
1JFS4-16 U1.5/16"X12 1" 9.6 | 47.6 37 47 33
1JFS4-16-12 U1.5/16"X12 3/4" 9.6 | 476 37 45 33
1JFS4-16-20 U1.5/16"X12 1.1/4" 9.6 | 47.6 40 52 44
1JFS4-20 U1.5/8"X12 1.1/4" 10.4 54 40 52 44
1JFS4-20-16 U1.5/8"X12 1" 10.4 54 40 52 44
1JFS4-20-24 U1.5/8"X12 1.1/2" 10.4 54 40 60.5 44
1JFS4-24 U1.7/8"X12 1.1/2" 12.7 | 63.5 47 27.5 53

- 301




dl

1JFS9

90 ° SEHiJICHMERLLTA ° SME/ HARSITE =
90 * JIC MALE 74 ° CONE/S-ERIES FLANGE

o2 840 THREADE | ypozm JR =1 DIMENSITONS

PART NO. E FLANGE SIZE l d1 A B S1
1JFS9-08 U3/4"X16 /2" 79 | 317 | 33 44 19
1JFS9-10-08 U7/8"X14 /2" 79 | 31.7 | 37 46 22
1JFS9-10-12 u7/8"X14 3/4" 89 | 413 | 37 | 541 22
1JFS9-12 U1.1/16"X12 3/4 89 | 413 | 40 | 54.1 27
1JFS9-12-16 U1.1/16"X12 1" 89 | 413 | 49 | 60.2 [ 33
1JFS9-16 U1.5/16"X12 1" 96 | 476 | 49 | 60.2 [ 33
1JFS9-16-12 U1.5/16"X12 3/4" 9.6 | 476 | 49 57 33
1JFS9-16-20 U1.5/16"X12 1.1/4" 9.6 | 476 | 57 | 66.5 | 44
1JFS9-20 U1.5/8"X12 1.1/4" 104 | 54 57 | 66.5 | 44
1JFS9-20-16 U1.5/8"X12 1" 104 | 54 57 65 44
1JFS9-20-24 U1.5/8"X12 1.1/2" 10.4 54 57 | 793 | 44
1JFS9-24 U1.7/8"X12 1.1/2" 127 | 635 | 57 | 79.3 | 48

- 302 -




d1

7z

TFLW

BARINE ) JRE
L-SERIES FLANGE/BUTT-WELD TUBE

= 2L A oxt R =t DIMENSIONS
PART NO. FLANGE SIZE I d1 D

1FLW-08-16X2 1/2" 16x2 7 30.2 16

1FLW-08-20X2.5 1/2" 20x2.5 7 30.2 20
1FLW-12-25X3 3/4" 25x3 7 38.1 25
1FLW-16-25X3 1" 25x3 8.2 | 444 25
1FLW-16-28X3 1 28x3 8.2 | 444 28
1FLW-16-30X4 1 30x4 8.2 | 444 30
1FLW-16-38X5 1 38x5 8.2 | 444 38
1FLW-20-25X3 1.1/4" 25x3 8.2 | 50.8 25
1FLW-20-30X4 1.1/4" 30x4 8.2 | 50.8 30
1FLW-20-38X5 1.1/4" 38x5 8.2 [ 50.8 38
1FLW-20-42X6 1.1/4" 42x6 8.2 | 50.8 42
1FLW-24-38X4 1.1/2" 38x4 8.2 | 60.3 38
1FLW-24-42X6 1.1/2" 42x6 8.2 | 60.3 42
1FLW-24-45X5 1.1/2" 45x5 8.2 | 60.3 45
1FLW-24-50X6 1.1/2" 50x6 8.2 | 60.3 50
1FLW-32-55X5 2" 55x5 9.8 | 714 55
1FLW-32-60X8 2" 60x8 9.8 | 714 60
1FLW-40-65X6 2.1/2" 65x6

1FLW-40-70X7.5 2.1/2" 70x7.5
1FLW-48-80X6 3" 80x6
1FLW-48-90X8 3" 90x8

- 303 -




TFSW

5 o
. H R 22 R
2 S-SERIES FLANGE/BUTT-WELD TUBE
=, P2 oxt ] <t DIMENSIONS
PART NO. FLANGE SIZE | d1 D
1FSW-08-16X2 1/2" 16x2 79 | 317 16
1FSW-08-20X2.5 1/2" 20x2.5 79 | 317 | 20
1FSW-12-16X2 3/4" 16x2 89 [ 413 | 16
1FSW-12-20X2.5 3/4" 20x2.5 89 | 413 | 20
1FSW-12-25X4 3/4" 25x4 89 | 413 | 25
1FSW-16-25X3 1" 25x3 9.6 | 476 | 25
1FSW-16-30X4 1" 30x4 9.6 | 476 | 30
1FSW-16-38X5 1" 38x5 96 | 476 | 38
1FSW-20-25X3 1.1/4" 25x3 10.4 54 25
1FSW-20-30X4 1.1/4" 30x4 10.4 54 30
1FSW-20-38X5 1.1/4" 38x5 10.4 54 38
1FSW-20-42X6 1.1/4" 42x6 10.4 54 42
1FSW-24-38X5 1.1/2" 38x5 127 | 63.5 | 38
1FSW-24-45X6.5 1.1/2" 45x2.5 12.7 | 635 | 45
1FSW-24-48X8 1.1/2" 48x8 127 | 63.5 | 48
1FSW-24-50X8 1.1/2" 50x8 12.7 | 63.5 | 50
1FSW-32-60X8 2" 60x8 127 | 714 | 60
1FSW-32-60X10 2" 60x10 127 | 714 | 60

- 304 -




dl

-

4FL

RARINE =T
L-SERIES FLANGE PLUG

= i n= U =} DIMENSIONS
PART NO. | FLANGE SIZE D d1 I L
4FL-08 172" 302 | 24 7 16
4FL-12 3/4" 381|315 | 7 17
4FL-16 " 444 | 38 | 82 | 17
4FL-20 1.1/4" 508 | 43 | 82 | 17
4FL-24 1.1/2" 603 | 50 | 8.2 | 19
4FL-32 2" 714 | 62 | 98 | 19
4FL-40 2.1/4" 841 | 74 | 9.8 | 40
4FL-48 3" 1016 | 90 | 9.8 | 45
L
)
4FS
o 3
/ I 25k
| P4 S-SERIES FLANGE PLUG

RE 2L ] <} DIMENSIONS
PARTNO. | FLANGE SIZE D d1 I L
4FS-08 1/2" 317 | 24 | 79 | 18
4FS-12 3/4" 413 | 32 | 89 | 18
4FS-16 1" 476 | 38 | 96 | 18
4FS-20 1.1/4" 54 | 44 | 104 | 18
4FS-24 1.1/2" 635 | 51 | 127 | 20
4FS-32 2" 794 | 67 | 127 | 30

- 305 -




dl

4FL-M

BRI HA =5k
L-SERIES FLANGE PLUG
e 2T ] 5t DIMENSIONS
PART NO. FLANGE SIZE D d1 | L
4FL-08M /2" 30.2 24 7 16
4FL-12M 3/4" 38.1 | 31.5 7 17
4FL-16M 1" 444 38 8.2 17
4FL-20M 1.1/4" 50.8 43 8.2 17
4FL-24M L.1/2" 60.3 50 8.2 19
4FL-32M 2" 71.4 62 9.8 19
4FL-40M 2.1/4" 84.1 74 9.8 40
4FL-48M 3" 101.6 90 9.8 45
L
I
4FS-M
a =
HARYTHE =38k
' S-SERIES FLANGE PLUG
(1%=2 AR J& <} DIMENSIONS
PART NO. FLANGE SIZE D d1 | L
4FS-08M /2" 31.7 24 7.9 18
4FS-12M 3/4" 41.3 32 8.9 18
4FS-16M 1" 47.6 38 9.6 18
4FS-20M 1.1/4" 54 44 10.4 18
4FS-24M 1.1/2" 63.5 51 12.7 20
4FS-32M 2" 79.4 67 12.7 30

- 306 -




=M

-

A7l B SRR N Z R RS2 2, R AT EL () T E-5 52 B
P 25 5 AP I R AR A T2 A, AN O B P R,
HHE S AR TRER.
AN ] U E S EUR R TSR MER, (B el R R S i, T RE S X
7 AL B T, iR AR A P R, A mE AR RN, fEH S
X 7 i Z VT, RIS AR B A5 1 2R 7 R, T AN S AT R
NOTES

The draw ings in this catalogue are for reference only, and
their dimensions and proportions may be a little different from
those of the real products. Products included in this catalogue
don't refer to all , so if customers are interested in other
products, please don' t hesitate to contact our company for further
information.

Qur company has made much effort to record the correct data
in this publication. However, in order to promote our products,
we may make some changes of their size or description, which
haven' t been shown yet. We reserve the rights for explanation,
but sorry for no further notice to customer the change of
products' design, description or even stop of some products'

manufacture in future.



	1E
	1E9
	2E9
	4E
	9E
	6E
	6E9
	1EH
	1EH4-OG
	1EH9-OG
	1EM
	1EN
	1ET
	1EW
	1EW9
	1EZ
	2WE
	XE
	AE
	BE
	CE
	AEEH-OG
	AEHE-OG
	AEE6E
	AE6EE
	1C
	1C
	1D
	1D
	1C9
	1D9
	2C
	2D
	2C9
	2D9
	3C
	3D
	4C
	4D
	6C
	6D
	6C9
	6D9
	8C
	9C
	9D
	1CN
	1DN
	1CN9
	1DN9
	1CT
	1DT
	1CT9
	1DT9
	1CB
	1DB
	1CB9
	1DB9
	1CB-WD
	1DB-WD
	1CG
	1DG
	1CG4-OG
	1DG4-OG
	1CG9-OG
	1DG9-OG
	1CH
	1DH
	1CH4-OG
	1DH4-OG
	1CH9-OG
	1DH9-OG
	1CJ
	1DJ
	1CM
	1CM-WD
	1DM
	1DM-WD
	1CO
	1DO
	1CO9-OG
	1DO9-OG
	1CW
	1DW
	2BC-WD
	2BD-WD
	2JC
	2JD
	2GC
	2GD
	2MC-WD
	2MD-WD
	5CB
	5DB
	5CM
	5DM
	AC
	AD
	BC
	BD
	CC
	CD
	XC
	XD
	ACHC-OG
	ADHD-OG
	ACCH-OG
	ADDH-OG
	ACCG-OG
	ADDG-OG
	ACGC-OG
	ADGD-OG
	ACCO-OG
	ADDO-OG
	ACOC-OG
	ADOD-OG
	1CL-B
	1DL-B
	1CL
	1DL
	720B
	700M
	NL
	NS
	RL
	RS
	1Q
	4Q
	6Q
	6Q9
	1QN
	1QN4
	1QN9
	1QT
	1QT9
	1QB
	1QG
	1QG9-OG
	1QH
	1QH9-OG
	1QM
	1QO
	1QO9-OG
	2Q9
	AQ
	AQHQ-OG
	AQQH-OG
	1K
	2K9
	4K
	9K
	1KN
	1KM
	1KT
	1KH
	1KH9-OG
	1KG
	1KG9-OG
	AK
	BK
	AKKG-OG
	AKKH-OG
	AKGK-OG
	AKHK-OG
	1V
	1VT
	1S
	4S
	9S
	6S
	1ST
	1ST4
	1ST9
	1SN
	1SN4
	1SN9
	1SG
	1SG9-OG
	AS
	BS
	CS
	DS
	ASGS-OG
	ASSG-OG
	1B
	1B4
	1B9
	2B
	2B4
	2B9
	3B
	3B4
	3B9
	4B
	9B
	6B
	6B9
	8B
	1BT
	1BT4
	1BT9
	1BN
	1BN4
	1BN9
	1BG
	1BG4-OG
	1BG9-OG
	1BH
	1BH4-OG
	1BH9-OG
	1BJ
	1BJ4
	1BJ9
	1BM
	1BO
	1BW
	2WB
	1B-WD
	2BJ
	2BJ-WD
	2TB
	2TB4
	2TB9
	2NB
	2NB4
	2NB9
	4BN-WD
	4B-WD
	5B
	5B9
	5BN
	5BT
	5B-WD
	5GB
	7B
	7B9
	GB
	AB
	BB
	CB
	DB
	EB
	FB
	ABBG-OG
	ABGB-OG
	1T
	1T4
	1T9
	4T
	4TN
	5T
	5T9
	7T
	7T9
	GT
	ZT
	5GT
	1N
	1N4
	1N9
	4NN
	4N
	5N
	5N4
	5N9
	7N
	7N9
	9N-CAP
	1NO
	2NU
	2NU4
	2NU9
	5GN
	5HN
	5MN
	5NO
	5ON
	5TN
	ZN
	7NU
	AN
	GN
	JN
	HN
	1J
	1J4
	1J9
	2J
	2J4
	2J9
	3J
	3J4
	3J9
	4J
	5J
	6J
	6J4
	6J9
	8J
	9J
	9J-CAP
	1JT
	1JT4
	1JT9
	1JN
	1JN4
	1JN9
	1JN9- L
	1JN9- LL
	2JB
	1JG
	1JG4-OG
	1JG9-OG
	1JF
	1JH
	1JH4-OG
	1JH9-OG
	1JM
	1JM-WD
	1JO
	1JO- L
	1JO4-OG
	1JO9-OG
	1JO9-OG / L
	1BJ-WD
	2TJ
	2NJ
	2GJ
	2OJ
	2WJ
	5JB
	5JT
	5JN
	5JN9
	6NJ
	7NJ
	AJ
	BJ
	CJ
	DJ
	EJ
	FJ
	AJNJ
	AJJN
	AJJ6J
	AJ6JJ
	KJNJ
	LJJN
	AJOJ-OG
	AJJO-OG
	AJGJ-OG
	AJJG-OG
	AJJH-OG
	NB500
	NB300
	00TSUM-NB
	1F
	1F4
	1F9
	2F
	2F4
	2F9
	3F
	4F
	6F
	6F4
	6F9
	8F
	9F
	1FN
	1FN4
	1FN9
	1FH
	1FH4-OG
	1FH9-OG
	1FO
	1FO4-OG
	1FO9-OG
	1FG
	1FG4-OG
	1FG9-OG
	2OF
	AFF6F
	AF6FF
	AFFG-OG
	AFGF-OG
	AFOF-OG
	AFFO-OG
	AFFH-OG
	AFHF-OG
	1G
	4G
	1GT
	4HN
	1H
	4H
	1M
	4M
	4MN-WD
	1O
	1OT
	2OU
	4O
	4ON
	1P
	4P
	FL
	FS
	FL-W
	FS-W
	1CFL
	1DFL
	1CFL9
	1DFL9
	1DFS
	1DFS9
	1FFL
	1FFL9
	1FFS
	1FFS9
	1JFL
	1JFL4
	1JFL9
	1JFS
	1JFS4
	1JFS9
	1FLW
	1FSW
	4FL
	4FS
	4FL-M
	4FS-M

